Z enbojejen X374 JVSNVH



HANSA-FLEX{& T

HANSA-FLEX F 1962 i TEEILERH T A
¥, 214 50 ZFEWAR, ELELHENIME
ErRENEz P HETEEMAL.

HANSA-FLEX ﬁE%IfE*}lW?Tl”ﬁﬁE uu.%l_'f%ﬁ:
FaEEHRNE, Hnnlﬁ?nn}ﬁm?ﬂﬁﬁ%ﬁk\
k. BRI EE R, RIEREL, K= BERF.

[EBT HANSA-FLEX {ERIREREBR AT ENE
B4k, HANSA-FLEX B R E ikt R % AR
RAER, HiRH 7-?*5'][3’]:151}?:5&% BIERHR
E%'ﬁ:s I'ﬁE \jl_‘,u_.\ y H-'At’ 1‘”1—t )Lt”iﬁ
FmigiiE.

#ZEHE, HANSA-FLEX BB EFAR,
ELEELTREMMIRSP D, HESBELRE
ﬁﬁjﬂ‘? HE.T;E*EIL.\ nBZ?l‘E'J%—AE’ﬁu Fllg*?
MEAFERXEE. 1£8 HANSA-FLEX 7+
ERXMT KX KEBHER, KRJLERNH
WEIEEHEEANT KX IELKS

HANSA-FLEX fEH [E 23k 20045, £ L
IEEFIIESL 7T KB R ORI E =B M, T
WA T5 N, falamaEls, M, ®
N, BN, SRMEE, AFERFRETEM
A HRIERRSS

HANSA-FLEX AG was founded in 1962 in
Bremen, after over 50 years’ development,
Hansa-Flex has become an European leading
company for all areas of hydraulics.

HANSA-FLEX AG is one of the most important
suppliers for hydraulic connection components in
the construction machinery industry, our high
quality products include hose lines, fittings,
flange, couplings, hydraulic units&systems, etc.

As a system partner Hansa-Flex is an expert in
the overall complex system of fluid technology
and offers a full range of integrated services:from
the supply of fastening elements and assemblies
to commissioning and training of operators.

HANSA-FLEX Hydraulic Shanghai Co.,Ltd is a
wholly-owned subsidiary of HANSA-FLEX AG,
and started its operation in China since 2004.A
large central warehouse and several production
workshops are built in Shanghai Ling gang, as the
base of China and Asia-Pacific area. Besides
Hansa-Flex Shanghai, 5 branches have been set
up in Beijing, Guangzhou, Wuhan and
Changzhou, Qingdao and Chengdu,which provide
convenient hydraulic products and services for
customers around.




FTERELEm—KT
FTENERSLRARA
1. FEREELNERSEWTRIE
2. —RREARZER

3. HMMOELREHER
4. FEEBLMWERRT
5. EELMEENE

6. HETHERE

7. EESAREA
8. 37° ¥ OERLHIRAD
9. IRIEERLMNER

10. $BEIRNG
1. anfa] i M sk
FEXNERKER
HERE AR LR Z5
HERE AR Kk 2
BENEIER

HANSAFFLEX

11
12
12
12
14
14
15
17

18

83

83

96

1



LY

-

SRD P18 SRDOV P18 UEM P19 KM P19 SRWD-VI P20
Ve r r 27 3
XV P20 XW P22 XT P22 XRT P23 XK P25

DL e

¢z

o

%

<

L T
XVR* P25 XWR* P35 XLR* P38 XTR* P40 AOVR* P42
XVM* P29
NPT  XVN P33 XWM* P36 XLM* P39 XTM* P41 AOVM-ED P44
UNF XVU P34 NPT  XWN P37 XLN P40 XTN P42 AOVN P44
24°
24° 24° 24° L )
XAOH P45 XVEWO45 P49 XVEWO P49 XVELO P50 XVEL P50
= @ <@ -
24° T )
XVETO P51 XVET P51 DMO P52 DMO45 P54
is A T
45°
XEWOR*45 P54 XEWOR* P56 XELOR* P59 XETOR* P62
XEWOM*45 P55 XEWOM* P57 XELOM* P60 XETOM* P63
XEWO P58 XELO P61 XETO P64
*
2 HANSAFFLEX




XSVR-ED P64

XSVM P65 XSV P65 XSW P66

SA-DKOL P66

SA-DKO P67 XSA P68

XWSA P68 XSE P69

RIK P69 RIL P70 XGAR P72

MVO P74

e ae  @e

( )
XDWR P74 XSWR P75 XSDOR P76 XSDR P77
XDWM P75 XSWM P76 XSDOM P77 XSDM P78

1

w o &

e
BZL+BZS P78

VHR90 P79
VHM90 P79 VHMO 90 P80

=il

XHVR-ED P81 XHZR-ED P82
XHVM-ED P81 XHZM-ED P82

XRD P80

HANSAFFLEX 3




- (s L. o de Q.
DG P84 DG90 P85 DGR P85 DGR90 P86 DGM P87
DGH P84 DGD P85 DGR H P86 DGM 90 P88 DGMH P87

& : - I'

DGS P88 GVR P90 GV90H P91 gm Z% ggg
DGSH P89 GVM P90 DGDH P91
Do peo GVR90H P92
GVM 90 H P94
ST
WD P94
PR P95
PRVZ P96
PRVA Po7
PRV2 Po7
= PRV4 Pos

4

HANSAFFLEX




ZHER, HANSAFLEXABAFMERASEURFENTIERER TZ ZNATAS, &R, REXBERD TR,

HATEERLZRIEDIN EN 1SO 8434-1 71 DIN 2353 A H1ER . B, FEMJUARS RMEHFEBRIET FENERS
UEMEY, BYSEEAMNERRERE, ST REEBNEARE, HFEARGETEMRENE, FRMIERENT R
w, ERERGKIFRATEMNIE.

FRTEATUEEEINAE LT, BFERRERRRHT (KEREEWERRRNR .

YiERIRERINE, HANSA-FLEXARRHEX RENTIBI 7IZUEEME T E, S24°WHEKE®BE. £—ENNEER
TETHIZIRAEFHRERR, FERRENMHOSZ, XUT FENTZR.

RERF NSNS, EREARENSERAERE, MIHRIEREEFHEERAHIELEZNEERN.

FTEREEERZEEIN—MEBRNMEINERRSE, IARSFESSEEREOER.

BRI TES RES, FAERERS.

AT HREPREAERFRE NNER, HANSA-FLEXAR BRIN =M E M EE TS REBHENRE. XMk
FTENREGZNERFEMRR, ERENREEaNMmTRFT.

BN
l-__.-" e
P | u i
4 i :'|

AFEA IR R (T B i ER 2% FBDIN 2352 F1 DIN EN ISO 8434ffffSliEn), HAERFRERARRZS.

HANSA-FLEXABIM=REE SR T TUAREMSMNIF R RS M S ME R XENFHREREL BIMAEBREMERTH
Bk, FREEMEHRMNED, ATFSMH IR ERE, FERIERIFHNERME.

HANSA-FLEXA B E LB HE S MERINEERNENERMBEXEN, MBLHNENEELTREHEESNENER.

MASKEE, ITHEEELRENMTENTE, BRI EEEAEANENER RN,

21
HANSA-FLEXA BRI BB LB FEABEmRN, EALILBRNGIK, FEDIN3ISSIFR AN EZ LA ARE X,
2.2

HANSA-FLEX A B FIBERNE kAR . BENFENRALESREEELE, FE1S0 4042tREME K.

ISO 4042F R B— AN ZIFANE X RERIIOE, £RFNTUSHAE NG LMENRREMAE, WRPRERE T EXK.
HANSA-FLEX A BB EEZEINRAES T AKECNBLCEMIER, EHTIRERTE.

2.3

HANSA-FLEX A 8] EHe LR T TR SEE /9-40°C £+200°C -

BEEFERMAEEEZHERERT, BIEREERE NS RMEE.

ERAFEERTEBEN TERETTE:

BN E TRk -40°C E +200°C
T RE%EE (NBR) ZH{FRIRBRNEIEL -35°C & +100°C
waEGIE (FPM) ZEHaRmEiEsk -25°C & +200°C
THEWEEL -60°C E +400°C
FRERMAEE M THEIZE (NBR) B, WFESHITIERE, HINENKBSEEE (FPM) ZxiF.

BE ESIBEE
-60°CE+20°C -

+50°C 4 %

+100°C 11 %

+200°C 20 %

+300°C 29 %

+400°C 33 %

HANSAFFLEX 5



6

24

RIEATR LIEE D FMERZES, HANSA-FLEXA B BRI A TH =T ELS:

LL: AR5 EiEk

L: BERFIEE:L

S: BERRFIEREL

EEL A ERBENHATRE PN TEE HIPBRISRHI k252,

AFREADPNURFSRIRERGHITH 2, g EHH4.

TEEAIPBAMBIAIMERE, HFATMMRRAFNIEREITER . TIEE/IRE T HBHEAFNRS LIEE .
BE, BRESEIE, RIELIEEIPBAEAHANSAFLEX A BRI EELANEIT REN25,

Ty OB LT R4

BE, ITRIBRERSZESNTEIENBN, EXRERERSELINFE, FAERKRERSGNEEERENM.
BAN, BAMLRTAIEH, WFFLZ X E NSRS, HANSA-FLEX/, BRI LR & S LRt B 24833 7 DIN EN 8434-1
EBRNENSES. Bz, APBEEZNBRAENRSTEELELS, LHEHEAIEENRTERNENEENRE.

THEES
700

Operating Pressure
600

500

400

300

200

100

0
LL4 LL6 LL8 L6 L8 L10 L12 L15 L18 L22 L28 L35 L42 S6 S8 S10 S12 S14 S16 S20 S25 S30 S38

O ISOFRERTIIEES () BHANSA-FLEXARIFRERMIEES (B)

HANSAFFLEX



HANSA-FLEX A BB LT A EMIREIRS, MMERTEMTEMNAR.
a) iR ER RN O FUIRSF S DIN3BS 247 & S 138 /2 AU 2 XBFIDIN38S2 5B 11 FB A ML E, M Huf DR8N F4& LR iR
AT X

e ¥ - W
B i A . N
— T f.-" i ! o ¥
1 L 3 H | E
I boeo 1
l_ M - I . r
M1 131
D1 M3
- - = =
DIN3852-1 =B DIN3852-11 FRE DIN3852-1/ 1S09974-1
IS01179-4  REEEILEM 1S09974-2 M RERETLEH 5A, BFERRERERCAVIRSFLIL X
23 |WESHEOD.| MIM2 M3 D1 D2 T1 T2 T3
LL 4 M8x1 M8x1 12 - 1 8 135
LL 6 M10x1 M10x1 14 13.9 1 8 135
LL 8 M10x1 M10x1 14 13.9 1 8 13.5
L 6 M10x1 M10x1 14 13.9 1 8 13.5
L 8 M12x1.5 M12x1.5 17 16.9 1.5 12 18.5
L 10 M14x1.5 M14x1.5 19 18.9 1.5 14 18.5
L 12 M16x1.5 M16x1.5 21 21.9 1.5 12 18.5
L 15 M18x1.5 M18x1.5 23 23.9 2 12 18.5
L 18 M22x1.5 M22x1.5 27 26.9 25 14 205
L 22 M26x1.5 M26x1.5 31 31.9 25 16 225
L 28 M33x2 M33x2 39 39.9 25 18 26
L 35 M42x2 M42x2 49 49.9 25 20 28
L 42 M48x2 M48x2 55 54.9 25 22 30
s 6 M12x1.5 M12x1.5 17 16.9 15 12 185
s 8 M14x1.5 M14x1.5 19 18.9 1.5 12 185
s 10 M16x1.5 M16x1.5 21 21.9 1.5 12 185
s 12 M18x1.5 M18x1.5 23 23.9 2 12 18.5
S 14 M20x1.5 M20x1.5 25 25.9 2 14 20.5
S 16 M22x1.5 M22x1.5 27 26.9 25 14 20.5
s 20 M27x2 M27x2 32 31.9 25 16 24
S 25 M33x2 M33x2 39 39.9 25 18 26
S 30 M42x2 M42x2 49 49.9 25 20 28
s 38 M48x2 M48x2 55 54.9 25 22 30

HANSAFFLEX

7



b) FHIFREESIRAUIRRIHER RN O AR & DIN38524R B 1288 4y BU . IBFIDIN3852 55 11 2R 4y FUFLNE, T E if 4%
LGNS ik frER X,

90F
i
» g D3 _ . -
] . =
= L] t B
= f T y 4
1 ! o s R
A L
: '
T 11771
|| L%
- G3
DIN3852-2  FRB DIN3852-11  JRE DIN3852-2 / 1IS09974-1
1S01179-4 SR 1S01179-1 Rt 5A, BFERERCAYIRLIFLAZ X
3]l WEHz0D.|  GlG2 G3 D1 D2 T1 T2 T3
LL 4 G1/8"A G1/8" 14 13.9 1 8 13
LL 6 G1/8"A G1/8" 14 13.9 1 8 13
LL 8 G1/8"A G1/8" 14 13.9 1 8 13
L 6 G1/8"A G1/8" 14 13.9 1 8 13
L 8 G1/4"A G1/4" 18 18.9 15 12 18.5
L 10 G1/4"A G1/4" 18 18.9 15 12 18.5
L 12 G3/8"A G3/8" 22 21.9 2 12 18.5
L 15 G1/2'A G1/2" 26 26.9 2.5 14 22
L 18 G1/2'A G1/2" 26 26.9 2.5 14 22
L 22 G3/4"A G3/4" 32 31.9 2.5 16 24
L 28 G1"A G1" 39 39.9 25 18 27
L 35 G1.1/4"A G1.1/4" 49 49.9 25 20 29
L 42 G1.1/2"A G1.1/2" 55 54.9 25 22 31
S 6 G1/4"A G1/4" 18 18.9 15 12 18.5
S 8 G1/4"A G1/4" 18 18.9 15 12 18.5
S 10 G3/8"A G3/8" 22 21.9 2 12 18.5
S 12 G3/8"A G3/8" 22 21.9 2 12 18.5
S 14 G1/2"A G1/2" 26 26.9 25 14 22
S 16 G1/2"'A G1/2" 26 26.9 25 14 22
S 20 G3/4"A G3/4" 32 31.9 25 16 24
S 25 G1'A G1" 39 39.9 2.5 18 27
S 30 G1.1/4"A G1.1/4" 49 49.9 2.5 20 29
S 38 G1.1/2"A G1.1/2" 55 54.9 2.5 22 31

HANSAFFLEX



c) E[EEMIZL AR un IR AN IR IR FT&1S0 11926 - 2/ kR

- D4
| 4o D3
T\ |rRo.1-0,2
R W B
e X, 1 i 1
[T T e
— 1~ &
P il 4
D7
G ,l A
D2 L G2 |

UN/UNF-2A OBIZZ$1[E

UN/UNF-2B OB %

ISO 11926-2. 3. ISO 11926-1
0O.D. G1/G2 D2 D3 D4 T1 T2 T3 T4 o O-Ring
L 6, 8,10 7/16 “-20 UNF 16 124 21 1.6 24 1.5 14 12° 8.92x1.83
L 8 1/2 “-20 UNF 17 14 23 1.6 24 1.5 14 12° [10.52x1.83
L 6,10, 12 9/16 “-18 UNF 17.6 15.6 25 1.6 25 12.7 15.5 12° 11.89 x 1.98
L 12, 15,18 3/4 “-16 UNF 22.3 20.6 30 24 25 14.3 17.5 15° 16.36 x 2.2
L 12,18, 22 7/8 “-14 UNF 255 23.9 34 24 25 16.7 20 15° ]119.18 x2.46
L 22,28 1 “1/16-12 UN 31.9 29.2 41 24 3.3 19 23 15° [ 23.47 x2.95
L 22,28, 35 1 “5/16-12 UN 38.2 35.5 49 3.2 3.3 19 23 15° [29.74x2.95
L 35,42 1 “5/8-12 UN 48 43.5 58 3.2 3.3 19 23 15° 37.47x 3
L 42 1 “7/8-12 UN 55 49.8 65 3.2 3.3 19 23 15° 43.69x3
S 6,8 7/16 “-20 UNF 16 124 21 1.6 24 11.5 14 15° 8.92x1.83
S 6 1/2 “-20 UNF 17 14 23 1.6 24 1.5 14 15° [10.52x1.83
S 10, 12 9/16 “-18 UNF 17.6 15.6 25 1.6 2.5 12.7 15.5 15° 11.89 x 1.98
S 12,14 3/4 “-16 UNF | 22.3 20.6 30 24 25 14.3 17.5 15° 16.36 x 2.2
S 16, 20 3/4 “-16 UNF | 22.3 20.6 30 24 25 14.3 17.5 15° 16.36 x 2.2
S 16, 20 7/8 “-“14 UNF | 255 239 34 24 25 16.7 20 15° 119.18 x 2.46
S 20, 25 1 “1/16-12UN [ 31.9 29.2 41 24 3.3 19 23 15° 123.47 x2.95
S 25,30 1 “5/16-12 UN [ 38.2 35.5 49 3.2 3.3 19 23 15° 129.74 x2.95
S 30, 38 1 “5/8-12 UN 48 43.5 58 3.2 3.3 19 23 15° 37.47 x 3
S 38 1 “7/8-12 UN 55 49.8 65 3.2 3.3 19 23 15° 43.69x 3

HANSAFFLEX

9



10

d) ZEERE HEEIR A R iR SR AR D124 & ANSI/ASME B1.20.1-1983454E

» G2 _ 8
Banl =T
7 " A
A | A
L AN\ ﬁ‘
] | 7 R R
I | &
G1 S |
F " Fy I £ F
Ansi/ASME B1.20. 1-1983 Ansi/ASME B1. 20. 1-1983
NPT#RI24L NPTH24I7L
EX WMEINZO.D. G1/G2 T1 T2 NFRIEEDN

L 6 1/8"-27 NPT 6.9 1.6 04
L 8 1/4"-18 NPT 10 16.4 06
L 10 1/4"-18 NPT 10 16.4 08
L 12 3/8"-18 NPT 10.3 17.4 10
L 15 1/2"-14 NPT 13.6 22.6 13
L 18 1/2"-14 NPT 13.6 22.6 16
L 22 3/4"-14 NPT 14.1 23.1 20
L 28 1"-11.5 NPT 16.8 27.8 25
L 35 1.1/4"-11.5 NPT 17.3 28.3 32
L 42 1.1/2"-11.5 NPT 17.3 28.3 40
S 6 1/4"-18 NPT 10 16.4 03
S 8 1/4"-18 NPT 10 16.4 04
S 10 3/8"-18 NPT 10.3 17.4 06
S 12 3/8"-18 NPT 10.3 17.4 08
S 14 1/2"-14 NPT 13.6 22.6 10
S 16 1/2"-14 NPT 13.6 22.6 13
S 20 3/4"-14 NPT 141 23.1 16
S 25 1"-11.5 NPT 16.8 27.8 20
S 30 1.1/4"-11.5 NPT 17.3 28.3 25
S 38 1.1/2"-11.5 NPT 17.3 28.3 32

HANSAFFLEX




HANSA-FLEXA BB E Bk E iH

.

Eid g9 O AT AR A BRI E RS T E .

=12 FEDIN3861FRAERW 2 AYum O FADIN EN ISO 8434-1#R/EHIIERIFRE L IR

-7
_?5;5 T |
r.
- L] §1
Ol 7 7T Oo = @
h=]
araes =
T
J.L1I-
L2 :
0.D. . PN M L1 L2 D1 D2
in bar
LL 4 100 M8x1 4 8 4 5
LL 5 100 M10x1 55 8 5 6.5
LL 6 100 M10x1 55 8 6 7.5
LL 8 100 M12x1 55 9 8 9.5
L 6 315 M12x1.5 7 10 6 8.1
L 8 315 M14x1.5 7 10 8 101
L 10 315 M16x1.5 7 1 10 12.3
L 12 315 M18x1.5 7 1" 12 14.3
L 15 315 M22x1.5 7 12 15 17.3
L 18 315 M26x1.5 7.5 12 18 20.3
L 22 160 M30x2 7.5 14 22 24.3
L 28 160 M36x2 7.5 14 28 30.3
L 35 160 M45x2 10.5 16 35.3 38
L 42 160 M52x2 11 16 42.3 45
S 6 630 M14x1.5 7 12 6 8.1
S 8 630 M16x1.5 7 12 8 10.1
S 10 630 M18x1.5 7.5 12 10 12.3
S 12 630 M20x1.5 7.5 12 12 14.3
S 14 630 M22x1.5 8 14 14 16.3
S 16 400 M24x1.5 8.5 14 16 18.3
S 20 400 M30x2 10.5 16 20 22.9
S 25 400 M36x2 12 18 25 27.9
S 30 400 M42x2 13.5 20 30 33
S 38 315 M52x2 16 22 38.3 41

HANSAFFLEX

11



THIRIEER HFEER THFFEDIN 385247 EBFNER HY U2 IR A (G D41 E) MBIRER K, UK A BREREMERX.
RLENFEHFENOUE AT ERSLHNMBFERZREE (GIET], HERELRK) L BERNTE.
( )
ITRENE RN ITRNE

YR (Nm) MOk (Nm) gL (Nm)
G1/8" 25 12 25
G1/4" 40 18 40
G3/8" 90 40 80
G1/2" 120 75 120
G3/4" 210 110 180
G1" 370 190 300
G1.1/2" 500 240 300
G1.1/2" 600 300 600
M10x1 25 12 25
M12x1.5 30 18 30
M14x1.5 50 20 50
M16x1.5 70 35 60
M18x1.5 90 50 70
M20x1.5 120 60 110
M22x1.5 130 70 130
M26x1.5 180 85 140
M27x2 220 100 150
M33x2 330 150 280
M42x2 500 260 280
M48x2 650 350 500

6.

HANSA-FLEXA R8I~ e E th 835 #EDIN EN10305-4FmEHEMB E T ENE . XENEFLUS R TENE, HFAKTE
SR A IBHIR ST .

TENEEAEETRERIPE, IEESRRENBLIEERIE.

71
FR—EAEMNBETFEETLIEIL0° AE. FETEFAETMENSEITIIE, BAMEINSES FIIRIBmEHERN
wmO, MERHEOSENFENTEZEE. AETEIRIFMRE N5
MOHEBRIROMER. RIFEEIRA0.2 x 45%,
EEETHRO, XRSEmEESLEEIEENERRT, fmeBER, 5.
ERECERNEMEE, IBENEHE, RITEVERMEFE.
HEETHRBLABHELC A - SEBEISENRIKEEABETSS. EMNGACRAENTEE S ANIRE TR
IDIN2391FREMEN BN DE.
7.2
a) FHEmELIBERTEEEE;
b) FEIESLNHBITHEIETRE. T8, XMERGETERATHRNENRE;
BMAELENERRZEAECN TENYRNREELRITERELNERER . REEENMREEEBIREHASIELME
FZEFEEREE TS TR

7.21

— TERE T RRSRLIANHEG bk EiaEH.
— EEFLREBENFE. I8, FEEZUEBNEREN, BRFENTILHEREFRRIRIT.

12 HANSAFFLEX



— AFREES, BERRIRENRAFASHILE.
— ERAWMRRERERERAA TNUFERTREXE FHITIERAITIR

— BERRFIRIZEEE 1725, ERE, ST
MR

.

— e IRE, REEFETNOMHRVENREMR T UEENNLE, HELETE, FMANEREITE, HEAKRE
— EEAEATFEREED), THUHE%ER.

7.2.2

— MEESAA R IR AN A T
— EETLRREEBENFE, TEFELTUERNAREN, BRFTENTDHEEFRERD

— RFEREZIES, BEEITTRIAL.
—EFiR O R RESERELANEAINLES L. BNU-FERTRENTE FHTERRITIHE.

MRHRE R

S \ iy
_ | d__::_. I|
+ r -:. -
I

— ERARFHEERER 1252, FRAS—IRFRFEERIAKME.

— e RS, REAEFETIONEVEINREMR T LEENALE, BEEETE, FMANEREITE, HEAKRE
— EEABEATFEREED, TUHE%ER.

Mz e

7.3
BEMRFENERBANELGR, EETERRFFRES, AEERADRFFE, ZRHE

PhegiT R /4R,

HANSAFFLEX

RGP DBE AL, B

13



8.37°
I OEEARREA MR-
1) ER—24 WS, —ME, —NROAWRNREERL (953]32FRDIN23537%0 DIN3861#RfE) ©
— ER—RAENETFEE T LURIL0 AE. EETEFEREFENHATINE, EAVENSEEFHRSBAETR
B R
— DHERRIROMER . FREEE FRIIROMARE 710,
— ARETHRO, ARSEMEELNBEHENERLT, fINeRER, 51.

-J_’a":
Y I

— AETLEREBHIT OWE. 38, FOWRELFUEHNARERE.
— AT ON, EEMEENYSENETROETI O,
EFHY OWOLFAMEFREROCE, WOMZRFES, RENE, UENSRENZTHER.
— REN24° HERREIRA EEEEL AN OiRERE, BFERIESE, EERRARENERABIE L.
— AR, FRARFIZEEEZ1/4BZ1/2E .
— EEREFTAEE—RREMBENAZ.

_%W4]m

' Lt

2) {FFASAE J514F0 I1SO 8434-2mER0 Ok,

XS RAEELAN, I OWEMERIZERAR, FOBTHEREEBTELAGNT OWFECE, BidiEEIZE
FEFMEESEREE—E.

BB ERMER, PEITEF, FEMEFROFETIMNI. EFTERN, BERSEE, EERRIERNEA
gk, REERRFFESHEESVAZEZE, AEEPNBS—IRFRFEEELARE,

ESREMNASE—RRENERNAZITEIER.

e

ST,

— OO HIEI A EMIZIE T, XMBER, RIEDIN25SOMERITFEERO.

— EIREEEL LR KRS,

— BEETHEEL LIREE, EEENRE OMEIE, H A ETRELS, WERHTEEER RIZA R 4B EHIELR.
— EEELTEAER, REOHEHB. I8, TATEHBORERE.

—ATETRE, ALEHEEEREk.

— BFREIZE, EERRRRRNRRBE AL,

— BRI R4 . BT ARENETETEENELAE, 2THURZER .

lim

14  HANSAFFLEX



10.

101
DN DIN 7631
60° 24° 24° | 24°(mm)| 24°
M12-1 12.00 | 11.00 6
M12-1.5 5 1/8 2 12.00 | 10.50 4 6
M14-1.5 5+6 |1/8+1/4| 2+4 | 14.00 | 12.50 6 8 6 8
M16-1.5 6 1/4 4 16.00 | 14.50 8
M16-1.5 8 5/16 5 16.00 | 14.50 8 10 10
M18-1.5 6 1/4 4 18.00 | 16.50 10
M18-1.5 10 3/8 6 18.00 | 16.50 10 12 12
M20-1.5 8 5/16 5 20.00 | 18.50 12 14 13.25
M22-1.5 10 3/8 6 22.00 | 2050 14
M22-15 12 1/2 8 2200 | 2250 12 15 15
M24-1.5 12 1/2 8 24.00 | 2250 16 16 16.75
M26-1.5 16 5/8 10 | 26.00 | 2450 16 18
M27-1.5 16 5/8 10 | 27.00 | 2550 18
M30-1.5 20 3/4 12 | 30.00 | 2850 20 22 21.25
M30-2 16 5/8 10 | 30.00 | 27.90 20
M30-2 20 3/4 12 | 30.00 | 27.90 22
M33-1.5 20 3/4 12 | 33.00 | 31.50 25
M36-1.5 25 1 16 | 36.00 | 34.50 28 26.75
M36-2 20 3/4 12 | 36.00 | 33.90 25
M36-2 25 1 16 | 36.00 | 33.90 28
M38-1.5 25 1 16 | 38.00 | 36.50 25
M39-1.5 25 1 16 | 39.00 | 37.50 30
M42-15 25 1 16 | 42.00 | 40.50 32
M42-2 25 1 16 | 42.00 | 39.90 30
M45-1.5 32 | 114 | 20 | 45.00 | 43.00 32 35
M45-2 32 | 114 | 20 | 45.00 | 42.90 35
M48-15 32 | 11/4 | 20 | 48.00 | 4650 38 M52-15
M52-1.5 40 | 112 | 24 | 5200 | 5050 40
M52-2 32 | 114 | 20 | 52.00 | 49.90 38
M52-2 40 | 112 | 24 | 5200 | 49.90 42
M54-2 40 | 112 | 24 | 5400 | 51.90 45
M58-2 40 | 112 | 24 | 5800 | 55.90 48.25
M65-2 50 2 32 | 65.00 | 62.90 50
M78-2 60 78.00 | 75.90 60
M90-2 70 90.00 | 87.90 70
M110-2 80 110.00 | 97.90 80
M110-2 90 110.00 | 107.90 90
M120-2 100 4 64 | 120.00 | 117.90 100

HANSAFFLEX

15



16

10.2

BSP / DN
G 1/8" 28 5 1/8 2 9.73 8.60
G 1/4" 19 6 1/4 4 13.16 11.50
G 3/8" 19 10 3/8 6 16.66 14.90
G 1/2" 14 12 1/2 8 20.96 18.60
G 5/8" 14 16 5/8 10 2291 20.60
G 3/4" 14 20 3/4 12 26.44 24.10
G1" 1 25 1 16 33.25 30.30
G 1.1/4" 1 32 11/4 20 41.91 38.90
G1.1/2" 1 40 11/2 24 47.80 44.90
G2" 11 50 2 32 59.62 56.70
10.3
NPT DN
1/8"-27 5 1/8 2 9.70 8.60
1/4"-18 6 1/4 4 13.10 11.30
3/8"-18 10 3/8 6 16.30 15.10
1/2"-14 12 1/2 8 20.20 18.60
3/4"-14 20 3/4 12 25.50 2410
1"-11.5 25 1 16 32.20 30.20
1.1/4"-11.5 32 11/4 20 41.00 38.90
1.1/2"-11.5 40 11/2 24 47.00 44.90
2"-11.5 50 2 32 58.90 56.70
0.4
UN DN UN DN
5/16-24 UN 5 1/8 2 17941715 JIC 13/16-12UN | 20 3/4 [14+12]30.10[27.50 | JIC+ORS
3/8-24 UNF 5 [316] 3 |952]8.60 JIC 15/16-12UN | 25 1 16 [33.30]31.30 JIC
7/16-20 UNF | 6 1/4 4 |11.07]10.00 [JIC+SAE| | 15/16-14 UNS | 25 1 16 [33.30]31.60 PTT
1/2-20 UNF 8 |5/16 | 5 ]12.70]11.60 [ JIC+SAE 17/16-12 25 1 16 |36.40|33.80] ORS
9/16-18 UNF | 10 | 3/8 [ 6+4 |14.25]|13.00 [JIC+ORS 15/8-12 UN 32 | 11/4] 20 [41.22[39.20 JIC
5/8-18 UNF 10 | 3/8 6 |15.85|14.70| SAE 15/8-14UNS | 32 | 11/4 ] 20 ([41.22{39.50 PTT
11/16-16 UN | 10 | 3/8 6 |17.40]|1540| ORS 111/16-12UN | 32 | 11/4 | 20 ([42.80(40.20f ORS
3/4-16 UNF 12 | 12 8 [19.00]17.60 [ JIC+SAE 17/8-12 UN 40 [ 11/2 ] 24 [47.57]45.60 JIC
13/16-16 UN | 12 | 1/2 8 [20.50]{18.60| ORS 17/8-14UNS [ 40 | 11/2 | 24 |47.57]|45.90 PTT
7/8-14 UNF 16 | 5/8 | 10 |22.17[20.50| JIC+SAE 2-14 UN 40 | 11/2 | 24 [50.70148.10| ORS
1-14 UNS 16 | 5/8 | 10 125.30123.10f ORS 21/2-12 UN 50 2 32 [63.45]61.50 | JIC+PTT
11/16-12UN | 20 | 3/4 | 12 [26.95[25.00 JIC 3-12 UN 60 |21/2] 40 [76.20({74.30 JIC
11/16-14 UNS | 20 | 3/4 | 12 |26.95]25.30| SAE 3 1/2-12 UN 80 3 48 |88.90(87.00 JIC

HANSAFFLEX




)i

X VR NWI3 HL ED VA

ERIELE, FEEFRF | ‘ wE/ REE
E, TAXHE SN HRHIE 3167554
BREENSERELY 304554
ELRK.
v : BimEL ENELRZRT
w EfafEsk O S
T =@k BRI
K 5@k EEY]
O | ATRER™ (BUHB)]
S OESRERIF R TR
O M. 2HEHERY, BaEE O MO.. AslEHERY, ORE R
@ M... ED A#IEHEIZL, EDEZHE @ MK... AblHiag, 18w
@ R.. HEHEBY, FihEs ® RO... ZH|Ei8L, ORIE
@ R... ED Z#|H1847, EDE @ RK... EH4IBL, 18454
U.. SEHIEBL(UNF), ORIE =
N... |84 (UNF), 18505
TTEEREI:
TS ik

XVMNW 13 HL 16 ED

AOVR NW 10 S ED VA1

HVM NW 32 HS ED VA

i BB R A(TEBERFE), 15mmNEIMR, DR AFEEEEIM16x1.5,

EDBEZE, i

i BB R (53 B hn), I 514STENEmIEE, BSPimESMEL, EDBE®H,

304N

BoE(ERERIE)RRA HOENE, I8mmNWEINME, i OmAHETER
2, EDBEZH, 3167, FEE1bar

1) B XIS T BB KRR B 1R I & BS AR TR

E2). AR ERELN

e

ZANUAY

RIS, BiESEETERIE,

HANSAFFLEX

17



TEFE

i
o @d2 EIMRD L1
TS RS p o il
SRD 04 LL LL 4 4 6.0
SRD 05 LL LL 5 5 7.0
SRD 06 LL LL 6 6 7.0
SRD 08 LL LL 8 8 7.0
SRD 10 LL LL 10 10 7.0
SRD 12 LL LL 12 12 7.5
SRD 16 LL LL 16 16 9.0
SRD 06 L/S 6 6 9.5
SRD 08 L/S 8 8 9.5
SRD 10 L/S 10 10 10.0
SRD 12 L/S 12 12 10.0
SRD 14 S 14 14 10.5
SRD 15 L 15 15 10.0
SRD 16 S 16 16 10.5
SRD 18 L 18 18 10.0
SRD 20 S 20 20 12.5
SRD 22 L 22 22 11.5
SRD 25 S 25 25 12.5
SRD 28 L 28 28 1.5
SRD 30 S 30 30 13.5
SRD 35 L 35 35 13.5
SRD 38 S 38 38 13.5
SRD 42 L 42 42 13.5
SRD 65 L 65 65 21.2

R LL=4FRART] L= RJ| S=ERT|

R FHENRE SRDO V

e 042 B a0 L1
e 75l b pletn e OR

SRDO 06 V L/S 6 6 8.8 6x1
SRDO 08 V L/S 8 8 8.8 8x1
SRDO 10V L/S 10 10 9.8 10x 1
SRDO 12V L/S 12 12 9.8 12 x 1
SRDO 14V S 14 14 10.2 14 x 1
SRDO 15V L 15 15 10.2 15x 1
SRDO 16 V S 16 16 10.2 16 x 1
SRDO 18V L 18 18 10.2 18 x 1
SRDO 20V S 20 20 12.5 20 x1
SRDO 22V L 22 22 11.5 22 x1
SRDO 25V S 25 25 12.5 25 x1
SRDO 28 V L 28 28 11.5 28 x 1
SRDO 30V S 30 30 13.5 30 x 1
SRDO 35V L 35 35 13.5 35x1
SRDO 38V S 38 38 13.5 38 x 1
SRDO 42V L 42 42 135 42 x 1

By LL=HFR AT L=BFRF] S=ERT|

18  HANSAFFLEX



L35 } UEM

@d2 L1

T2 +

1S e AE ™ G1 mm S1
UEM 04 LL LL 4 M8x1 11.5 10
UEM 05 LL LL 5 M 10 x1 12.0 12
UEM 06 LL LL 6 M 10x1 12.0 12
UEM 08 LL LL 8 M 12 x1 12.5 14
UEM 10 LL LL 10 M 14 x 1 13.5 17
UEM 12 LL LL 12 M 16 x 1 13.5 19
UEM 16 LL LL 16 M22x1.5 17.5 27
UEM NW 04 L L 6 M12x1.5 15.0 14
UEM NW 06 L L 8 M14x1.5 15.0 17
UEM NW 08 L L 10 M16x1.5 16.0 19
UEM NW 10 L L 12 M18x1.5 16.0 22
UEMNW 13 L L 15 M22x1.5 17.5 27
UEM NW 16 L L 18 M26x1.5 18.5 32
UEM NW 16 L 27 L 18 M27 x 2 18.0 32
UEM NW 20 L L 22 M30x2 20.5 36
UEM NW 25 L L 28 M 36 x 2 21.5 41
UEM NW 32 L L 35 M 45 x 2 24.5 50
UEM NW 40 L L 42 M52 x2 24.5 60
UEM NW 03 S S 6 M14x1.5 17.0 17
UEM NW 04 S S 8 M16x 1.5 17.0 19
UEM NW 06 S S 10 M18x 1.5 18.0 22
UEM NW 08 S S 12 M20x1.5 18.0 24
UEMNW 10 S S 14 M22x1.5 21.0 27
UEMNW 13 S S 16 M?24x1.5 21.0 30
UEM NW 16 S S 20 M 30 x 2 24.5 36
UEM NW 20 S S 25 M 36 x 2 27.5 46
UEM NW 25 S S 30 M42x2 29.5 50
UEMNW 32 S S 38 M52 x2 33.0 60

RY: LL=$5R AT L=B R S=EZR7
FREISHEAE: UEM VA: 74, UEM MG: #iE; G1=HOB4

fRYZE _ KM

AR ATIERER |
#rfE: DIN 80705 1SO 8434-1 I |
s

| P
=1 L1 SW
e G1 mm mm
KM 12 M12x1.5 6 17
KM 14 M14x15 6 19
KM 16 M16 x 1.5 6 22
KM 18 M18x 1.5 6 24
KM 20 M20x1.5 6 27
KM 22 M22x1.5 7 30
KM 24 M24x1.5 7 32
KM 26 M26x1.5 8 36
KM 30 M30x2 9 41
KM 36 - 1.5 M36x1.5 9 46
KM 36 M 36 x 2 9 46
KM 42 M42 x 2 9 50
KM 45 M45x 2 9 55
KM 52 M52 x 2 10 65

FRABSIEAA: KM_VA: TN, KM_MG: =iF

HANSAFFLEX 19



REREH SRWD-VI

gElEN: BT RENRES i

B8l FPM ( Viton ) a

‘R RIFRNITERE(RE): - 25°CE+ 200°C ™ { i

¥ -—l-"

o @d1 @d2 E
RS ?t?ll mm mm mm
SRWD 06 VI L/S 6 9.1 7.3
SRWD 08 VI L/s 8 8.0 7.3
SRWD 10 VI L/sS 10 13.3 7.3
SRWD 12 VI L/sS 12 15.3 7.0
SRWD 14 VI S 14 18.8 7.2
SRWD 15 VI L 15 19.0 7.2
SRWD 16 VI S 16 208 75
SRWD 18 VI L 18 228 7.7
SRWD 20 VI S 20 25.8 9.3
SRWD 22 VI L 22 26.3 7.9
SRWD 25 VI S 25 315 8.9
SRWD 28 VI L 28 323 8.0
SRWD 30 VI S 30 373 8.2
SRWD 35 VI L 35 413 8.0
SRWD 38 VI S 38 46.0 8.2
SRWD 42 VI L 42 483 8.2

RY: LL=HFRERT L=BRT| S=EZ7

Bl L XV
iR Hil .

FEFE1-2: DNFIIMREL :

BHER: 24 RHERH ,

. TiEES @d1 @d2 L1 L2 SwW

THES 25 bar mm mm mm mm mm
XV 04 LL LL PN 100 4 4 20 12.0 9
XV 05 LL LL PN 100 5 5 20 9.0 11
XV 06 LL 04 LL PN 100 6 4 20 10.5 11
XV 06 LL LL PN 100 6 6 20 9.0 11
XV 08 LL 04 LL PN 100 8 4 22 12.5 12
XV 08 LL 06 LL PN 100 8 6 22 11.0 12
XV 08 LL LL PN 100 8 8 23 12.0 12
XV 10 LL LL PN 100 10 10 23 12.0 14
XV 12 LL LL PN 100 12 12 23 11.0 17
XV NW 04 HL L PN 315 6 6 24 10.0 12
XV NW 06 HL 04 L PN 315 8 6 25 11.0 14
XV NW 06 HL L PN 315 8 8 25 11.0 14
XV NW 08 HL 04 L PN 315 10 6 26 12.0 17
XV NW 08 HL 06 L PN 315 10 8 26 12.0 17
XV NW 08 HL L PN 315 10 10 27 13.0 17
XV NW 10 HL 04 L PN 315 12 6 27 13.0 19
XV NW 10 HL 06 L PN 315 12 8 27 13.0 19
XV NW 10 HL 08 L PN 315 12 10 28 14.0 19
XV NW 10 HL L PN 315 12 12 28 14.0 19
XV NW 13 HL 04 L PN 315 15 6 28 14.0 24
XV NW 13 HL 06 L PN 315 15 8 28 14.0 24
XV NW 13 HL 08 L PN 315 15 10 29 15.0 24
XV NW 13 HL 10 L PN 315 15 12 29 15.0 24
XV NW 13 HL L PN 315 15 15 30 16.0 24
XV NW 16 HL 04 L PN 315 18 6 29 14.5 27
XV NW 16 HL 06 L PN 315 18 8 29 14.5 27
XV NW 16 HL 08 L PN 315 18 10 30 15.5 27
XV NW 16 HL 10 L PN 315 18 12 30 15.5 27
XV NW 16 HL 10 27 L PN 315 18 12 32 17.5 27
XV NW 16 HL 13 L PN 315 18 15 31 16.5 27
XV NW 16 HL L PN 315 18 18 31 16.0 27
XV NW 16 HL 27 L PN 315 18 18 35 20.0 27
XV NW 20 HL 06 L PN 160 22 8 31 16.5 32
XV NW 20 HL 08 L PN 160 22 10 32 17.5 32

200 HANSAFFLEX



HilEiEk

g Bl

B2 QEIIMRE

BN 24 N EH

iT%

XV NW 20 HL 10
XV NW 20 HL 13
XV NW 20 HL 16

XV NW 20 HL 16 27

XV NW 20 HL

XV NW 25 HL 06
XV NW 25 HL 08
XV NW 25 HL 10
XV NW 25 HL 13
XV NW 25 HL 16

XV NW 25 HL 16 27

XV NW 25 HL 20
XV NW 25 HL
XV NW 32 HL 20
XV NW 32 HL 25
XV NW 32 HL
XV NW 40 HL 25
XV NW 40 HL 32
XV NW 40 HL

XV NW 16 HL 13 HS

XV NW 03 HS

XV NW 04 HS 03
XV NW 04 HS

XV NW 06 HS 03
XV NW 06 HS 04
XV NW 06 HS

XV NW 08 HS 03
XV NW 08 HS 04
XV NW 08 HS 06
XV NW 08 HS

XV NW 10 HS 03
XV NW 10 HS 04
XV NW 10 HS 06
XV NW 10 HS 08
XV NW 10 HS

XV NW 13 HS 03
XV NW 13 HS 04
XV NW 13 HS 06
XV NW 13 HS 08
XV NW 13 HS 10
XV NW 13 HS

XV NW 16 HS 06
XV NW 16 HS 08
XV NW 16 HS 10
XV NW 16 HS 13
XV NW 16 HS

XV NW 20 HS 13
XV NW 20 HS 16
XV NW 20 HS

XV NW 25 HS 13
XV NW 25 HS 16
XV NW 25 HS 20
XV NW 25 HS

XV NW 32 HS 13
XV NW 32 HS 20
XV NW 32 HS 25
XV NW 32 HS

e o
s

XV NW 13 HS 13 HL
XV NW 16 HS 13 HL
XV NW 16 HS 16 HL
XV NW 20 HS 20 HL

Ay LL=HFRARY L=2R7, WaiRiER4 ~ 120882 AR5], TIEES%100bar

3]

DOOOOLOLOLOLOOOLOOLOOLOOOLOLOOLOOLOOLOOLOOLOOLOOOLOOLOOLOOLOOLnuLunowo S-rcecCCCCCCCCCCCCCC oo

S/L
S/L
S/L
S/L

TEESD
bar
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 315
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 315
PN 315
PN 400
PN 400
PN 400
PN 400

ad1
mm
22
22
22
22
22
28
28
28
28
28
28
28
28
35
35
35
42
42
42
18
6
8
8
10
10
10
12
12
12
12
14
14
14
14
14
16
16
16
16
16
16
20
20
20
20
20
25
25
25
30
30
30
30
38
38
38
38
16
20
20
25

~ IEGNIN - -
SPOSPOZ PO G

N_L_\_\Q)Q)[\)_LQ)NN_\[\)|\)_\[\)_\_\_L_\_\_L_\_\mo’_\_h
NOOWOUNNOIOoOOUOODOUITOOODUOOOOOORANOOO®ANO AN

46

HANSAFFLEX

L2
mm
17.5
18.5
18.0
20.0
20.0
18.5
19.5
19.5
20.5
20.0
22.0
22.0
21.0
21.0
21.0
20.0
22.5
215
21.0
17.0
16.0
18.0
18.0
17.5
17.5
17.0
19.5
19.5
19.0
19.0
21.0
21.0
20.5
20.5
22.0
20.5
20.5
20.0
20.0
21.5
21.0
22.0
22.0
23.5
23.0
23.0
25.5
255
26.0
26.0
26.0
26.5
27.0
28.5
29.0
29.5
29.0
20.5
22.5
22.0
26.5

XV

SwW
mm
32
32
32
32
32
41
41
41
41
41
41
41
41
46
46
46
55
55
55
27
14
17
17
19
19
19

22
22
22
24
24
24
24
24
27
27
27
27
27
27
32
32
32

32
41
41
41
46
46
46
46
55
55
55
55
27
32
32
41

21



HREEL

N 90°F

BEO1+2: AHISMELG

BN 24N B

%8

XW 04 LL

XW 05 LL

XW 06 LL

XW 08 LL

XW 10 LL

XW 12 LL

XW NW 04 HL
XW NW 06 HL
XW NW 08 HL
XW NW 10 HL
XW NW 13 HL
XW NW 16 HL
XW NW 20 HL
XW NW 25 HL
XW NW 32 HL
XW NW 40 HL
XW NW 03 HS
XW NW 04 HS
XW NW 06 HS
XW NW 08 HS
XW NW 10 HS
XW NW 13 HS
XW NW 16 HS
XW NW 20 HS
XW NW 25 HS
XW NW 32 HS

A LL=HRRT L=RZ&7] S=EARY|, thieH@RF4 ~ 12008% %5, T(EEHA100bar

ZEEEL

gEap: T

HERE1-3: AHISMERLL

FBHEN: 24°AHEREH

TS
XT 04 LL

XTO5LL

XT 06 LL

XTO08 LL

XT10LL

XT12LL

XT NW 04 HL
XT NW 06 HL
XT NW 08 HL
XT NW 10 HL
XT NW 13 HL
XT NW 16 HL
XT NW 20 HL
XT NW 25 HL
XT NW 32 HL
XT NW 40 HL
XT NW 03 HS
XT NW 04 HS
XT NW 06 HS
XT NW 08 HS
XT NW 10 HS
XTNW 13 HS
XT NW 16 HS
XT NW 20 HS
XT NW 25 HS
XT NW 32 HS

el

LL
LL

LL
LL

(RONONOGNONON) NN HN )N mull pll mull sl mnll pll

eyl

LL
LL
LL
LL

LL
LL
LL

(ORORONONONONPNNHN )N mull pull ull wll o

TEEH
bar
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

TIEER
bar
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

@d2
mm
4
5
6
8
10
12
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

EIMZD

mm
4
5
6
8
10
12
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

EIMZD

mm
4
5
6
8
10
12
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

10
12
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

L2
mm
11.0
9.5
9.5
1.5
12.5
13.0
12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
21.5
22.0
24.5
26.5
30.0
35.5
41.0

L2
mm
11.0
9.5
9.5
1.5
12.5
13.0
12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
215
22.0
245
26.5
30.0
35.5
41.0

L7

15
15
15
17

19
19
21
22

28
31
35
38
45
51
23
24
25
29
30
33
37
42

57

L7
mm
15
15
15
17
18
19
19
21
22
24
28
31
35
38
45
51
23
24
25
29
30
33
37
42
49
57

Y. LL=HFRARY L=RR7 S=ERY, HrRHER4 ~ 1200812 %5, TIEEIH100bar; G1 - G3=#EM4ZL

22

HANSAFFLEX

Xw

XT

SW

9
9
9
12
14
17
12
12
14
17
19
24

36
41
50
12
14
17
17
19
24
27
36
41
50



SETEEL

gapK: T
EHE1-3: AFIIMRSL

BB 24 NHEEREH

1155

XRT 04 08 04 LL

XRT 06 04 06 LL

XRT NW 04 06 04 HL
XRT NW 04 08 04 HL
XRT NW 06 04 06 HL
XRT NW 06 06 04 HL
XRT NW 06 08 06 HL
XRT NW 06 10 06 HL
XRT NW 06 13 06 HL
XRT NW 08 04 08 HL
XRT NW 08 06 06 HL
XRT NW 08 06 08 HL
XRT NW 08 08 04 HL
XRT NW 08 10 08 HL
XRT NW 08 13 08 HL
XRT NW 10 04 10 HL
XRT NW 10 06 06 HL
XRT NW 10 06 10 HL
XRT NW 10 08 08 HL
XRT NW 10 08 10 HL
XRT NW 10 10 06 HL
XRT NW 10 10 08 HL
XRT NW 10 13 10 HL
XRT NW 10 16 10 HL
XRT NW 1020 10 HL
XRT NW 13 04 13 HL
XRT NW 13 06 06 HL
XRTNW 13 06 13 HL
XRT NW 13 08 06 HL
XRT NW 13 08 08 HL
XRT NW 13 08 13 HL
XRTNW 1310 10 HL
XRTNW 1310 13 HL
XRT NW 13 13 08 HL
XRTNW 13 13 10 HL
XRTNW 13 16 13 HL
XRT NW 13 20 10 HL
XRT NW 16 06 06 HL
XRT NW 16 06 16 HL
XRT NW 16 08 08 HL
XRT NW 16 08 16 HL
XRTNW 16 10 10 HL
XRTNW 16 10 16 HL
XRT NW 16 13 16 HL
XRT NW 16 16 06 HL
XRT NW 16 16 08 HL
XRT NW 16 16 10 HL
XRT NW 20 08 20 HL
XRT NW 20 10 20 HL
XRT NW 20 13 13 HL
XRT NW 20 13 20 HL
XRT NW 20 16 16 HL
XRT NW 20 16 20 HL
XRT NW 20 20 16 HL
XRT NW 20 25 20 HL
XRT NW 25 08 25 HL
XRT NW 25 10 25 HL
XRT NW 25 13 25 HL

#75

LL
LL

-

r—rrr—r—rrFr—rrr—Hrrrrrrrrrr—FrrFrrrFrrFrFr—Fr—'F~rrr '~~~ r~~rr~~~r~rr"r"’rr~rrrr~~~Hr’~"~rHrHrCr+CrCbCbKr e

TiEER
bar
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

D1
mm

0o 0O 00O O BN

NMNNMMMMM[\)M_\_\_\A-\_\_\_\_\_\_L_\_\_\_\_L—\—\_\A_\_\_\A_\_\_\_\_\_\A_\_\_\_\_\_\Aw
00 ONNDNNDNDNNNOGDOGBDOWOOWOOOOMWOBUNUTOOOOAaAaOaoaoauaaNNPNRDNNNNNNNNOOOOOO

D2
mm

=g

0 00 0O Oo oo M

SN (O P D
o 9o ®o

NN SN DN 2NN S 2 g = 3 a2 ) 33 a3 - _ A a aa - o A
OO NONONGAONNNO © ®© N ® O ™ NONMoOoNOOoOPaPPagrNvNvMoPNvoNn®N o

L1
mm
17.0
15.0
21.0
22.0
29.0
21.0
22.0
24.0
21.0
22.0
22.0
22.0
22.0
24.0
28.0
24.0
24.0
24.0
24.0
240
24.0
24.0
28.0
31.0
35.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
31.0
35.0
315
31.0
31.0
31.0
31.0
31.0
31.0
31.0
31.0
31.0
35.0
35.0
35.0
35.0
35.0
35.0
35.0
38.0
38.0
38.0
38.0

L2
mm
13.0
9.5
14.0
15.0
14.0
14.0
15.0
17.0
14.0
15.0
15.0
15.0
15.0
17.0
21.0
17.0
17.0
17.0
17.0
17.0
17.0
17.0
21.0
24.0
28.0
21.0
21.0
21.0
21.0
21.0
21.0
21.0
21.0
21.0
21.0
24.0
28.0
24.0
23.5
23.5
235
235
23.5
235
235
23.5
235
27.5
27.5
275
27.5
27.5
275
27.5
30.5
30.5
30.5
30.5

L3
mm
17.0
15.0
21.0
22.0
21.0
21.0
22.0
24.0
21.0
22.0
22.0
22.0
22.0
24.0
28.0
24.0
24.0
24.0
24.0
24.0
24.0
24.0
28.0
31.0
35.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
28.0
31.0
35.0
31.0
31.0
31.0
31.0
31.0
31.0
31.0
30.5
31.0
30.5
35.0
35.0
35.0
35.0
35.0
35.0
35.0
38.0
38.0
38.0
38.0

'

L4 L5 L6
mm mm mm
13.0 17.0 1.5
9.5 15.0 11.0
14.0 21.0 14.0
15.0 22.0 15.0
14.0 21.0 21.0
14.0 21.0 14.0
15.0 22.0 15.0
17.0 24.0 17.0
14.0 21.0 14.0
15.0 22.0 15.0
15.0 22.0 15.0
15.0 22.0 15.0
15.0 22.0 15.0
17.0 24.0 17.0
21.0 28.0 21.0
17.0 24.0 17.0
17.0 24.0 17.0
17.0 24.0 17.0
17.0 24.0 17.0
17.0 240 17.0
17.0 24.0 17.0
17.0 24.0 17.0
21.0 28.0 21.0
24.0 31.0 235
28.0 35.0 27.5
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
21.0 28.0 21.0
24.0 31.0 235
28.0 35.0 27.5
24.0 30.5 235
23.5 31.0 24.0
24.0 31.0 24.0
235 31.0 24.0
24.0 31.0 24.0
23.5 31.0 24.0
235 31.0 24.0
235 31.0 235
24.0 31.0 23.5
235 315 24.0
27.5 35.0 28.0
27.5 35.0 28.0
28.0 35.0 28.0
275 35.0 28.0
275 35.0 27.5
27.5 35.0 27.5
275 35.0 27.5
30.5 38.0 30.5
30.5 38.0 31.0
30.5 38.0 31.0
30.5 38.0 31.0

HANSAFFLEX

F

XRT

SW
mm

12
11
12
14
12
14
14
17
19
14
17
14
14
19
19
17
17
17
17
17
19
17
19
24
27
19
19
19
19
19
19
19
19
19
19
24
27
24
24
24
24
24
24
24
24
24
24
27
27
27
27
27
27
27
36
36
36
36

23



— Y P4 NG

SiET RSk XRT
wER: TH | —= ]

HEHE1-3: ANHISMES ' .

EHBR: 24 RERES .

TEe zg LIFES D1 D2 D3 L1 L2 L3 L4 L5 L6  sw
bar mm mm mm mm mm mm mm mm mm mm
XRT NW 25 16 25 HL L PN160 28 18 28 380 305 380 305 380 305 36
XRT NW 25 20 20 HL L PN160 28 22 22 380 305 380 305 380 305 36
XRT NW 25 20 25 HL L PN160 28 22 28 380 305 380 305 380 305 36
XRT NW 25 25 20 HL L PN160 28 28 22 380 305 380 305 380 305 36
XRT NW 32 20 32 HL L PN160 35 22 35 450 345 450 345 450 375 41
XRT NW 32 25 25 HL L PN160 35 28 28 450 345 450 375 450 375 41
XRT NW 32 25 32 HL L PN160 35 28 35 450 345 450 345 450 375 41
XRTNW 16 HL16 HS ~ L/S PN315 20 18 20 370 265 370 265 370 295 27
XRT NW 04 03 04 HS S PN630 8 6 8 200 130 190 120 200 130 12
XRT NW 06 03 06 HS S PN630 10 6 10 250 175 250 175 250 180 17
XRT NW 08 03 08 HS S PN630 12 6 12 245 170 245 170 240 170 17
XRT NW 08 04 04 HS S PN630 12 8 8 290 215 290 220 290 220 17
XRT NW 08 04 08 HS S PN630 12 8 2 290 215 290 215 290 220 17
XRT NW 08 06 08 HS S PN630 12 10 12 200 215 290 215 290 215 17
XRT NW 08 13 08 HS S PN630 12 16 12 330 255 330 255 330 245 24
XRT NW 10 06 10 HS S PN630 14 10 14 300 220 300 220 300 225 19
XRT NW 13 03 13 HS S PN400 16 68 16 330 245 330 245 330 260 24
XRT NW 13 04 13 HS S PN400 16 10 16 330 245 330 245 330 260 24
XRT NW 13 06 13 HS S PN400 16 12 16 330 245 330 245 330 255 24
XRT NW 13 08 13 HS S  PN400 16 20 16 330 245 330 245 330 255 24
XRT NW 13 16 13 HS S PN400 16 10 16 370 285 370 285 370 265 27
XRT NW 16 06 16 HS S PN400 20 12 20 370 265 370 265 370 295 27
XRT NW 16 08 16 HS S  PN400 20 14 20 370 265 370 265 370 295 27
XRT NW 16 10 16 HS S  PN400 20 16 20 370 265 370 265 375 295 27
XRT NW 16 13 16 HS S PN400 20 20 20 370 265 370 265 370 285 27
XRT NW 16 16 20 HS S PN400 20 25 25 390 285 405 285 370 285 36
XRT NW 16 20 16 HS S  PN400 20 16 20 420 315 420 315 420 300 36
XRT NW 20 13 20 HS S PN400 25 20 25 420 300 420 300 420 335 36
XRT NW 20 16 20 HS S PN400 25 30 25 420 300 420 300 420 315 36
XRT NW 20 25 20 HS S PN400 25 16 25 490 370 490 370 490 355 41
XRT NW 25 13 25 HS S PN400 30 20 30 490 355 490 355 490 405 41
XRT NW 25 16 25 HS S PN400 30 25 30 490 355 490 355 490 385 41
XRT NW 25 20 25 HS S PN400 30 30 25 490 355 490 355 490 370 41

Ry LL=45RR7| L=BZRY| S=EZRJ|

24 HANSAFFLEX



P& &k

R ME

HEfE4: ABIIMELL :
BEHTR: 24 NHESRS !

S T1EER @d2 EINMZOD L2 L7 SW
TES 251 bar mm mm mm mm mm
XK 04 LL LL PN 100 4 4 11.0 15.0 9

XK 05 LL LL PN 100 5 5 9.5 15.0 9

XK 06 LL LL PN 100 6 6 9.5 15.0 9

XK 08 LL LL PN 100 8 8 11.5 17.0 12
XK NW 04 HL L PN 315 6 6 12.0 19.0 12
XK NW 06 HL L PN 315 8 8 14.0 21.0 12
XK NW 08 HL L PN 315 10 10 15.0 22.0 14
XK NW 10 HL L PN 315 12 12 17.0 24.0 17
XK NW 13 HL L PN 315 15 15 21.0 28.0 19
XK NW 16 HL L PN 315 18 18 23.5 31.0 24
XK NW 20 HL L PN 160 22 22 27.5 35.0 27
XK NW 25 HL L PN 160 28 28 30.5 38.0 36
XK NW 32 HL L PN 160 35 35 34.5 45.0 41

XK NW 40 HL L PN 160 42 42 40.0 51.0 50
XK NW 03 HS S PN 630 6 6 16.0 23.0 12
XK NW 04 HS S PN 630 8 8 17.0 24.0 14
XK NW 06 HS S PN 630 10 10 17.5 25.0 17
XK NW 08 HS S PN 630 12 12 21.5 29.0 17
XK NW 10 HS S PN 630 14 14 22.0 30.0 19
XK NW 13 HS S PN 400 16 16 24.5 33.0 24
XK NW 16 HS S PN 400 20 20 26.5 37.0 27
XK NW 20 HS S PN 400 25 25 30.0 42.0 36
XK NW 25 HS S PN 400 30 30 35.5 49.0 41

XK NW 32 HS S PN 315 38 38 41.0 57.0 50

A LL=HFR R L=RZH7] S=EARY|, tWiRHiER4 ~ sHEBRARTI, TIEESH%100bar

inEEERESL (RH#EEIRN) XVRK

R BEE

HEfE1: BSPTHOESMEL ' -
TR B |

REfE: AHISMEL

BER: 24 REEES N

N TEEA @d2  EIMRO i L2 L7 SW
-LTL{J? ;f-:ﬁlj bar mm mm G mm mm mm mm
XVR 04 LL LL PN 100 4 4 R 1/8" K 8.0 16.0 20.0 1
XVR 05 LL LL PN 100 5 5 R 1/8" K 8.0 14.5 20.0 1
XVR 06 LL LL PN 100 6 6 R 1/8" K 8.0 14.5 20.0 11
XVR 06 LL 1/4 LL PN 100 6 6 R 1/4" K 12.0 14.5 20.0 12
XVR 08 LL LL PN 100 8 8 R 1/8" K 8.0 16.5 22.0 12
XVR 08 LL 1/4 LL PN 100 8 8 R 1/4" K 12.0 20.5 26.0 14
XVR 10 LL LL PN 100 10 10 R 1/4" K 12.0 20.5 26.0 14
XVR 12 LL LL PN 100 12 12 R 1/4" K 12.0 20.0 26.0 17
XVR 12 LL 3/8 LL PN 100 12 12 R 3/8" K 12.0 20.0 26.0 17
XVRK NW 04 HL L PN 315 6 6 R 1/8" K 10.5 17.5 245 12
XVRK NW 04 HL 1/4 L PN 315 6 6 R 1/4" K 14.0 22.0 29.0 17
XVRK NW 06 HL 1/8 L PN 315 8 8 R 1/8" K 10.5 18.5 25.5 14
XVRK NW 06 HL L PN 315 8 8 R 1/4" K 14.0 22.0 29.0 17
XVRK NW 06 HL 3/8 L PN 315 8 8 R 3/8" K 14.5 225 30.5 19
XVRK NW 06 HL 1/2 L PN 315 8 8 R 1/2" K 18.5 275 345 22
XVRK NW 08 HL 1/8 L PN 315 10 10 R 1/8" K 10.5 19.5 26.5 17
XVRK NW 08 HL L PN 315 10 10 R 1/4" K 14.0 23.0 30.0 17
XVRK NW 08 HL 3/8 L PN 315 10 10 R 3/8" K 14.5 245 315 19
XVRK NW 08 HL 1/2 L PN 315 10 10 R 1/2" K 18.5 28.5 35.5 22
XVRK NW 10 HL 1/4 L PN 315 12 12 R 1/4" K 14.0 24.0 31.0 19
XVRK NW 10 HL L PN 315 12 12 R 3/8" K 14.5 245 315 19
XVRK NW 10 HL 1/2 L PN 315 12 12 R 1/2" K 18.5 28.5 35.5 24
XVRK NW 13 HL 3/8 L PN 315 15 15 R 3/8" K 14.5 25.5 24.0 33
XVRK NW 13 HL L PN 315 15 15 R 1/2" K 18.5 29.5 36.5 24

HANSAFFLEX 25



imEEEREL (SEHIEEIREN) | XVRK

GRS, REE :
YEfE1: BSPTARfESMEL -
TR BB , i

HERE2: JABISMBLL

TR 24 TS 2 |

N TEEA @d2  EIMRO i L2 L7 SW
-LT%? ,%';5'] bar mm mm G mm mm mm mm
XVRK NW 16 HL 3/8 L PN 315 18 18 R 3/8" K 14.5 26.0 335 27
XVRK NW 16 HL L PN 315 18 18 R 1/2" K 18.5 30.0 37.5 27
XVRK NW 16 HL 3/4 L PN 160 18 18 R 3/4" K 20.0 315 39.0 32
XVRK NW 20 HL 1/2 L PN 160 22 22 R 1/2" K 18.5 32.0 39.5 32
XVRK NW 20 HL L PN 160 22 22 R 3/4" K 20.0 335 41.0 32
XVRK NW 25 HL L PN 160 28 28 R1"K 24.0 38.5 46.0 41
XVRK NW 32 HL 1 L PN 160 35 35 R1"K 24.0 40.5 51.0 46
XVRK NW 32 HL L PN 160 35 35 R 1.1/4" K 26.0 425 53.0 46
XVRK NW 40 HL L PN 160 42 42 R1.1/2" K 27.0 43.0 54.0 55
XVRK NW 03 HS S PN 400 6 6 R 1/4" K 14.0 27.0 34.0 17
XVRK NW 04 HS S PN 400 8 8 R 1/4" K 14.0 27.0 34.0 17
XVRK NW 06 HS 1/4 S PN 400 10 10 R 1/4" K 14.0 26.5 34.0 19
XVRK NW 06 HS S PN 400 10 10 R 3/8" K 14.5 27.0 345 19
XVRK NW 08 HS 1/4 S PN 400 12 12 R 1/4" K 14.0 28.5 36.0 22
XVRK NW 08 HS S PN 400 12 12 R 3/8" K 14.5 29.0 36.5 22
XVRK NW 08 HS 1/2 S PN 400 12 12 R 1/2" K 18.5 33.0 40.5 22
XVRK NW 10 HS 3/8 S PN 400 14 14 R 3/8" K 14.5 30.5 38.5 24
XVRK NW 10 HS S PN 400 14 14 R 1/2"K 18.5 34.5 425 24
XVRK NW 13 HS 3/8 S PN 400 16 16 R 3/8" K 14.5 30.0 38.5 27
XVRK NW 13 HS S PN 400 16 16 R 1/2" K 18.5 34.0 425 27
XVRK NW 16 HS S PN 400 20 20 R 3/4" K 20.0 375 48.0 32
XVRK NW 20 HS S PN 400 25 25 R1"K 24.0 43.0 55.0 41
XVRK NW 25 HS 1 S PN 400 30 30 R1"K 24.0 435 57.0 46
XVRK NW 25 HS S PN 400 30 30 R 1.1/4" K 26.0 455 59.0 46
XVRK NW 32 HS S PN 315 38 38 R 1.1/2" K 27.0 49.0 65.0 55

Ry LL=HFR RS =AY SSERT; G=EORL

imEEEEL (JHEEERN) XVR

SRR HEE -

HEIE1: BSPARESMEL ; "5

MR B T 12!

HEfE2: ABISMBEL i S——y

EHPR: 24 NEEES PRI
——— TiEEH @d2 EHNMZQ  @d3 i L1 L2 SW
IT'L%? ,3§§|] bar mm G G2 mm mm mm mm mm mm
XVR NW 04 HL L PN 315 6 G 1/8"-28 M12x1.5 6 14 8 23.5 8.5 14
XVR NW 04 HL 1/4 L PN 315 6 G 1/4"-19 M12x1.5 6 18 12 29 10.0 19
XVR NW 04 HL 3/8 L PN 315 6 G 3/8"-19 M12x1.5 6 22 12 30.5 11.5 22
XVR NW 04 HL 1/2 L PN 315 6 G 1/2"-14 M12x1.5 6 26 14 33 12 27
XVR NW 06 HL 1/8 L PN 315 8 G 1/8"-28 M14x1.5 8 14 8 24..0 9 14
XVR NW 06 HL L PN 315 8 G 1/4" -19 M14x1.5 8 18 12 29 10.0 19
XVR NW 06 HL 3/8 L PN 315 8 G 3/8"-19 M14x1.5 8 22 12 30.5 11.5 22
XVR NW 06 HL 1/2 L PN 315 8 G 1/2"-14 M14x1.5 8 26 14 33 12 27
XVR NW 08 HL 1/8 L PN 315 10 G 1/8" -28 M16x 1.5 10 14 8 25.5 10.5 17
XVR NW 08 HL L PN 315 10 G 1/4"-19 M16x 1.5 10 18 12 30 11.0 19
XVR NW 08 HL 3/8 L PN 315 10 G 3/8"-19 M16x 1.5 10 22 12 31.5 12.5 22
XVR NW 08 HL 1/2 L PN 315 10 G 1/2"-14 M16x 1.5 10 26 14 34 13.0 27
XVR NW 10 HL 1/8 L PN 315 12 G 1/8"-28 M18x 1.5 12 14 8 26.5 11.5 19
XVR NW 10 HL 1/4 L PN 315 12 G 1/4"-19 M18x 1.5 12 18 12 31 12.0 19
XVR NW 10 HL L PN 315 12 G 3/8-19 M18x 1.5 12 22 12 31.5 12.5 22
XVR NW 10 HL 1/2 L PN 315 12 G1/2"-14 M18x 1.5 12 26 14 34 13.0 27
XVR NW 10 HL 3/4 L PN 315 12 G 3/4"-14 M18x 1.5 12 32 16 37 14.0 32
XVR NW 13 HL 1/4 L PN 315 15 G 1/4" -19 M22x1.5 15 18 12 32 13.0 24
XVR NW 13 HL 3/8 L PN 250 15 G 3/8"-19 M22x1.5 15 22 12 33.0 14.0 24

26  HANSAFFLEX



imEEEREL (RHEEEEY)

SN HEB
HEHE1: BSPHREIMBE
FHFN: BE

EHE2: REISMELY

BN 24° R BT

TS

XVR NW 13 HL

XVR NW 13 HL 3/4
XVR NW 13 HL 1
XVR NW 16 HL 3/8
XVR NW 16 HL

XVR NW 16 HL 3/4
XVR NW 16 HL 1
XVR NW 20 HL 1/2
XVR NW 20 HL

XVR NW 20 HL 1
XVR NW 25 HL 1/2
XVR NW 25 HL 3/4
XVR NW 25 HL
XVRNW 25 HL 1 1/4
XVR NW 32 HL 3/4
XVR NW 32 HL 1
XVR NW 32 HL
XVRNW 32 HL 1 1/2
XVRNW40HL11/4
XVR NW 40 HL

XVR NW 03 HS 1/8
XVR NW 03 HS
XVR NW 03 HS 3/8
XVR NW 03 HS 1/2
XVR NW 04 HS
XVR NW 04 HS 3/8
XVR NW 04 HS 1/2
XVR NW 06 HS 1/4
XVR NW 06 HS
XVR NW 06 HS 1/2
XVR NW 08 HS 1/4
XVR NW 08 HS
XVR NW 08 HS 1/2
XVR NW 08 HS 3/4
XVR NW 10 HS 3/8
XVR NW 10 HS
XVR NW 10 HS 3/4
XVR NW 13 HS 1/4
XVR NW 13 HS 3/8
XVR NW 13 HS
XVR NW 13 HS 3/4
XVR NW 16 HS 1/2
XVR NW 16 HS
XVR NW 16 HS 1
XVR NW 20 HS 1/2
XVR NW 20 HS 3/4
XVR NW 20 HS
XVR NW 20 HS 1 1/4
XVR NW 25 HS 3/4
XVR NW 25 HS 1
XVR NW 25 HS
XVR NW 25 HS 1 1/2
XVR NW 32 HS 1
XVR NW 32 HS 1 1/4
XVR NW 32 HS

e

[ONONMONONONONONOMONONOMONONOMONONOMONONOMONOMOMORMOMNONMOMONOMO M ORI R R )RS pull pull pull aull sl sl aull sl il el sl il pall el el el sl il aull

TIEER
bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 250
PN 250
PN 250
PN 250
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

@d2
mm

28

38
38
38

G1

G1/2"-14
G 3/4"-14
G1"-1
G 3/8"-19
G1/2"-14
G 3/4"-14
G1"-11
G1/2"-14
G 3/4"-14
G1"-1
G1/2"-14
G 3/4"-14
G1"-1
G1.1/4"-11
G 3/4"-14
G1"-11
G1.1/4"-11
G1.1/2"-11
G1.1/4" -11
G1.1/2"-11
G 1/8"-28
G 1/4"-19
G 3/8"-19
G1/2"-14
G 1/4"-19
G 3/8"-19
G 1/2"-14
G 1/4"-19
G 3/8"-19
G1/2"-14
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/4"-14
G 3/8"-19
G1/2"-14
G 3/4"-14
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/4"-14
G1/2"-14
G 3/4"-14
G1"-1
G1/2"-14
G 3/4"-14
G1"-11
G1.1/4"-11
G 3/4"-14
G1"-1
G1.1/4" -11
G1.1/2"-11
G1"-11
G1.1/4" -11
G1.1/2"-11

G2

M22x1.5
M22x1.5
M22x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M30x2
M30x2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M45x 2
M45x 2
M45x2
M45x 2
M52 x2
M52 x2
M 14 x1.5
M 14 x1.5
M14x1.5
M14x1.5
M16x1.5
M16x1.5
M16x1.5
M18x1.5
M18x1.5
M18x1.5
M20x1.5
M20x1.5
M20x1.5
M20x1.5
M22x1.5
M22x1.5
M22x1.5
M24x1.5
M24x1.5
M24x1.5
M24x1.5
M 30x2
M 30 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M42x2
M42x2
M42x2
M 42 x 2
M52 x2
M52 x2
M52 x 2

Y LL=HFRAY L=R2RF S=EARY; G1=#HOBRL G2= HORL

SImiRINEE

EIMED
mm
15
15
15
18
18
18
18
22
22
22
28
28
28
28
35
35

=l 1, I
i

14
16
18
12
14
16
18
14
16
18
14
16
18
20
16
18
20
22
20
22

12
12
14
12
12
14
12
12
14
12
12
14
16
12
14
16
12
12
14
16
14
18
18
14
16
18
20
16
18
20
22
18
20
22

HANSAFFLEX

L1
mm
35
38
425
335
36
38
405
38
40
43
40
41
43
46
45
47
48
51
50
52
275
32
325
35
34
345
37
34
345
39
36
36.5
39
41
38.5
41
43
38
39
41
45
45
47
50
49
51
53
56
53
55
57
50
60
62
64

L2
mm
14.0
15.0
17.5
14.0
14.5
14.5
15.0
16.5
16.5
17.5
18.5
17.5
17.5
18.3
18.5
18.5
17.5
18.5
19.0
19.0
12.5
13.0
135
14.0
15.0
15.5
16.0
14.5
15.0
17.5
16.5
17.0
17.5
17.5
18.5
19.0
19.0
18.5
18.5
18.5
20.5
20.5
20.5
21.5
23.0
23.5
23.0
24.0
23.5
23.5
23.5
23.5
26.0
26.0
26.0

XVR

SW
mm
27
32
41
27
27
32
41
32
32
41
41
41
41
50
46
46
50
55
55
55
14
19
22
27
19
22
27
19
22
27
22
22
27
32
27
27
32
27
27
27
32
32
32
41
41
41
41
50
46
46
50
55
55
55
55

27



imEEEEL (JHEEERN) XVR-ED

SRR HEE

HEIE1: BSPARESMEL g he——

EHwN: ER s o & I} R e £

EERE2: AHISMBLL ! —

EHPR: 24 WEEEL ———
e D T1EEH @d1 @d2 EIMRD  @d3 i L1 L2 SW
ﬂ-m"? %iyu bar mm mm G1 G2 mm mm mm mm mm mm
XVR 04 LL ED LL PN 100 - 4 G 1/8" -28 M8x1 4 14 8 20.0 9.5 14
XVR 06 LL ED LL PN 100 - 6 G 1/8" -28 M10x1 6 14 8 20.0 8.0 14
XVR NW 04 HL ED L PN 315 - 6 G1/8"-28 M12x1.5 6 14 8 23.5 8.5 14
XVR NW 04 HL 1/4 ED L PN 315 - 6 G1/4"-19 M12x1.5 6 20 12 29.0 10.0 19
XVR NW 04 HL 1/2 ED L PN 315 - 6 G1/2"-14 M12x1.5 6 27 14 33.0 12.0 27
XVR NW 04 HL 3/8 ED L PN 315 - 6 G3/8"-19 M12x1.5 6 22 12 29.5 10.5 22
XVR NW 06 HL 1/8 ED L PN 315 - 8 G1/8"-28 M14x15 8 14 8 245 9.5 14
XVR NW 06 HL ED L PN 315 - 8 G1/4"-19 M14x15 8 19 12 29.0 10.0 19
XVR NW 06 HL 3/8 ED L PN 315 - 8 G3/8"-19 M14x1.5 8 22 12 30.5 11.5 22
XVR NW 06 HL 1/2 ED L PN 315 - 8 G1/2"-14 M14x1.5 8 27 14 33.0 12.0 27
XVR NW 08 HL 1/8 ED L PN 315 - 10 G1/8"-28 M16x1.5 10 14 8 25.5 10.5 19
XVR NW 08 HL ED L PN 315 - 10 G1/4"-19 M16x1.5 10 19 12 30.0 11.0 19
XVR NW 08 HL 3/8 ED L PN 315 - 10 G3/8"-19 M16x15 10 22 12 31.5 12.5 22
XVR NW 08 HL 1/2 ED L PN 315 - 10 G1/2"-14 M16x15 10 27 14 34.0 13.0 27
XVR NW 10 HL 1/4 ED L PN 315 - 12 G1/4"-19 M18x1.5 12 19 12 31.5 12.5 22
XVR NW 10 HL ED L PN 315 - 12 G3/8"-19 M18x1.5 12 22 12 31.5 12.5 22
XVR NW 10 HL 1/2 ED L PN 315 - 12 G1/2"-14 M18x1.5 12 27 14 34.0 13.0 27
XVR NW 10 HL 3/4 ED L PN 250 - 12 G3/4"-14 M18x1.5 12 32 16 36.0 13.0 32
XVR NW 13 HL 3/8 ED L PN 315 - 15 G3/8"-19 M22x15 15 22 12 33.0 14.0 27
XVR NW 13 HL ED L PN 315 - 15 G1/2"-14 M22x1.5 15 27 14 35.0 14.0 27
XVR NW 13 HL 3/4 ED L PN 250 - 15 G3/4"-14 M22x1.5 15 32 16 38.0 15.0 32
XVR NW 16 HL 3/8 ED L PN 315 - 18 G3/8"-19 M26x1.5 18 22 12 33.5 14.0 27
XVR NW 16 HL ED L PN 315 - 18 G1/2"-14 M26x1.5 18 27 14 36.0 14.5 27
XVR NW 16 HL 3/4 ED L PN 250 - 18 G3/4"-14 M26x1.5 18 32 16 38.0 14.5 32
XVR NW 20 HL 1/2 ED L PN 160 - 22 G 1/2"-14 M 30 x 2 22 27 14 38.0 16.5 32
XVR NW 20 HL ED L PN 160 - 22 G 3/4" -14 M 30 x 2 22 32 16 40.0 16.5 32
XVR NW 20 HL 1 ED L PN 160 - 22 G1"-11 M 30 x 2 22 40 18 42.0 16.5 41
XVR NW 25 HL 3/4 ED L PN 160 - 28 G 3/4"-14 M 36 x 2 28 32 16 41.0 17.5 41
XVR NW 25 HL ED L PN 160 - 28 G1"-11 M 36 x 2 28 40 18 43.0 17.5 41
XVR NW 25 HL 1 1/4 ED L PN 160 - 28 G1.1/4"-11 M36x2 28 50 20 46.0 18.5 50
XVR NW 32 HL 1 ED L PN 160 - 35 G1"-11 M 45 x 2 35 40 18 46.0 17.5 50
XVR NW 32 HL ED L PN 160 - 35 G1.1/4"-11 M45x2 35 50 20 48.0 17.5 50
XVR NW 32 HL 11/2 ED L PN 160 30 35 G1.1/2" M 45 x 2 35 55 22 52.0 19.5 55
XVR NW 40 HL 1 1/4 ED L PN 160 - 42 G1.14"-11 M52x2 42 50 20 50.0 19.0 55
XVR NW 40 HL ED L PN 160 - 42 G1.1/2"-11 M52x2 42 55 22 52.0 19.0 55
XVR NW 03 HS ED S PN 630 - 6 G1/4"-19 M14x1.5 6 19 12 32.0 13.0 19
XVR NW 03 HS 1/2 ED S PN 630 - 6 G1/2"-14 M14x1.5 6 27 14 39.0 18.0 27
XVR NW 04 HS ED S PN 630 - 8 G1/4"-19 M16x1.5 8 19 12 34.0 15.0 19
XVR NW 04 HS 3/8 ED S PN 630 - 8 G3/8"-19 M16x15 8 22 12 34.5 15.5 22
XVR NW 06 HS 1/4 ED S PN 630 - 10 G1/4"-19 M18x15 10 19 12 34.0 14.5 22
XVR NW 06 HS ED S PN 630 - 10 G3/8"-19 M18x1.5 10 22 12 34.5 15.0 22
XVR NW 06 HS 1/2 ED S PN 630 - 10 G1/2"-14 M18x1.5 10 27 14 39.0 17.5 27
XVR NW 08 HS 1/4 ED S PN 630 - 12 G1/4"-19 M20x1.5 12 19 12 36.0 16.5 22
XVR NW 08 HS ED S PN 630 - 12 G3/8"-19 M20x1.5 12 22 12 36.5 17.0 22
XVR NW 08 HS 1/2 ED S PN 630 - 12 G1/2"-14 M20x15 12 27 14 39.0 17.5 27
XVR NW 10 HS 3/8 ED S PN 630 - 14 G3/8"-19 M22x15 14 22 12 38.5 18.5 27
XVR NW 10 HS ED S PN 630 - 14 G1/2"-14 M22x1.5 14 27 14 41.0 19.0 27
XVR NW 10 HS 3/4 ED S PN 630 - 14 G3/4"-14 M22x1.5 14 32 16 450 21.0 32
XVR NW 13 HS 3/8 ED S PN 400 - 16 G3/8"-19 M24x15 16 22 12 38.5 18.0 27
XVR NW 13 HS ED S PN 400 - 16 G1/2"-14 M24x15 16 27 14 41.0 18.5 27
XVR NW 13 HS 3/4 ED S PN 400 - 16 G3/4"-14 M24x15 16 32 16 450 205 32
XVR NW 13 HS 1 ED S PN 400 - 16 G1" M24x1.5 16 39 18 455 18.8 41
XVR NW 16 HS 1/2 ED S PN 400 - 20 G 1/2"-14 M 30 x 2 20 27 14 450 205 32
XVR NW 16 HS ED S PN 400 - 20 G 3/4"-14 M30x2 20 32 16 470 205 32
XVR NW 16 HS 1 ED S PN 400 - 20 G1"-11 M 30 x 2 20 40 18 51.0 225 41
XVR NW 20 HS 1/2 ED S PN 400 - 25 G1/2"-14 M 36 x 2 25 27 14 490 23.0 41
XVR NW 20 HS 3/4 ED S PN 400 - 25 G 3/4" -14 M 36 x 2 25 32 16 51.0 23.0 41
XVR NW 20 HS ED S PN 400 - 25 G1"-1 M 36 x 2 25 40 18 53.0 23.0 41
XVR NW 25 HS 1 ED S PN 400 - 30 G1"-11 M42 x 2 30 40 18 55.0 235 50
XVR NW 25 HS ED S PN 400 - 30 G1.1/4"-11 M42x2 30 50 20 57.0 235 50
XVR NW 32 HS 1 1/4 ED S PN 315 - 38 G1.14"-11 M52x2 38 50 20 62.0 26.0 55
XVR NW 32 HS ED S PN 315 38 G1.12"-11 M52x2 38 55 22 64.0 26.0 55

HHMRY: LL=HRARY L=RARY S=EFRF; G1=HBOEY G2= B O1EY

28 HANSAFFLEX



ImEEEEL (AHEEERY)

FRER: wmEE

HERE: ARIHESMEY

FHEN: BYEH
EHE2: REISMELY

BER: 24T

1T5ES

XVM 04 LL 6
XVM 04 LL

XVM 04 LL 10
XVM 05 LL

XVM 06 LL 6
XVM 06 LL 8
XVM 06 LL

XVM 08 LL

XVM 12 LL
XVMK NW 04 HL
XVMK NW 06 HL
XVMK NW 08 HL
XVMK NW 10 HL
XVMK NW 13 HL
XVMK NW 16 HL
XVMK NW 20 HL
XVMK NW 25 HL
XVMK NW 32 HL
XVMK NW 40 HL
XVMK NW 03 HS

LEHIRT:

el

el il el el sl s el il
rrrrrrrr

rrOrOrrOrr

w

TEEH
bar
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630

Jd2

3
3

PO AN

10
12
15
18
22
28
35
42
6

LL=4R R L=RF7] S=ERF; G134

mEEEEL (AHEEERN)

gmA: wER

HEHE: AFIEEERY

B BE
FERE2. AMRISMES

BN 24 HHEEEH

&S

XVM 16 LL

XVM 16 LL 18-1.5
XVM NW 04 HL
XVM NW 04 HL 12
XVM NW 04 HL 14
XVM NW 04 HL 16
XVM NW 04 HL 18
XVM NW 04 HL 22
XVM NW 06 HL
XVM NW 06 HL 10
XVM NW 06 HL 14
XVM NW 06 HL 16
XVM NW 06 HL 18
XVM NW 06 HL 22
XVM NW 08 HL
XVM NW 08 HL 12
XVM NW 08 HL 16
XVM NW 08 HL 18
XVM NW 08 HL 22
XVM NW 10 HL
XVM NW 10 HL 12
XVM NW 10 HL 14
XVM NW 10 HL 18
XVM NW 10 HL 22

]l

LL
LL

-

r—rmOrOrOrrrrrrDrCbrrrbrhrrrrrr e

IEEH @d2

bar mm
PN 100 16
PN 100 16
PN 315 6
PN 315 6
PN 315 6
PN 315 6
PN 315 6
PN 315 6
PN 315 8
PN 315 8
PN 315 8
PN 315 8
PN 315 8
PN 315 8
PN 315 10
PN 315 10
PN 315 10
PN 315 10
PN 315 10
PN 315 12
PN 315 12
PN 315 12
PN 315 12
PN 315 12

G1

M22x1.5
M18x1.5
M 10 x1
M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M12x1.5
M 10 x1
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M14x1.5
M12x1.5
M16x 1.5
M18x 1.5
M22x1.5
M16x1.5
M12x1.5
M14x1.5
M18x 1.5
M22x1.5

G

M6x1K
M8x1K
M10x1K
M8x1K
M6x1K
M8x1K
M10x1K
M10x1K
M16x1.5K
M10x1K
M12x15K
M14x15K
M16x1.5K
M18x1.5K
M22x15K
M26x 1.5k
M33x2K
M 42 x2 K
M 48 x 2 K
M12x1.5K

G2

M22x1.5
M22x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M 14 x1.5
M 14 x1.5
M 14 x1.5
M 14 x1.5
M 14 x1.5
M14x1.5
M16x1.5
M16x1.5
M16x1.5
M16x1.5
M16x1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5

EINZOD i L2
mm mm mm
4 8 16.0
4 8 16.0
4 8 16.0
5 8 14.5
6 8 14.5
6 8 14.5
6 8 14.5
8 8 16.5
12 12 21.0
6 8 15.0
8 12 20.0
10 12 21.0
12 12 22.0
15 12 23.0
18 14 255
22 18 315
28 20 345
35 21 355
42 22 38.0
6 12 24.0

i 7 | i
TN e
- — I[ 14
g B s, SR
EIMZED  GBd3 i
mm mm mm
16 27 14
16 23 12
6 14 8
6 17 12
6 19 12
6 21 12
6 23 12
6 27 14
8 17 12
8 14 8
8 19 12
8 21 12
8 23 12
8 27 14
10 19 12
10 17 12
10 21 12
10 23 12
10 27 14
12 21 12
12 17 12
12 19 12
12 23 12
12 27 14

L1
mm
36.5
33.5
23.5
28.0
28.0
28.0
28.5
31.0
29.0
24.5
29.0
29.0
29.5
32.0
30.0
30.0
30.0
30.5
33.0
315
31.5
31.5
32.0
34.5

XVMK
-
L7 SW
mm mm
20 9
20 9
20 1
20 1
20 1
20 1
20 1
22 12
27 19
22 12
27 14
28 17
29 19
30 24
33 27
39 32
42 41
46 46
49 55
31 14
XVM
L2 SW
mm mm
15.5 27
14.5 24
8.5 14
9.0 17
9.0 19
9.0 22
9.5 24
10.0 27
10.0 17
9.5 17
10.0 19
10.0 22
10.5 24
11.0 27
11.0 19
11.0 17
11.0 22
1.5 24
12.0 27
12.5 22
12.5 19
12.5 22
13.0 24
13.5 27

HANSAFFLEX

29



ImEEEREL (AHEEERY)

ZHER: HEB
EE: ARIEEERY
FHEN: BR

EREE2: AFIIMBEL

BN 24°HER B

‘T4 D
2R

XVM NW 10 HL 24
XVM NW 10 HL 26
XVM NW 13 HL

XVM NW 13 HL 14
XVM NW 13 HL 16
XVM NW 13 HL 20
XVM NW 13 HL 22
XVM NW 13 HL 26
XVM NW 13 HL 30
XVM NW 16 HL

XVM NW 16 HL 18
XVM NW 16 HL 26
XVM NW 16 HL 27
XVM NW 16 HL 30-1.5
XVM NW 20 HL

XVM NW 20 HL 18
XVM NW 20 HL 22
XVM NW 20 HL 22-LS 20
XVM NW 20 HL 30-1.5
XVM NW 20 HL 33-LS 20
XVM NW 25 HL

XVM NW 25 HL-LS 20
XVM NW 25 HL 22
XVM NW 25 HL 26
XVM NW 25 HL 27
XVM NW 25 HL 42
XVM NW 32 HL

XVM NW 40 HL

XVM NW 03 HS

XVM NW 03 HS 16
XVM NW 03 HS 18
XVM NW 03 HS 22
XVM NW 04 HS

XVM NW 06 HS

XVM NW 06 HS 18
XVM NW 06 HS 22
XVM NW 08 HS

XVM NW 08 HS 14
XVM NW 08 HS 16
XVM NW 08 HS 22
XVM NW 10 HS

XVM NW 10 HS 16
XVM NW 10 HS 18
XVM NW 10 HS 22
XVM NW 13 HS

XVM NW 13 HS 16
XVM NW 13 HS 18
XVM NW 13 HS 26
XVM NW 16 HS

XVM NW 16 HS 22
XVM NW 16 HS 26
XVM NW 16 HS 30-1.5
XVM NW 20 HS

XVM NW 20 HS 26
XVM NW 20 HS 27
XVM NW 20 HS 30-1.5
XVM NW 25 HS

XVM NW 25 HS 30-1.5
XVM NW 25 HS 38-1.5
XVM NW 32 HS

XVM NW 32 HS 38-1.5
XVM NW 32 HS 45-1.5

LHIRTN:

Ey ]l

DO OLOLOLOLOLOLOLOLOOLOOLOOLOOLOLOLDOLOLOLDODOLOLLLOLOLLLLOLOLLurrCECCCCCCCCCCCCCCCCCCCCCCCCrC

30  HANSAFFLEX

TEEH
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 250
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 250
PN 250
PN 250
PN 250
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

@d2
mm
12
12
15
15
15
15
15
15
15
18
18
18
18
18
22
22
22
22
22
22
28
28
28
28
28
28
35
42

6

6
8
10
10
10
12
12
12
12
14
14
14
14
16
16
16
16
20
20
20
20
25
25
25
25
30
30
30
38
38
38

G1

M?24x1.5
M26x1.5
M18x1.5
M14x1.5
M16x 1.5
M20x1.5
M22x1.5
M26x1.5
M30x2
M22x1.5
M18x 1.5
M26x1.5
M 27 x 2
M30x1.5
M26x1.5
M18x 1.5
M22x1.5
M22x1.5
M30x1.5
M33x2
M 33 x2
M33x2
M22x1.5
M26x1.5
M 27 x 2
M 42 x2
M 42 x 2
M 48 x 2
M12x1.5
M16x 1.5
M18x1.5
M22x1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M18x 1.5
M14x1.5
M16x 1.5
M22x1.5
M20x1.5
M16x 1.5
M18x 1.5
M22x1.5
M22x1.5
M16x 1.5
M18x 1.5
M26x1.5
M 27 x 2
M22x1.5
M26x1.5
M30x1.5
M33x2
M26x1.5
M 27 x 2
M30x1.5
M 42 x2
M30x1.5
M38x1.5
M 48 x 2
M38x1.5
M45x 1.5

G2

M18x 1.5
M18x 1.5
M22x15
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M22x15
M26 x 1.5
M26 x 1.5
M26 x 1.5
M26 x 1.5
M26 x 1.5
M 30 x 2
M 30 x 2
M 30 x 2
M 30 x 2
M 30 x 2
M 30 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M45x2
M52 x 2
M14x15
M14x15
M14 x 1.5
M14x15
M16x1.5
M18x 1.5
M18x 1.5
M18x 1.5
M20x 1.5
M20x1.5
M20x 1.5
M20x 1.5
M22x15
M22x1.5
M22x1.5
M22x1.5
M24x15
M24x15
M24x15
M24x15
M 30 x 2
M 30 x 2
M30x1.5
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M42x 2
M42x 2
M42 x 2
M52 x 2
M52 x 2
M52 x 2

LL=42 A7 L=8R7] S=ERY; G1=HKOIRY G2=1XNIEY

BEINMZD
mm
12
12
15
15
15
15
15
15
15
18
18
18
18
18
22
22
22
22
22
22
28
28
28
28
28
28
35
42
6
6
6
6
8
10
10
10
12
12
12
12
14
14
14
14
16
16
16
16
20
20
20
20
25
25
25
25
30
30
30
38
38
38

T e
t !.'_'.'.::"",."_ == F
"

@d3 i

mm mm
29 14
31 16
23 12
19 12
21 12
25 14
27 14
31 16
36 16
27 14
23 12
31 16
32 16
36 16
31 16
23 12
27 14
27 14
36 16
39 18
39 18
39 18
27 14
31 16
32 16
49 22
49 20
55 22
17 12
21 12
23 12
27 14
19 12
21 12
23 12
27 14
23 12
19 12
21 12
27 14
25 14
21 12
23 12
27 14
27 14
21 12
23 12
31 16
32 16
27 14
32 16
36 16
39 18
32 16
32 16
36 16
49 20
36 16
44 16
55 22
49 20
55 22

L1

34.5
36.5
32.5
32.0
32.0
34.5
35.0
37.0
37.0
36.0
33.5
38.0
38.0
38.0
40.0
35.5
38.0
60.0
40.0
62.0
43.0
60.0
39.0
41.0
41.0
45.0
48.0
52.0
32.0
32.0
32.5
35.0
34.0
34.5
35.0
37.5
36.5
36.0
36.0
39.0
41.0
38.5
39.0
41.5
41.0
38.0
38.5
43.0
47.0
45.0
47.0
47.0
53.0
49.0
51.0
51.0
57.0
53.0
49.0
64.0
58.0
58.0

L2

13.5
13.5
13.5
13.0
13.0
13.5
14.0
14.0
14.0
14.5
14.0
14.5
14.5
14.5
16.5
16.0
16.5
38.5
16.5
36.5
17.5
23.5
17.5
17.5
17.5
17.5
17.5
19.0
13.0
13.0
13.5
14.0
15.0
15.0
15.5
16.0
17.0
16.5
16.5
17.5
19.0
18.5
19.0
19.5
18.5
17.5
18.0
18.5
20.5
20.5
20.5
20.5
23.0
20.0
23.0
23.0
23.5
23.5
19.5
26.0
26.0
26.0

XVM

SW
mm
32
32
24

24
27
27
32
41
27
27
32
32

32
32

32
41
41
41

41
41
41
50

55
17
22
24

19
22
24
27
24
22
22

27
24
24
27

27
27

32
32
32
36

41
41
41
50

46
55
50
55



LYl + ~

imBEIEERESL (AHEEEIRL) XVM-ED
#gEX: HEE =l
ERE NHIREEERL s | |
mHER: R el LN Loz,
2 AHISMELS e ey AN
FEPR: 24 RHEEES T

ST D TiEESD @d2 EIMED  Dd3 i L1 L2 SwW
RS gﬂ bar mm & ez mm mm mm mm mm mm
XVM NW 04 HL ED L PN 315 6 M10x1 M12x1.5 6 13.9 8 23.5 8.5 14
XVM NW 04 HL 12 ED L PN 315 6 M12x1.5 M12x1.5 6 16.9 12 28.0 9.0 17
XVM NW 06 HL ED L PN 315 8 M12x1.5 M14x1.5 8 16.9 12 29.0 10.0 17
XVM NW 06 HL 14 ED L PN 315 8 M14x1.5 M14x1.5 8 18.9 12 29.0 10.0 19
XVM NW 06 HL 16 ED L PN 315 8 M16x1.5 M14x1.5 8 21.9 12 30.5 11.5 22
XVM NW 06 HL 18 ED L PN 315 8 M18x1.5 M14x1.5 8 23.9 12 30.5 11.5 24
XVM NW 08 HL ED L PN 315 10 M14x1.5 M16x1.5 10 18.9 12 30.0 11.0 19
XVM NW 08 HL 10 ED L PN 315 10 M10x1 M16x1.5 10 - - - - -

XVM NW 08 HL 12 ED L PN 315 10 M12x1.5 M16x1.5 10 16.9 12 30.0 11.0 19
XVM NW 08 HL 16 ED L PN 315 10 M16x1.5 M16x1.5 10 21.9 12 315 12.5 22
XVM NW 08 HL 18 ED L PN 315 10 M18x1.5 M16x1.5 10 23.9 12 31.5 12.5 24
XVM NW 08 HL 22 ED L PN 315 10 M22x1.5 M16x1.5 10 26.9 14 35.0 14.0 27
XVM NW 10 HL ED L PN 315 12 M16x1.5 M18x1.5 12 21.9 12 315 12.5 22
XVM NW 10 HL 14 ED L PN 315 12 M14x1.5 M18x1.5 12 18.9 12 31.5 12.5 22
XVM NW 10 HL 18 ED L PN 315 12 M18x1.5 M18x1.5 12 23.9 12 32.0 13.0 24
XVM NW 10 HL 22 ED L PN 315 12 M22x1.5 M18x1.5 12 26.9 14 35.0 14.0 27
XVM NW 13 HL ED L PN 315 15 M18x 1.5 M22x1.5 15 23.9 12 32.5 13.5 24
XVM NW 13 HL 16 ED L PN 315 15 M16x1.5 M22x1.5 15 21.9 12 32.0 13.0 24
XVM NW 13 HL 22 ED L PN 315 15 M22x1.5 M22x1.5 15 26.9 14 35.0 14.0 27
XVM NW 16 HL ED L PN 315 18 M22x1.5 M26x1.5 18 26.9 14 36.0 14.5 27
XVM NW 16 HL 18 ED L PN 315 18 M18x1.5 M26x1.5 18 23.9 12 33.5 14.0 27
XVM NW 20 HL ED L PN 160 22 M26x1.5 M30x2 22 31.9 16 40.0 16.5 32
XVM NW 20 HL 22 ED L PN 160 22 M22x1.5 M30x2 22 26.9 14 38.0 16.5 32
XVM NW 25 HL ED L PN 160 28 M33x2 M 36 x 2 28 39.9 18 43.0 17.5 41
XVM NW 32 HL ED L PN 160 35 M42x2 M45x2 35 49.9 20 48.0 17.5 50
XVM NW 40 HL ED L PN 160 42 M48 x 2 M52 x2 42 54.9 22 52.0 19.0 55
XVM NW 03 HS ED S PN 630 6 M12x1.5 M 14 x1.5 6 16.9 12 32.0 13.0 17
XVM NW 04 HS ED S PN 630 8 M14x1.5 M16x1.5 8 18.9 12 34.0 15.0 19
XVM NW 06 HS ED S PN 630 10 M16x1.5 M18x1.5 10 21.9 12 34.5 15.0 22
XVM NW 08 HS ED S PN 630 12 M18x1.5 M20x1.5 12 23.9 12 36.5 17.0 24
XVM NW 08 HS 22 ED S PN 400 12 M22x1.5 M20x1.5 12 26.9 14 39.0 17.5 27
XVM NW 10 HS ED S PN 630 14 M20x1.5 M22x1.5 14 25.9 14 41.0 19.0 27
XVM NW 13 HS 18 ED S PN 400 16 M18x1.5 M24x1.5 16 23.9 12 38.5 18.0 27
XVM NW 13 HS ED S PN 400 16 M22x1.5 M24x1.5 16 26.9 14 41.0 18.5 27
XVM NW 16 HS ED S PN 400 20 M27 x2 M30x2 20 31.9 16 47.0 20.5 32
XVM NW 20 HS ED S PN 400 25 M33x2 M 36 x 2 25 39.9 18 53.0 23.0 41
XVM NW 25 HS ED S PN 400 30 M42x 2 M42x2 30 49.9 20 57.0 235 50
XVM NW 32 HS ED S PN 315 38 M48 x 2 M52 x2 38 54.9 22 640 26.0 55

HFHRT: LL=FRARY L=RRS S=ERY; GI1=1#NIEY G2=##MIEY

HANSAFFLEX 31



ImEEEREL (AHEEEERY) XVMO

#pR: mEE

T A HIER IR | ;
BHPR: FR 1] ;

HERE2: NHIIMEL L
EHER: 24°AEREH &

SR/ T1EE dd2 EIMZD @D i L2 L7 SwW

XVMO 04 LL LL PN 100 4 4 M8x1 10.8 6.5 9.5 20.0 11 6.1x1.6
XVMO 04 LL 10 LL PN 100 4 4 M 10 x1 12.8 6.5 9.5 200 13 8.0x1.5
XVMO 06 LL LL PN 100 6 6 M 10 x 1 12.8 6.5 8.0 200 13 8.0x1.5
XVMO NW 04 HL L PN 250 6 6 M 10 x1 14.0 8.5 8.5 240 14 8.0x1.5
XVMO NW 06 HL L PN 250 8 8 M12x1.5 17.0 11.0 10.0 280 17 9.3x24
XVMO NW 08 HL L PN 250 10 10 M14x1.5 19.0 11.0 11.0 290 19 11.3x24
XVMO NW 10 HL L PN 250 12 12 M16x 1.5 22.0 1.5 125 310 22 13.3x24
XVMO NW 10 HL 18 L PN 315 12 12 M18x 1.5 24.0 12.0 125 315 24 15.3x24
XVMO NW 13 HL L PN 250 15 15 M18x 1.5 24.0 12.5 135 330 24 15.3x24
XVMO NW 13 HL 22 L PN 315 15 15 M22x1.5 27.0 13.0 150 350 27 19.3x24
XVMO NW 16 HL L PN 160 18 18 M22x1.5 27.0 13.0 145 350 27 19.3x24
XVMO NW 20 HL L PN 160 22 22 M26x1.5 31.0 16.0 175 410 41 23.3x2.4
XVMO NW 20 HL 27 L PN 160 22 22 M 27 x 2 32.0 16.0 165 400 32 23.6x29
XVMO NW 25 HL L PN 100 28 28 M 33 x2 41.0 16.0 175 410 41 29.5x3.0
XVMO NW 32 HL L PN 100 35 35 M42x2 50.0 16.0 175 440 50 38.0x3.0
XVMO NW 40 HL L PN 160 42 42 M48 x 2 55.0 17.5 19.0 475 55 44.6x3.0
XVMO NW 03 HS S PN 630 6 6 M12x1.5 17.0 11.0 13.0 31.0 17 9.3x24
XVMO NW 04 HS S PN 630 8 8 M14x1.5 19.0 11.0 150 330 19 11.3x24
XVMO NW 06 HS S PN 630 10 10 M16x 1.5 22.0 12.5 150 350 22 13.3x24
XVMO NW 08 HS S PN 630 12 12 M18x 1.5 24.0 14.0 170 385 24 15.3x24
XVMO NW 13 HS S PN 400 16 16 M22x1.5 27.0 15.0 185 420 27 19.3x24
XVMO NW 16 HS S PN 400 20 20 M 27 x 2 32.0 18.5 20.5 195 32 235x3.0
XVMO NW 20 HS S PN 400 25 25 M 33 x2 41.0 18.5 23.0 535 41 29.5x3.0
XVMO NW 25 HS S PN 250 30 30 M 42 x 2 50.0 19.0 235 560 50 38.0x3.0
XVMO NW 32 HS S PN 315 38 38 M48 x 2 55.0 21.5 26,0 635 55 46.7x2.8

EMRY: LL=4FRZRT

-

=RR7 S=ERY; G=3EOBL

32  HANSAFFLEX



imE B EREESL (NPTIRL)

gkt BEE
EIE1: NPTHIMELL
ZHER: 125 HH
FEFE2: NHISMEBL

BHER: 24 REEES

1T5S

XVN 04 LL

XVN 05 LL

XVN 06 LL

XVN 08 LL

XVN NW 04 HL
XVN NW 04 HL 1/4
XVN NW 04 HL 3/8
XVN NW 04 HL 1/2
XVN NW 06 HL 1/8
XVN NW 06 HL
XVN NW 06 HL 3/8
XVN NW 06 HL 1/2
XVN NW 08 HL 1/8
XVN NW 08 HL
XVN NW 08 HL 3/8
XVN NW 08 HL 1/2
XVN NW 10 HL 1/8
XVN NW 10 HL 1/4
XVN NW 10 HL
XVN NW 10 HL 1/2
XVN NW 10 HL 3/4
XVN NW 13 HL 1/4
XVN NW 13 HL 3/8
XVN NW 13 HL
XVN NW 13 HL 3/4
XVN NW 16 HL 1/4
XVN NW 16 HL
XVN NW 16 HL 3/4
XVN NW 20 HL 1/2
XVN NW 20 HL
XVN NW 25 HL
XVN NW 32 HL 1
XVN NW 32 HL
XVN NW 40 HL
XVN NW 03 HS
XVN NW 03 HS 1/2
XVN NW 04 HS
XVN NW 04 HS 3/8
XVN NW 06 HS 1/4
XVN NW 06 HS
XVN NW 06 HS 1/2
XVN NW 08 HS 1/4
XVN NW 08 HS
XVN NW 08 HS 1/2
XVN NW 10 HS 3/8
XVN NW 10 HS
XVN NW 13 HS
XVN NW 13 HS 3/4
XVN NW 16 HS 1/2
XVN NW 16 HS
XVN NW 16 HS 1
XVN NW 20 HS 3/4
XVN NW 20 HS

XVN NW 20 HS 1 1/4

XVN NW 25 HS 1
XVN NW 25 HS
XVN NW 32 HS

HHRT: LL=HFRARY L=BARY S=ERT; G=HOEY

el

LL
LL
LL
LL
L

L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S

TIEER
bar
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315

@d2

Soooooooo@oum@oommbg

OB WWNNRND 2 2 3 a2 s
NOTOTONNOOOGBWOOOTOANNNNNOOO

6
8
8
10
10
10
12
12
12
14
14
16
16
20
20
20
25
25
25
30
30
38

EIMZD

a‘oooooooo@oummoommbg

WWMNMNN-_A A A A A A A AaAaAaaaaaAaaa
GQOITONNOW®XOKUIUOONNNNDNOOO

42

30
38

G

1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/8" -27 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/8" -27 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/8" -27 NPT
1/4" -18 NPT
3/8"-18 NPT
1/2" -14 NPT
3/4" -14 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
3/4" -14 NPT
1/4" -18 NPT
1/2" -14 NPT
3/4" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1"-11.5 NPT
1"-11.5 NPT
/4" -11.5 NPT
/2" -11.5 NPT
1/4" -18 NPT
1/2" -14 NPT
1/4" -18 NPT
3/8" -18 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
3/8" -18 NPT
1/2" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1"-11.5 NPT
3/4" -14 NPT
1"-11.5 NPT
/4" -11.5 NPT
1"-11.5 NPT
1.1/4" -11.5 NPT
1.1/2" -11.5 NPT

RN

N

10.0
10.0
10.0
10.0
10.0
15.0
15.3
20.0
10.0
15.0
15.3
20.0
10.0
15.0
15.3
20.0
10.0
15.0
15.3
20.0
20.2
15.0
15.3
20.0
20.2
15.0
20.0
20.2
20.0
20.2
25.0
25.0
25.6
26.0
15.0
20.0
15.0
15.3
15.0
15.3
20.0
15.0
15.3
20.0
15.3
20.0
20.0
20.2
20.0
20.2
25.0
20.2
25.0
25.6
25.0
25.6
26.0

L2 L7
mm mm
18.0 22.0
16.5 22.0
16.5 22.0
18.5 24.0
17.0 24.0
23.0 30.0
24.0 31.0
29.0 36.0
18.0 25.0
23.0 30.0
24.0 31.0
29.0 36.0
19.0 26.0
24.0 31.0
25.0 32.0
30.0 37.0
19.5 26.5
25.0 32.0
25.0 32.0
30.0 37.0
31.0 38.0
26.0 33.0
26.5 33.5
31.0 38.0
32.0 39.0
26.5 34.0
31.5 39.0
315 39.0
33.5 41.0
33.5 41.0
39.5 47.0
40.0 50.5
40.5 51.0
42.0 53.0
28.0 35.0
35.0 42.0
28.0 35.0
28.0 35.0
27.5 35.0
27.5 35.0
34.5 42.0
29.0 36.5
29.5 37.0
34.5 42.0
315 39.5
36.0 44.0
35.5 44.0
37.5 46.0
375 48.0
37.5 48.0
44.5 55.0
40.0 52.0
45.0 57.0
46.0 58.0
46.0 59.5
46.5 60.0
49.0 65.0

HANSAFFLEX

XV

N

SW
mm

11
1
1
12
12
17
19
24
17
17
19
24
17
17
19
24
19
19
19
24
27
24
24
24
27
27
27
27
32
32
41
46
46
55
17
24
17
19
19

24
22
22
24
24
24
27
32

32
41
41
41
46
46
46
55

33



imELEERESL (UN/UNFEZ4Y)

gt BEE
EHE1: UN/UNFMBESL

BHER: FR
HefE2: AHISNELL

EHERX: 24°AEREH

TS

XVU NW 04 HL 7/16
XVU NW 04 HL 1/2
XVU NW 04 HL 9/16
XVU NW 06 HL 7/16
XVU NW 06 HL 1/2
XVU NW 06 HL 9/16
XVU NW 08 HL 7/16
XVU NW 08 HL 9/16
XVU NW 08 HL 3/4
XVU NW 10 HL 9/16
XVU NW 10 HL 3/4
XVUNW 10 HL 7/8
XVU NW 13 HL 9/16
XVU NW 13 HL 3/4
XVUNW 13 HL 7/8
XVU NW 16 HL 3/4
XVU NW 16 HL 7/8
XVUNW 16 HL 1 1/16
XVU NW 20 HL 7/8
XVU NW 20 HL 1 1/16
XVU NW 20 HL 1 5/16
XVU NW 25 HL 7/8
XVU NW 25 HL 1 1/16
XVU NW 25 HL 1 5/16
XVU NW 32 HL 1 5/16
XVU NW 32 HL 1 5/8
XVUNW 40 HL 1 5/8
XVUNW 40 HL 1 7/8
XVU NW 03 HS 7/16
XVU NW 04 HS 7/16
XVU NW 04 HS 1/2
XVU NW 04 HS 9/16
XVU NW 06 HS 9/16
XVU NW 06 HS 3/4
XVU NW 08 HS 9/16
XVU NW 08 HS 3/4
XVU NW 08 HS 7/8
XVU NW 10 HS 3/4
XVU NW 13 HS 3/4
XVU NW 13 HS 7/8
XVUNW 13 HS 1 1/16
XVU NW 16 HS 3/4
XVU NW 16 HS 7/8
XVU NW 16 HS 1 1/16
XVU NW 20 HS 1 1/16
XVU NW 20 HS 1 5/16
XVU NW 25 HS 1 5/16
XVU NW 25 HS 1 5/8
XVU NW 32 HS 1 5/8
XVUNW32HS 17/8

HHRT:

34

el

L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
L
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S
S

S

HANSAFFLEX

TiEEH @d2
bar mm
PN 315 6
PN 315 6
PN 315 6
PN 315 8
PN 315 8
PN 315 8
PN 315 10
PN 315 10
PN 315 10
PN 315 12
PN 315 12
PN 315 12
PN 315 15
PN 315 15
PN 315 15
PN 315 18
PN 315 18
PN 315 18
PN 160 22
PN 160 22
PN 160 22
PN 160 28
PN 160 28
PN 160 28
PN 160 35
PN 160 35
PN 160 42
PN 160 42
PN 630 6
PN 630 8
PN 630 8
PN 630 8
PN 630 10
PN 630 10
PN 630 12
PN 630 12
PN 630 12
PN 630 14
PN 400 16
PN 400 16
PN 400 16
PN 400 20
PN 400 20
PN 400 20
PN 400 25
PN 400 25
PN 400 30
PN 400 30
PN 315 38
PN 315 38

EIMZO
mm

@ 0o oo o

(o]

10
10
12
12
12
14
16
16
16
20
20
20
25
25
30
30
38
38

LL=F2 2% L=RART| S=ERT|; G=EMIELY

G

7/16" -20 UNF
1/2" -20 UNF
9/16" -18 UNF
7/16" -20 UNF
1/2" -20 UNF
9/16" -18 UNF
7/16" -20 UNF
9/16" -18 UNF
3/4" -16 UNF
9/16" -18 UNF
3/4" -16 UNF
7/8" -14 UNF
9/16" -18 UNF
3/4" -16 UNF
7/8" -14 UNF
3/4" -16 UNF
7/8" -14 UNF
1.1/16" -12 UN
7/8" -14 UNF
1.1/16" -12 UN
1.5/16" -12 UN
7/8" -14 UNF
1.1/16" -12 UN
1.5/16" -12 UN
1.5/16" -12 UN
1.5/8" -12 UN
1.5/8" -12 UN
1.7/8" -12 UN
7/16" -20 UNF
7/16" -20 UNF
1/2" -20 UNF
9/16" -18 UNF
9/16" -18 UNF
3/4" -16 UNF
9/16" -18 UNF
3/4" -16 UNF
7/8" -14 UNF
3/4" -16 UNF
3/4" -16 UNF
7/8" -14 UNF
1.1/16" -12 UN
3/4" -16 UNF
7/8" -14 UNF
1.1/16" -12 UN
1.1/16" -12 UN
1.5/16" -12 UN
1.5/16" -12 UN
1.5/8" -12 UN
1.5/8" -12 UN
1.7/8" -12 UN

14.4
16.8
17.6
14.4
16.8
17.6
14.4
17.6
22.3
17.6
22.3
25.5
17.6
22.3
25.5
223
25.5
31.9
255
31.9
38.2
255
31.9
38.2
38.2
47.7
47.7
53.8
14.4
14.4
16.8
17.6
17.6
22.3
17.6
22.3
25.5
22.3
22.3
25.5
31.9
22.3
25.5
31.9
31.9
38.2
38.2
47.7
47.7
53.8

mm
9.1

9.1

10.0
9.1

9.1

10.0
9.1

10.0
1.1
10.0
1.1
12.7
10.0
11.1
12.7
11.1
12.7
15.1
12.7
15.1
151
12.7
15.1
151
151
15.1
151
151
9.1

9.1

9.1

10.0
10.0
11.1
10.0
11.1
12.7
11.1
11.1
12.7
151
11.1
12.7
151
15.1
151
151
151
151
15.1

9.9
11.0
12.9
12.9
13.0
13.9
14.0
14.9
12.0
12.9
14.3
14.0
13.9
15.8
14.4
14.5
14.4
16.8
16.4
17.4
19.8
17.4
17.4
17.4
17.4
18.9
18.9
14.9
14.9
14.9
15.0
14.5
14.4
14.5
17.4
17.8
15.9
15.4
18.8
20.4
20.4
20.8
20.4
22.9
22.9
23.4
23.4
25.9
25.9

mm
26.0
26.0
28.0
29.0
29.0
30.0
30.0
31.0
33.0
29.0
31.0
34.0
31.0
32.0
356.5
33.0
34.7
37.0
37.0
39.0
40.0
40.0
40.0
40.0
43.0
43.0
45.0
45.0
31.0
31.0
31.0
32.0
32.0
33.0
32.0
36.0
38.0
35.0
35.0
40.0
44.0
42.0
44.0
46.0
50.0
50.0
52.0
52.0
57.0
57.0

sw
mm
17
17
19
17
17
19
17
19
24
19
24
27
24
24
27
27
27
32
32
32
41
41
41
41
46
50
55
60
17
17
19
19
19
24
22
24
27
24
24
27
32
32
32
32
41
41
46
50
55
60

XVU

OR

9.17 x1.83
10.52 x 1.83
11.89 x 1.98
9.17 x1.83
10.52 x 1.83
11.89 x 1.98
9.17 x1.83
11.89 x 1.98
16.36 x 2.20
11.89 x 1.98
16.36 x 2.20
19.18 x 2.46
11.89 x 1.98
16.36 x 2.20
19.18 x 2.46
16.36 x 2.20
19.18 x 2.46
23.47 x 2.95
19.18 x 2.46
23.47 x 2.95
29.74 x 2.95
19.18 x 2.46
23.47 x 2.95
29.74 x 2.95
29.74 x 2.95
37.47 x 3.00
37.47 x 3.00
43.69 x 3.00
9.17 x1.83
9.17 x 1.83
10.52 x 1.83
11.89 x 1.98
10.89 x 1.98
16.36 x 2.20
11.89 x 1.98
16.36 x 2.20
19.18 x 2.46
16.36 x 2.20
16.36 x 2.20
19.18 x 2.46
23.47 x 2.95
16.36 x 2.20
19.18 x 2.46
23.47 x 2.95
23.47 x 2.95
29.74 x 2.95
29.74 x 2.95
37.47 x 3.00
37.47 x 3.00
43.69 x 3.00



imE AEESL (RHEERN)

L. 90°A

HEHE1: BSPTHRAEIMELL

EHER: BYEE
EEHE2: AFISMBEL

EHERX: 24°AEREH

1TES

XWR 04 LL

XWR 05 LL

XWR 06 LL

XWR 08 LL

XWR 10 LL

XWR 12 LL

XWR NW 04 HL
XWR NW 04 HL 1/4
XWR NW 04 HL 3/8
XWR NW 06 HL
XWR NW 06 HL 1/8
XWR NW 06 HL 3/8
XWR NW 06 HL 1/2
XWR NW 08 HL
XWR NW 08 HL 1/8
XWR NW 08 HL 3/8
XWR NW 08 HL 1/2
XWR NW 10 HL
XWR NW 10 HL 1/4
XWR NW 10 HL 1/2
XWR NW 10 HL 3/4
XWR NW 13 HL
XWR NW 13 HL 1/4
XWR NW 13 HL 3/8
XWR NW 16 HL
XWR NW 16 HL 3/8
XWR NW 16 HL 3/4
XWRK NW 20 HL
XWR NW 03 HS
XWR NW 04 HS
XWR NW 06 HS
XWR NW 08 HS
XWR NW 08 HS 1/2
XWR NW 10 HS
XWR NW 13 HS
XWR NW 16 HS 1/2
XWR NW 13 HS 3/8

AT LL=FRARY L=BARY S=ERT; G=HOEY

#75

LL
LL
LL
LL
LL
LL

[N ONOWONONONIS N, N el el el el sl sl sl sl sl el sl sl sl sl sl sl el el ettt el o

TIEEH
bar
PN 100
PN 100
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 316
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400

dd2

3
3

®®POPODDG o PO A

10
12
12
14
16
20
16

EIMZD

ooooooooc»ououﬁ‘gooovmhg

G

R1/8"K
R 1/8"K
R1/8"K
R1/8"K
R 1/4"K
R 1/4"K
R1/8"K
R 1/4"K
R 3/8"K
R 1/4"K
R 1/8"K
R 3/8"K
R 1/2"K
R 1/4"K
R 1/8"K
R 3/8"K
R1/2"K
R3/8"K
R 1/4"K
R1/2"K
R 3/4"K
R1/2"K
R 1/4"K
R 3/8"K
R1/2"K
R 3/8"K
R 3/4"K
R 3/4"K
R 1/4" K
R 1/4"K
R 3/8"K
R 3/8"K
R1/2"K
R1/2"K
R1/2"K
R1/2"K
R 3/8"K

11.0
8.0
9.5
11.5
15.5
12.0
12.0
14.0
17.0
14.0
14.0
19.0
20.0
15.0
15.0
17.0
23.0
17.0
17.0
23.0
28.0
21.0
21.0
21.0
23.5
23.5
27.5
27.5
16.0
17.0
17.5
21.5
23.5
22.0
24.5
26.5
245

L5
mm
17.0
17.0
17.0
20.0
26.0
21.5
20.0
26.0
28.0
26.0
26.0
28.0
34.0
27.0
27.0
28.0
34.0
28.0
28.0
34.0
42.0
34.0
34.0
34.0
36.0
36.0
42.0
42.0
26.0
27.0
28.0
28.0
34.0
32.0
32.0
42.0
32.0

L7
mm
15.0
13.5
15.0
17.0
21.0
18.0
19.0
21.0
24.0
21.0
21.0
26.0
27.0
22.0
22.0
24.0
30.0
24.0
24.0
30.0
35.0
28.0
28.0
28.0
31.0
31.0
35.0
35.0
23.0
24.0
25.0
29.0
31.0
30.0
33.0
37.0
33.0

HANSAFFLEX

35



imE AEEL (HRHEEERN)

RN 90°H

HEHE1: BSPHREIMBEL

FHFEN: BR
EHE2: REISMELY

BETR: 24 MR E S

. = TEEA @d2 BINMRO aD
RS 25 bar mm mm = mm
XWR NW 20 HL L PN 160 22 22 G 3/4” -14 32
XWR NW 25 HL L PN 160 28 28 G1"-11 39
XWR NW 32 HL L PN 160 35 35 G1.1/4" -11 49
XWR NW 40 HL L PN 160 42 42 G1.1/2" -11 55
XWR NW 16 HS S PN 160 20 20 G 3/4” -14 32
XWR NW 20 HS S PN 160 25 25 G1”-11 39
XWR NW 25 HS S PN 160 30 30 G 1.1/4" -11 49
XWR NW 32 HS S PN 160 38 38 G1.1/2" -11 55
HEHEY: LL=HFRERY L=RAY| S=ERT; G=HOBY

RYIT] &

imEAEREL (ARIHEEIEL)

g5 90°A

EE: AFIEESIMEL

EHER: 1BaEE

EE2: AHIIMRL

BHER: 24°NHEEZH
o TEER @d2 EIMZED
iTRS £ bar m m G
XWM 04 LL LL PN 100 4 4 M8x1K
XWM 04 LL6 LL PN 100 4 4 M6 x1K
XWM 05 LL LL PN 100 5 5 M8x1K
XWM 06 LL6 LL PN 100 6 6 M6 x1K
XWM 06 LL 8 LL PN 100 6 6 M8x1K
XWM 06 LL LL PN 100 6 6 M10x 1K
XWM 08 LL LL PN 100 8 8 M10x 1K
XWM NW 04 HL L PN 315 6 6 M10x 1K
XWM NW 04 HL 12 L PN 315 6 6 M12x 15K
XWM NW 06 HL L PN 315 8 8 M12x15K
XWM NW 08 HL L PN 315 10 10 M14x 15K
XWM NW 08 HL 16 L PN 315 10 10 M16x 15K
XWM NW 10 HL L PN 315 12 12 M16x 15K
XWM NW 13 HL L PN 315 15 15 M18x 15K
XWM NW 16 HL L PN 315 18 18 M22x1.5K
XWM NW 03 HS S PN 400 6 6 M12x1.5K
XWM NW 04 HS S PN 400 8 8 M14x1.5K
XWM NW 06 HS S PN 400 10 10 M16 x 1.5 K
XWM NW 08 HS S PN 400 12 12 M18x 1.5K
XWM NW 10 HS S PN 400 14 14 M20x1.5K
XWM NW 13 HS S PN 400 16 16 M22x1.5K
ZHRT]: LL=FR AT L=R AR S=ERT; G=HOEL

36 HANSAFFLEX

mm

16
18
20
22
16
18
20
22

mm
8.0
8.0
8.0
7.0
8.0
9.0
10.0

12.0
12.0
1.5
11.5
11.5
13.5
15.0
12.0
12.0
12.0
12.0
14.0
14.0

27.5
30.5
34.5
40.0
26.5
30.0
35.5
41.0

L4
mm
11.0
11.0
9.5
9.5
9.5
9.5
11.5
12.0
12.0
14.0
15.0
15.0
17.0
21.0
23.5
16.0
17.0
17.5
215
22.0
24.5

L5
mm
26
30
34

26
30
34
39

L5
mm
17
17
17
17
17
17
20
20
22
26
27
28
28
32
36
26
27
28
28
32
32

L7

35
38
45
51
32
42
49
57

L7

15
15
15
15
15
15
17
19
19
21
22
22
24
28
31
23
24
25
29
30
33

XWR

SW

27
36
41
50
27
36
41
50

XWMK

© O © 0o

©

12
12
12
14
14
17
19
24
12
14
17
17
19
24



mEAEREL (AHEEEEREY)

L 90°A

B ARIEEERY

EHNA: BR
ERE2: RHISMRL

EHIR: 24 B E RS

N TEEA @d2 EHNREO D
RS 25 bar mm mm € mm
XWM NW 20 HL L PN 160 22 22 M26x1.5 31
XWM NW 25 HL L PN 160 28 28 M 33 x 2 39
XWM NW 32 HL L PN 160 35 35 M42 x 2 49
XWM NW 40 HL L PN 160 42 42 M 48 x 2 55
XWM NW 16 HS S PN 400 20 20 M 27 x 2 32
XWM NW 20 HS S PN 250 25 25 M 33 x2 39
XWM NW 25 HS S PN 160 30 30 M42 x 2 49
XWM NW 32 HS S PN 160 38 38 M 48 x 2 55
A LL=FR AR L=8BH% S=ERT|; G=#EO1EL

RYIT] &

i B A EEL (NPTIES)

L5 90°A

FEHE1: NPTHMELL

FHEN: BN FEEH

EE2: AHIIMRLL

ZHER: 24°AHEEZH
N TEEA @gd2 EHNRO
iIRS 25 bar mm mm ©
XWN 04 LL LL PN 100 4 4 1/8" -27 NPT
XWN 05 LL LL PN 100 5 5 1/8" -27 NPT
XWN 06 LL LL PN 100 6 6 1/8" -27 NPT
XWN 08 LL LL PN 100 8 8 1/8" -27 NPT
XWN NW 04 HL L PN 315 6 6 1/8" -27 NPT
XWN NW 04 HL 1/4 L PN 315 6 6 1/4" -18 NPT
XWN NW 04 HL 1/2 L PN 315 6 6 1/2" -14 NPT
XWN NW 06 HL L PN 315 8 8 1/4" -18 NPT
XWN NW 06 HL 3/8 L PN 315 8 8 3/8"-18 NPT
XWN NW 06 HL 1/2 L PN 315 8 8 1/2" -14 NPT
XWN NW 08 HL L PN 315 10 10 1/4" -18 NPT
XWN NW 08 HL 3/8 L PN 315 10 10 3/8" -18 NPT
XWN NW 10 HL L PN 315 12 12 3/8" -18 NPT
XWN NW 10 HL 1/4 L PN 315 12 12 1/4" -18 NPT
XWN NW 10 HL 1/2 L PN 315 12 12 1/2" -14 NPT
XWN NW 13 HL L PN 315 15 15 1/2" -14 NPT
XWN NW 13 HL 3/8 L PN 315 15 15 3/8"-18 NPT
XWN NW 16 HL L PN 315 18 18 1/2" -14 NPT
XWN NW 16 HL 3/4 L PN 315 18 18 3/4" -14 NPT
XWN NW 20 HL L PN 160 22 22 3/4" -14 NPT
XWN NW 25 HL L PN 160 28 28 1"-11.5 NPT
XWN NW 32 HL L PN 160 35 35 1.1/4" -11.5 NPT
XWN NW 40 HL L PN 160 42 42 1.1/2" -11.5 NPT
XWN NW 03 HS S PN 630 6 6 1/4" -18 NPT
XWN NW 04 HS S PN 630 8 8 1/4" -18 NPT
XWN NW 06 HS S PN 630 10 10 3/8" -18 NPT
XWN NW 08 HS S PN 630 12 12 3/8" -18 NPT
XWN NW 10 HS S PN 630 14 14 1/2" -14 NPT
XWN NW 13 HS S PN 400 16 16 1/2" -14 NPT
XWN NW 13 HS 3/4 S PN 400 16 16 3/4" -14 NPT
XWN NW 16 HS S PN 400 20 20 3/4" -14 NPT
XWN NW 20 HS S PN 400 25 25 1"-11.5 NPT
XWN NW 25 HS S PN 400 30 30 1.1/4" -11.5 NPT
XWN NW 32 HS S PN 315 38 38 1.1/2" -11.5 NPT
RG] LL=FR AR L=8B &K% S=FFR%|; G=1ZO1R4

mm
8.0
8.0
8.0
10.0
10.0
12.0
17.0
12.0
15.2
17.5
14.0
15.2
12,5
14.0
19.0
18.5
13.0
20.0
18.5
18.5
24.0
255
26.0
12.0
15.0
12.0
12.5
18.0
19.0
20.0
20.0
24.0
25.5
26.0

27.5
30.5
34.5
40.0
26.5
30.0
35.5
41.0

L4
mm
11.0
1.0
9.5
11.5
12.0
14.0
23.0
14.0
1.5
15.0
15.0
15.0
17.0
17.0
23.0
21.0
21.0
23.5
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
21.5
22.0
24.5
24.5
26.6
30.0
35.5
41.0

HANSAFFLEX

L5
mm
26
30
34
39
26
30
34
39

L5
mm
17
17
17
20
20
26
34
26
20
26
27
27
28

34
34
34
36
40
42
48
54
61
26
27
28
28
34
36
40
42
48
54
61

L7
mm
35
38
45
51
37
42
49
57

L7
mm
15.0
15.0
15.0
17.0
19.0
21.0
30.0
21.0
18.5
22.0
22.0
22.0
24.0
24.0
30.0
28.0
28.0
31.0
31.0
35.0
38.0
45.0
51.0
23.0
24.0
25.0
29.0
30.0
33.0
33.0
37.0
42.0
49.0
57.0

XWM

sw

mm
27
36
41
50
27
36
41
50

XWN

37



LB iR =@ E L (SEHIERN)

2:5*“3}':2:_5%: Lﬁé - J - L . :

HEHE1: BSPTARESMEL [ -

TR IBLEE i o

HERE2: AHIIMBEL . (P

FHBR: 24 HEEEH B

FEES: AHISMBYL — !

ZHER: 24 AT HH e
—— T1EER @d2  EHMED i L4 L5
W8S 251 bar mm mm < mm mm mm
XLR 04 LL LL PN 100 4 4 R 1/8" K 8 11.0 17
XLR 05 LL LL PN 100 5 5 R 1/8"K 8 9.5 17
XLR 06 LL LL PN 100 6 6 R 1/8" K 8 9.5 17
XLR 08 LL LL PN 100 8 8 R 1/8"K 8 1.5 20
XLR NW 04 HL L PN 315 6 6 R 1/8"K 8 12.0 20
XLR NW 06 HL L PN 315 8 8 R 1/4"K 12 14.0 26
XLR NW 08 HL L PN 315 10 10 R 1/4"K 12 15.0 27
XLR NW 10 HL L PN 315 12 12 R 3/8"K 12 17.0 28
XLR NW 13 HL L PN 315 15 15 R 1/2"K 14 21.0 34
XLR NW 16 HL L PN 315 18 18 R 1/2"K 14 23.5 36
XLR NW 03 HS S PN 400 6 6 R 1/4"K 12 16.0 26
XLR NW 04 HS S PN 400 8 8 R 1/4"K 12 17.0 27
XLR NW 06 HS S PN 400 10 10 R 3/8"K 12 17.5 28
XLR NW 08 HS S PN 400 12 12 R 3/8"K 12 21.5 28
XLR NW 10 HS S PN 400 14 14 R 1/2"K 14 22.0 32
XLR NW 13 HS S PN 400 16 16 R 1/2"K 14 24.5 32
B: LL=$R R L=R A% S=E&RY|; G=iEOIRLK

Ll — NG L

LG = @EREL (RHEHEEER)

sHER: L L R

HEHE1: BSPHRESMES -

ZEER: BRE - . T

EHE2: NEISMELL - = i

THBR: 24 ABESES : L1235

ERE3: AFHISMRLL — !

FHBR: 24T T il
o TiEER @d2 EHNMED @D i L4 L5
-LT%? ,%’;@J bar mm G mm mm mm mm mm
XLR NW 20 HL L PN 160 22 G 3/4"-14 22 32 16 27.5 26
XLR NW 25 HL L PN 160 28 G1"-11 28 39 18 30.5 30
XLR NW 32 HL L PN 160 35 G1.1/4" -11 35 49 20 345 34
XLR NW 40 HL L PN 160 42 G1.1/2" -1 42 55 22 40.0 39
XLR NW 16 HS S PN 400 20 G 3/4" -14 20 32 16 26.5 26
XLR NW 20 HS S PN 400 25 G1"-11 25 39 18 30.0 30
XLR NW 25 HS S PN 250 30 G 1.1/4" -1 30 49 20 355 34
XLR NW 32 HS S PN 250 38 G1.1/2" -11 38 55 22 41.0 39

AA: LL=HFRATY L=RFRF S=EARY; GO

38  HANSAFFLEX

XLRK
L7 SW
mm mm
15 9
15 9
15 9
17 12
19 12
21 12
22 14
24 17
26 19
31 24
23 14
24 17
25 17
29 19
30 19
33 24
XLR

SW
mm
27
36
41
50
27

41
50



LBiR = @EREL (ARI#EERN)

gZpR: L

HEE: QFIHEEIRL
FERN . BEEH
ERE2: AFIIMBEL

EHER: 24°HERHH

HEHES: AFISMBLL

FEHER: 24°RERHEH

1HES

XLM 04 LL
XLM 05 LL
XLM 06 LL
XLM 08 LL
XLM NW 04 HL
XLM NW 06 HL
XLM NW 08 HL
XLM NW 10 HL
XLM NW 13 HL
XLM NW 16 HL

XLM NW 03 HS
XLM NW 04 HS
XLM NW 06 HS
XLM NW 08 HS
XLM NW 10 HS
XLM NW 13 HS

A5l

]l

LL
LL
LL
LL

DO urrCrrr

TEES
bar
PN 100
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 316
PN 315
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400

@d2

mm

10
12
14
16

EIMZD
mm

LL=F2 7% L=RBARY| S=ERT|; G=3ENIELY

LER=@ERL (AFEHEEFEREY)

HZpR: L

EE1: ARIREEERY

FHRN: BR

ERE2: AFIIMBEL

BHER: 24°HERHH

HEHES: AHIIMBLL

BHWR: 24 WEE RS

T4 2
220

XLM NW 20 HL
XLM NW 25 HL
XLM NW 32 HL
XLM NW 40 HL
XLM NW 16 HS
XLM NW 20 HS
XLM NW 25 HS
XLM NW 32 HS

EIE

EX]l

nomuounrrrr

TEES
bar
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 250
PN 250

@d2
mm
22
28
35
42
20
25
30
38

EIMNED
mm
22
28
35
42
20
25
30
38

LL=45RR% L= R S=ERF; G=HO1EL

G

M8x1K
M8x1K
M10x1K
M10x1K
M10x1K
M12x1.5K
M14x1.5K
M16x 1.5 K
M18x 1.5 K
M22x1.5K
M12x1.5K
M14x1.5K
M16x1.5K
M18x1.5K
M20x1.5K
M22x1.5K

G

M26x1.5
M33x2
M42x2
M 48 x 2
M 27 x 2
M33x2
M42x 2
M 48 x 2

T

@D
mm
31
39
49
55
32
39
49
55

L4
mm
11.0
9.5
9.5
11.5
12.0
14.0
15.0
17.0
21.0
23.5
16.0
17.0
17.5
21.5
22.0
24.5

mm

16
18
20
22
16
18
20
22

L4

27.5
30.5
34.5
40.0
26.5
30.0
35.5
41.0

HANSAFFLEX

L5
mm
17
17
17
20
20
26
27
28
32
36
26
27
28
28
32
32

L5

26
30
34
39
26
30
34
39

XLMK
L7 SW
mm mm
15 9
15 1
15 9
17 12
19 12
21 12
22 14
24 17
26 19
31 24
23 12
24 14
25 17
29 17
30 19
33 24
XLM
L7 SW
mm mm
35 27
38 36
45 41
51 50
37 27
42 36
49 41
57 50

39



LEm =@ ERESL (NPTIRL) XLN

HZpR: L .
HEIE1: NPTIMEREL - -

BHFR . 1BLEE . i

EIE2: ANEISMRE to | l

BHEER: 24 NEREH P

FEFES: AHISMERLL !

FHEER: 24 HEEZEH .
e TEEAR @d2 BEIMRO i L4 L5 L7 SW
-LT%? ,—zf:§IJ bar mm mm G mm mm mm mm mm
XLN 04 LL LL PN 100 4 4 1/8" -27 NPT 8 11.0 17 15 9
XLN 06 LL LL PN 100 6 6 1/8" -27 NPT 8 9.5 17 15 9
XLN 08 LL LL PN 100 8 8 1/8" -27 NPT 8 11.5 20 17 12
XLN NW 04 HL L PN 315 6 6 1/8" -27 NPT 8 12.0 20 19 12
XLN NW 06 HL L PN 315 8 8 1/4" -18 NPT 12 14.0 26 21 12
XLN NW 08 HL L PN 315 10 10 1/4" -18 NPT 12 15.0 27 22 14
XLN NW 10 HL L PN 315 12 12 3/8"-18 NPT 12 17.0 28 24 17
XLN NW 13 HL L PN 315 15 15 1/2" -14 NPT 14 21.0 34 28 19
XLN NW 16 HL L PN 315 18 18 1/2" -14 NPT 14 235 36 31 24
XLN NW 20 HL L PN 160 22 22 3/4" -14 NPT 16 27.5 42 35 27
XLN NW 25 HL L PN 160 28 28 1"-11.5 NPT 18 30.5 48 38 36
XLN NW 32 HL L PN 160 35 35 1.1/4" -11.5 NPT 20 345 54 45 41
XLN NW 40 HL L PN 160 42 42 1.1/2" -11.5 NPT 22 40.0 61 51 50
XLN NW 03 HS S PN 630 6 6 1/4" -18 NPT 12 16.0 26 23 12
XLN NW 04 HS S PN 630 8 8 1/4" -18 NPT 12 17.0 27 24 14
XLN NW 06 HS S PN 630 10 10 3/8"-18 NPT 12 17.5 28 25 17
XLN NW 08 HS S PN 630 12 12 3/8"-18 NPT 12 21.5 31 29 17
XLN NW 10 HS S PN 630 14 14 1/2" -14 NPT 14 22.0 32 30 19
XLN NW 13 HS S PN 400 16 16 1/2" -14 NPT 14 24.5 32 33 24
XLN NW 16 HS S PN 400 20 20 3/4" -14 NPT 16 26.5 42 37 27
XLN NW 20 HS S PN 400 25 25 1"-11.5 NPT 18 30.0 48 42 36
XLN NW 25 HS S PN 400 30 30 1.1/4" -11.5 NPT 20 35.5 54 49 41
XLN NW 32 HS S PN 315 38 38 1.1/2" -11.5 NPT 22 41.0 61 57 50

R LL=HFRARY L=BARY] S=SERT; G=EOEY

TRIR=@EEL (RHHEEEL) . XTRK

spR: TR - L
EE$E1: BSPTHRESMELL . . ]
BN B i .

VERE2: AFISMESL s

TR 24 NEERE P

EEHES: RHISMEL
FHER: 24° I HT

N TEEA @d2 EINRD i L4 L5 L7 SW
-LTR? '%ﬁu bar mm mm G mm mm mm mm mm
XTR 04 LL LL PN 100 4 4 R 1/8" K 8 11.0 17 15 9

XTR 05 LL LL PN 100 5 5 R 1/8" K 8 9.5 17 15 9

XTR 06 LL LL PN 100 6 6 R 1/8" K 8 9.5 17 15 9

XTR 08 LL LL PN 100 8 8 R 1/8" K 8 11.5 20 17 12
XTR 10 LL LL PN 100 10 10 R 1/4" K 12 12.5 23 16 14
XTR 12 LL LL PN 100 12 12 R 1/4" K 12 13.0 23 17 17
XTR NW 04 HL L PN 315 6 6 R 1/8" K 8 12.0 20 19 12
XTR NW 06 HL L PN 315 8 8 R 1/4" K 12 14.0 26 21 12
XTR NW 08 HL L PN 315 10 10 R 1/4" K 12 15.0 27 22 14
XTR NW 10 HL L PN 315 12 12 R 3/8" K 12 17.0 28 24 17
XTR NW 13 HL L PN 315 15 15 R 1/2" K 14 21.0 34 28 19
XTR NW 16 HL L PN 315 18 18 R 1/2"K 14 23.5 34 31 24
XTR NW 03 HS S PN 400 6 6 R 1/4" K 12 16.0 26 23 12
XTR NW 04 HS S PN 400 8 8 R 1/4" K 12 17.0 26 24 14
XTR NW 06 HS S PN 400 10 10 R 3/8" K 12 17.5 27 25 17
XTR NW 08 HS S PN 400 12 12 R 3/8"K 12 215 28 29 19
XTR NW 10 HS S PN 400 14 14 R 1/2" K 14 22.0 32 30 19
XTR NW 13 HS S PN 400 16 16 R 1/2"K 14 24.5 32 33 24

RY: LL=HRART L=RART S=ERY, G=EOIRL

40  HANSAFFLEX



THiR=@EEL (EHEEEEL) XTR
“gElri: TR

EHE1: BSPARESMELL i " | _ Y
ZERA: BRY - ]
HEFE2: NHISMREL }

BHER: 24°HEEZE T

EEFES: AHISMEL C L

BEHER: 24°HEEZEH ) -
sTieo TEEA @d2 BEINRO @D i L1 L2 L7 SW
-LTR = ;'éﬁlj bar mm G1 mm mm mm mm mm mm mm
XTR NW 20 HL L PN 160 22 G 3/4"-14 22 31 16 26 27.5 35 27
XTR NW 25 HL L PN 160 28 G1"-11 28 39 18 30 305 38 36
XTR NW 32 HL L PN 160 35 G 1.1/4" -11 35 49 20 34 345 45 41
XTR NW 40 HL L PN 160 42 G 1.1/2" -11 42 55 22 39 40.0 51 50
XTR NW 16 HS S PN 400 20 G 3/4" -14 20 32 16 26 26.5 37 27
XTR NW 20 HS S PN 250 25 G1"-11 25 39 18 30 30.0 42 36
XTR NW 25 HS S PN 160 30 G 1.1/4" -11 30 49 20 34 355 49 41
XTR NW 32 HS S PN 160 38 G1.1/2"-11 38 55 22 39 41.0 57 50

R LL=FRARY L=RFF S=ERF; G1=iEORL

TRIG=ZBEESL (AFsHEEIEL) XTMK

sEHrX: T =

R OHIEEIMREL . . .-
ZHER: BYFEH i 1

FEE2: ANHISMBYL s

BHER: 24 AEEmHH .

HEHES: AFISMEL
FHEN: 24 NEEREH T

ST o TEER @d2 EINMED i L4 L5 L7 SW
'LTm"? ,%5“ bar mm mm G mm mm mm mm mm
XTM 04 LL LL PN 100 4 4 M8x1K 8 11.0 17 15 9
XTM 05 LL LL PN 100 5 5 M8x1K 8 9.5 17 15 9
XTM 06 LL LL PN 100 6 6 M10x 1K 8 9.5 17 15 9
XTM 08 LL LL PN 100 8 8 M10x 1K 8 11.5 20 17 12
XTM NW 04 HL L PN 315 6 6 M10x 1K 8 12.0 20 19 12
XTM NW 06 HL L PN 315 8 8 M 12 x1.5K 12 14.0 26 21 12
XTM NW 08 HL L PN 315 10 10 M 14 x 1.5 K 12 15.0 27 22 14
XTM NW 10 HL L PN 315 12 12 M 16 x 1.5 K 12 17.0 28 24 17
XTM NW 13 HL L PN 315 15 15 M 18 x1.5K 12 21.0 32 28 19
XTM NW 16 HL L PN 315 18 18 M 22 x 1.5 K 14 235 34 31 24
XTM NW 03 HS S PN 400 6 6 M12x1.5K 12 16.0 26 23 12
XTM NW 04 HS S PN 400 8 8 M 14 x 1.5 K 12 17.0 26 24 14
XTM NW 06 HS S PN 400 10 10 M 16 x 1.5 K 12 17.5 27 25 17
XTM NW 08 HS S PN 400 12 12 M 18 x1.5 K 12 21.5 28 29 19
XTM NW 10 HS S PN 400 14 14 M 20 x 1.5 K 14 22.0 32 30 19
XTM NW 13 HS S PN 400 16 16 M 22 x 1.5 K 14 24.5 32 33 24

A LL=HFRATY| L=RAY S=ERT; G=1EOBY

TRIR=@8EEL (AHEHZIREY) XTM

gZram: TH

EE . AIER IR i % : S

2 : BR . 3

EEFE2: AHISMBE !

ZHER: 24°AETmZH -

HEHES: HISMBLL -G,

ZHER: 24 AEEZE * -
s TEER @d2 EINZD @D i L1 L2 L7 SwW
L h? ,%@J bar mm mm G mm mm mm mm mm mm
XTM NW 20 HL L PN 160 22 22 M 26 x 1.5 31 16 26 27.5 35 27
XTM NW 25 HL L PN 160 28 28 M33x2 39 18 30 30.5 38 36
XTM NW 32 HL L PN 160 35 35 M42x2 49 20 34 345 45 41
XTM NW 40 HL L PN 160 42 42 M 48 x 2 55 22 39 41.0 51 50
XTM NW 16 HS S PN 400 20 20 M 27 x 2 32 16 26 26.5 39 27
XTM NW 20 HS S PN 250 25 25 M33x2 39 18 30 30.0 42 36
XTM NW 25 HS S PN 160 30 30 M42x2 49 20 34 355 49 41
XTM NW 32 HS S PN 160 38 38 M48x 2 55 22 39 41.0 57 50

A5 LL=AFRRY L= &K% S=EARF; G=1ZO424
HANSAFFLEX 41



TEE=@EEL (NPTIRL)

gpR: TH

EEIET: NPTHMES
EHER . B
ERE2: AFIIMBEL
FHER: 24°REEHT
HEHE3: RHISMEL
EHER: 24° I HT

ST o TEER
= 27 bar
XTN 04 LL LL PN 100
XTN 05 LL LL PN 100
XTN 06 LL LL PN 100
XTN 08 LL LL PN 100
XTN NW 04 HL L PN 315
XTN NW 04 HL 1/4 L PN 315
XTN NW 06 HL L PN 315
XTN NW 08 HL L PN 315
XTN NW 10 HL L PN 315
XTN NW 13 HL L PN 315
XTN NW 16 HL L PN 315
XTN NW 20 HL L PN 160
XTN NW 25 HL L PN 160
XTN NW 32 HL L PN 160
XTN NW 40 HL L PN 160
XTN NW 03 HS S PN 630
XTN NW 04 HS S PN 630
XTN NW 06 HS S PN 630
XTN NW 08 HS S PN 630
XTN NW 10 HS S PN 630
XTN NW 13 HS S PN 400
XTN NW 16 HS S PN 400
XTN NW 20 HS S PN 400
XTN NW 25 HS S PN 400
XTN NW 32 HS S PN 315
B LL=FRHRY L=R K% S=ERF; G=HEOB4

G

1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/8" -27 NPT
1/4" -18 NPT
1/4" -18 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1"-11.5 NPT
1.1/4" -11.5 NPT
1.1/2" -11.5 NPT
1/4" -18 NPT
1/4" -18 NPT
3/8" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1" -11.5 NPT
1.1/4" -11.5 NPT
1.1/2" -11.5 NPT

24°% B[ A3\ iy L i (L B A EIRL)

R BEE

EERE: SESRAHNRE
BHER: 24°HTOR
FEIE2: BSPHREIMELL

B

TR ER

e THER
TS 7y

AOVRNW 04 LED L PN 315
AOVRNW 06 L ED L PN 315
AOVR NW 08 L ED L PN 315
AOVRNW 10 L 1/4 ED L PN 315
AOVRNW 10 L 1/2ED L PN 315
AOVRNW 10 LED L PN 315
AOVRNW 13 LED L PN 315
AOVRNW 16 LED L PN 315
AOVR NW 20 L ED L PN 160
AOVRNW 25 LED L PN 160
AOVRNW 32 LED L PN 160
AOVRNW 40 LED L PN 160
AOVR NW 03 S ED S PN 630
AOVR NW 04 S ED S PN 630
AOVR NW 06 S ED S PN 630
AOVR NW 08 S 1/2 ED S PN 630
AOVR NW 08 S ED S PN 630
AOVR NW 10 S ED S PN 630
AOVR NW 13 S ED S PN 400
AOVR NW 16 S ED S PN 400
AOVR NW 20 S ED S PN 400
AOVR NW 25 S ED S PN 400
AOVR NW 32 S ED S PN 315

EXR
42

LL=HR A% L= &
HANSAFFLEX

|

ad1 G1
mm
6 M12x15
8 M14x1.5
10 M16x1.5
12 M18x15
12 M18x1.5
12 M18x1.5
15 M22x15
18 M26x1.5
22 M 30 x 2
28 M 36 x 2
35 M 45 x 2
42 M52 x2
6 M14x15
8 M16x1.5
10 M18x1.5
12 M20x15
12 M20x1.5
14 M22x1.5
16 M24x15
20 M 30 x 2
25 M 36 x 2
30 M42x 2
38 M52 x2

G2

G 1/8"-28
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/2"-14
G 3/8"-19
G1/2"-14
G 1/2"-14
G 3/4"-14
G1"-11
G 1.1/4" -11
G1.1/2"-11
G 1/4"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4" -14
G1"-11
G 1.1/4" -11
G1.1/2" -1

| S=ERF; G1= OB G2= EOIRLY

EIMED

WWRN N = AWNN= 2 3
XPONODPANOPOPVIBOND®OANO PP PRDGTA S

@d3
mm
13.9
18.9
18.9
18.9
26.9
21.9
26.9
26.9
31.9
39.9
49.9
54.9
18.9
18.9
21.9
26.9
21.9
26.9
26.9
31.9
39.9
49.9
54.9

mm

12
12
12
14
12
14
14
16
18
20
22
12
12
12
14
12
14
14
16
18
20
22

L2

24.5
29.5
27.5
30.0
34.0
34.0
32.0
31.5
32.5
35.0
42.5
46.5
27.0
29.5
32.0
35.0
34.0
36.5
37.0
43.0
48.0
51.0
60.0

sw
mm
14
19
19
19
27
22
27
27
32
41
50
55
19
19
22
27
22
27
27
32
41
50
55

S1

14
17
19
22
22
22
27
32
36
41
50

17
19
22
24
24
27
30
36
46
50
60

XTN

—'.
L7 SwW
mm mm
15 9
15 9
15 9
17 12
19 12
19 12
21 12
22 14
24 17
26 19
31 24
35 27
38 36
45 41
51 50
23 12
24 14
35 17
30 17
30 19
33 24
37 27
42 36
49 41
57 50

AOVR-ED

@d2
mm

OR

40x15
6.0x1.5
7.5x1.5
9.0x1.5
9.0x1.5
9.0x1.5
12.0x 2.0
15.0x 2.0
20.0x2.0
26.0x2.0
32.0x25
38.0x25
40x15
6.0x1.5 4
7.5x1.5 6
9.0x1.5 8
9.0x1.5 8
10.0x20 9
120x2.0 M1
16.3x2.4
20.3x2.4
25.3x2.4
33.3x24



24°4 o] i 2 i EL i (Ll B4 E 1R A0

K

IHEIE

EE$E1: BSPHRESMELS
i GR
EE2: SEIRAHER

BHA: 24 HHOTBEE
iTHee ) LIFED
AOVRONWO03 S S PN 630
AOVRONWO04 S S PN 630
AOVR ONW 06 S S PN 630
AOVR ONW 08 S S PN 630
AOVRONW 10 S S PN 630
AOVRONW 13 S S PN 400
AOVR O NW 16 S S PN 400
AOVRONW20 S S PN 400
AOVR ONW 25 S S PN 250
AOVR ONW 32 S S PN 250
F5l: LL=$5857] L=B 57 S=E51;

ad
mm
6
8
10
12
14
16
20
25
30
38

G1

G 1/4"-19
G 1/4" 19
G 3/8"-19
G 3/8"-19
G 1/2"-14
G 1/2"-14
G 3/4"-14
G1"-11
G 1.1/4" -11
G 1.1/2"-11

G2

M14x1.5
M 16 x 1.5
M18x 1.5
M20x 1.5
M22x1.5
M24 x1.5
M 30 x 2
M 36 x 2
M 42 x 2
M52 x 2

G1= EOZL G2= EMIELY

24°% o] A3\ iy L i (ST E A E1RL)

.

IHEIE

LEJ% BSP#R/fEIMELL

EHENX: OREFMZKF “HEY

$‘}x2.

TN LSS

FHEER: 24°HHOM B ZH

TR

AOVR OKNW 03 S
AOVR OK NW 04 S
AOVR OK NW 06 S
AOVR OK NW 08 S
AOVR OKNW 10 S
AOVR OK NW 13 S
AOVR OKNW 16 S
AOVR OK NW 20 S
AOVR OKNW 32 S

BRY: LL=HFRARTY| =R R S=ERT;

]l

(ONONONGNONONONON]

TEES
bar
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 250

ad
mm
6
8
10
12
14
16
20
25
38

G1

G 1/4" -19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4" -14
G1"-11
G1.1/2"-11

G2

M14x 1.5
M 16 x 1.5
M 18 x 1.5
M20x 1.5
M22x 1.5
M24x1.5
M 30 x 2
M 36 x 2
M52 x 2

G1= BO4ZL G2= EMIELY

12
12
12
12
14
14
16
18
20
22

10.5
10.5
10.5
10.5
12.0
12.0
14.0
15.5
19.5

L2
mm
26.0
28.0
30.5
32.5
36.0
36.5
40.5
46.0
48.0
55.0

L2
mm
27.5
29.5
32.0
34.0
38.0
38.5
42.5
48.5
57.5

SW
mm
19
19
22
22
27
27
32
41
50
55

SW
mm
19
19
22
22
27
27
32
41
55

S1

17
19
22
24
27

36
46
50
55

S1

17
19
22
24
27
30
36
46

OR1 OR2

9.30x2.30 40x1.5
11.30 x 2.30 6.0x1.5
13.30 x 2.30 75x15
15.30 x 2.30 9.0x1.5
17.86x2.62 10.0x2.0
12.00x2.00 12.0x2.0
23.50x3.00 16.3x2.4
29.50x3.00 20.3x2.4
38.00x3.00 253x24
44.04x3.53 33.3x24

AOVR OK

OR1 OR2

9.30x2.30 40x1.5
11.30 x 2.30 6.0x1.5
13.30 x 2.30 75x15
15.30 x 2.30 9.0x1.5
17.86x2.62 10.0x2.0
12.00x2.00 12.0x2.0
23.50x3.00 16.3x2.4
29.50x3.00 20.3x2.4
44.04x3.53 333x24

HANSAFFLEX 43



24°% BT A3\ i L i (2 | EHEEIRLY)

HER: HEE

B ARIEEEIMEL

wHEN: ER

EREE2: ERRAHARE
BTN 24°#HHONBEHH

155

AOVM NW 04 L ED
AOVM NW 06 L ED
AOVM NW 08 L ED
AOVM NW 10 L ED
AOVM NW 13 LED
AOVM NW 16 L ED
AOVM NW 20 L ED
AOVM NW 25 L ED
AOVM NW 32 L ED
AOVM NW 40 L ED
AOVM NW 03 S ED
AOVM NW 04 S ED
AOVM NW 06 S ED
AOVM NW 08 S ED
AOVM NW 10 S ED
AOVM NW 13 SED
AOVM NW 16 S ED
AOVM NW 20 S ED
AOVM NW 25 S ED
AOVM NW 32 S ED
EXTIR

TEEH @d2
25 bar mm
L PN 315 2.5
L PN 315 4.5
L PN 315 6
L PN 315 8
L PN 315 10
L PN 315 13
L PN 160 17
L PN 160 22
L PN 160 28
L PN 160 34
S PN 630 25
S PN 630 4
S PN 630 6
S PN 630 8
S PN 630 9
S PN 400 11
S PN 400 14
S PN 400 18
S PN 400 23
S PN 315 30

24°%f 0] i B il (NPTIZE4Y)

g wER

EHE1: NPTHREIMBLL

EHEA: BYEH

EERE2: SEmAHNEE
FHER: 24°HHOR B FH

@d2

12
1
16.5
21.5
28.5
35

10
12
14
16
20
25
30
38

30

ad1
mm

6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

dd1
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1

M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M26x1.5
M 30 x 2
M 36 x 2
M 45 x 2
M52 x 2
M14x1.5
M16x1.5
M18x 1.5
M20x 1.5
M22x15
M24x1.5
M 30 x 2
M 36 x 2
M42 x 2
M52 x 2

LL=4RR7 L=B R S=ERJ; G1=EOIBL G2= 1 O1RL

G1

1/8" -27 NPT
1/4" -18 NPT
1/4" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1"-11.5 NPT
.1/4" -11.5 NPT
172" -11.5 NPT
1/4" -18 NPT
1/4" -18 NPT
3/8" -18 NPT
3/8" -18 NPT
1/2" -14 NPT
1/2" -14 NPT
3/4" -14 NPT
1" -11.5 NPT
1.1/4" -11.5 NPT
1.1/2" -11.5 NPT

-

=BARY S=ERT; G1= EOEL G2= ENIEL

e TIREND
155 E3 7] -
AOVNNWO4L L PN315
AOVNNWOBL L  PN315
AOVNNWOBL L  PN315
AOVNNW1OL L PN315
AOVNNW13L L PN315
AOVNNW16L L PN315
AOVNNW20L L PN160
AOVNNW25L L PN160
AOVNNW32L L PN160
AOVNNW40L L PN160
AOVNNWO03S S  PN630
AOVNNWO04S S  PN630
AOVNNWO06S S  PN630
AOVNNW08S S  PN630
AOVNNW10S S PN630
AOVNNW13S S PN400
AOVNNW16S S PN 400
AOVNNW20S S PN400
AOVNNW25S S PN 400
AOVNNW32S S  PN315
A LL=HRARTIL
44 HANSAFFLEX

G2

M10x1
M12x1.5
M14x15
M16x 1.5
M18x 1.5
M22x1.5
M 26 x 1.5
M 33 x 2
M 42 x 2
M 48 x 2
M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M20x 1.5
M22x1.5
M 27 x 2
M 33 x 2
M 42 x 2
M 48 x 2

@d3
mm
13.9
16.9
18.9
21.9
23.9
26.9
31.9
39.9
49.9
54.9
16.9
18.9
21.9
23.9
25.9
26.9
31.9
39.9
49.9
54.9

G2

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M52 x2
M14x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5
M 30 x 2
M 36 x 2
M 42 x2
M52 x2

mm
10.0
14.5
14.5
14.5
19.5
19.5
19.5
24.5
25.0
26.0
14.5
14.5
14.5
14.5
19.5
19.5
19.5
24.5
25.0
26.0

mm
24.5
26.5
27.5
30.5
315
315
32.5
35.0
42.5
46.5
27.0
29.5
32.0
34.0
36.5
37.0
43.0
48.0
51.0
60.0

L2
mm
31.5
37.5
38.0
40.0
49.5
49.0
52.0
61.0
65.5
68.5
37.5
38.0
40.5
42.0
50.5
51.0
54.0
63.5
70.5
73.5

sw

mm
14
17
19
22
24
27
32
41
50
55
17
19
22
24
27
27
32
41
50
55

sw
mm
11
14
14
19
22
24
27
36
46
50
14
14
19
19
22
22
27
36
46
50

AOVM-ED

S1

14
17
19
22
27

OR

40x1.5
6.0x1.5
7.5x15
9.0x1.5
12.0x2.0
15.0x 2.0
20.0x2.0
26.0x2.0
32.0x25
38.0x2.5
40x1.5
6.0x 1.5
7.5x1.5
9.0x1.5
10.0x 2.0
12.0x2.0
16.3x2.4
20.3x2.4
25.3x24
33.3x24

36
41
50
60
17
19
22
24
27
30
36
46
50

AOVN

S1

14
17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

OR

40x1.5
6.0x 1.5
75x15
9.0x1.5
12.0x2.0
15.0x2.0
20.0x 2.0
26.0x 2.0
32.0x2.5
38.0x2.5
40x15
6.0x1.5
75x15
9.0x1.5
10.0x 2.0
12.0x2.0
16.3x2.4
20.3x2.4
25.3x2.4
33.3x24



24°TENE

ZHpN: B

R SEIRAEEE
FHER: 24°HHOR B FEH

HEHE2: REISMELY

BN 24° R BT

TS

XAOH NW 04 LL 04
XAOH NW 04 L
XAOH NW 04 L 06
XAOH NW 04 L 08
XAOHNW 04 L 10
XAOH NW 04 L 13
XAOH NW 06 L 04
XAOH NW 06 L
XAOH NW 06 L 08
XAOHNW 06 L 10
XAOHNWO06 L 13
XAOH NW 08 L 04
XAOH NW 08 L 06
XAOH NW 08 L
XAOH NW 08 L 10
XAOHNWO08 L 13
XAOHNWO08 L 16
XAOH NW 10 L 04
XAOH NW 10 L 06
XAOHNW 10 L 08
XAOH NW 10 L
XAOHNW 10L 13
XAOHNW 10 L 16
XAOH NW 13 L 04
XAOH NW 13 L 06
XAOH NW 13 L 08
XAOH NW 13 L 10
XAOHNW 13 L
XAOHNW 13 L 16
XAOH NW 13 L 20
XAOH NW 16 L 04
XAOH NW 16 L 06
XAOH NW 16 L 08
XAOHNW 16 L 10
XAOHNW 16 L 13
XAOH NW 16 L
XAOHNW 16 L 20
XAOH NW 16 L 25
XAOH NW 20 L 04
XAOH NW 20 L 06
XAOH NW 20 L 08
XAOH NW 20 L 10
XAOHNW 20 L 13
XAOHNW 20 L 16
XAOH NW 20 L
XAOH NW 20 L 25
XAOH NW 20 L 32
XAOH NW 25 L 04
XAOH NW 25 L 06
XAOH NW 25 L 08
XAOHNW 25 L 10
XAOHNW 25 L 13
XAOHNW 25 L 16
XAOHNW 25 L 20
XAOH NW 25 L
XAOH NW 25 L 32
XAOH NW 25 L 40
XAOH NW 32 L 04
XAOH NW 32 L 06

]l
L/LL

| il e i e il e i i il i ) il sl ml pu il i il el e m pu ) i i e i p e i i i il il i e i il p p ) il i e el i m i i Y

TIEEND

bar
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

ad1

= 3
SPrOIPEOPOD o §

W WNMNNNNDMNMNDNMNMNNDMNONDNNDMNONDMNNDMNNDMNNDMNNDMNNDN A A A A A A AQAAQAAQAA@QAQA@QA@Q@Q@Q @A A A A A A aaaaaa
1 O1 00 00 00 00 00O 00O 00O 0 W O N NN NMNNNNNNODOOOOOMOKDOWOAOOOAOOOGONNNNNDNOOOOO

@d2
mm

10
12
15

10
12
15

10

15
18

10
12
15
18

10
12
15
18
22

10
12
15
18
22
28

10
12
15
18
22
28
35

10
12
15
18
22
28
35
42

G1

M12x1.5
M12x1.5
M12x15
M12x1.5
M12x1.5
M12x15
M14x1.5
M14x1.5
M14x15
M14x1.5
M14x1.5
M16x1.5
M16x1.5
M16x1.5
M16x1.5
M16x1.5
M16x1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M22x15
M22x1.5
M22x1.5
M22x15
M22x1.5
M22x1.5
M22x15
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M45x 2
M45x 2

G2

M8x1
M12x1.5
M14x15
M16x1.5
M18x1.5
M22x15
M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M12x15
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M12x15
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M12x15
M14X1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M12x1.5
M 14 x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M12x1.5
M 14 x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M52 x2
M12x1.5
M14x1.5

24.5
27.5
245
25.5
25.5
27.5
24.5
37
26
27
28
25
25
37
28
29
33
26.5
26.5
27.5
37
29
29.5
28.5
28.5
29.5
29.5
37
315
33.5
29.5
29.5
30.5
30.5
315
36
33
34
32
32
33.0
33
34
33.5
42.5
38

34
34
35
35
36
35.5
37.5
41.5
39.5
41
37
37

SW
mm

14
14
17
19
24
12
14
17
19
24
14
14
17

24
27
17
17
17
19
24
27

19
19
19
24
27
32
24
24
24
24
24
27
32
41
27
27
27
27
27
27
32
41
46
32
32
32
32
32
32
32
41
46
55
41
41

S1

14
14
14
14
14
14
17
17
17
17
17
19
19
19

19
24
22
22
22
22
22
22
27
27
27
27
27
27
27
32
32
32
32
32
32
32
32
36
36
36
36
36
36
36
36

41
41
41
41
41
41
41
41
41
41
50
50

XAOH

OR

40x1.5
40x1.5
40x1.5
40x1.5
40x1.5
40x1.5
6.0x 1.5
6.0x1.5
6.0x 1.5
6.0x 1.5
40x1.5
7.5x15
7.5x15
75x1.5
7.5x15
7.5x15
75x1.5
9.0x1.5
9.0x1.5
9.0x1.5
9.0x1.5
9.0x1.5
9.0x1.5
12.0x2.0
12.0x2.0
12.0x 2.0
12.0x2.0
12.0x2.0
12.0x2.0
12.0x2.0
15.0x2.0
15.0x 2.0
15.0x 2.0
15.0x2.0
15.0x 2.0
15.0x2.0
15.0x 2.0
15.0x 2.0
20.0x2.0
20.0x2.0
20.0x 2.0
20.0x2.0
20.0x2.0
20.0x 2.0
20.0x2.0
20.0x2.0
20.0x 2.0
26.0x2.0
26.0x2.0
26.0x2.0
26.0x2.0
26.0x2.0
26.0x2.0
26.0x 2.0
26.0x2.0
26.0x2.0
26.0x2.0
32.0x2.5
32.0x2.5

HANSAFFLEX 45



24°¢ T A Hill

gl Bl

EE: ERRABAES

BTN 24°HHON BIHH

EE2: NHIIMBEL

FEHER: 24°REEmHT

15S

XAOH NW 32 L 08
XAOHNW 32 L 10
XAOH NW 32 L 13
XAOHNW 32 L 16
XAOH NW 32 L 20
XAOH NW 32 L 25
XAOHNW 32 L
XAOH NW 32 L 40
XAOH NW 40 L 04
XAOH NW 40 L 06
XAOH NW 40 L 08
XAOHNW 40 L 10
XAOHNW 40 L 13
XAOHNW 40 L 16
XAOH NW 40 L 20
XAOH NW 40 L 25
XAOH NW 40 L 32
XAOH NW 40 L
XAOHNWO04L03S
XAOHNWO04L04 S
XAOHNW 04 L 06 S
XAOHNW 04 L 08 S
XAOHNWO06L04S
XAOHNW 06 L 06 S
XAOHNWO06 L 08 S
XAOHNW 08 L 06 S
XAOHNW 08 L 08 S
XAOHNWO08L10S
XAOHNWO08L13S
XAOHNW 10L 04 S
XAOHNW 10L 06 S
XAOHNW 10L 08 S
XAOHNW10L10S
XAOHNW 10L13S
XAOHNW 10L 16 S
XAOHNW 13L 138
XAOHNW 13L 16 S
XAOHNW 16 L 13 S
XAOHNW 16 L 16 S
XAOHNW 16 L 20 S
XAOHNW20L13S
XAOHNW20L16 S
XAOHNW20L20S
XAOHNW20L25S
XAOHNW25L 138
XAOHNW25L20S
XAOHNW25L 258
XAOHNW 251328
XAOHNW32L20S
XAOHNW32L 258
XAOHNW32L 328
XAOHNW40L25S
XAOHNW40L32S
XAOH NW 03 S
XAOHNW 03 S 04
XAOH NW 03 S 06
XAOH NW 04 S 03
XAOH NW 04 S
XAOH NW 04 S 06

]l

rrrrOrOrOrOOOrObrObrDbrrrr

-

L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S

(ONONONGNON]

46  HANSAFFLEX

TEES
bar
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630

ad1
mm
35
35
35
35
35
35
35
35
42
42
42
42
42
42
42
42
42
42

[oolle-Rie>Rle>)Nle))

(o]

10
10
10
12
12
12
12
12
12
15
15
18
18
18
22
22
22

28
28
28
28
35
35
35
42

@ 00 0O O

@d2

G1

M45x 2
M45x 2
M45x 2
M45x 2
M45x 2
M45x 2
M45x 2
M45x 2
M52 x 2
M52 x 2
M52 x 2
M52 x 2
M52 x 2
M52 x 2
M 52 x 2
M52 x 2
M52 x 2
M 52 x 2
M12x1.5
M12x1.5
M12x1.5
M12x1.5
M14x1.5
M14x1.5
M14x1.5
M16x 1.5
M16x 1.5
M16x 1.5
M16x 1.5
M18x1.5
M18x 1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M22x1.5
M22x1.5
M26x1.5
M26 x 1.5
M26x1.5
M30x2
M 30 x 2
M 30 x2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 26 x 2
M45x 2
M 45 x 2
M45X 2
M52 x 2
M52 x 2
M14x1.5
M14x1.5
M14x15
M16x 1.5
M16x 1.5
M16x1.5

G2

M16x 1.5
M18x1.5
M22x1.5
M 26 x 1.5
M30x2
M 36 x 2
M45x 2
M52x2
M12x1.5
M14x1.5
M16x1.5
M18x 1.5
M22x1.5
M26 X1.5
M30x2
M 36 x 2
M45x 2
M52 x 2
M14x1.5
M16x1.5
M18x 1.5
M20x 1.5
M16x1.5
M18x 1.5
M20x 1.5
M18x1.5
M20x1.5
M22x1.5
M24x15
M 16 x 1.5
M18x 1.5
M20x1.5
M22x1.5
M24 x1.5
M30x2
M24 x1.5
M30x2
M24x1.5
M30x2
M 36 x 2
M24x1.5
M30x2
M 36 x 2
M42 x 2
M 24 x 2
M 36 x 2
M42 x 2
M52 x 2
M 36 x 2
M 42 x 2
M52 x 2
M42x 2
M52 x 2
M14x1.5
M16x1.5
M18x 1.5
M14x1.5
M16x1.5
M18x 1.5

29.5
315
32.5
32.5
34
335
31
30.5
33
35.5
335
29.5
35.5
32.5
31.5
37
335
34
41
435
435
36.5
44
435
47
40
405
50
425
455
36
30
29.5
28
37.5
30

SW

41
41
41
41
41
41
46
55
50
50
50
50
50
50
50
50
50
55
17
17
19
22
17
19
22
19
22
24
27
19
19
22
24
27
32
27
32
27
32
41
27
32
41
46
32
41
46
55
41
46
55
50
55
14
17
19
14
17
19

S1

50
50
50
50
50
50
50
50
60
60
60
60
60
60
60
60

60
14
14
14
14
17
17
17
19
19
19
19
22
22
22
22
22

27
27
32
32
32
36
36
36

41
41
41
41
50
50
50
60

17
17
17
19
17
19

OR

32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
38.0x2.5
4.0x1.5
4.0x1.5
4.0x1.5
4.0x1.5
6.0x1.5
6.0x1.5
6.0x15
75x1.5
7.5x1.5
7.5x1.5
75x1.5
9.0x15
9.0x15
9.0x1.5
9.0x15
9.0x15
9.0x15
12.0x 2.0
12.0x 2.0
16.0x 2.0
16.0x 2.0
16.0x 2.0
20.0x2.0
20.0x2.0
20.0x 2.0
20.0x2.0
26.0x2.0
26.0x2.0
26.0x2.0
26.0x2.0
32.0x2.5
32.0x2.5
32.0x2.5
38.0x2.5
38.0x2.5
40x15
40x15
40x15
6.0x15
6.0x1.5
6.0x15



24°5 TR Hill

SN Bl

ERE: ERRAHIES

FHER: 24°HHOR B FEH

EHEE2: REISMELY

BN 24° R HT

1S

XAOHNW 04 S 08
XAOHNW 04 S 13
XAOH NW 06 S 03
XAOHNW 06 S 04
XAOH NW 06 S

XAOH NW 06 S 08
XAOHNW 06 S 10
XAOHNW 06 S 13
XAOH NW 08 S 03
XAOHNW 08 S 04
XAOH NW 08 S 06
XAOH NW 08 S

XAOHNW 08 S 10
XAOHNW 08 S 13
XAOH NW 08 S 16
XAOH NW 10 S 03
XAOH NW 10 S 04
XAOH NW 10 S 06
XAOHNW 10 S 08
XAOH NW 10 S

XAOH NW 10 S 13
XAOHNW 10 S 16
XAOH NW 13 S 03
XAOH NW 13 S 04
XAOH NW 13 S 06
XAOH NW 13 S 08
XAOH NW 13 S 10
XAOHNW 13 S

XAOHNW 13 S 16
XAOH NW 13 S 20
XAOH NW 16 S 03
XAOH NW 16 S 04
XAOH NW 16 S 06
XAOH NW 16 S 08
XAOHNW 16 S 10
XAOH NW 16 S 13
XAOH NW 16 S

XAOH NW 16 S 20
XAOH NW 16 S 25
XAOH NW 16 S 32
XAOH NW 20 S 03
XAOH NW 20 S 04
XAOH NW 20 S 06
XAOH NW 20 S 08
XAOH NW 20 S 10
XAOHNW 20 S 13
XAOH NW 20 S 16
XAOHNW 20 S

XAOH NW 20 S 25
XAOH NW 20 S 32
XAOH NW 25 S 03
XAOH NW 25 S 04
XAOH NW 25 S 06
XAOH NW 25 S 08
XAOHNW 25 S 10
XAOH NW 25 S 13
XAOH NW 25 S 16
XAOHNW 25 S 20
XAOH NW 25 S

]l

[N ONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONONO NGOG NN N MO NN

TEES
bar
PN 630
PN 400
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400

ad1

@dd2

G1

M 16 x 1.5
M16x1.5
M18x 1.5
M18x 1.5
M18x1.5
M18x 1.5
M18x 1.5
M18x1.5
M20x1.5
M20x 1.5
M20x1.5
M20x1.5
M20x 1.5
M20x1.5
M20x1.5
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M22x1.5
M24x15
M24x1.5
M24x1.5
M24x15
M24x1.5
M24 x1.5
M24x15
M24x1.5
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M42x 2
M42x 2
M 42 x 2
M42x 2
M42x 2
M 42 x 2
M42x 2
M42x 2
M42x 2

G2

M20x 1.5
M24x1.5
M14X1.5
M 16 x 1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5
M14x1.5
M 16 x 1.5
M18x1.5
M20x1.5
M22x 1.5
M24x1.5
M30x2
M14x1.5
M16x1.5
M18x 1.5
M20x 1.5
M22x1.5
M24x1.5
M30x2
M14x1.5
M16 X 1.5
M18x 1.5
M20x1.5
M22X1.5
M24 x1.5
M30X2
M30x2
M14x1.5
M16x1.5
M18x 1.5
M20X1.5
M22x1.5
M24 x1.5
M30x2
M 36 x 2
M42x 2
M52 x2
M14x1.5
M 16 x 1.5
M18X 1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x 2
M52 x 2
M14x1.5
M16x1.5
M18 x 2
M20x2
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x 2

325
325
40
36
38
34
34
335
335
35.5
40
39
415
39
39
38.5
38.5
40
39.5
46
445
45
M5
415
415
41
41
425
42
42
50
48
50.5
44
46
455
455
45
465
465
47
53.5

XAOH

SW gy

mm

2 19  60x15
27 19 60x15
17 22 75x15
17 22 75x15
19 22 75x15
2 22  15x15
24 22 15x15
27 22 15x15
17 24 90x15
17 24 90x15
19 24  90x15
2 24 90x15
24 24 90x15
27 24 90x15
32 24 90x15
19 27 10.0x20
19 27 100x20
19 27 100x20
2 27 100x20
24 27 100x20
27 27 100x20
32 27 100x20
22 30  120x20
22 30  120x20
22 30  120x20
22 30  120x20
24 30  120x20
27 30  120x20
32 30  120x20
41 30 120x20
27 36  163x24
27 36 163x24
27 36  163x24
27 36  163x24
27 36 163x24
27 36  163x24
32 36  163x24
36 36  163x24
46 36  163x24
50 36  163x24
32 46 203x24
32 46 203x24
32 46  203x24
32 46 203x24
32 46 203x24
32 46  203x24
32 46 203x24
41 46 203x24
46 46 203x24
55 46  203x24
41 50 253x24
41 50  253x24
41 50 253x24
41 50 253x24
41 50  253x24
41 50 253x24
41 50 253x24
41 50  253x24
46 50 253x24

HANSAFFLEX

47



24°¢ T A Hill

gl Bl

EE: ERRAHIEE

FHER: 24°HHOR B FH

EHE2: REISMELY

BHER: 24° R BT

TS
XAOH NW 25 S 32
XAOH NW 32 S 03
XAOH NW 32 S 04
XAOH NW 32 S 06
XAOH NW 32 S 08
XAOH NW 32 S 10
XAOH NW 32 S 13
XAOH NW 32 S 16
XAOH NW 32 S 20
XAOH NW 32 S 25
XAOH NW 32 S
XAOHNW 03 S04 L
XAOH NW 03 S 06 L
XAOH NW 04 S 04 L
XAOHNW 04 S06 L
XAOHNW 04 S08 L
XAOHNW 04 S10L
XAOH NW 06 S 06 L
XAOH NW 06 S 08 L
XAOHNW 06 S 10 L
XAOHNW 06 S 13 L
XAOH NW 08 S 06 L
XAOH NW 08 S 08 L
XAOHNW 08 S 10 L
XAOHNW 08 S13 L
XAOHNW 08 S 16 L
XAOHNW 10810 L
XAOHNW 10 S 13 L
XAOHNW10S 16 L
XAOHNW 13813 L
XAOHNW 13S16 L
XAOHNW13S20L
XAOHNW 16 S13 L
XAOHNW 16 S16 L
XAOHNW 16 S 20 L
XAOHNW 16 S25 L
XAOHNW20S 13 L
XAOHNW 20 S 16 L
XAOHNW20S20 L
XAOHNW20S25L
XAOH NW 20 S 32 L
XAOHNW 25820 L
XAOHNW 258 25L
XAOH NW 25 S 32 L
XAOHNW 25840 L
XAOHNW32S25L
XAOHNW 32832 L
XAOHNW 32540 L

EX]l

DOOOHOOLOOOOnnon

S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L
S/L

TEES
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 315
PN 315
PN 160
PN 160
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

R LL=4FRART L= RJ| S=ERT|

48  HANSAFFLEX

@d1
mm
30
38
38
38
38
38
38
38
38
38
38
6

@ 00 © O

o]

10
10
10
12
12
12
12
12
14
14
14
16
16
16
20
20
20
20
25
25
25
25
25
30

30
30
38
38

@d2
mm
38
6
8
10
12
14
16
20
25
30
38
6
8
6
8
10
12
8
10
12
15
8
10
12
15
18
12
15
18
15
18
22
15
18
22
28
15
18
22
28
35
22
28
35
42
28
35
42

G1

M42x 2
M52 x2
M52 x2
M52 x2
M52 x2
M52 x2
M52 x 2
M52 x2
M52 x2
M52 x2
M52 x2
M 14 x1.5
M14x1.5
M16x1.5
M16x1.5
M16x1.5
M16 X 1.5
M18x1.5
M18x1.5
M18x1.5
M18x1.5
M20x1.5
M20x1.5
M20x1.5
M20x1.5
M20x1.5
M22x1.5
M22x1.5
M22x1.5
M24x1.5
M24x1.5
M24x1.5
M30x2
M30x2
M30x2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M42x2
M42 x 2
M42x2
M42x2
M52 x 2
M52 x2
M52 x 2

G2

M52 x 2
M14x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x 2
M52 x 2
M12x1.5
M 14 x1.5
M12x1.5
M14x1.5
M16x1.5
M18x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M18x1.5
M22x1.5
M26x1.5
M22x1.5
M26x1.5
M30x2
M22x1.5
M26x1.5
M30x2
M 36 x 2
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M30x2
M 36 x 2
M45x 2
M52 x2
M 36 x 2
M45x 2
M52 x2

56.5
47.5
47.5
47
50
48.5
51
51
51.5
52
57
24.5
23.5
24
24.5

27.5
26
27

27.5
29
27

29.5

29.5

30.5
34

30.5

42.5
35

32.5
33
35
38

35.5
38
39

40.5
38
42
42
42
45

45.5

45.5
47
50
48

50.5

S1

50
60
60
60
60
60

60
60
60
60
17
17
19
19
19
19
22
22
22
22
24
24
24
24
24
27
27
27
30
30
30
36

36
36
46
46
46
46
46
50
50
50
50
60
60
60

XAOH

OR

25.3x2.4
33.3x24
33.3x2.4
33.3x2.4
33.3x24
33.3x2.4
33.3x2.4
33.3x24
33.3x2.4
33.3x2.4
33.3x24
4.0x1.5
4.0x1.5
6.0x15
6.0x15
6.0x1.5
6.0x15
7.5x1.5
7.5x1.5
7.5x1.5
75x15
9.0x1.5
9.0x15
9.0x15
9.0x1.5
9.0x15
10.0x 2.0
10.0x 2.0
10.0x 2.0
12.0x 2.0
12.0x2.0
12.0x 2.0
16.3x2.4
16.3x2.4
16.3x2.4
16.3x2.4
20.3x2.4
20.3x2.4
20.3x2.4
20.3x2.4
20.3x2.4
25.3x2.4
25.3x2.4
25.3x2.4
25.3x2.4
33.3x2.4
33.3x24
33.3x2.4



24° 0T i@ (45°F)

iR 45°F
PR SESNRAHNEE

BN 24RO EHH

EHE2: AHIIMBEL

FEHER: 24°REEH

TS

XVEWO 45 NW 04 HL
XVEWO 45 NW 06 HL
XVEWO 45 NW 08 HL
XVEWO 45 NW 10 HL
XVEWO 45 NW 13 HL
XVEWO 45 NW 16 HL
XVEWO 45 NW 20 HL
XVEWO 45 NW 25 HL
XVEWO 45 NW 32 HL
XVEWO 45 NW 40 HL
XVEWO 45 NW 03 HS
XVEWO 45 NW 04 HS
XVEWO 45 NW 06 HS
XVEWO 45 NW 08 HS
XVEWO 45 NW 13 HS
XVEWO 45 NW 16 HS
XVEWO 45 NW 20 HS
XVEWO 45 NW 25 HS
XVEWO 45 NW 32 HS

EXTIR

3]l

DL OLwunuwuouwuunuouuwuounrrCrrrrr -

24° AN E A

Z£MRER: 90°f
EE: SRR A TERE

BTN 24 HHOME RS

HEHE2: REIIMEL

EHER: 24°NEEEH

T4 2
2207

XVEWO NW 04 HL
XVEWO NW 06 HL
XVEWO NW 08 HL
XVEWO NW 10 HL
XVEWO NW 13 HL
XVEWO NW 16 HL
XVEWO NW 20 HL
XVEWO NW 25 HL
XVEWO NW 32 HL
XVEWO NW 40 HL
XVEWO NW 03 HS
XVEWO NW 04 HS
XVEWO NW 06 HS
XVEWO NW 08 HS
XVEWO NW 10 HS
XVEWO NW 13 HS
XVEWO NW 16 HS
XVEWO NW 20 HS
XVEWO NW 25 HS
XVEWO NW 32 HS

251

]l

nNnOLnunoounuooununoounnorrerrCcrCCre

TEES
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

TEER
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

LL=4FR RS L=RRT| S=EZ7

@dd2
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

@d2
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
16
20
25
30
38

EIMED

LL=4FR R L=8BFR S=ERF; G1-G2=#[NIEY

mm
6
8

10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1-G2

M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M 45 x 2
M52 x2
M14x1.5
M16x 1.5
M18x 1.5
M20x1.5
M24x1.5
M 30 x 2
M 36 x 2
M 42 x 2
M52 x2

M

6
8
10
12
15
18
22
28
35
42
6
8
10
12
16
20
25
30
38

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5

M30x2
M 36 x 2
M45x 2
M52 x2

M 14 x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5

M30x2
M 36 x 2
M42x2
M52 x2

BT L1
mm

mm
26.0
27.5
29.0
29.5
32.5
35.5
38.5
41.5
51.0
56.0
27.0
27.5
30.0
31.0
36.5
44.5
50.0
55.0
63.0

L2
mm
12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
215
22.0
24.5
26.5
30.0
35.5

57

L2
mm
9.0
12.0
12.0
14.0
17.0
16.5
18.5
23.0
26.5
26.0
9.0
12.0
13.5
16.5
15.5
16.0
18.5
23.5
21.0

mm
25.0
26.5
29.0
29.5
33.0
35.5
39.5
43.0
51.5
56.0
27.0
27.5
30.5
31.5
36.5
37.5
45.0
50.5
55.0
41

L7
mm
16.0
19.0
19.0
21.0
24.0
24.0
26.0
30.5
37.0
37.0
16.0
19.0
21.0
24.0
24.0
26.5
30.5
37.0
37.0

XVEWO 45
,i &

SWo gy OR
mm

14 14 40x15
14 17 6.0x15
19 19 75%x15
19 2 9.0x15
2 27 120x20
27 32 150x20
30 36 20.0x20
36 41 26.0x20
50 50  32.0x25
50 60  38.0x25
14 17 40x15
19 19 6.0x15
19 2 75x15
19 24 9.0x15
19 30  120x20
27 36 163x24
36 46 203x24
50 50  253x24
50 60  333x24

XVEWO

SW gy
mm

12 14
12 17
14 19
17 2
19 27
24 32
27 36
36 41
41 50
50 60
12 17
14 19
17 2
17 24
19 27
24 30
27 36
36 46
41 50
50 60

HANSAFFLEX

OR

4.0x1.5
6.0x15
75x1.5
9.0x15
12.0x 2.0
15.0x2.0
20.0x2.0
26.0x 2.0
32.0x2.5
38.0x2.5
40x15
6.0x1.5
75x15
9.0x1.5
10.0x 2.0
12.0x 2.0

253x2.4
33.3x2.4

49



24°5niAXNEE (L)

sHmR: L - |
1 SEThiRAHIRE [ 1
BEEN: 24°HFOREEE . 1 [t Tey
B2 AhIMEL ' !
FHBR: 24 RETSEE :
HEHES: NEISMELL

BHPR: 24° BT B

TIEED  @d2 EIMED LA L2 L7 SW

.LT%% '%yu bar mm G1 mm mm mm mm mm S1 OR
XVELO NW 04 HL L PN 315 6 M12x1.5 6 26.0 12.0 19 12 14 40x15
XVELO NW 06 HL L PN 315 8 M14x1.5 8 26.5 14.0 21 12 17 6.0x1.5
XVELO NW 08 HL L PN 315 10 M16x1.5 10 29.0 15.0 22 14 19 75x15
XVELO NW 10 HL L PN 315 12 M18x1.5 12 29.5 17.0 24 17 22 9.0x1.5
XVELO NW 13 HL L PN 315 15 M22x1.5 15 33.0 21.0 28 19 27 12.0x 2.0
XVELO NW 16 HL L PN 315 18 M26x1.5 18 35.5 23.5 31 24 32 15.0x 2.0
XVELO NW 20 HL L PN 160 22 M30x2 22 38.5 27.5 35 27 36 20.0x2.0
XVELO NW 25 HL L PN 160 28 M 36 x 2 28 43.0 30.5 38 36 41 26.0x2.0
XVELO NW 32 HL L PN 160 35 M45x 2 35 51.5 34.5 45 41 50 32.0x25
XVELO NW 40 HL L PN 160 42 M52 x2 42 56.0 40.0 51 50 60 38.0x2.5
XVELO NW 03 HS S PN 630 6 M14x1.5 6 27.0 16.0 23 12 17 40x1.5
XVELO NW 04 HS S PN 630 8 M16x1.5 8 27.5 17.0 24 14 19 6.0x1.5
XVELO NW 06 HS S PN 630 10 M18x1.5 10 30.5 17.5 25 17 22 7.5x15
XVELO NW 08 HS S PN 630 12 M20x1.5 12 31.0 21.5 29 17 24 9.0x1.5
XVELO NW 10 HS S PN 630 14 M22x1.5 14 35.0 22.0 30 19 27 10.0x 2.0
XVELO NW 13 HS S PN 400 16 M24x1.5 16 37.5 24.5 33 24 30 12.0x 2.0
XVELO NW 16 HS S PN 400 20 M30x2 20 445 26.5 37 27 36 16.3x2.4
XVELO NW 20 HS S PN 400 25 M 36 x2 25 50.5 30.0 42 36 46 25.3x24
XVELO NW 25 HS S PN 400 30 M42 x 2 30 55.0 355 49 41 50 33.3x24
XVELO NW 32 HS S PN 315 38 M52 x2 38 62.4 41.0 57 50 60 33.3x24
Z5: LL=15RFY] L=RR5| S=EZY|; GI1=HOIgH
L XVEL

MR LY -

S SERNB AR , - :

FEHPR: FERREREE N alfa. X

HEHED: ABISNEBL 1

TR 24 PEE S :

SRR ABISMELS BT R T

BHR: 24 NEET
o T1EEH @d2 EHNEG L2 L5 L7 SW
lTh = ,‘z_éﬁlj bar mm G1 mm mm mm mm mm S1
XVEL NW 04 HL L PN 315 6 M12x1.5 6 12.0 26.0 19 12 14
XVEL NW 06 HL L PN 315 8 M14x1.5 8 14.0 27.5 21 12 17
XVEL NW 08 HL L PN 315 10 M16x 1.5 10 15.0 29.0 22 14 19
XVEL NW 10 HL L PN 315 12 M18x 1.5 12 17.0 29.5 24 17 22
XVEL NW 13 HL L PN 315 15 M22x1.5 15 21.0 325 28 19 27
XVEL NW 16 HL L PN 315 18 M26x1.5 18 23.5 35.5 31 24 32
XVEL NW 20 HL L PN 160 22 M30x2 22 27.5 38.5 35 27 36
XVEL NW 25 HL L PN 160 28 M 36 x 2 28 30.5 415 38 36 41
XVEL NW 32 HL L PN 160 35 M45x 2 35 34.5 51.0 45 41 50
XVEL NW 40 HL L PN 160 42 M52 x2 42 40.0 56.0 51 50 60
XVEL NW 03 HS S PN 630 6 M14x1.5 6 16.0 27.0 23 12 17
XVEL NW 04 HS S PN 630 8 M16x 1.5 8 17.0 27.5 24 14 19
XVEL NW 06 HS S PN 630 10 M18x 1.5 10 17.5 30.0 25 17 22
XVEL NW 08 HS S PN 630 12 M20x1.5 12 21.5 31.0 29 17 24
XVEL NW 10 HS S PN 630 14 M22x1.5 14 22.0 35.0 30 19 27
XVEL NW 13 HS S PN 400 16 M24x1.5 16 24.5 36.5 33 24 30
XVEL NW 16 HS S PN 400 20 M30x2 20 26.5 445 37 27 36
XVEL NW 20 HS S PN 400 25 M 36 x 2 25 30.0 50.0 42 36 46
XVEL NW 25 HS S PN 400 30 M42 x 2 30 35.5 55.0 49 41 50
XVEL NW 32 HS S PN 315 38 M52x2 38 41.0 63.0 57 50 60
25 LL=1R R L=BRF| S=EAF; G1=HNIZH

50 HANSAFFLEX



24°se[ANEE (TE)

gramk: TH

B SERIRAHIRS
BTN : 24 HHOMEEE
EEHE2: AFISMBEL
EHEN: 24°NEREH
HEHES: RFIIMEL
FHER: 24°NEERHE

—— TEES
155 #5l [

XVETO NW 04 HL L PN 315
XVETO NW 06 HL L PN 315
XVETO NW 08 HL L PN 315
XVETO NW 10 HL L PN 315
XVETO NW 13 HL L PN 315
XVETO NW 16 HL L PN 315
XVETO NW 20 HL L PN 160
XVETO NW 25 HL L PN 160
XVETO NW 32 HL L PN 160
XVETO NW 40 HL L PN 160
XVETO NW 03 HS S PN 630
XVETO NW 04 HS S PN 630
XVETO NW 06 HS S PN 630
XVETO NW 08 HS S PN 630
XVETO NW 10 HS S PN 630
XVETO NW 13 HS S PN 400
XVETO NW 16 HS S PN 400
XVETO NW 20 HS S PN 400
XVETO NW 25 HS S PN 400
XVETO NW 32 HS S PN 315

A LL=HFRARTY| L=R AR S=EFT

24°s AN EiE (TE)

gZrm: T

HEE: AR QSRR
FHENX: FEMREREER
ERE2: AFIIMBEL
FHER: 24°HEE B
HEHES: NHISMEL
EHER: 24°REEHEH

TS 7y LIFED
XVET NW 04 HL L PN 315
XVET NW 06 HL L PN 315
XVET NW 08 HL L PN 315
XVET NW 10 HL L PN 315
XVET NW 13 HL L PN 315
XVET NW 16 HL L PN 315
XVET NW 20 HL L PN 160
XVET NW 25 HL L PN 160
XVET NW 32 HL L PN 160
XVET NW 40 HL L PN 160
XVET NW 03 HS S PN 630
XVET NW 04 HS S PN 630
XVET NW 06 HS S PN 630
XVET NW 08 HS S PN 630
XVET NW 10 HS S PN 630
XVET NW 13 HS S PN 400
XVET NW 16 HS S PN 400
XVET NW 20 HS S PN 400
XVET NW 25 HS S PN 400
XVET NW 32 HS S PN 315

EXE

@d2
mm

6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

@d2
mm

6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

EIMED

mm
6
8

10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1

M12x 1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M 45 x 2
M52 x 2
M14x1.5
M16x 1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x2
M52 x2

LL=FR2R7 L= &5 S=ERT|; G1=EO1ZL

L1
mm
26.0
26.5
29.0
29.5
33.0
35.5
39.5
43.0
51.0
56.0
27.0
27.5
30.0
31.5
35.0
37.5
45.0
50.5
55.0
63.0

EIMED
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

L2
mm
12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
21.5
22.0
24.5
26.5
30.0
35.5
41.0

L2

12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
21.5
22.0
245
26.5
30.0
35.5
41.0

L7
mm
19
21
22
24
28
31
35
38
45
51
23
24
25
29

33
37
42
49
57

| B _

L5

26.0
27.5
29.0
29.5
32.5
35.5
38.5
41.5
51.0
56.0
27.0
27.5
30.0
31.0
35.0
36.5
44.5
50.0
55.0
63.0

swW
mm
12
12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50

=

S1

14
17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

L7
mm
19
21
22
24
28
31
35
38
45
51
23
24
25
29
30
33
37
42
49
57

SW

12
12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50

XVETO

OR

40x15
6.0x15
7.5x1.5
9.0x1.5
12.0x 2.0
15.0x 2.0
20.0x2.0
26.0x2.0
32.0x2.5
38.0x25
40x15
6.0x1.5
75x15
9.0x1.5
10.0x 2.0
12.0x 2.0
16.3x2.4
25.3x2.4
33.3x24
33.3x24

XVET

S1

14
17
19
22
27
32
36
41
50
60
17
19
22
24
27
30
36
46
50
60

HANSAFFLEX 51



EYIT] >

i Xt EELH S sk DMO
ZElER: WEF

HEE: EIRAHNEE

BHER: 24°#HOREEE I
ERE2: EHRAHNEE I——
FHEHER: 24°HHOR B ZH

e IHEH @d1 @d2 L

iTEe 7o o G1 G2 o S1 82 OR1 OR2
DMO NW 04 L PN315 6 6 M12x15 M12x15 320 14 14  40x15 40x15
DMO NW 04 L 06 PN315 6 8 M12x15 M14x15 320 14 17  40x15 6.0x1.5
DMO NW 04 L 08 PN315 6 10 M12x15 M16x15 330 14 19  40x15 75x1.5
DMO NW 04 L 10 PN315 6 12 M12x15 M18x15 330 14 22  40x15 9.0x1.5
DMO NW 06 L PN315 8 8 M14x15 M14x15 320 17 17  6.0x15 6.0x1.5
DMO NW 06 L 08 PN315 8 10 M14x15 M16x15 330 17 19  60x15 75x1.5
DMO NW 06 L 10 PN315 8 12 M14x15 M18x15 330 17 22  60x15 9.0x1.5
DMO NW 06 L 13 PN315 8 15  M14x15 M22x15 345 17 27  6.0x15 12.0x 2.0
DMO NW 06 L 16 PN315 8 18  M14x15 M26x15 360 17 32  6.0x15 15.0 x 2.0

DMO NW 08 L

DMO NW 08 L 10
DMO NW 08 L 13
DMO NW 08 L 16
DMO NW 10 L

DMO NW 10 L 13
DMO NW 10 L 16
DMO NW 10 L 20
DMO NW 13 L

DMO NW 13 L 16
DMO NW 13 L 20
DMO NW 13 L 25
DMO NW 16 L

DMO NW 16 L 20
DMO NW 16 L 25
DMO NW 16 L 32
DMO NW 20 L

DMO NW 20 L 25
DMO NW 20 L 32
DMO NW 20 L 40
DMO NW 25 L

DMO NW 25 L 32
DMO NW 25 L 40

PN 315 10 10 M16x15 M16x15 34.0 19 19 7.5x15 7.5x15
PN 315 10 12 M16x15 M18x15 33.0 19 22 75x15 9.0x1.5
PN 315 10 15 M16x15 M22x15 380 19 27 75x1.5 12.0x2.0
PN 315 10 18 M16x15 M26x15 36.0 19 32 7.5x15 15.0x 2.0
PN 315 12 12 M18x15 M18x15 345 22 22 9.0x1.5 9.0x1.5
PN 315 12 15 M18x15 M22x15 380 22 27 9.0x1.5 12.0x2.0
PN 315 12 18 M18x15 M26x15 36.0 22 32 9.0x1.5 15.0x 2.0
PN 160 12 22 M18x 1.5 M30x2 400 22 36 9.0x1.5 20.0x2.0
PN 315 15 15 M22x15 M22x15 370 27 27 12.0x 2.0 12.0x2.0
PN 315 15 18 M22x15 M26x15 36.0 27 32 12.0x2.0 15.0x 2.0
PN 160 15 22 M22x1.5 M30x2 420 27 36 12.0x2.0 20.0x2.0
PN 160 15 28 M22x1.5 M36x2 46.0 27 41 12.0x 2.0 26.0x2.0
PN 315 18 18 M26x15 M26x15 385 32 32 15.0x2.0 15.0x 2.0
PN 160 18 22 M26x1.5 M30x2 420 32 36 15.0x2.0 20.0x2.0
PN 160 18 28 M26x1.5 M36x2 46.0 32 41 15.0x 2.0 26.0x2.0
PN 160 18 35 M26x1.5 M45x2 450 32 50 15.0x2.0 32.0x2.5
PN160 22 22 M30x 2 M30x2 425 36 36 20.0x2.0 20.0x2.0
PN 160 22 28 M30x2 M36x2 46.0 36 41 20.0x2.0 26.0x2.0
PN160 22 35 M 30 x 2 M45x2 480 36 50 20.0x2.0 32.0x2.5
PN160 22 42 M 30 x 2 M52 x2 475 36 60 20.0x2.0 38.0x2.5
PN 160 28 28 M 36 x 2 M36x2 445 41 41 26.0x2.0 26.0x2.0
PN160 28 35 M 36 x 2 M45x 2 480 4 50 26.0x2.0 32.0x2.5
PN160 28 42 M 36 x 2 M52 x2 520 41 60 26.0x2.0 38.0x2.5

r-rrrr0OOOrOrOrOrrrOOcOcoObObOOOOCbCCCCCrbrbrCrKr-

DMO NW 32 L PN160 35 35 M 45 x 2 M 45 x 2 51.0 50 50 32.0x2.5 32.0x2.5
DMO NW 32 L 40 PN 160 35 42 M45x 2 M52 x2 515 50 60 32.0x2.5 38.0x2.5
DMO NW 40 L L PN 160 42 42 M52 x 2 M52 x 2 520 60 60 38.0x2.5 38.0x2.5
DMONWO04L03S L/S PN315 6 6 M12x15 M14x15 335 14 17 40x1.5 40x1.5
DMONWO04L04S L/S PN315 6 8 M12x15 M16x15 33.0 14 19 40x1.5 6.0x1.5
DMONWO4L06S L/S PN315 6 10 M12x15 M18x15 355 14 22 40x1.5 75x15
DMONWO04L08S L/S PN315 6 12 M12x15 M20x15 38.0 14 24 40x1.5 9.0x1.5
DMONWO6L03S L/S PN315 8 6 M14x15 M14x15 320 17 17 6.0x1.5 40x1.5
DMONWO6L04S L/S PN315 8 8 M14x15 M16x15 33.0 17 19 6.0x1.5 6.0x1.5
DMONWO6L06S L/S PN315 8 10 M14x15 M18x15 33.0 17 22 6.0x1.5 7.5x15
DMONWO6L08S L/S PN315 8 12 M14x15 M20x15 36.0 17 24 6.0x1.5 9.0x1.5

DMONWO6L13S L/S PN315 8 16 M14x15 M24x15 39.0 17 30 6.0x1.5 12.0x2.0
DMONWO8L03S L/S PN315 10 6 M16x15 M14x15 33.0 19 17 7.5x15 40x1.5
DMONWO8L04S L/S PN315 10 8 M16x15 M16x15 33.0 19 19 75x15 6.0x1.5
DMONWO8LO06S L/S PN315 10 10 M16x15 M18x15 33.0 19 22 75x15 75x15
DMONWO8L08S L/S PN315 10 12 M16x15 M20x15 36.0 19 24 7.5x1.5 9.0x1.5
DMONWO8L10S L/S PN315 10 14 M16x15 M22x15 39.0 19 27 75x15 10.0x2.0
DMONWO8L13S L/S PN315 10 16 M16x15 M24x15 39.0 19 30 75x15 12.0x2.0
DMONW10L06S L/S PN315 12 10 M18x15 M18x15 33.0 22 22 9.0x1.5 7.5x15
DMONW10L08S L/S PN315 12 12 M18x15 M20x15 36.0 22 24 9.0x1.5 9.0x1.5
DMONW10L10S L/S PN315 12 14 M18x15 M22x15 39.0 22 27 9.0x1.5 10.0x 2.0
DMONW10L13S L/S PN315 12 16 M18x15 M24x15 39.0 22 30 9.0x1.5 12.0x 2.0
DMONW10L16S L/S PN315 12 20 M18x 1.5 M 30 x 2 36.0 22 36 9.0x1.5 16.3x 24
DMONW13L06S L/S PN315 15 10 M22x15 M18x15 38.0 27 22 12.0x2.0 75x15
DMONW13L08S L/S PN315 15 12 M22x15 M20x15 38.0 27 24 12.0x2.0 9.0x1.5
DMONW13L10S L/S PN315 15 14 M22x15 M22x15 38.0 27 27 12.0x2.0 10.0x 2.0
DMONW13L13S L/S PN315 15 16 M22x15 M24x15 39.0 27 30 12.0x2.0 12.0x 2.0
DMONW13L16S L/S PN315 15 20 M22x1.5 M 30 x 2 440 27 36 12.0x2.0 16.3x2.4

52  HANSAFFLEX



i R4 &Sk

L. SRS

HEHE1: TEENR TR

FEHER: 24°#HHOREHH

B2 SERIRAHIRS

BN 24 HEHOMEEE

s

DMONW13L20 S
DMONW16L08 S
DMONW16L10S
DMONW 16 L 13 S
DMONW16L16 S
DMONW 16 L 20 S
DMONW16L25S
DMONW20L13S
DMONW20L16S
DMONW20L20S
DMONW20L25S
DMONW20L32S
DMONW25L 13 S
DMONW25L 16 S
DMONW 25L 20 S
DMONW25L25S
DMONW25L32S
DMONW32L16S
DMONW32L 20 S
DMONW32L25S
DMONW32L32S
DMONW40L25S
DMONW40L32S
DMO NW 03 S
DMO NW 03 S 04
DMO NW 03 S 06
DMO NW 03 S 08
DMO NW 04 S
DMO NW 04 S 06
DMO NW 04 S 08
DMO NW 06 S
DMO NW 06 S 08
DMO NW 06 S 10
DMO NW 06 S 13
DMO NW 08 S
DMO NW 08 S 10
DMO NW 08 S 13
DMO NW 08 S 16
DMONW 10 S
DMO NW 10 S 13
DMO NW 10 S 16
DMO NW 13 S
DMO NW 13 S 16
DMO NW 13 S 20
DMO NW 13 S 25
DMO NW 16 S
DMO NW 16 S 20
DMO NW 16 S 25
DMO NW 16 S 32
DMO NW 20 S
DMO NW 20 S 25
DMO NW 20 S 32
DMO NW 25 S
DMO NW 25 S 32
DMO NW 32 S

B3 LL=432RT| L= RJ| S=E &7

]l

L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S
L/S

(NN ON GO ONGCNONONONON G N OGN ONONON OGN ONON OGN ONGNONONONONGNON OGN N)

TEER
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 630
PN 630
PN 400
PN 400
PN 630
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 400
PN 400
PN 315
PN 400
PN 315
PN 315

@d2
mm
25
12
14
16
20
25
30
16
20
25

38
16
20
25
30
38
20
25

38
30
38

10
12

10
12
10
12
14
16
12
14
16
20
14
16
20
16
20
25
30
20
25
30
38
25
30
38
30
38
38

G1

M22x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M26x1.5
M 30 x 2
M30x2
M 30 x 2
M 30 x 2
M30x2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M45x 2
M 45 x 2
M 45 x 2
M45x 2
M52 x2
M52 x2
M14x1.5
M14x1.5
M14x1.5
M14x1.5
M16x 1.5
M16x 1.5
M16x1.5
M18x 1.5
M18x 1.5
M18x 1.5
M18x 1.5
M20x1.5
M20x1.5
M20x1.5
M20x1.5
M22x1.5
M22x1.5
M22x1.5
M24x1.5
M24x1.5
M24x1.5
M24x1.5
M 30 x 2
M 30 x 2
M30x2
M 30 x 2
M 36 x 2
M 36 x 2
M 36 x 2
M 42 x 2
M 42 x2
M52 x2

G2

M 36 x 2
M20x1.5
M22x1.5
M24 x1.5
M30x2
M 36 x 2
M 42 x 2
M24x1.5
M 30x 2
M 36 x 2
M 42 x 2
M52 x 2
M24 x1.5
M30x2
M 36 x 2
M 42 x 2
M52 x2
M 30x 2
M 36 x 2
M 42 x 2
M52 x 2
M 42 x 2
M52 x2
M14 x1.5
M 16 x 1.5
M18x1.5
M20x 1.5
M 16 x 1.5
M18x1.5
M20x1.5
M 18 x 1.5
M20x1.5
M22x1.5
M24 x1.5
M20x1.5
M22x1.5
M24 x1.5
M30x2
M22x1.5
M24 x1.5
M30x2
M24x1.5
M 30 x 2
M 36 x 2
M 42 x 2
M 30x 2
M 36 x 2
M 42 x 2
M 52 x 2
M 36 x 2
M 42 x 2
M 52 x 2
M 42 x 2
M 52 x 2
M 52 x 2

mm
47.5
38.0
41.0
39.0
44.0
48.0
50.0
42.0
44.0
46.0
52.0
52.0
46.0
46.0
46.0
52.0
51.0
48.0
48.0
52.0
52.0
52.0
52.0
35.0
33.0
32.0
37.5
35.0
33.0
36.0
39.0
36.0
39.0
39.0
40.0
39.0
39.0
39.0
43.0
39.0
44.0
44.0
44.0
46.0
52.0
53.5
46.0
52.0
52.0
57.5
52.0
52.0
60.5
52.0
65.5

S1

27
32
32
32
32

32
36
36
36

36
41
41
41
41
41
50
50
50
50
60
60
17
17
17
17
19
19
19
22
22
22
22
24
24
24
24
27
27
27
30
30
30
30
36

36
36
46
46
46
50
50
60

LS

S2

46
24
27
30
36
46
50
30
36
46
50
60
30
36
46
50
60
36
46
50
60
50
60
17
19
22
24
19
22
24
22
24
27
30
24
27
30

27
30
36
30
36
46
50
36
46
50
60
46
50
60
50
60
60

OR1

12.0x 2.0
15.0x2.0
15.0x 2.0
15.0x 2.0
15.0x2.0
15.0x 2.0
15.0x 2.0
20.0x 2.0
20.0x2.0
20.0x 2.0
20.0x 2.0
20.0x2.0
26.0x2.0
26.0x 2.0
26.0x2.0
26.0x2.0
26.0x 2.0
32.0x2.5
32.0x2.5
32.0x2.5
32.0x2.5
38.0x2.5
38.0x2.5
4.0x1.5
4.0x1.5
4.0x1.5
4.0x1.5
6.0x15
6.0x1.5
6.0x15
7.5x15
7.5x1.5
7.5x15
7.5x15
9.0x1.5
9.0x15
9.0x15
9.0x1.5
10.0x 2.0
10.0x 2.0
10.0x 2.0
12.0x 2.0
12.0x 2.0
12.0x2.0
12.0x 2.0
16.3x2.4
16.3x2.4
16.3x2.4
16.3x2.4
20.3x2.4
20.3x2.4
20.3x2.4
25.3x2.4
25.3x2.4
33.3x2.4

DMO

OR2

20.3x2.4
9.0x1.5
10.0x2.0
12.0x2.0
16.3x2.4
20.3x2.4
253x2.4
12.0x 2.0
16.3x2.4
20.3x2.4
25.3x2.4
33.3x24
12.0x2.0
16.3x2.4
20.3x2.4
253x2.4
33.3x2.4
16.3x2.4
20.3x2.4
25.3x2.4
33.3x24
253x2.4
33.3x2.4
40x1.5
6.0x1.5
75x15
9.0x1.5
6.0x1.5
75x1.5
9.0x1.5
7.5x15
9.0x1.5
10.0x2.0
12.0x2.0
9.0x1.5
10.0x 2.0
12.0x2.0
16.3x2.4
10.0x 2.0
12.0x2.0
16.3x2.4
12.0x2.0
16.3x2.4
20.3x2.4
253x2.4
16.3x2.4
20.3x2.4
253x2.4
33.3x2.4
20.3x2.4
253x2.4
33.3x2.4
25.3x2.4
33.3x24
33.3x2.4

HANSAFFLEX 53



A5°im M EEA S sk

Lk 45°/
N EDRATIES

ZEENR: 24°HHOREZEH

2 ERSABIRE

EHEN: 24 TOREEE

TS

DMO 45 NW 04 L
DMO 45 NW 06 L
DMO 45 NW 08 L
DMO 45 NW 10 L
DMO 45 NW 13 L
DMO 45 NW 16 L
DMO 45 NW 20 L
DMO 45 NW 25 L
DMO 45 NW 32 L
DMO 45 NW 40 L
DMO 45 NW 03 S
DMO 45 NW 04 S
DMO 45 NW 06 S
DMO 45 NW 08 S
DMO 45 NW 13 S
DMO 45 NW 16 S
DMO 45 NW 20 S
DMO 45 NW 25 S
DMO 45 NW 32 S

#51:

eyl

DL OLwnunuuwnouunmnurrCcrrCrrCrCrr -

TIEER
bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 250
PN 250
PN 250
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

LL=4FR A5 L=RRT| S=ER7

o] i [ imiE B L (45° )

ZElER: 45°%
EHE1: BSPARESMELL

FEHHNA: ORBERMER (HEE)

HEHE2: REIIMEL
FHER: 24° R R

TS
XEWORK 45 NW 04 HL
XEWORK 45 NW 06 HL
XEWORK 45 NW 08 HL
XEWORK 45 NW 10 HL
XEWORK 45 NW 13 HL
XEWORK 45 NW 16 HL
XEWORK 45 NW 20 HL

XEWORK 45 NW 20 HL 27

XEWORK 45 NW 25 HL
XEWORK 45 NW 32 HL
XEWORK 45 NW 40 HL
XEWORK 45 NW 03 HS
XEWORK 45 NW 04 HS
XEWORK 45 NW 06 HS
XEWORK 45 NW 08 HS
XEWORK 45 NW 10 HS
XEWORK 45 NW 13 HS
XEWORK 45 NW 16 HS
XEWORK 45 NW 20 HS
XEWORK 45 NW 25 HS
XEWORK 45 NW 32 HS

EIIF

54

LL=42 AR5 L=B&RF|

]l

DO nuuunuuounuoonrrecrCCrCCrCr -

HANSAFFLEX

TEEA @d2
bar mm
PN 315 6
PN 315 8
PN 315 10
PN 250 12
PN 250 15
PN 250 18
PN 160 22
PN 160 22
PN 160 28
PN 160 35
PN 160 42
PN 315 6
PN 315 8
PN 250 10
PN 250 12
PN 250 14
PN 250 16
PN 250 20
PN250 25
PN 160 30
PN 160 38

ad
mm

10
12
15
18
22
28
35
42

10
12
16
20
25
30
38

G1

G 1/8" -28
G 1/4"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4"-14
G 3/4"-14
G1"-11
G 1.1/4" -11
G1.1/2"-11
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4"-14
G1"-11
G 1.1/4" -11
G1.1/2" -11

Ly
- :.a-
il
al7
G1 L1 SW
mm mm
M12x 1.5 22.5 14
M14x15 23 14
M16x 1.5 25 19
M18x 1.5 25.5 19
M22x15 27 22
M26x 1.5 30 27
M 30 x 2 32 30
M 36 x 2 35 36
M 45 x 2 39.5 50
M52 x 2 42 50
M14x15 23.5 14
M16x 1.5 26.5 19
M18x 1.5 27 19
M20x1.5 27.5 19
M24x15 31.5 27
M 30 x 2 36 30
M 36 x 2 40.5 36
M 42 x 2 445 50
M52 x 2 50.5 50
EIMZO i L4 L5 L7
mm mm mm mm mm
6 M12x15 7 9 21 16
8 M14x15 9 12 20 19
10 M16x15 9 12 25 19
12 M18x15 9 14 28 21
15 M22x15 13 17 26 24
18 M26x15 13 17 32 24
22 M30x2 13 19 37 26
22 M27x2 13 19 37 26
28 M36x2 15 23 37 31
35 M45x2 15 27 39 37
42 M52x2 15 26 39 37
6 M14x15 9 9 19 16
8 M16x15 9 12 23 19
10 M18x15 9 13 25 21
12 M20x15 9 17 25 24
14 M22x15 13 16 31 24
16 M24x15 13 16 31 24
20 M30x2 12 16 34 27
25 M36x2 14 19 37 31
30 M42x2 15 24 38 37
38 M52x2 15 21 38 37

=ERF; GI1=EOBY G2=HNIEY

S1

14
17
19
22
27
32
36
41
50
60
17
19
22
24
30
36
46
50
60

OR

40x1.5
6.0x1.5
7.5x15
9.0x1.5
12.0x2.0
15.0x 2.0
20.0x 2.0
26.0x 2.0
32.0x2.5
38.0x2.5
40x1.5
6.0x 1.5
7.5x1.5
9.0x1.5
12.0x2.0
16.3x2.4
20.3x2.4
253x2.4
33.3x2.4

XEWORK 45

Siea

sw

mm
14
14
19
19
22
27
30

36
50
50
14
19
19
22
27
27
30
36
50
50

S1

14
19
19
22
27
27
36

41
50
55
19
19
22
22
27
27
36
41
50
55

OR

7.65x1.78
10.78 x 2.62
10.78 x 2.62
13.94 x 2.62
17.86 x 2.62
17.86 x 2.62
23.47 x 2.62
23.47 x 2.62
29.75x 3.53
37.69 x 3.53
44.04 x 3.53
10.78 x 2.62
10.78 x 2.62
13.94 x 2.62
13.94 x 2.62
17.86 x 2.62
17.86 x 2.62
23.47 x 2.62
29.74 x 3.53
37.69 x 3.53
44.04 x 3.53



o] iff o) i i@ B 5L (45° F)
“ZER: 45°F

EHE1: BSPEREIMELT

5N GR

FERE2: NFISMERSL

ZHER: 24°AERET

THEN @2 o, 2 EIMEO o,
bar mm mm mm
PN 315 6 G 1/8"-28 6 M12x15 8
PN 315 8 G 1/4" -19 8 M14x15 9
PN 315 10 G1/4"-19 10 M16x15 9
PN 250 12 G 3/8"-19 12 M18x15 9
PN 250 15 G1/2"-14 15 M22x15 13
PN 250 18 G1/2"-14 18 M26x15 13
PN 160 22 G3/4"-14 22 M30x2 13
PN 160 28 G1"-11 28 M36x2 15
PN 160 35 G1.1/4"-11 35 M45x2 15
PN 160 42 G1.1/2"-11 42 M52x2 15
PN 315 6 G 1/4" -19 6 M14x15 9
PN 315 8 G 1/4" -19 8 M16x15 9
PN 250 10 G3/8"-19 10 M16x15 9
PN 250 12 G 3/8"-19 12 M20x15 9
PN 250 14 G1/2"-14 14 M22x15 13
PN 250 16 G1/2"-14 16 M24x15 13
PN 250 20 G 3/4"-14 20 M30x2 12
PN 250 25 G1"-11 25 M36x2 14
XEWOR 45 NW 25 HS PN 160 30 G1.1/4"-11 30 M42x2 15
XEWOR 45 NW 32 HS PN 160 38 G1.1/2"-11 38 M52x2 15

Ry LL=HFRRY| L=RRY S=EFRF; G1=HOBg G2=1E1ELY

1S &5
XEWOR 45 NW 04 HL
XEWOR 45 NW 06 HL
XEWOR 45 NW 08 HL
XEWOR 45 NW 10 HL
XEWOR 45 NW 13 HL
XEWOR 45 NW 16 HL
XEWOR 45 NW 20 HL
XEWOR 45 NW 25 HL
XEWOR 45 NW 32 HL
XEWOR 45 NW 40 HL
XEWOR 45 NW 03 HS
XEWOR 45 NW 04 HS
XEWOR 45 NW 06 HS
XEWOR 45 NW 08 HS
XEWOR 45 NW 10 HS
XEWOR 45 NW 13 HS
XEWOR 45 NW 16 HS
XEWOR 45 NW 20 HS

DL OLnLuLwuuLuuLwuumwuLuwmwrrCcrrrrrrr

o] iff o) i @ B 3L (45° F)
R 45°F

ERE NHIEEERL

ZHHN: OBMZIER (HEZH)

ERE2: NFISMRSL

TETR: 24° T ZH

IfEEN @d2 EIMED

ST D |
= #5l o mm G1 mm G2

XEWOMK 45 NW 04 HL PN 315 6 M10x 1 6 M12x1.5
XEWOMK 45 NW 06 HL PN 315 8 M12x1.5 8 M14x1.5

XEWOMK 45 NW 08 HL
XEWOMK 45 NW 10 HL
XEWOMK 45 NW 13 HL
XEWOMK 45 NW 16 HL

PN315 10 M14x15 10 M16x1.5
PN315 12 M16x1.5 12 M18x1.5
PN315 15 M18x1.5 15 M22x1.5
PN250 18 M22x1.5 18 M26x1.5

XEWOMK 45 NW 20 HL PN160 22 M26x1.5 22 M30x2
XEWOMK 45 NW20 HL27 PN 160 22 M 27 x2 22 M30x2
XEWOMK 45 NW 25 HL PN 160 28 M33x2 28 M 36 x 2
XEWOMK 45 NW 32 HL PN160 35 M42x2 35 M45x 2
XEWOMK 45 NW 40 HL PN 160 42 M 48 x 2 42 M52 x2
XEWOMK 45 NW 03 HS PN 315 6 M12x1.5 6 M 14 x1.5
XEWOMK 45 NW 04 HS PN 315 8 M14x1.5 8 M16x1.5

XEWOMK 45 NW 06 HS
XEWOMK 45 NW 08 HS
XEWOMK 45 NW 10 HS
XEWOMK 45 NW 13 HS

PN315 10 M16x1.5 10 M18x1.5
PN315 12 M18x1.5 12 M20x1.5
PN250 14 M20x1.5 14 M22x1.5
PN250 16 M22x1.5 16 M24x1.5

N nmuunuoounununuounrrerrCCrCCrCr -

XEWOMK 45 NW 16 HS PN250 20 M 27 x 2 20 M 30 x 2
XEWOMK 45 NW 20 HS PN160 25 M33x2 25 M 36 x 2
XEWOMK 45 NW 25 HS PN160 30 M 42 x 2 30 M 42 x2
XEWOMK 45 NW 32 HS PN160 38 M 48 x 2 38 M52 x2

R LL=4FRAY L=RRY| S=ERT; G1=HOIRY G2=1 184

L4
mm

12
12
14
17
17
19
23
27
26

12
13
17
16
16
16
19
24
21

mm

11
11
11
12
12
16
15
15
15
17
11
11
12
14
14
14
18
18
18
21

L5

L7

mm mm

21
20
25
28
26
32
37
37
39
39
19
23
25
25
31
31
34
37
38
38

L4
mm

12
12
14
17
17
19
19
23
27
26

12
13
17
16
16
16
19
24
21

16.0
19.0
19.0
21.0
24.0
24.5
26.5
30.5
37.5
37.0
16.0
19.0
20.5
24.5
24.5
24.5
26.5
31.0
37.5
37.0

L5
mm
20
18
22
23
23

30
30
34
36
36
18
18
22
23
30
30
33
35
36
36

XEWOR 45

f

SW

mm

14 14 8.0x1.5
14 19 10.77 x 2.62
19 19 10.77 x2.62
19 22 13.94x2.62
22 27 17.86x2.62
27 27 17.86x2.62
30 36 23.47x262
36 41 29.74 x3.53
50 50 37.69x3.53
50 55 44.04x3.53
14 19 10.77 x 2.62
19 19 10.77 x 2.62
19 22 13.94x2.62
22 22 13.94x2.62
27 27 17.86x2.62
27 27 17.86x2.62
30 36 23.47x2.62
36 41 29.74x3.53
50 50 37.69x3.53
50 55 44.04x3.53

S1 OR

XEWOMK 45
&ies

L7 SW S1 OR

mm mm

16 14 13 8.1x16
19 14 17 93x24
19 19 17 113x24
21 19 19 133x24
24 22 22 153x24
24 27 27 193x24
26 27 32 233x24
26 30 32 23.6x29
31 36 38 29.5x3.0
37 50 50 38.0x3.0
37 50 55 445x3.0
16 14 17 93x24
19 19 17 1M3x24
21 19 19 133x24
24 22 22 153x24
24 27 27 173x24
24 27 27 193x24
27 30 32 23.6x29
31 38 36 29.5x3.0
37 50 50 38.0x3.0
37 50 55 445x3.0

HANSAFFLEX 55



o] i 6] il B Bk (45° ) XEWOM 45
GZER: 45°F F 3 »
B NEIEEEIRL E
EHPR: FR ;
FERE2: NFISMERSL

EHEN: 24 NEERHE i " -
o TIEEH @d2 EIMZD i L4 L5 L7 SW
1E
XEWOM 45 NW 04 HL PN 315 6 M10x 1 6 M12x15 8 9 20 16 14 14 8.1x1.6

XEWOM 45 NW 06 HL
XEWOM 45 NW 08 HL
XEWOM 45 NW 10 HL
XEWOM 45 NW 13 HL
XEWOM 45 NW 16 HL
XEWOM 45 NW 20 HL 27
XEWOM 45 NW 25 HL
XEWOM 45 NW 32 HL
XEWOM 45 NW 40 HL
XEWOM 45 NW 03 HS
XEWOM 45 NW 04 HS
XEWOM 45 NW 06 HS
XEWOM 45 NW 08 HS
XEWOM 45 NW 10 HS
XEWOM 45 NW 13 HS
XEWOM 45 NW 16 HS
XEWOM 45 NW 20 HS

PN 315 8 M12x15 8 M14x15 1 12 18 19 14 17 93x24
PN315 10 M14x1.5 10 M16x1.5 11 12 22 19 19 19 113x24
PN315 12 M16x1.5 12 M18x15 11 14 23 21 19 22 13.3x24
PN315 15 M18x1.5 15 M22x15 12 17 23 24 22 24 153x24
PN315 18 M22x1.5 18 M26x15 12 17 30 24 27 27 193x24
PN 160 22 M27 x 2 22 M30x2 15 19 30 26 30 32 23.6x29
PN 160 28 M33x2 28 M36x2 15 23 34 31 36 41 29.5x3.0
PN160 35 M42x2 35 M45x2 15 27 36 37 50 50 38.0x3.0
PN 160 42 M48 x 2 42 M52x2 17 26 36 37 50 55 445x3.0
PN 400 6 M12x15 6 M14x15 N 9 18 16 14 17 93x24
PN 400 8 M14x15 8 M16x1.5 1 12 18 19 19 19 113x24
PN400 10 M16x1.5 10 M18x1.5 12 13 22 21 19 22 133x24
PN400 12 M18x1.5 12 M20x1.5 14 17 23 24 22 24 153x24
PN400 14 M20x1.5 14 M22x15 14 16 23 24 27 27 173x24
PN400 16 M22x1.5 16 M24x15 14 16 20 24 27 27 193x24
PN 400 20 M 27 x 2 20 M30x2 18 16 33 27 30 32 23.6x29
PN315 25 M33x2 25 M36x2 18 19 35 31 36 41 29.5x3.0
XEWOM 45 NW 25 HS PN 250 30 M 42 x 2 30 M42x2 18 24 36 37 50 50 38.0x3.0
XEWOM 45 NW 32 HS PN 200 38 M42x 2 38 M&2x2 21 21 36 37 50 55 38.0x3.0

Ry LL=HFRARY L=RBR S=ERY; GI1=HNRL G2=1M1EY

NnOwOununmouunuuoououwuuouounrrcrCCrCCCr

o] i i B A Sk XEWORK

. 90°/

FEHE1: BSPARHEIMELT . : i3 .

THER: OMBMIER (HAEZH) ) 'y

EEE2: AHISMBYL ! "

BHER: 24°NEERHS N
sTaeo TEEA @d2 EINZD i L4 L5 L7 SwW
-LTR? /%5” bar mm G1 mm G2 mm mm mm mm mm S1 OR
XEWORK 04 LL LL PN250 4 G1/8"-28 4 M8 x1 71 113 20 15 11 14 7.65x1.78
XEWORK 06 LL LL PN250 6 G1/8"-28 6 M10x1 74 113 20 15 11 14 7.65x1.78
XEWORKNWO4HL L PN315 6 G1/8"-28 6 M12x15 7.0 140 19 21 14 14 7.65x1.78
XEWORKNWO6HL L PN315 8 G1/4"-19 8 M14x15 90 160 23 23 14 19 10.78x2.62
XEWORKNWO8HL L PN315 10 G 1/4"-19 10 M16x15 90 170 25 24 19 19 10.77x2.62
XEWORKNW10HL L PN250 12 G3/8"-19 12 M18x15 9.0 190 28 26 19 22 13.94x2.62
XEWORKNW13HL L PN250 15 G1/2"-14 15 M22x15 130 210 30 28 22 27 17.86x2.62
XEWORKNW16HL L PN250 18 G1/2"-14 18 M26x15 13.0 240 36 31 27 27 17.86x2.62
XEWORKNW20HL L PN160 22 G3/4"-14 22 M30x2 130 280 36 35 30 36 2347x262
XEWORKNW25HL L PN160 28 G 1"-11 28 M36x2 150 31.0 44 38 36 41 29.74x3.53
XEWORKNW32HL L PN160 35 G1.1/4"-11 35 M45x2 150 380 50 48 50 50 37.69x3.53
XEWORKNW40HL L PN160 42 G 1.1/2"-11 42 M52x2 150 380 52 49 50 55 44.04x3.53
XEWORKNWO3HS S PN315 6 G1/4"-19 6 M14x15 90 150 23 22 14 19 10.77x2.62
XEWORKNWO04HS S PN315 8 G1/4"-19 8 M16x15 9.0 170 27 24 19 19 10.77x2.62
XEWORKNWO6HS S PN250 10 G3/8"-19 10 M18x15 9.0 180 29 25 19 22 13.94x262
XEWORKNWO8HS S PN250 12 G3/8"-19 12 M20x15 90 220 29 29 22 22 13.94x262
XEWORKNW10HS S PN250 14 G 1/2"-14 14 M22x15 13.0 250 36 33 27 27 18.00x3.00
XEWORKNW13HS S PN250 16 G 1/2"-14 16 M24x15 130 250 36 33 27 27 17.86x2.62
XEWORKNW16HS S PN250 20 G 3/4"-14 20 M30x2 120 280 39 38 30 36 23.47x2.62
XEWORKNW20HS S PN250 25 G1'"-11 25 M36x2 140 300 44 42 36 41 29.74x3.53
XEWORKNW25HS S  PN160 30 G1.1/4"-11 30 M42x2 150 360 49 49 50 50 37.69x3.53
XEWORKNW32HS S PN160 38 G1.1/2"-11 38 M52x2 150 340 55 50 50 55 44.04x3.53

Ry LL=HRRY| L=RRY S=EFRF; G1=HOBy G2=11EY

56  HANSAFFLEX



o] 8 = i B A E ek

L. 90°/

EHE1: BSPHREIMELL
EHEA: GH

HEHE2: RFIIMEL
FEHER: 24 NEERZEH

TS

XEWOR NW 04 HL
XEWOR NW 06 HL
XEWOR NW 06 HL 3/8
XEWOR NW 08 HL
XEWOR NW 10 HL
XEWOR NW 13 HL
XEWOR NW 16 HL
XEWOR NW 20 HL
XEWOR NW 25 HL
XEWOR NW 32 HL
XEWOR NW 40 HL
XEWOR NW 03 HS
XEWOR NW 04 HS
XEWOR NW 06 HS
XEWOR NW 08 HS
XEWOR NW 10 HS
XEWOR NW 13 HS
XEWOR NW 16 HS
XEWOR NW 20 HS
XEWOR NW 25 HS
XEWOR NW 32 HS

EXE

Byl

DO OLwnwunmwuunoumwunumunrrCrrrrCrCrr -

TIREHD

bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 160
PN 160
PN 100
PN 100
PN 100
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 250
PN 250

o] 8 [ i B f Sk

EramR: 90°A
HEE: ARIEEERY

FHENA: OFEMIIER (HEEEH)

EHE2: REISMEL
BEEN: 24 NEEEH

%S

XEWOMK NW 04 HL
XEWOMK NW 06 HL
XEWOMK NW 08 HL
XEWOMK NW 10 HL
XEWOMK NW 13 HL
XEWOMK NW 16 HL
XEWOMK NW 20 HL
XEWOMK NW 20 HL 27
XEWOMK NW 25 HL
XEWOMK NW 32 HL
XEWOMK NW 40 HL
XEWOMK NW 03 HS
XEWOMK NW 04 HS
XEWOMK NW 06 HS
XEWOMK NW 08 HS
XEWOMK NW 10 HS
XEWOMK NW 13 HS
XEWOMK NW 16 HS
XEWOMK NW 20 HS
XEWOMK NW 25 HS
XEWOMK NW 32 HS

EXIE

]l

DL uuwuunuouunuounrrerrrCrrCrCrCr

TEER
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 250
PN 160
PN 160
PN 160
PN 160
PN 160
PN 315
PN 315
PN 315
PN 315
PN 250
PN 250
PN 250
PN 160
PN 160
PN 160

@d2
mm

10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

@d2
mm

10
12
15
18
22
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1

G 1/8"-28
G 1/4"-19
G 3/8"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4"-14
G1"-1
G 1"1/4 -11
G1.1/2" -11
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4" -14
G1"-11
G1.1/4"-11
G 1.1/2" -11

G1

M10x1
M12x1.5
M14x1.5
M16x1.5
M18x 1.5
M22x1.5
M26x1.5
M 27 x 2
M 33 x2
M 42 x 2
M 48 x 2
M12x1.5
M14x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M 27 x2
M33x2
M 42 x 2
M 48 x 2

EIMED
mm
6
8
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

LL=4FR2R7 L=8FF] S=EARY; G1=iORY 2= N1EY

EIMED
mm
6
8
10
12
15
18
22
22
28
35
42
6
8
10
12
14
16
20
25
30
38

LL=HRR7 L=BR7 S=ERF; G1=ENOBY G2=HNIZY

G2

M12x1.5
M14x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M52 x2
M 14 x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M 42 x 2
M52 x2

G2

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M30x2
M 36 x 2
M42x2
M52 x2
M14x1.5
M16x 1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x 2
M52 x2

mm

12
12
12
12
14
14
16
18
20
22
12
12
12
12
14
14
16
18
20
22

mm

10
10
10
11
12
14
14
14
14
16
10
10
11
12
14
14
16
16
17
19

L4
mm
12.0
14.0
17.0
15.0
17.0
21.0
23.5
275
30.5
34.5
40.0
15.0
17.0
17.5
21.5
22.0
24.5
26.5
30.0
35.5
41.0

L4
mm
14
16
17
19
21
24
28
28
31
38

15
17
18
22
25
25
28
30

34

L5
mm
21.5
26.0
28.5
26.0
28.5
33.5
36.5
41.0
45.0
50.0
56.0
26.0
27.0
28.5
32.5
33.5
36.5
41.0
45.0
50.0
56.0

L5
mm
20
22
24
25
31
33
36
36
39
49
50
22
26
27
31
36
36
39
44
51
54

HANSAFFLEX

L7
mm
19
21
24
22
24
28
31
35
38
45
51
22
24
25
29
30
33
39
42
49
57

L7
mm
21
23
24
26
28
31
35
35
38
48
49
22
24
25
29
33
33
38
42
49
50

XEWOR
SWogr oR
mm
12 14 80x15
14 19 10.0x20
17 22 14.0x25
1419 10.0x20
17 22 14.0x25
19 27 18.0x3.0
24 27 18.0x3.0
27 32 235x3.0
36 41 290x35
41 50 380x35
50 55 44.0x35
12 19 10.0x20
14 19 10.0x20
17 22 140x25
19 22 14.0x25
19 27 18.0x3.0
24 27 18.0x3.0
27 32 235x30
36 41 290x35
41 50 380x35
50 55 44.0x35

XEWOMK
SWog1 oR
mm
14 13 81x16
14 17 93x24
19 17 11.3x24
19 19 133x24
2 22 153x24
27 27 193x24
30 32 235x26
30 32 236x29
36 38 295x3.0
50 50 38.0x3.0
50 55 445x3.0
14 17 93x24
19 17 13x24
19 19 133x24
2 22 153x24
27 27 17.3x24
27 27 193x24
30 32 236x29
36 38 295x3.0
50 50 38.0x3.0
50 55 445x3.0

57



o[iEEiGE AEREL XEWOM
AT 90°M _ o Zu.
EREE: A EE R : |

BEHRR: PR i v,
EHE2: NHIIMEL 1 .

EHER: 24°AHERHEH | y—
g TiEESN @d2 EIMZD i L4 L5 L7 SW
1€
URS 51 bar mm el mm e mm mm mm mm mm S CIR
XEWOM 04 LL LL PN 100 M8x1 M8x1 71 113 198 15 12 12 6.1x16

4 4
XEWOM 04 LL 10 LL PN100 4 M10x1 4 M8 x 1 71 113 198 15 11 14 80x15
XEWOM 06 LL LL PN100 6 M10x1 6 M10x1 71 98 198 15 14 14 80x15
XEWOMO06LL12-1.5 LL PN100 6 M12x15 6 M10x1 96 128 232 18 14 17 93x24
XEWOM NW 04 HL PN250 6 M10x1 6 M12x15 7.0 140 200 21 14 14 80x15
XEWOM NW 06 HL PN250 8 M12x15 8 M14x15 100 160 220 23 14 17 9.3x24
XEWOM NW 08 HL PN250 10 M14x1.5 10 M16x15 100 17.0 250 24 19 19 11.3x2.4
XEWOM NW 10 HL PN250 12 M16x1.5 12 M18x1.5 10.0 19.0 260 26 19 22 13.3x24
XEWOM NW 13 HL PN250 15 M18x1.5 15 M22x15 11.0 21.0 300 28 22 24 153x24
XEWOM NW 13 HL 22 PN315 15 M22x1.5 15 M22x15 12.0 21.0 330 24 22 27 17.3x24
XEWOM NW 16 HL PN160 18 M22x1.5 18 M26x1.5 12.0 240 330 31 27 27 19.3x24

XEWOM NW 20 HL PN160 22 M26x1.5 22 M 30 x 2 140 28.0 340 35 27 32 233x24
XEWOM NW 20 HL 27 PN160 22 M 27x2 22 M 30x2 140 280 350 35 30 32 236x29
XEWOM NW 25 HL PN 100 28 M33x2 28 M 36 x 2 140 310 380 38 36 41 295x3.0
XEWOM NW 32 HL PN100 35 M 42 x2 35 M 45 x 2 140 38.0 480 48 50 50 38.0x3.0
XEWOM NW 40 HL PN 100 42 M 48 x 2 42 M52 x2 16.0 38.0 490 49 50 55 445x3.0
XEWOM NW 03 HS PN 630 6 M12x1.5 6 M14x15 100 150 220 22 14 17 93x24
XEWOM NW 04 HS PN 630 8 M14X15 8 M15x15 100 170 260 24 19 19 1.3x24

XEWOM NW 06 HS
XEWOM NW 08 HS
XEWOM NW 10 HS
XEWOM NW 13 HS

PN630 10 M16x1.5 10 M18x15 11.0 180 270 25 19 22 13.3x24
PN630 12 M18x1.5 12 M20x15 120 220 31.0 29 22 24 153x24
PN630 14 M20x1.5 14 M22x15 140 220 34.0 31 27 27 173x24
PN400 16 M22x1.5 16 M24x15 140 250 350 33 27 27 193x24

[ONONONONONON OGN N 7o B el el el el sl sl el mall pall o

XEWOM NW 16 HS PN 400 20 M27 x 2 20 M30x2 16.0 28.0 390 38 30 32 235x3.0
XEWOM NW 20 HS PN315 25 M33x2 25 M 36 x 2 16.0 30.0 440 42 36 41 29.5x3.0
XEWOM NW 25 HS PN 250 30 M42x2 30 M42x2 170 36.0 51.0 49 50 50 38.0x3.0
XEWOM NW 32 HS PN 200 38 M48 x 2 38 M52 x2 19.0 34.0 540 50 50 55 445x3.0

R LL=FR AT L= RJ] S=ERTY; G1=H#DIEY G2=ik 1R

ol RinE ek _ XEWO
g 90°f8 _ Zm.
FEHET: UN/UNFAMESE _ ;

TR F2 : :
HEi2: AHISMBL . —
BEWR: 24 HEEES :

i L4 L5 L7 SwW

LIFET ©d2 G G2 S1 OR

ST = 1
RS B b mm mm mm mm mm mm

XEWO NWO04 HL 7/16 L PN315 6 7/16" UNF M12x15 10 14 19 21 14 14 8.92x1.83
XEWO NWO06 HL 7/16 L PN315 8 7/16" UNF M14x15 10 16 19 23 14 14 8.92x1.83
XEWO NWO06 HL 1/2 L PN315 8 1/2" UNF M14x15 10 16 19 24 14 17 10.52 x 1.83
XEWO NWO06 HL 9/16 L PN315 8 9/16" UNF M14x15 10 16 24 24 19 17 11.90 x 1.98
XEWO NWO08 HL 9/16 L PN315 10 9/16" UNF M16x15 10 17 24 24 19 17 11.90 x 1.98
XEWO NW10 HL 9/16 L PN315 12 9/16" UNF M18x15 11 19 25 26 19 17 11.90 x 1.98
XEWO NW10 HL 3/4 L PN315 12 3/4" UNF M18x15 13 19 25 26 19 22 16.36 x 2.20
XEWO NW13 HL 3/4 L PN315 15 3/4" UNF M22x15 13 21 28 28 22 22 16.36 x 2.20
XEWO NW13 HL 7/8 L PN315 15 7/8" UNF M22x15 15 21 28 28 22 27 19.18x246
XEWO NW16 HL 7/8 L PN315 18 7/8" UNF M26x15 15 24 32 31 27 27 19.18x246
XEWO NW16 HL 1 1/16 L PN315 18 1.1/16" UN M26x15 17 24 32 31 30 32 23.47x295
XEWO NW20 HL 1 1/16 L PN160 22 1.1/16" UN M30x2 177 28 35 35 30 32 2347x295
XEWO NW25 HL 1 5/16 L PN160 28 1.5/16" UN M 36 x 2 17 31 42 38 36 41 29.74 x 2.95
XEWO NW32 HL 1 5/8 L PN160 35 1.5/8" UN M45x2 17 38 46 48 50 50 37.47x3.00
XEWO NW40 HL 1 7/8 L PN160 42 1.7/8" UN M52 x2 177 38 47 49 50 55 43.69x3.00
XEWO NWO03 HS 7/16 S PN400 6 7/16" UNF M14x15 12 15 20 22 14 14 8.92x1.83
XEWO NWO04 HS 1/2 S PN400 8 1/2" UNF M16x15 11 17 22 25 14 17 10.52x1.83

58  HANSAFFLEX



o] 18 [ s B F Sk

N 90°/

EHE1: UN/UNFAMEZSL
ZE RN FR

FEE2: AHISMBYL
BHER: 24" NHEEHH

TS

XEWO NWO04 HS 9/16
XEWO NWO06 HS 9/16
XEWO NWO08 HS 3/4
XEWO NW10 HS 7/8
XEWO NW13 HS 7/8
XEWO NW16 HS 1 1/16
XEWO NW20 HS 1 1/16
XEWO NW20 HS 1 5/16
XEWO NW25 HS 1 5/8
XEWO NW32 HS 1 7/8

]

(N ONONGNONONONONGN)

TIEESD

bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 250
PN 250

@d2
mm

G1

8 9/16" UNF
10 9/16" UNF
12 3/4" UNF
14 7/8" UNF
16 7/8" UNF
20 1.1/16" UN
25 1.1/16" UN
25 1.5/16" UN

30 1
38 1

.5/8" UN
.7/8" UN

G2

M16x 1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M 30 x 2
M 36 x 2
M 36 x 2
M 42 x2
M52 x2

Ry LL=4FRRY| L=BRRY S=EFRTY; G1=HOBY G2=#M1EY

aifmiE=&EREL (LE)

sHm: L

EFE1: BSPHR/EIMELL
EHEN: GH

HEHE2: NHIIMEL
EHERX: 24°AEEEH
HEHES: RFISMEL
BN 24 HHEEHH

THS EST)
XELOR NW 06 HL
XELOR NW 08 HL
XELOR NW 10 HL
XELOR NW 13 HL
XELOR NW 16 HL
XELOR NW 20 HL
XELOR NW 25 HL
XELOR NW 32 HL
XELOR NW 40 HL
XELOR NW 32 HS

rrrrrrrr

w

TEEH @d2
bar mm
PN 315 8
PN 315 10
PN 250 12
PN 250 15
PN 250 18
PN 160 22
PN160 28
PN 160 35
PN 160 42
PN 160 38

G1

G 1/4"-19
G 1/4"-19
G 3/8"-19
G 1/2"-14
G 12" 14
G 3/4"-14
G1"-11
G 1.1/4" -11
G 1.1/2" -1
G 1.1/2" -1

EIMZD
mm
8
10
12
15
18
22
28
35
42
38

G2-G3

M 14 x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M52 x2
M52 x2

R LL=4FRRY L= A% S=ERT; G2-G3={Z[IZHN G1={E 124

mm
9.5

9.5

9.5

13.0
13.0
13.0
16.0
16.0
16.0
16.0

L4
mm
16
17
19
21
24
28
31
38
38
34

L5

22.5
24.5
27.5
30.0
36.5
37.5
41.0
49.0
51.0
53.0

L7
mm
23
24
26
28
31
35

48
49
50

mm
19
19
22
27
27
30
36
41
50
50

sw

mm
14
14
19
19
22
27

36
50
50

S1

17
17
22
24
27
32
32
36
50
55

S1

19
19
22
27
27
36
41
50
55
55

OR

11.90 x 1.98
11.90 x 1.98
16.36 x 2.20
19.18 x 2.46
19.18 x 2.46
23.47 x 2.95
23.47 x 2.95
29.74 x 2.95
37.47 x 3.00
43.69 x 3.00

XELOR

A

OR

10.77 x 2.62
10.77 x 2.62
13.94 x 2.62
17.86 x 2.62
17.86 x 2.62
23.47 x 2.62
29.74 x 3.53
37.69 x 3.53
44.04 x 3.53
44.04 x 3.53

HANSAFFLEX 59



o] [ =@ EREL (L) . XELORK
giam: LE ==

FEfE1: BSPHREIMELL f

N ORBEMZIEL (HEEL) o .
P2 ANHISMES . i L
EIN: 24°NEREH o TE
FEHE3: AFHISMELS i -
FEHER: 24°HHEEZEH

a5 N R i
Tee %3 TEEA @d2 G1 EIMRD G2-G3 L5 LT OSW oo, o oR
bar mm mm mm mm mm mm mm

XELORK NW 04 HL
XELORK NW 06 HL
XELORK NW 08 HL
XELORK NW 10 HL
XELORK NW 13 HL
XELORK NW 16 HL
XELORK NW 20 HL
XELORK NW 25 HL
XELORK NW 32 HL
XELORK NW 40 HL
XELORK NW 03 HS
XELORK NW 04 HS
XELORK NW 06 HS
XELORK NW 08 HS
XELORK NW 10 HS
XELORK NW 13 HS
XELORK NW 16 HS
XELORK NW 20 HS

PN 315 6 G 1/8"-28 6 M12x15 7 14 19 21 14 14 14 8.00x1.50
PN 315 8 G 1/4"-19 8 M14x15 9 16 23 23 14 19 17 10.77x2.62
PN315 10 G 1/4"-19 10 M16x15 9 17 256 24 19 19 19 10.77x2.62
PN250 12 G3/8"-19 12 M18x15 9 19 28 26 19 22 22 13.94x262
PN250 15 G1/2"-14 15 M22x15 13 21 30 28 22 27 27 17.86x2.62
PN250 18 G1/2"-14 18 M26x15 13 24 36 31 27 27 32 17.86x2.62
PN160 22 G3/4"-14 22 M30x2 13 28 36 35 30 36 36 23.47x2.62
PN160 28 G1"-1 28 M36x2 15 31 44 38 36 41 41 29.74x3.53
PN160 35 G1.1/4"-11 35 M45x2 15 38 50 48 50 50 50 37.69x3.53
PN160 42 G1.1/2"-11 42 M&2x2 15 38 52 49 50 55 60 44.04x3.53
PN 315 6 G 1/4"-19 6 M14x15 9 15 23 22 14 19 17 10.77x2.62
PN 315 8 G 1/4"-19 8 M16x15 9 17 27 24 19 19 19 10.77x2.62
PN250 10 G3/8"-19 10 M18x15 9 18 29 256 19 22 22 13.94x2.62
PN250 12 G3/8"-19 12 M18x15 9 22 29 29 22 22 24 13.94x2.62
PN250 14 G1/2"-14 14 M22x15 13 25 36 33 27 27 27 17.86x2.62
PN250 16 G 1/2"-14 16 M24x15 13 25 36 33 27 27 30 17.86x2.62
PN250 20 G3/4"-14 20 M30x2 12 28 39 38 30 36 36 23.47x262
PN 250 25 G1"-11 25 M36x2 14 30 44 42 36 41 46 29.74x3.53
XELORK NW 25 HS PN160 30 G1.1/4"-11 30 M42x2 15 36 49 51 5650 50 50 37.69x3.53
XELORK NW 32 HS PN160 38 G1.1/2"-11 38 M&2x2 15 34 55 50 50 55 60 44.04x3.53

Ry LL=HFRRY| L=RRTY S=ERT; G2-G3=H:MIRY G1=#N1EY

DO rreErCCCrrrr

ol Eig =@ EREL (L) -~ XELOM
SRR L _ab_

R ABIEREEIR - _ ‘
R FR e V" 1 P -
EHE2: AFISMEL L T

BHBR: 24 REEEE . .

HEHES: ANBISMELS :
BHPR: 24 MEE T

S TiEED @d2 EIMED i L4 L5 L7 SW

XELOM NW 04 HL L PN 315 6 M 10x1 6 M12x15 7 14 20 21 14 14 8.1x16
XELOM NW 06 HL L PN 315 8 M12x1.5 8 M14x15 10 16 22 23 14 17 93x24
XELOM NW 08 HL L PN315 10 M14x1.5 10 M16x15 10 17 25 24 19 19 11.3x24
XELOM NW 10 HL L PN315 12 M16x1.5 12 M18x1.5 10 19 26 26 19 22 133x24
XELOM NW 13 HL L PN315 15 M18x1.5 15 M22x15 M1 21 30 28 22 24 1563x24
XELOM NW 16 HL L PN315 18 M22x1.5 18 M26x1.5 12 24 33 31 27 27 193x24
XELOMNW20HL27 L PN 160 22 M27 x2 22 M30x2 14 28 35 35 30 32 23.6x29
XELOM NW 25 HL L PN 160 28 M33x2 28 M36x2 14 3 38 38 36 41 29.5x3.0
XELOM NW 32 HL L PN 160 35 M 42 x2 35 M45x2 14 38 48 48 50 50 38.0x3.0
XELOM NW 40 HL L PN 160 42 M 48 x 2 42 Mb2x2 16 38 49 49 50 55 445x3.0
XELOM NW 03 HS S PN 400 6 M12x1.5 6 M14x15 10 15 22 22 14 17 93x24
XELOM NW 04 HS S PN 400 8 M14x1.5 8 M16x1.5 10 17 26 24 19 19 11.3x24
XELOM NW 06 HS S PN400 10 M16x1.5 10 M18x15 M1 18 27 25 19 22 133x24
XELOM NW 08 HS S PN400 12 M18x1.5 12 M20x1.5 12 22 31 29 22 24 153x24
XELOM NW 10 HS S PN250 14 M20x1.5 14 M22x15 14 22 34 30 24 27 17.3x24
XELOM NW 13 HS S PN400 16 M22x1.5 16 M24x15 14 25 35 33 27 27 193x24
XELOM NW 16 HS S PN 400 20 M 27 x 2 20 M30x2 16 28 35 38 30 32 236x29
XELOM NW 20 HS S PN315 25 M 33 x2 25 M36x2 16 30 44 42 36 41 29.5x3.0
XELOM NW 25 HS S PN 250 30 M42x 2 30 M42x2 17 36 51 49 50 50 38.0x3.0
XELOM NW 32 HS S PN 200 38 M 48 x 2 38 M&2x2 19 34 54 50 50 55 44.5x3.0

Y. LL=HFRZAT L= R S=ERT; G2-G3=H:MIZL G1=H R4

60 HANSAFFLEX



o] i [ =
gam: L
HEE: QHIIMELL
BN : OMEMUER (HEED)
ERE2: RHISMRL

BHER: 24 R EH

HEHES: RFIIMEL

TN 24° R ET

BERL (LE)

o TiEEH @d2
1555 A5l bar el
XELOMK NW 04 HL L PN 315 6

XELOMK NW 06 HL L PN 315 8

XELOMK NW 08 HL L PN 315 10
XELOMK NW 10 HL L PN 315 12
XELOMK NW 13 HL L PN 315 15
XELOMK NW 16 HL L PN 250 18
XELOMK NW 20 HL L PN 160 22
XELOMK NW 20 HL 27 L PN 160 22
XELOMK NW 25 HL L PN 160 28
XELOMK NW 32 HL L PN 160 35
XELOMK NW 40 HL L PN 160 42
XELOMK NW 03 HS S PN 315 6

XELOMK NW 04 HS S PN 315 8

XELOMK NW 06 HS S PN 315 10
XELOMK NW 08 HS S PN 315 12
XELOMK NW 10 HS S PN 315 14
XELOMK NW 13 HS S PN 250 16
XELOMK NW 16 HS S PN 250 20
XELOMK NW 20 HS S PN 160 25
XELOMK NW 25 HS S PN 160 30
XELOMK NW 32 HS S PN 160 38

EIIF

iR =@ EEL (L)
g LI

HEHE1: UN/UNFIMZRS

ZHER: OFEZSH

HEHE2: NHIIMELL

BHEN: 24 NEEREH

EEHES: AFISMBEL

EHERX: 24°AEEEH

ST D TEES @d2
RS #5l PET i
XELO NW 04 HL 7/16 L PN 315 6
XELO NW 06 HL 7/16 L PN 315 8
XELO NW 06 HL 1/2 L PN 315 8
XELO NW 06 HL 9/16 L PN 315 8
XELO NW 08 HL 9/16 L PN 315 10
XELO NW 10 HL 9/16 L PN 315 12
XELO NW 10 HL 3/4 L PN 315 12
XELO NW 13 HL 3/4 L PN 315 15
XELO NW 13 HL 7/8 L PN 315 15
XELO NW 16 HL 7/8 L PN 315 18
XELONW 16 HL11/16 L PN 315 18
XELONW20HL11/16 L PN 160 22
XELONW25HL15/16 L PN 160 28
XELO NW 32 HL 15/8 L PN 160 35
XELONW40HL17/8 L PN 160 42
XELO NW 03 HS 7/16 S PN 400 6
XELO NW 04 HS 1/2 S PN 400 8
XELO NW 04 HS 9/16 S PN 400 8
XELO NW 06 HS 9/16 S PN 400 10
XELO NW 08 HS 3/4 S PN 400 12
XELO NW 10 HS 7/8 S PN 250 14
XELO NW 13 HS 7/8 S PN 400 16
XELONW 16 HS11/16 S PN 400 20
XELONW20HS 11/16 S PN 400 25
XELONW20HS 15/16 S PN 400 25
XELO NW 25 HS 1 5/8 S PN 250 30
XELO NW 32 HS 17/8 S PN 250 38

#51:

i e ;
G1 BIMED 5 g3 | W4 L5 L7
mm mm mm mm mm
M 10 x 1 6 M12x15 7 14 20 21
M12x15 8 M14x15 10 16 22 23
M14x15 10 M16x15 9 17 25 24
M16x15 12 M18x15 9 19 26 26
M18x15 15 M22x15 11 21 30 28
M22x15 18 M26x15 11 24 33 31
M26x15 22  M30x2 16 28 35 35
M 27 x 2 22  M30x2 14 28 35 35
M33x2 28 M36x2 14 31 38 38
M42x2 35 M45x2 14 38 48 48
M 48 x 2 42 M52x2 16 49 49 49
M12x15 6 M14x15 10 15 22 22
M14x15 8 M16x15 10 17 26 24
M16x15 10 M18x15 11 18 27 25
M18x15 12 M20x15 12 22 31 29
M20x15 14 M22x15 14 25 35 33
M22x15 16 M24x15 14 25 35 33
M 27 x 2 20  M30x2 16 28 39 38
M33x2 25 M36x2 16 30 44 42
M42x2 30  M42x2 17 36 51 49
M 48 x 2 38  M52x2 19 34 54 50

i

| i,

| —

. "
G1 BHMED oy g3 | L4 L5 L7
mm mm mm mm mm
7/16" -20 UNF 6 M12x15 10 14 19 21
7/16" -20 UNF 8 M14x15 10 16 19 23
1/2" -20 UNF 8 M14x15 10 16 19 23
9/16" -18 UNF 8 M14x15 10 16 19 23
9/16"-18UNF 10 M 16x15 10 17 24 24
9/16"-18UNF 12 M18x15 11 19 25 26
3/4" -16 UNF 12 M18x15 13 19 25 26
3/4" -16 UNF 15 M22x15 13 21 28 28
7/8"-14 UNF 15  M22x15 15 21 28 28
7/8" -14 UNF 18  M26x15 15 24 32 31
1.1/16"-12UN 18  M26x15 17 24 32 31
1.1/16"-12UN 22 M30x2 17 28 35 35
1.5/16"-12UN 28 M36x2 17 31 42 38
1.5/8"-12UN 35 M45x2 17 38 46 48
1.7/8"-12UN 42 M52x2 17 38 47 49
7/16" -20 UNF 6 M14x15 12 15 20 22
1/2" -20 UNF 8 M16x15 12 15 20 22
9/16" -18 UNF 8 M16x15 12 17 25 24
9/16"-18UNF 10 M 18x15 12 18 26 25
3/4" -16 UNF 12 M20x15 14 22 30 29
7/8" -14 UNF 14 M22x15 16 25 34 33
7/8" -14 UNF 16 M24x15 16 25 34 33
1.1/16"-12UN 20 M30x2 19 28 37 38
1.1/16"-12UN 25 M36x2 19 30 50 42
1.5/16"-12UN 25 M36x2 19 33 53 46
1.5/8"-12UN 30 M42x2 19 36 50 49
1.7/8"-12UN 38 M52x2 19 34 51 50

LL=43R &% L= &% S=EZRF; G2-G3=1Z1RL G1=H 184

LL=45R2 2% L= &% S=SEZRF; G2-G3=1ZHEL G1=H 124

HANSAFFLEX

XELOMK
1

S1 OR

13 8.1x1.6
17 9.3x24
17 11.3x24
19 13.3x24
22 153x24
27 19.3x24
32 233x24
36 23.6x29
38 29.5x3.0
50 38.0x3.0
55 445x3.0
17 9.3x24
17 11.3x24
19 13.3x24
22 153x24
27 173x24
27 19.3x24
32 23.6x29
38 29.5x3.0
50 38.0x2.0
55 445x3.0

XELO

-

OR

8.92x1.83
8.92x1.83
10.52 x 1.83
11.90 x 1.98
11.90 x 1.98
11.90 x 1.98
16.36 x 2.20
16.36 x 2.20
19.18 x 2.46
19.18 x 2.46
23.47 x 2.95
23.47 x 2.95
29.74 x 2.95
37.47 x 3.00
43.69 x 3.00
8.92x1.83
10.52 x 1.83
11.90 x 1.98
11.90 x 1.98
16.36 x 2.20
19.18 x 2.46
19.18 x 2.46
23.47 x 2.95
23.47 x 2.95
29.74 x 2.95
37.47 x 3.00
43.69 x 3.00

61



aiEEm =@ EEL (TR)

LEHI: TH

FERE 1. BSPARAESMEL ami
ZEA: GH 5
S AHIINBEL -2 74
B 24 N E R P e
SIS AHISMBEL v LIE
B 24 N E R

IHEH @d2 O A -
bar mm mm mm mm mm mm mm
PN315 6 G1/8'28 6 M12x15 7 21 14 19 14 14  800x1.50
PN315 8 G14"19 8 M14x15 9 23 16 23 14 19 10.77x2.62
PN315 10 G14"-19 10 M16x15 9 24 17 25 19 19 10.77x2.62
PN250 12 G3/8"-19 12 M18x15 9 26 19 28 19 22 13.94x2.62
PN250 15 G1/2'-14 15 M22x15 13 28 21 30 22 27 17.86x2.62
PN250 18 G1/2"-14 18 M26x15 13 31 24 36 27 27 17.86x2.62
PN160 22 G3/4"-14 22  M30x2 13 35 28 36 30 36 23.47x2.62
PN160 28 G1'-11 28  M36x2 15 38 31 44 36 41  29.5x353
PN160 35 G1.1/4"-11 35 M45x2 15 48 38 50 50 50 37.69x3.53
PN160 42 G1.1/2"-11 42  M52x2 15 49 38 52 50 50 44.04x3.53
PN315 6 G14"19 6 M14x15 9 22 15 23 14 19 10.77x2.62
PN315 8 G14"-19 8 M16x15 9 24 17 27 19 19 10.77x2.62
PN250 10 G3/8"-14 10 M18x15 9 25 18 29 19 22 13.94x2.62
PN250 12 G3/8"-14 12 M20x15 9 29 22 29 22 22 13.94x2.62
PN250 14 G1/2"-14 14 M22x15 13 43 25 36 27 27 17.86x2.62
PN250 16 G1/2"-14 16 M24x15 13 33 25 36 27 27 17.86x2.62
PN250 20 G3/4"-14 20  M30x2 12 38 28 39 30 36 23.47x262
PN250 25 G1"-11 25  M36x2 14 42 30 44 36 41 29.74x3.53
XETOR NW 25 HS PN160 30 G1.14"-11 30 M42x2 15 49 36 49 50 50 37.69x3.53
XETOR NW 32 HS PN160 38 G1.1/2'-11 38  M52x2 15 50 34 55 50 55 44.04x3.53

A LL=HFRAY| L=RAY SSERT; G2-G3=#MIR4 G1=1#MIEL

TS ]l

XETOR NW 04 HL
XETOR NW 06 HL
XETOR NW 08 HL
XETOR NW 10 HL
XETOR NW 13 HL
XETOR NW 16 HL
XETOR NW 20 HL
XETOR NW 25 HL
XETOR NW 32 HL
XETOR NW 40 HL
XETOR NW 03 HS
XETOR NW 04 HS
XETOR NW 06 HS
XETOR NW 08 HS
XETOR NW 10 HS
XETOR NW 13 HS
XETOR NW 16 HS
XETOR NW 20 HS

HFoooovooonowoonrrrrCrrCrCe-

| — NG

o iR =B EREESL (TH) XETORK
sHpR: TR iy
VESE1: BSPHRESMBLL AN I [ ot
TN OBFIIZIR (HEZE) 11 { | S
ERE2: ANFISMRLL =
BEER: 24° T ZH i = K
FERES: A HISMRSL =
BEER: 24° iR ZH
TiRESD @d2 G1 BMED 5, g3 | LB L4 L5 SW o OR

bar mm mm mm mm mm mm mm
PN 315 6 G 1/8"-19 6 M12x1.5 7 21 14 19 14 14 8.00 x 1.50
PN 315 8 G 1/4" -19 8 M14x15 9 23 16 23 14 19 10.77 x 2.62
PN 315 10 G 1/4" -19 10 M16x1.5 9 24 17 25 19 19 10.77 x 2.62
PN 250 12 G 3/8"-19 12 M18x1.5 9 26 19 28 19 22 13.94 x 2.62
PN 250 15 G1/2"-14 15 M22x15 13 28 21 30 22 27 17.86 x 2.62
PN 250 18 G 1/2"-14 18 M26x1.5 13 31 24 36 27 27 17.86 x 2.62
PN 160 22 G 3/4"-14 22 M30x2 13 35 28 36 30 36 23.47 x 2.62
PN 160 28 G1"-11 28 M 36 x 2 15 38 31 44 36 41 29.50 x 3.53
PN 160 35 G1.1/4"-11 35 M45x 2 15 48 38 50 50 50 37.69 x 3.53
PN 160 42 G1.1/2"-11 42 M52 x2 15 49 38 52 50 50 44.04 x 3.53
PN 315 6 G 1/4" -19 6 M14x1.5 9 22 15 23 14 19 10.77 x 2.62
PN 315 8 G 1/4" -19 8 M16x 1.5 9 24 17 27 19 19 10.77 x 2.62
PN 250 10 G 3/8"-19 10 M18x 1.5 9 25 18 29 19 22 13.94 x 2.62
PN 250 12 G 3/8"-19 12 M 20x 1.5 9 29 22 29 22 22 13.94 x 2.62
PN 250 14 G 1/2"-14 14 M22x15 13 33 25 36 27 27 17.86 x 2.62
PN 250 16 G1/2"-14 16 M24x15 13 33 25 36 27 27 17.86 x 2.62
PN 250 20 G 3/4" -14 20 M30x2 12 38 28 39 30 36 23.47 x 2.62
PN 250 25 G1"-11 25 M 36 x2 14 42 30 44 36 41 29.74 x 3.53
XETORK NW 25 HS PN 160 30 G1.1/4"-11 30 M42 x 2 15 49 36 49 50 50 37.69 x 3.53
XETORK NW 32 HS PN 160 38 G1.1/2"-11 38 M52x2 15 50 34 55 50 55 44.04 x 3.53

AY: LL=4FRAY| L=RAY SSERT; G2-G3=#MIR4 G1=1ZNIZL

ITEES eyl

XETORK NW 04 HL
XETORK NW 06 HL
XETORK NW 08 HL
XETORK NW 10 HL
XETORK NW 13 HL
XETORK NW 16 HL
XETORK NW 20 HL
XETORK NW 25 HL
XETORK NW 32 HL
XETORK NW 40 HL
XETORK NW 03 HS
XETORK NW 04 HS
XETORK NW 06 HS
XETORK NW 08 HS
XETORK NW 10 HS
XETORK NW 13 HS
XETORK NW 16 HS
XETORK NW 20 HS

DLV OLnuLwnumonomonrrrrrrrrrror

62 HANSAFFLEX



oiAEE=EEEL (TH) XETOM

R TH . [
B NHIEE SR TR - -
BEBR: FR [ e
EEE2. NHISNEEL vliy =t
TR 24 RS P W
EHES: AHISMESL ' L H
TR 24 R EEH -

LY
e %3 I1f§jj g‘f G1 Eﬂfg G2-63 | n';fn n:ﬁq n:iq S?Vn\: s1 OR
XETOM NW 04 HL PN 315 6 M10x 1 6 M12x1.5 7 21 14 20 14 14 8.1x1.6

XETOM NW 06 HL
XETOM NW 08 HL
XETOM NW 10 HL
XETOM NW 13 HL
XETOM NW 16 HL
XETOM NW 20 HL 27
XETOM NW 25 HL
XETOM NW 32 HL
XETOM NW 40 HL
XETOM NW 03 HS
XETOM NW 04 HS
XETOM NW 06 HS
XETOM NW 08 HS
XETOM NW 10 HS
XETOM NW 13 HS
XETOM NW 16 HS
XETOM NW 20 HS

PN 315 8 M12x1.5 8 M14x15 10 23 16 22 14 17 93x24
PN 315 10 M14x15 10 M16x15 10 24 17 25 19 19 11.3x24
PN 315 12 M16x1.5 12 M18x1.5 10 26 19 26 19 22 133x24
PN 315 15 M18x15 15 M22x15 M1 28 21 30 22 24 153x24
PN 315 18 M22x1.5 18 M26x15 12 31 24 33 27 27 19.3x24
PN 160 22 M 27 x 2 22 M 30 x 2 14 35 28 35 30 32 23.6x29
PN 160 28 M33x2 28 M 36 x 2 14 38 31 38 36 41 29.5x3.0
PN 160 35 M42x2 35 M45x 2 14 48 38 48 50 50 38.0x3.0
PN 160 42 M 48 x 2 42 M52 x2 16 49 38 49 50 55 445x3.0
PN 400 6 M12x1.5 6 M14x15 10 22 15 22 14 17 93x24
PN 400 8 M14x15 8 M16x15 10 24 17 26 19 19 11.3x24
PN 400 10 M16x1.5 10 M18x15 11 25 19 27 19 22 133x24
PN 400 12 M18x15 12 M20x15 12 29 2 3 22 24 153x24
PN 250 14 M20x1.5 14 M22x15 14 33 25 35 27 27 173x24
PN 400 16 M22x15 16 M24x15 14 33 25 35 27 27 193x24
PN 400 20 M 27 x 2 20 M30x2 16 38 28 39 30 32 23.6x29
PN 315 25 M33x2 25 M 36 x 2 16 42 30 44 36 41 295x3.0
XETOM NW 25 HS PN 250 30 M 42 x2 30 M42x2 17 49 36 51 50 50 38.0x3.0
XETOM NW 32 HS PN 200 38 M 48 x 2 38 M52 x 2 19 50 34 54 50 55 445x3.0

BRA: LL=HFRARTY| L=RATY S=ERT; G2-G3=#MIR4 G1=1#MIELY

DL rrcrrrrrrrr

53 ALl m— V.~ NG

o] i [[in = @ Bk (TR) XETOMK
LER: TH - L

ERE1: QHIEEEEL i
EEHN: OFBEMIER (HEEH) I |

FERE2: AHIIMEY o
EHER: 4 NH AT s (W
FEIES: ANHISMESL ' | -
BEEN: 24°FEE ZEH T

R T1EEA @d2 EINZD i L3 L4 L5 SW

£ =2 1 _
WS ,3§§J bar mm G1 mm G2-G3 mm mm mm mm mm S1 OR
XETOMK NW 04 HL PN315 6 M 10 x 1 6 M12x15 7 21 14 20 14 13 8.1x6.0
XETOMK NW 06 HL PN315 8 M12x15 8 M14x15 10 23 16 22 14 17 93x24

XETOMK NW 08 HL
XETOMK NW 10 HL
XETOMK NW 13 HL
XETOMK NW 16 HL

PN315 10 M14x15 10 M16x15 9 24 17 25 19 17 113x24
PN315 12 M16x1.5 12 M18x15 9 26 19 26 19 19 133x24
PN315 15 M18x1.5 15 M22x15 11 28 21 30 22 22 153x24
PN250 18 M22x1.5 18 M36x15 11 31 24 33 27 27 193x24

XETOMK NW 20 HL PN160 22 M26x1.5 22 M30x2 16 35 28 35 30 36 233x24
XETOMK NW 20 HL 27 PN 160 22 M 27 x 2 22 M30x2 14 35 28 35 30 32 236x29
XETOMK NW 25 HL PN 160 28 M33x2 28 M 36 x 2 14 38 31 38 36 38 295x3.0
XETOMK NW 32 HL PN160 35 M42x2 35 M45x 2 14 48 38 48 50 50 38.0x3.0
XETOMK NW 40 HL PN 160 42 M48 x 2 42 M52 x2 16 49 38 49 50 55 445x3.0
XETOMK NW 03 HS PN 315 6 M12x1.5 6 M14x15 10 22 15 22 14 17 93x24
XETOMK NW 04 HS PN 315 8 M14x1.5 8 M16x15 10 20 17 26 19 17 113x24

XETOMK NW 06 HS
XETOMK NW 08 HS
XETOMK NW 10 HS
XETOMK NW 13 HS

PN315 10 M16x1.5 10 M18x15 11 25 18 27 19 19 13.3x24
PN315 12 M18x1.5 12 M20x15 12 29 22 31 22 22 153x24
PN315 14 M20x1.5 14 M22x15 14 33 26 26 22 27 173x24
PN250 16 M22x1.5 16 M24x15 14 33 256 35 27 27 193x24

[ONONONONONONON ORI N bl aull sl el sl sl sl sl el

XETOMK NW 16 HS PN250 20 M 27 x 2 20 M30x2 16 38 28 39 30 32 23.6x29
XETOMK NW 20 HS PN160 25 M33x2 25 M 36 x 2 16 42 30 44 36 38 29.5x3.0
XETOMK NW 25 HS PN160 30 M 42 x 2 30 M42x 2 177 49 36 51 50 50 38.0x3.0
XETOMK NW 32 HS PN160 38 M 48 x 2 38 M52 x2 19 50 34 54 50 55 445x3.0

Y. LL=HRARY| L=RARY| SSERT; G2-G3=HM124 G1=#N1ZL

HANSAFFLEX 63



o] i e s = @ E sk (TR

gapk: TH

FEHET: UN/UNFIMEZESL
EHER: OFEESH
EE2: REISMEL
FHER: 24°NEERHRE
HEHES: REISMEL
FHER: 24°NEERHRE

S

#51:

B ER
EEfE2. AMHISMEBL

BES

25 bar mm . mm GZnGaR
XETO NW 04 HL 7/16 L PN 315 6 UNF 7/16" -20 6 M12x1.5 10
XETO NW 06 HL 7/16 L PN 315 8 UNF 7/16" -20 8 M14x15 10
XETO NW 06 HL 1/2 L PN 315 8 UNF 1/2" -20 8 M14x15 10
XETO NW 06 HL 9/16 L PN 315 8 UNF 9/16" -18 8 M14x15 10
XETO NW 08 HL 9/16 L PN 315 10 UNF 9/16"-18 10 M16x1.5 10
XETO NW 10 HL 3/4 L PN 315 12 UNF 3/4” -16 12 M18x1.5 13
XETO NW 10 HL 9/16 L PN 315 12 UNF 9/16” -18 12 M18x15 11
XETO NW 13 HL 3/4 L PN 315 15 UNF 3/4" -16 15 M22x15 13
XETO NW 13 HL 7/8 L PN 315 15 UNF 7/8"-14 15 M22x15 15
XETONW 16 HL 1 1/16 L PN 315 18 UN1.1/16" -12 18 M26x1.5 17
XETO NW 16 HL 7/8 L PN 315 18 UNF 7/8"-14 18 M26x15 15
XETO NW 20 HL 1 1/16 L PN 160 22 UN1.1/16"-12 22 M 30 x 2 17
XETO NW 25 HL 1 5/16 L PN 160 28 UN 1.5/16"-12 28 M 36 x 2 17
XETO NW 32 HL 1 5/8 L PN 160 35 UN1.5/8"-12 35 M 45 x 2 17
XETONWA40HL17/8 L PN160 42 UNA1.7/8"-12 42 M52 x 2 17
XETO NW 03 HS 7/16 S PN 400 6 UNF 7/16" -20 6 M14x15 12
XETO NW 04 HS 1/2 S PN 400 8 UNF 1/2" -20 8 M16x15 12
XETO NW 04 HS 9/16 S PN 400 8 UNF 9/16" -18 8 M16x1.5 12
XETO NW 06 HS 9/16 S PN 400 10 UNF 9/16"-18 10 M18x1.5 12
XETO NW 08 HS 3/4 S PN 400 12 UNF 3/4" -16 12 M20x1.5 14
XETO NW 10 HS 7/8 S PN 250 14 UNF 7/8" -14 14 M22x15 13
XETO NW 13 HS 7/8 S PN 400 16 UNF 7/8" -14 16 M24x15 16
XETONW 16 HS 11/16 S PN 400 20 UN 1.1/16"-12 20 M 30 x 2 19
XETONW20HS 11/16 S PN 400 25 UN1.1/16"-12 25 M 36 x 2 19
XETONW20HS 15/16 S PN 250 25 UN 1.5/16"-12 25 M 36 x 2 19
XETO NW 25 HS 1 5/8 S PN 250 30 UN1.5/8"-12 30 M42x2 19
XETONW 32 HS 17/8 S PN 250 38 UNA1.7/8"-12 38 M52x2 19
LL=45FR 2% L= A% S=ERT; G2-G3=1EM1FL G1=1Z 124
NG
REA I PRt sk
FEE1: BSPHREIMELL
i
BEHER: 24°HERZ
T1EEH @d2 EINMEOD
25 bar mm e mm €z

XSVR NW 06 HL ED L PN 315 8 G 1/4" -19 8 M14x1.5
XSVR NW 06 HL 3/8 ED L PN 315 8 G 3/8"-19 8 M14x1.5
XSVR NW 06 HL 1/2 ED L PN 315 8 G 1/2" -14 8 M 14 x1.5
XSVR NW 08 HL ED L PN 315 10 G 1/4" -19 10 M16x 1.5
XSVR NW 08 HL 1/2 ED L PN 315 10 G 1/2" -14 10 M16x 1.5
XSVR NW 10 HL ED L PN 315 12 G 3/8"-19 12 M18x 1.5
XSVR NW 10 HL 1/2 ED L PN 315 12 G 1/2" -14 12 M18x 1.5
XSVR NW 13 HL ED L PN 250 15 G 1/2"-14 15 M22x1.5
XSVR NW 13 HL 3/4 ED L PN 250 15 G 3/4" -14 15 M22x1.5
XSVR NW 16 HL ED L PN 250 18 G1/2"-14 18 M 26 x1.5
XSVR NW 16 HL 3/4 ED L PN 250 18 G 3/4" -14 18 M 26 x1.5
XSVR NW 16 HL 1 ED L PN 250 18 G1"-11 18 M 26 x1.5
XSVR NW 20 HL ED L PN 250 22 G 3/4"-14 22 M 30 x 2
XSVR NW 40 HL ED L PN 250 42 G1.1/2"-11 42 M 52 x 2
XSVR NW 08 HS 1/2 ED S PN 400 12 G1/2"-14 12 M20x1.5
XSVR NW 13 HS ED S PN 400 16 G1/2"-14 16 M24 x1.5
XSVR NW 13 HS 3/4 ED S PN 400 16 G 3/4"-14 16 M24 x1.5
XSVR NW 16 HS ED S PN 400 20 G 3/4"-14 20 M 30 x 2
XSVR NW 20 HS 3/4 ED S PN 250 25 G 3/4"-14 25 M 36 x 2
XSVR NW 20 HS ED S PN 250 25 G1"-11 25 M 36 x2
XSVR NW 25 HS ED S PN 160 30 G1.1/4"-11 30 M42x2

EX IR
64

HANSAFFLEX

TiEES @d2

EIMZD

LL=4FR R L=BART SSERT; G1=O1RY G2=& 1ALy

L N2
L
L3 L4
mm mm
29 14
31 16
31 16
31 16
32 17
34 19
34 19
36 21
36 21
40 24
40 24
44 28
47 31
59 38
61 38
30 15
32 19
32 17
34 18
38 22
34 16
43 25
49 28
54 30
54 30
62 36
65 34

mm
19
19
19
24
24
25
25
28
28
32
32
35
42
46
47
20
25
25
26
30
31
34
37
50
50
50
51

j JI_[ T it

sw
mm
14
14
14
17
17
22
17
22
27
32
27
32
41
50
55
14
19
19
17
22
27
27
32
32

50
55

XETO

S1

14
14
17
19
19
19
19
22
22
30
27
30
36
50
50
14
17
17
19
22
27
27
30
36
41
50
50

OR

8.92x1.83
8.92 x 1.83
10.52 x 1.83
11.90 x 1.98
11.90 x 1.98
16.36 x 2.20
11.90 x 1.98
16.36 x 2.20
19.18 x 2.46
23.47 x 2.95
19.18 x 2.46
23.47 x 2.95
29.74 x2.95
37.47 x 3.00
43.69 x 3.00
8.92x1.83
10.52 x 1.83
11.90 x 1.98
11.90 x 1.98
16.36 x 2.20
19.18 x 2.95
19.18 x 2.46
23.47 x 2.95
23.47 x 2.95
29.74 x 2.95
37.47 x 3.00
43.69 x 3.00

XSVR-ED

27.0
27.0
27.0
28.0
27.0
29.0
29.0
31.0
31.0
33.5
33.5
33.5
34.5
36.0
30.5
31.5
31.5
33.5

35.0
37.5




Jie A 2 Pt 125k

HEE1: ARIEEERY

mEA: BE

ERE2: NHIIMELL
BB 24 NHEEREH

TES

XSVM NW 13 HS
XSVM NW 16 HS 22
XSVM NW 16 HS 26
XSVM NW 20 HS 26
XSVM NW 20 HS 30-1.5
XSVM NW 25 HS 30-1.5
XSVM NW 25 HS 38-1.5
XSVM NW 25 HS 45-1.5
XSVM NW 32 HS 38-1.5
XSVM NW 32 HS 45-1.5

E P

* = &
HilifmtRiEsk
HEE: RFISMELY
BHER: 24°NEEEH
ERE2: AHISMRL
BHER: 24°NEEEH

TS

XSV NW 04 HL
XSV NW 06 HL
XSV NW 08 HL
XSV NW 10 HL
XSV NW 13 HL
XSV NW 16 HL
XSV NW 20 HL
XSV NW 25 HL
XSV NW 32 HL
XSV NW 40 HL
XSV NW 03 HS
XSV NW 04 HS
XSV NW 06 HS
XSV NW 08 HS
XSV NW 10 HS
XSV NW 13 HS
XSV NW 16 HS
XSV NW 20 HS
XSV NW 25 HS
XSV NW 32 HS

EXR

el

(ONONONONONONONONON)

3]

NnOLnunomuunuoounuuuououunrCrrrrCrCCrr

TiEER
bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315

TEES
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

@d2
mm

16
20
20
25
25
30
30
30
38
38

Jd2
mm

LL=F2 R % L= RF| S=ERT; GI1=EOIEL

10
12
15
18
22
28
35
42

10
12
14
16
20
25
30
38

G1

G1

M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M22x1.5
M26x1.5
M 30 x 2
M 36 x 2
M 45 x 2
M52 x2
M 14 x1.5
M16x1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x2
M52 x2

EIMZED
mm
M22x1.5 16
M22x1.5 20
M26x1.5 20
M26x1.5 25
M30x1.5 25
M30x1.5 30
M38x1.5 30
M45x1.5 30
M38x1.5 38
M45x1.5 38

LL=F2 25 L= RF| S=EART; G1=1MIEL G2=1&12L

” 1 L
i,
ey

G2

M24x1.5
M30x2
M30x2
M 36 x 2
M 36 x 2
M42x2
M42x2
M42x 2
M52 x2
M52 x2

EiMRO
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

@d3
mm
27
27
31
31
36
36
44
52
44
52

L2
mm
27.0
27.0
28.0
29.0
31.0
32.5
34.5
35.5
36.5
36.0
29.0
29.0
29.5
30.5
32.0
315
33.5
35.0
37.5
37.0

F g

mm
14
14
16
16
16
16
16
16
16
16

L4
mm
7.0
8.0
10.0
10.0
12.0
13.5
16.5
18.5
18.5
19.0
12.0
13.0
14.5
14.5
17.0
16.5
17.5
20.0
21.5
22.0

XSVM

d

L1
mm
68.0
70.0
72.0
75.0
75.0
79.0
79.0
79.0
81.5
81.5

SwW
mm
17
19
22
24
27
32
36
41
50
60
19
22
24
27
30
32
41
46
50
65

SwW
mm
32
41
41
41
41
50
50
55
60
60

HANSAFFLEX

S1

32
41
41
46
46
50
50
50
65
65

XSV

S1

17
19
22
24

36
41
46
55
65
19
22
24
27
30
32
41
46
50
65

65



E fbmtRiEEsk

HERE: AFIIMBLL

EHER: 24 RERHH

EE2: REISMELY

BN 24° R R

TS

XSW NW 04 HL
XSW NW 06 HL
XSW NW 08 HL
XSW NW 10 HL
XSW NW 13 HL
XSW NW 16 HL
XSW NW 20 HL
XSW NW 25 HL
XSW NW 32 HL
XSW NW 40 HL
XSW NW 03 HS
XSW NW 04 HS
XSW NW 06 HS
XSW NW 08 HS
XSW NW 10 HS
XSW NW 13 HS
XSW NW 16 HS
XSW NW 20 HS
XSW NW 25 HS
XSW NW 32 HS

RY: LL=HFRZEF

-

el

(R ONONONMONONON ) ORI 05N pull uull pudl mull pnl el pall mall pal

TEEH
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

REHEE(LRT)
EE . ERTANRENSEEE
FHPR: 24O BEE

TS

SANW 04 DKOL 1
SANW 06 DKOL 1
SANW 08 DKOL 1
SANW 10 DKOL 1.5
SANW 13 DKOL 2.5
SANW 16 DKOL 2.5
SANW 20 DKOL 2.5
SANW 25 DKOL 2.5
SANW 25 DKOL 3
SANW 32 DKOL 3
SANW 32 DKOL 3.5
SANW 40 DKOL 2
SANW 40 DKOL 3

EX1R

LL=4FR 27 L=B&7|

el
L

L
L
L
L
L
L
L
L
L
L
L
L
S=

66 HANSAFFLEX

@d2
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

R

BINMZRO
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

=RAEJ| S=ERT; G1=10O8EYL

TEER
bar
PN 315
PN 315
PN 249
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 129
PN 160

G1

M12x1.5
M14x1.5
M16x1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M52 x2
M 14 x1.5
M16x1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M 42 x 2
M52 x2

@d1

@D b
mm  mm
17 16
19 16
22 16
24 16
27 16
32 16
36 16
42 16
50 16
60 16
19 16
22 16
24 16
27 16
27 16
30 16
36 16
42 16
50 16
60 16
@d2
mm

6

8

10

12

15

18

22

28

28

35

35

42

42

53

32.5
34.5
35.5
36.5
36
29
29
29.5
30.5
32
31.5
33.5
35
37.5
37

L1
mm
32
32
33.5
33.5
35
37
39.5
53
42.5
61
49.5
50
50

mm
19
21
22
24
28
31
35

45
51
23
24
25
29
30
33
37
42
49
57

mm
12
14
15
17
21

23.5

27.5

30.5

34.5
40
16
17

17.5

21.5
22

24.5

26.5
30

35.5
41

L2
mm
30.5
30.5
32.5
32.5
34.5
36.0
37.5
41.0
41.0
47.0
47.0
47.0
47.0

XSW
L5 SW S1
mm  mm

14 12 17
17 12 19
18 14 22
20 17 24
23 19 30
24 24 36
30 27 M
34 36 46
39 41 55
43 50 65
17 12 19
18 14 22
20 17 24
21 17 27
23 19 30
24 24 32

34 36 46
39 41 50
43 50 65

SA-DKOL

OR

40x1.5
6.0x1.5
7.5x1.5
9.0x1.5
12.0x 2.0
15.0x 2.0
20.0x2.0
26.0x2.0
26.0x 2.0
32.0x2.5
32.0x2.5
38.0x2.5
38.0x2.5



RIEEE(SRT) SA-DKO
R BT ARSI
BETA: 24 WHOMERE

TieD Eh ad1 =25E39) ad2 L1 L2

RS 25 bar mm mm mm mm mm G
SANW 03 DKO 1.5 S PN 528 3 6 6 325 31.0 40x15
SANW 04 DKO 1.5 S PN 414 5 6 6 32.0 30.0 6.0x1.5
SANW 04 DKO 2 S PN 528 4 8 8 31.5 31.0 6.0x1.5
SANW 06 DKO 1 S PN 249 8 10 10 33.5 325 75x1.5
SANW 06 DKO 1.5 S PN 358 7 10 10 33.5 31.5 7.5x15
SANW 06 DKO 2 S PN 460 6 10 10 33.5 31.5 75x15
SANW 08 DKO 1.5 S PN 305 9 12 12 33.5 315 9.0x1.5
SANW 08 DKO 2 S PN 393 8 12 12 33.5 315 9.0x1.5
SANW 08 DKO 2.5 S PN 476 7 12 12 335 31.5 9.0x1.5
SANW 08 DKO 3 S PN 551 6 12 12 335 325 9.0x1.5
SANW 10 DKO 2 S PN 343 10 14 14 40.0 375 10.0x 2.0
SANW 10 DKO 3 S PN 487 8 14 14 39.5 38.5 10.0x 2.0
SANW 13 DKO 1.5 S PN 234 13 16 16 40.5 37.5 12.0x2.0
SANW 13 DKO 2 S PN 305 12 16 16 40.5 37.5 12.0x2.0
SANW 13 DKO 2.5 S PN 372 11 16 16 40.5 375 12.0x2.0
SANW 13 DKO 3 S PN 400 10 16 16 40.5 37.5 12.0x2.0
SANW 16 DKO 2 S PN 249 16 20 20 47.0 43.5 16.3x2.4
SANW 16 DKO 2.5 S PN 305 15 20 20 46.5 43.0 16.3x2.4
SANW 16 DKO 3 S PN 358 14 20 20 46.5 43.0 16.3x2.4
SANW 16 DKO 3.5 S PN 400 13 20 20 47.5 43.5 16.3x2.4
SANW 16 DKO 4 S PN 400 12 20 20 46.5 43.0 16.3x2.4
SANW 20 DKO 2 S PN 201 21 25 25 53.0 48.0 20.3x2.4
SANW 20 DKO 3 S PN 294 19 25 25 53.0 48.0 20.3x2.4
SANW 20 DKO 4 S PN 379 17 25 25 53.0 48.0 20.3x2.4
SANW 20 DKO 5 S PN 400 15 25 25 53.0 48.0 20.3x2.4
SANW 25 DKO 3 S PN 249 24 30 30 57.5 51.5 253x2.4
SANW 25 DKO 4 S PN 323 22 30 30 57.5 51.5 253x2.4
SANW 25 DKO 5 S PN 393 20 30 30 57.5 51.5 25.3x2.4
SA NW 25 DKO 6 S PN 400 18 30 30 57.0 52.0 253x2.4
SANW 32 DKO 4 S PN 261 30 38 38 64.0 55.0 33.3x24
SANW 32 DKO 5 S PN 315 28 38 38 64.0 55.0 33.3x24
SANW 32 DKO 6 S PN 315 26 38 38 64.0 55.0 33.3x24
SANW 32 DKO 7 S PN 315 24 38 38 64.0 56.5 33.3x24

A LL=HFRARY L=1RZH7] S=EART|

HANSAFFLEX 67



R HE

1 BRTOHRERNEEE

ERE2: NHISMELL

BN 24°AEERHER

pES
XSANW 04 HL
XSANW 06 HL
XSANW 08 HL
XSANW 10 HL
XSANW 13 HL
XSANW 16 HL
XSA NW 20 HL
XSANW 25 HL
XSANW 32 HL
XSANW 40 HL
XSANW 03 HS
XSANW 04 HS
XSANW 06 HS
XSANW 08 HS
XSANW 10 HS
XSANW 13 HS
XSANW 16 HS
XSANW 20 HS
XSANW 25 HS
XSANW 32 HS

]l

NnOLnuoLuunuoounuoououurrerrCrCrCCre

TIEEND

bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

R LL=HFR AT L=12 &Y S=ERT|

RN E R

HEE: ERTASIRERRE

EHE2: REISMEL

BN 24 HHEE B

TS

XWSA NW 04 HL
XWSANW 06 HL
XWSA NW 08 HL
XWSANW 10 HL
XWSANW 13 HL
XWSANW 16 HL
XWSA NW 20 HL
XWSANW 25 HL
XWSANW 32 HL
XWSA NW 40 HL
XWSANW 03 HS
XWSANW 04 HS
XWSANW 06 HS
XWSANW 08 HS
XWSANW 10 HS
XWSANW 13 HS
XWSANW 16 HS
XWSANW 20 HS
XWSANW 25 HS
XWSANW 32 HS

]l

DL uOLuuLuLwuuwtuLwuumLwuLwwrrCrCCrCCCr

Ay LL=HFRARY| L=BARY| S=EART

68  HANSAFFLEX

@d2
mm

10
12
15
18
22
28
35
42

10
12
14
16
20
25
30
38

TEEH
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

EHED

mm
6
8

10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

D1

10
12
14
16
19
22
27
32
40
46
1
13
15
17
19
21
26
31

44

@D1

10
12
14
16
19
22
27
32
40
46
1

15
17
19
21
26
31
36
44

L2

12.0
14.0
15.0
17.0
21.0
23.5
27.5
30.5
34.5
40.0
16.0
17.0
17.5
21.5
22.0
24.5
26.5
30.0
35.5
41.0

L1

mm

21
23
25
25
29
31
36

43
46
26
28
30
32
35
35
40
44
49
54

L3
mm
19
23
24
25
30
33
37
42
49
57
23
24
25
29
30
33
37
42
49
57

L2
mm
14.0
16.0
18.0
18.0
22.0
23.5
28.5
30.5
32.5
35.0
19.0
21.0
22.5
24.5
27.0
26.6
29.5
32.0
35.5
38.0

L7
mm
19
21
22
24
28
31
35
38
40
51
23
24
25
29
30
33
37
42
49
57

XSA

SwW

14
14
17
19
22
27
32
41
46
55
14
17
19
22
24
27
32
41
46
55

XWSA

SW

12
12
14
17
19
24
27
36
41
50
12
14
17
17
19
24
27
36
41
50



RiE R HEREL

B RFISMEL

BHEN: 24 HHEEEH

ERE2: RHISMRLL

EHER: 24°NEREH

TS

XSE NW 04 HL
XSE NW 06 HL
XSE NW 08 HL
XSE NW 10 HL
XSE NW 13 HL
XSE NW 16 HL
XSE NW 20 HL
XSE NW 25 HL
XSE NW 32 HL
XSE NW 40 HL
XSE NW 03 HS
XSE NW 04 HS
XSE NW 06 HS
XSE NW 08 HS
XSE NW 10 HS
XSE NW 13 HS
XSE NW 16 HS
XSE NW 20 HS
XSE NW 25 HS
XSE NW 32 HS

E

Do rrCcrCcCrCCrC

Eh
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 630
PN 630
PN 630
PN 630
PN 630
PN 400
PN 400
PN 400
PN 400
PN 315

By LL=HFRARY =R AT S=ERT

FeifaEsk

o
RN BSPHRRIMEL
mEA: B

FEiE2: BSPIIRL

v Ta TEER
M= bar

RIK NW 10 03 PN 400
RIK NW 13 03 PN 400
RIK NW 13 06 PN 315
RIK NW 20 06 PN 315
RIK NW 20 10 PN 315
RIK NW 25 06 PN 315
RIK NW 25 10 PN 315
RIK NW 25 13 PN 315
RIK NW 32 13 PN 160
RIK NW 32 20 PN 160
RIK NW 40 13 PN 160
RIK NW 40 20 PN 160
RIK NW 40 25 PN 160

G1=$ 424 G2=1 M43

G1

G 3/8"-19
G 1/2"-14
G 1/2"-14
G 3/4"-14
G 3/4"-14
G1"-11
G1"-1
G1"-1
G1.1/4" -1
G 1.1/4" -1
G1.1/2"-11
G1.1/2" -1
G 1.1/2" -1

@d2

G2

G 1/8"-28
G 1/8"-28
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4" -14
G1/2"-14
G 3/4"-14
G1"-1

EIMZO
mm

6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

@d3
mm
22.0
26.0
26.0
32.0
32.0
39.0
39.0
39.0
49.0
49.0
55.0
55.0
55.0

@D
mm
18
20
22
25
28
32
36
40
50
60
20
22
25
28
30
35
38
45
50
60

XSE
i

L1 L2
mm mm
70 56

70 56

72 58

72 58

84 70

84 69

88 73

88 73

92 71

92 70

74 60

74 60

74 59

74 59

88 72

88 71

92 71

96 72
100 73
104 72

RIK
N o A i .Jj‘iu

i2 L SwW
mm mm mm
9 22.5 22

9 24.0 27
13 24.0 27
13 26.0 32

14 26.0 32

14 29.0 41

14 29.0 41

16 29.0 41

16 32.0 50

18 32.0 60

16 36.0 55

18 36.0 55

20 36.0 55

HANSAFFLEX 69



FeifsEsk

gZm: K

#EHE1: BSPHREIMELL

ZEPN: BR
EHE2: BSPAIRLL

pES

RIL NW 03 06
RIL NW 03 10
RIL NW 06 03
RIL NW 06 06
RIL NW 06 10
RIL NW 06 13
RIL NW 06 20
RIL NW 10 06
RILNW 10 10
RILNW 10 13
RIL NW 10 20
RILNW 13 10
RILNW 13 13
RIL NW 13 20
RIL NW 13 25
RIL NW 13 32
RIL NW 20 13
RIL NW 20 20
RIL NW 20 25
RIL NW 20 32
RIL NW 20 40
RIL NW 25 20
RIL NW 25 32
RIL NW 25 40
RIL NW 32 25
RIL NW 32 40
RIL NW 40 32
RIL NW 50 40

TEER
bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 400
PN 400
PN 400
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 315
PN 315
PN 315
PN 160
PN 160
PN 315
PN 160
PN 160
PN 160
PN 160
PN 160
PN 160

G1=$ D424 G2=4 Q134

FeifsEsk

#Zrk: |

EHE1: BSPHREIMELL

EHAR: ER
HEfE2: BSPRIRLL

pES

RIKNW 10 03 ED
RIKNW 13 03 ED
RIKNW 13 06 ED
RIK NW 20 06 ED
RIK NW 20 10 ED
RIK NW 25 06 ED
RIK NW 25 10 ED
RIK NW 25 13 ED
RIKNW 32 13 ED
RIK NW 32 20 ED
RIK NW 40 13 ED
RIK NW 40 20 ED
RIK NW 40 25 ED

TEER
bar
PN 400
PN 400
PN 400
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 250
PN 250
PN 250

G1=HO124 G2=# 134

70

HANSAFFLEX

ad1
mm

O ®0mouoaao s D

B OWOMNMNNNN-A A A A Ao
ONUTOOOOOOOMOOOOOONNDN

G1

G 1/8"-28
G 1/8"-28
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G1/2"-14
G1/2"-14
G1/2"-14
G 3/4"-14
G 3/4"-14
G 3/4"-14
G 3/4"-14
G 3/4"-14
G1"-11
G1"-11
G1"-11
G1"1/4 -1
G1"1/4 -1
G 1"1/2 -11
G2"-11

G1

G 3/8"-19
G1/2"-14
G 1/2"-14
G 3/4"-14
G 3/4"-14
G1"-11
G1"-1
G1"-1
G1.1/4"-11
G 1.1/4" -1
G1.1/2"-11
G1.1/2"-11
G1.1/2"-11

G2

G 1/4"-19
G 3/8"-19
G 1/8"-28
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/4"-14
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/4"-14
G 3/8"-19
G1/2"-14
G 3/4"-14
G1"-11
G1"1/4 -1
G1/2"-14
G 3/4"-14
G1"-11
G1"1/4 -1
G 1"1/2 -11
G 3/4"-14
G1"1/4 -11
G1"1/2 -11
G1"-11
G1"/2-11
G 1"1/4 -11
G1"/2-11

G2

G 1/8"-28
G 1/8"-28
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4"-14
G1/2"-14
G 3/4"-14
G1"-11

@d3
mm
21.9
26.9
26.9
31.9
31.9
39.9
39.9
39.9
49.9
49.9
54.9
54.9
54.9

@d3
mm
14
14
18
18
18
18
18
22
22
22
22
26
26
26
26
26
32
32
32
32
32
39
39
39
49
49
55
68

mm

8
8
12
12
12
12
12
12
12
12
12
14
14
14
14
14
16
16
16
16
16
18
18
18
20
20
22
24

31
32
28
35
36
40
43

35.5
41
44
36
42
46
49
53
41
46
51
55
57
47
57
59
52

58
62

22.5
24.0
24.0
26.0
26.0
29.0
29.0
29.0
32.0
32.0
36.0
36.0
36.0

RIL

SW
mm
19
24
19
19
24
27
36
22
24
27
36
27
27
36
41
55
32
36
41
55
60
41
55
60
50

55
70

RIK-ED

¢

SwW
mm
22
27
27
32
32
M
M
M
50
50
55
55
55



FeifsEsk

IR &
HERET: BSPARAESMEL
BHFR: ER

%#%2: BSPPELL

N TiEES
155 bar

RIL NW 03 06 ED PN 400
RIL NW 03 10 ED PN 400
RIL NW 06 03 ED PN 400
RIL NW 06 10 ED PN 400
RIL NW 06 13 ED PN 400
RIL NW 06 20 ED PN 400
RIL NW 10 06 ED PN 400
RIL NW 10 13 ED PN 400
RIL NW 10 20 ED PN 315
RIL NW 13 10 ED PN 400
RIL NW 13 20 ED PN 315
RIL NW 13 25 ED PN 315
RIL NW 13 32 ED PN 315
RIL NW 20 13 ED PN 315
RIL NW 20 25 ED PN 315
RIL NW 20 32 ED PN 315
RIL NW 20 40 ED PN 250
RIL NW 25 20 ED PN 315
RIL NW 25 32 ED PN 315
RIL NW 25 40 ED PN 250
RIL NW 32 25 ED PN 315
RIL NW 32 40 ED PN 250
RIL NW 40 32 ED PN 250
RIL NW 50 40 ED PN 160

G1=H D424 G2=# N34

FeifsEsk

SN &
B QFISMRL
mERN: BR
EE2: NHIRIELL

o TiEER
1S bar

RIKM 14 12-1 PN 400
RIKM 16 12 PN 400
RIKM 16 12-1 PN 400
RIKM 22 12 PN 400
RIK M 22 14 PN 400

G1={E 124 G2=1F 124

FeiftEsk

R &
FERET: ABISMBEL
BHFR: BE
HepE2: AHIPIRGL

—— TiEER
1%

1555 bar
RIL M 18 22 PN 250

G1=HEORY G2={E 1L

ad1

N 3
Moooooocncncncn-h-hs

A WONMNMNNMNMNN-A A A A a aaa
ONOOTUITOOOOOOOONN

G1

G 1/8"-28
G 1/8" -28
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G 1/2"-14
G1/2"-14
G1/2"-14
G 3/4" -14
G 3/4"-14
G 3/4"-14
G 3/4" -14
G1"-11
G1"-11
G1"-11
G1"1/4 -1
G1"1/4 -1
G1.1/2"-11
G2"-11

G1

M 14x1.5
M 16x1.5
M 16x1.5
M 22x1.5
M 22x1.5

@d1
mm

G1
8 M 18 x 1.

G2

G 1/4"-19
G 3/8"-19
G 1/8"-28
G 3/8"-19
G1/2"-14
G 3/4"-14
G 1/4"-19
G1/2"-14
G 3/4"-14
G 3/8"-19
G 3/4"-14
G1"-11
G1.1/4" -11
G1/2"-14
G1"-11
G1"1/4 -11
G1"1/2 -1
G 3/4"-14
G1"1/4 -11
G1"1/2 -1
G1"-11
G1"1/2-11
G1.1/4"-11
G1"1/2-11

G2

M 12x1
M 12x1.5
M 12x1
M 12x1.5
M 14x1.5

G2

@d3
mm
19.0
21.0
27.0
27.0
27.0

5 M22x1.5

@d3
mm
13.9
13.9
18.9
18.9
18.9
18.9
21.9
21.9
21.9
26.9
26.9
26.9
26.9
31.9
31.9
31.9
31.9
39.9
39.9
39.9
49.9
49.9
54.9
69.9

@d3

23

RIL-ED
d
|
i2 L SW
mm mm mm
17.0 31 19
17.0 32 24
12.0 28 19
17.0 36 24
20.0 40 27
22.0 43 36
17.0 36 22
20.0 41 27
22.0 44 36
17.0 36 27
22.0 46 36
24.5 49 41
26.5 53 55
20.0 41 32
24.5 51 41
26.5 55 55
28.5 57 60
22.0 47 41
26.5 57 55
28.5 59 60
245 52 50
28.5 60 60
26.5 58 55
28.5 65.5 70
RIK-M
|
{ _"'q.
J U
i2 L SW
mm mm mm
10 20.0 24
10 24.0 27
12 24.0 27
12 24.0 27
12 24.0 27
RIL-M
|
i2 L SW
mm mm mm
20 41 32

HANSAFFLEX 71



¥eiEsL RIL R-M

g K

121 BSPHmEIMELL E | ;
ZEEA: BR
EERE2: ANHIRIRL 0 e

e TEEAR @d1 G G2 @d3 i1 i2 L SW
bar mm mm mm mm mm mm
RIL NW 13 M 12 PN 250 10.5 G 1/2" -14 M12x1.5 26 14 18 26.5 27
RIL NW 20 M 26 PN 250 16 G 3/4" -14 M 26 x 1.5 32 16.5 20.0 46 36
RIL NW 25 M 22 PN 250 20 G1"-11 M22x 1.5 39 18 18 29 41

G1=1Z 124 G2=1F IR

MRS E S __ XGAR

E$E1: BSPRIRLL

FHER: AR | _ i

FEE2: NHISMRYL 1 [14

BEHBR: 24 R EES =t
N TEER @d2 i L1 L2 SW
R #7 bar mm G G2 mm mm mm mm
XGAR NW 04 HL L PN 315 6 G 1/8"-28 M12x1.5 12.0 26.0 19.0 14
XGAR NW 04 HL 1/4 L PN 315 6 G 1/4" -19 M12x 1.5 12.0 31.0 24.0 19
XGAR NW 04 HL 3/8 L PN 315 6 G 3/8"-19 M12x 1.5 17.0 32.0 25.0 22
XGAR NW 06 HL L PN 315 8 G 1/4"-19 M14x1.5 17.0 31.0 24.0 19
XGAR NW 06 HL 3/8 L PN 315 8 G 3/8"-19 M14x 1.5 17.0 32.0 25.0 22
XGAR NW 06 HL 1/2 L PN 315 8 G 1/2"-14 M14x1.5 20.0 36.0 29.0 27
XGAR NW 08 HL L PN 315 10 G 1/4" -19 M16x 1.5 17.0 32.0 25.0 19
XGAR NW 08 HL 3/8 L PN 315 10 G 3/8"-19 M16x 1.5 17.0 33.0 26.0 22
XGAR NW 08 HL 1/2 L PN 315 10 G 1/2"-14 M16x 1.5 20.0 37.0 30.0 27
XGAR NW 10 HL 1/4 L PN 315 12 G 1/4"-19 M18x1.5 17.0 32.0 25.0 19
XGAR NW 10 HL L PN 315 12 G 3/8"-19 M18x 1.5 17.0 33.0 26.0 22
XGAR NW 10 HL 1/2 L PN 315 12 G 1/2" -14 M18x 1.5 20.0 37.0 30.0 27
XGAR NW 13 HL 3/8 L PN 315 15 G 3/8"-19 M22x1.5 17.0 34.0 27.0 24
XGAR NW 13 HL L PN 315 15 G 1/2" -14 M22x1.5 20.0 38.0 31.0 27
XGAR NW 16 HL L PN 315 18 G 1/2" -14 M 26 x 1.5 20.0 38.0 30.5 27
XGAR NW 20 HL L PN 160 22 G 3/4" -14 M 30 x 2 22.0 43.0 355 32
XGAR NW 25 HL L PN 160 28 G1"-11 M 36 x 2 245 455 38.0 41
XGAR NW 32 HL L PN 160 35 G 1.1/4" -11 M 45 x 2 26.5 51.5 41.0 50
XGAR NW 40 HL L PN 160 42 G 1.1/2" -11 M 52 x 2 28.5 53.5 425 55
XGAR NW 03 HS S PN 400 6 G 1/4" -19 M14x1.5 17.0 33.0 26.0 19
XGAR NW 04 HS S PN 400 8 G 1/4" -19 M 16 x 1.5 17.0 33.0 26.0 19
XGAR NW 06 HS S PN 400 10 G 3/8"-19 M18x 1.5 17.0 34.0 26.5 24
XGAR NW 08 HS S PN 400 12 G 3/8"-19 M 20 x 1.5 17.0 34.0 25.5 24
XGAR NW 10 HS S PN 400 14 G 1/2" -14 M22x1.5 20.0 40.0 32.0 27
XGAR NW 13 HS S PN 400 16 G 1/2" -14 M24x1.5 20.0 40.0 315 27
XGAR NW 16 HS S PN 315 20 G 3/4" -14 M 30 x 2 22.0 45.0 345 36
XGAR NW 20 HS S PN 315 25 G1"-1 M 36 x 2 24.5 49.5 375 41
XGAR NW 25 HS S PN 315 30 G 1.1/4" -11 M 42 x 2 26.5 55.5 42.0 50
XGAR NW 32 HS S PN 250 38 G 1.1/2"-11 M 52 x 2 28.5 59.5 435 60

RY: LL=HFR AT L=RR7 S=ERT|; G1=#NIZL G2=1 134

72 HANSAFFLEX



PSR Bk

HEE: RFIREL
THEN: AR
ERE2: NHISMRL

BB 24 NHEEREH

15ES

XGAM NW 04 HL

XGAM NW 04 HL 22

XGAM NW 06 HL

XGAM NW 06 HL 22

XGAM NW 08 HL

XGAM NW 08 HL 22

XGAM NW 10 HL

XGAM NW 10 HL 18
XGAM NW 10 HL 22

XGAM NW 13 HL

XGAM NW 13 HL 22

XGAM NW 16 HL
XGAM NW 20 HL
XGAM NW 25 HL
XGAM NW 32 HL
XGAM NW 40 HL
XGAM NW 03 HS
XGAM NW 04 HS
XGAM NW 06 HS
XGAM NW 08 HS
XGAM NW 10 HS
XGAM NW 13 HS
XGAM NW 16 HS
XGAM NW 20 HS
XGAM NW 25 HS
XGAM NW 32 HS

EX]l

(M ONMONONON) IR BRI 7S pulll uull pull mull pudl uall pull ll pall el el pull el pall o

TEER

bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 315
PN 250

@d2
mm
6
6
8
8
10
10
12
12
12
15
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1

M 10 x 1
M22x 1.5
M12x15
M22x 1.5
M14x 1.5
M22x15
M 16 x 1.5
M 18 x 1.5
M22x15
M 18 x 1.5
M22x 1.5
M22x15
M 26 x 1.5
M 33 x 2
M42x 2
M 48 x 2
M12x 1.5
M14x15
M 16 x 1.5
M 18 x 1.5
M20x1.5
M22x 1.5
M 27 x 2
M 33 x2
M 42 x 2
M 48 x 2

EINED
mm
6
6
8
8
10
10
12
12
12
15
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

Ry LL=HFRART| L=RRT S=ERT; G1=H#NIZL G2=1 124

EN=REk

$#3J.1: BSPRMBLL
ZHEN: AR
FEFE2: NHISMEL

FHERX: 24°AERES

1HES

XMVR 04 LL
XMVR NW 04 HL
XMVR NW 06 HL
XMVR NW 08 HL
XMVR NW 10 HL
XMVR NW 03 HS
XMVR NW 04 HS
XMVR NW 06 HS
XMVR NW 08 HS

]l

vconnrrrrE

TIEERD

bar
PN 100
PN 315
PN 315
PN 315
PN 315
PN 630
PN 630
PN 630
PN 630

@d2
mm
4
6
8
10
12
6
8
10
12

G1

G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/2"-14
G 1/2"-14
G1/2"-14
G 1/2"-14

ARF: LL=4FR A L= &% S=EERY; G1=E01EL G2= 124

G2

M12x 1.5
M12x 1.5
M14x1.5
M 14 x 1.5
M 16 x 1.5
M16x 1.5
M 18 x 1.5
M 18 x 1.5
M18x1.5
M22x1.5
M22x 1.5
M26x1.5
M 30 x 2
M 36 x 2
M 45 x 2
M52 x 2
M14x 1.5
M16x1.5
M 18 x 1.5
M20x 1.5
M22x1.5
M24x1.5
M 30 x 2
M 36 x 2
M 42 x 2
M 52 x 2

G2

M8x1
M12x1.5
M 14 x1.5
M16x 1.5
M18x 1.5
M 14 x1.5
M16x 1.5
M18x 1.5
M20x1.5

mm
14.5
14.5
14.5
14.5
14.5
20.0
20.0
20.0
20.0

L1
mm
26.5
35.0
31.0
35.0
32.0
36.0
33.0
34.0
36.0
35.0
37.0
37.0
42.0
45.0
51.0
53.0
33.0
33.0
34.0
35.0
39.0
39.0
45.0
49.0
55.0
59.0

L1
mm
27
29
29
30

38
38
38

HANSAFFLEX

L2 SW
mm mm
19.5 14
28.0 27
24.0 17
29.0 27
25.0 19
29.0 27
26.0 22
27.0 24
29.0 27
28.0 24
30.0 27
29.5 27
34.5 32
37.5 41
40.5 55
42.0 60
26.0 17
26.0 19
26.5 22
27.5 24
31.0 27
30.5 30
34.5 36
37.0 41
41.5 55
43.0 60

XMVR
L

L2

23.0
22.0
22.0
23.0
23.0
31.0
31.0
30.5
30.5

I

SW
mm
19
19
19
19
19
27
27
27
27

73



EhFTES MVO

#%31: BSPPIZLL -

FHBR: @B , .

R AHISMEL | T 1.

HHER: 4 REEEH L B
——— TIEED @d2 EIMZED i L1 SW
RS #5l bar mm L mm mm mm mm =i o
MVO NW 04 L L PN 315 6 G 1/4" -19 6 14.5 36.5 19 14 4.0x1.5
MVO NW 06 L L PN 315 8 G 1/4"-19 8 14.5 36.5 19 17 6.0x1.5
MVO NW 08 L L PN 315 10 G 1/4" -19 10 14.5 36.0 19 19 75x15
MVO NW 10 L L PN 315 12 G 1/4" -19 12 14.5 37.5 19 22 9.0x1.5
MVO NW 03 S 1/4 S PN 630 6 G 1/4"-19 6 14.5 35.5 19 17 40x1.5
MVO NW 03 S S PN 630 6 G1/2"-14 6 20.0 43.5 27 17 4.0x1.5
MVO NW 04 S 1/4 S PN 630 8 G 1/4" -19 8 14.5 35.5 19 19 6.0x15
MVO NW 04 S S PN 630 8 G 1/2"-14 8 20.0 43.0 27 19 6.0x1.5
MVO NW 06 S 1/4 S PN 630 10 G 1/4" -19 10 14.5 36.0 19 22 75x15
MVO NW 06 S S PN 630 10 G1/2"-14 10 20.0 45.0 27 22 75x15
MVO NW 08 S 1/4 S PN 630 12 G 1/4"-19 12 14.5 39.0 19 24 9.0x1.5
MVO NW 08 S S PN 630 12 G1/2"-14 12 20.0 44.5 27 24 9.0x1.5

Ry LL=HFR AT L=RFF S=ERT|; G1=30EY

BHEA L (R E) L XDWR

g 90°f i -
11 BSPHREIMELS : |
FHER: BHEGR i
HEHE2: AFISMBEL
FEEN: 24 NEEEH S

T zy LIFEHN  @d2 G BHMEG oD i L1 L2 14 LT SW o o
bar mm mm mm mm mm mm mm mm mm
XDWR NW 04 HL L PN 160 6 G1/8"-28 6 14 8 24 12 125 19 19 6 6
XDWR NW 06 HL L PN 160 8  G1/4"-19 8 18 12 30 16 145 21 22 8 8
XDWR NW 08 HL L PN100 10  G1/4"-19 10 18 12 30 16 155 22 22 8 8
XDWRNW 10HL1/4 L PN100 12  G1/4"-19 12 18 12 37 18 155 22 22 8 8
XDWR NW 10 HL L PN100 12  G3/8"-19 12 22 12 37 18 180 25 27 10 10
XDWR NW 13 HL L PN100 15 G1/2"-14 15 26 14 42 21 220 29 32 12 12
XDWR NW 16 HL L PN100 18 G1/2"-14 18 26 14 46 23 215 29 36 12 12
XDWR NW 20 HL L PN100 22 GU3/4"-14 22 32 16 58 28 285 36 46 17 17
XDWR NW 25 HL L PN100 28  G1"-1 28 39 18 64 32 315 39 50 22 22
XDWR NW 32 HL L PN 63 35 G 1.1/4"-11 35 49 20 76 37 355 46 60 27 27
XDWR NW 40 HL L PN 63 42 G1.1/2"-11 42 55 22 85 42 400 51 70 32 32
XDWR NW 03 HS S PN 160 6  G1/4"-19 6 18 12 30 16 165 23 22 8 8
XDWR NW 04 HS S PN 160 8  G1/4"-19 8 18 12 30 16 165 23 22 8 8
XDWR NW 06 HS S PN100 10 G3/8"-19 10 2 12 37 18 185 26 27 10 10
XDWR NW 08 HS S PN100 12  G3/8"-19 12 22 12 37 18 185 26 27 10 10
XDWR NW 10 HS s PN100 14 G1/2"-14 14 26 14 42 21 230 31 32 12 12
XDWR NW 13 HS ] PN100 16 G1/2"-14 16 26 14 46 23 225 31 36 12 12
XDWR NW 16 HS s PN100 20 G3/4"-14 20 32 16 58 28 275 38 46 17 17
XDWR NW 20 HS s PN100 25  G1"-11 25 39 18 64 32 310 43 50 22 22
XDWR NW 25 HS ] PN 63 30 G1.1/4"-11 30 49 20 76 37 365 50 60 27 27
XDWR NW 32 HS S PN 63 38 G1.1/2"-11 38 55 22 85 42 410 57 70 32 32

R LL=HFRRY L=RFF S=ERF; G=iEM1BL

74  HANSAFFLEX



BEXEEL(RE) XDWM

SRR 90°f N ey
HEE . NHIEREERL -

FHBR: BHERE S e
HERE2: ABISNELS 3

EHER: 24 NEEEE ' )
e zy LIFED 0d2 G BHMEO oD i L1 L2 L7 SW o o
bar mm mm mm mm mm mm mm mm mm
XDWM NW 04 HL L PN 160 6  M10x1 6 14 8 24 12 125 19 19 6 6
XDWM NW 06 HL L PN 160 8 M12x15 8 17 12 30 15 145 21 22 6 6
XDWM NW 08 HL L PN 100 10 M14x15 10 19 12 30 16 155 22 22 8 8
XDWM NW 10 HL L PN 100 12 M16x15 12 21 12 37 18 180 25 27 10 10
XDWMNW 10 HL18 L PN 100 12 M18x15 12 23 12 37 18 180 25 30 12 12
XDWM NW 13 HL L PN 100 15 M18x15 15 23 12 40 20 220 26 30 12 12
XDWM NW 16 HL L PN 100 18 M22x15 18 27 14 46 23 215 27 36 14 14
XDWM NW 20 HL L PN 100 22 M26x15 22 3 16 51 25 260 33 41 17 17
XDWM NW 25 HL L PN 100 28 M33x2 28 39 18 64 32 315 39 50 22 22
XDWM NW 32 HL L PN 63 35  M42x2 35 49 20 76 37 355 46 60 27 27
XDWM NW 40 HL L PN 63 42 M48x2 42 55 22 8 42 400 51 70 32 32
XDWM NW 03 HS S PN 160 6 M12x15 6 17 12 30 15 165 23 22 6 6
XDWM NW 04 HS s PN 160 8 M14x15 8 19 12 30 16 165 23 22 8 8
XDWM NW 06 HS S PN 100 10 M16x15 10 21 12 37 18 185 26 27 10 10
XDWM NW 08 HS S PN 100 12 M18x15 12 23 12 41 20 205 28 30 12 12
XDWM NW 10 HS s PN 100 14  M20x15 14 25 14 42 21 230 31 32 12 12
XDWM NW 13 HS S PN 100 16 M22x15 16 27 14 46 23 225 31 36 14 14
XDWM NW 16 HS S PN100 20 M27x2 20 32 16 58 28 275 38 46 17 17
XDWM NW 20 HS S PN100 25 M33x2 25 39 18 64 32 310 43 50 22 22
XDWM NW 25 HS ] PN 63 30 M42x2 30 49 20 76 37 365 50 60 27 27
XDWM NW 32 HS s PN 63 38 M48x2 38 55 22 8 42 410 57 70 32 32

Ry LL=HFRARY L=BARF| SSERT; GO

- ~

WERERESL XSWR
#ZfR: 90°/H Pl

EE1: BSPAREIMELL N [T
ZHER: BHEBIR . . i
HERE2: NHIIMELL .
EHER: 4 AEEEE "1

e zy LIFEA @d2 G ESMEG @D N S N A L7 S

bar mm mm mm mm mm mm mm mm mm
XSWR 04 LL LL  PN100 4 G1/8"-28 4 145 6 210 100 M5 155 14 14
XSWR 05 LL LL  PN100 5 G1/8"-28 5 145 6 215 100 100 145 14 14
XSWR 06 LL LL  PN100 6 G1/8"-28 6 145 6 215 100 100 145 14 14
XSWR 08 LL LL  PN100 8 G1/8"-28 8 145 6 210 100 1.0 165 14 14
XSWR NW 13 HL 3/8 L PN250 15 G3/8"-19 15 225 9 375 180 190 260 27 22

R LL=HR AT =AY S=ERT; GO

HANSAFFLEX 75



e NG
BIEXERLE
L 90°A
EE1: ARIEEERY
BHENX: EHEOR
EHE2: AFISMBEL
BHER: 24 NEREH

THS %71
XSWM 04 LL LL
XSWM 05 LL LL
XSWM 06 LL LL
XSWM 08 LL LL

XSWM NW 04 HL 12 L

I{EEH @d2
bar mm
PN 100 4
PN 100 5
PN 100 6
PN 100 8
PN 250 6

G

M8 x1
M8x1
M10x1
M10x1
M12x1.5

B3 L= &7 L=RARY| S=ERT; G=HKOBEL

BiEXEERL(BE)

2R 90°fA

151 BSPHREIMESL
ZHER: GR

FEFE2: AHISMERL
BHEER: 24°NEREH

%S e
XSDOR 04 LL LL
XSDOR 06 LL LL
XSDOR 08 LL

XSDOR NW 04 HL
XSDOR NW 06 HL
XSDOR NW 08 HL
XSDOR NW 10 HL 1/4
XSDOR NW 10 HL
XSDOR NW 10 HL 1/2
XSDOR NW 13 HL
XSDOR NW 16 HL
XSDOR NW 20 HL
XSDOR NW 25 HL
XSDOR NW 32 HL
XSDOR NW 40 HL
XSDOR NW 03 HS
XSDOR NW 04 HS
XSDOR NW 06 HS
XSDOR NW 08 HS
XSDOR NW 10 HS
XSDOR NW 13 HS
XSDOR NW 16 HS
XSDOR NW 20 HS
XSDOR NW 25 HS
XSDOR NW 32 HS

NN GN NN ON NN oI ol el et el sl sutl sl el el S

TEEA @d2

bar
PN 100
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 250
PN 160
PN 160

mm

10
12
14
16
20
25
30
38

G

G 1/8" -28
G 1/8" -28
G 1/8" -28
G 1/8"-28
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G 1/2"-14
G1/2"-14
G 3/4"-14
G1"-1
G1.1/4" -1
G1.1/2"-11
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 3/4"-14
G1"-1
G1.1/4"-11
G1.1/2"-11

Ry LL=HRRY L=RARJ| S=ERT; G=OBL

76 HANSAFFLEX

EINMZED

mm

4

5

6

8

6
@D i
mm mm
145 8.0
145 8.0
145 8.0
140 8.0
180 12.0
180 12.0
190 12,0
220 120
27.0 140
26.0 120
26.0 14.0
320 160
39.0 18.0
49.0 200
55.0 22.0
180 12.0
180 12.0
220 120
220 120
260 14.0
260 14.0
320 16.0
39.0 18.0
490 20.0
55.0 22.0

@D

mm
12.5
12.5
14.0
14.0
17.0

L1
mm
23.5
23.5
235
24.0
30.0
30.0
34.0
36.0
46.0
45.0
45.0
53.0
66.0
76.0
87.0
30.0
30.0
36.0
36.0
45.0
45.0
53.0
66.0
76.0
87.0

mm

[(e{e>Rle>Rle>Nle)]

L2

10.5
10.5
10.5
10.5
14.0
14.0
16.5
16.5
215
21.5
215
24.0
30.5
35.5
40.5
14.0
14.0
16.5
16.5
215
215
24.0
30.5
355
40.5

L1
mm
17.0
17.0
21.0
21.0
27.5

mm
14.0
13.5
13.5
12.0
14.5
15.5
18.0
18.0
20.5
21.5
21.0
27.5
32.0
36.0
40.5
16.5
16.5
18.5
18.5
22.5
22.0
26.5
31.5
37.0
41.5

18.0
19.0
19.0
19.0
215
22.5
25.0
25.0
27.5
28.5
28.5
35.0
39.5
46.5
51.5
23.5
23.5
26.0
26.0
30.5
30.5
37.0
43.5
50.5
57.5

mm

10.5
11.5
10.0
11.0
12.5

mm
17
17
17
17
22
22
27
27
32
32
32
41
50
60
70
22
22
27
27
32
32
41
50
60
70

L7
mm
14.5
17.0
15.5
16.5
19.5

S1

17
17
17
17
19
19
19
24
27
30
30
36
46
55
60
19
19
24
24
30
30
36
46
55
60

XSWM
SW g4
mm
12 14
14 14
14 14
14 14
17 17

XSDOR

OR

7.65x1.78
7.65x1.78
7.65x1.78
7.65x1.78
11.10x1.78
11.10x1.78
11.10x1.78
14.00 x 1.78
18.77 x 1.78
18.77 x 1.78
18.77 x 1.78
23.81x2.62
29.82 x 2.62
37.77 x 2.62
41.28 x 3.53
11.10x 1.78
11.10x 1.78
14.00x1.78
14.00x1.78
18.77x1.78
18.77 x1.78
23.81x2.62
29.82 x 2.62
37.77 x 2.62
41.28 x 3.53



BiEXEEL(BE)

LR 90°A

B ARIEEERY

BEFR: FE
2. ABIMEL

EHER: 24° AR

TS
XSDOM 06 LL
XSDOM 08 LL
XSDOM NW 04 HL
XSDOM NW 06 HL
XSDOM NW 08 HL
XSDOM NW 10 HL

XSDOM NW 10 HL 18

XSDOM NW 13 HL
XSDOM NW 16 HL
XSDOM NW 20 HL
XSDOM NW 25 HL
XSDOM NW 32 HL
XSDOM NW 40 HL
XSDOM NW 03 HS
XSDOM NW 04 HS
XSDOM NW 06 HS
XSDOM NW 08 HS
XSDOM NW 10 HS
XSDOM NW 13 HS
XSDOM NW 16 HS
XSDOM NW 20 HS
XSDOM NW 25 HS
XSDOM NW 32 HS

E ]l

LL
LL

DO ouonrrerrrrCrrrrr

TEEH
bar
PN 100
PN 100
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 250
PN 160
PN 160

@d2
mm
6
8
6
8
10
12
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

A LL=HFRAY L=R2RF] S=ERY; G=EORL

BiEXNEEL(BE)

ZEf: 90°/

HEHE1: BSPIRESMBL
FHENX: BHEOR

HEHE2: QHIIMELL

BHER: 24 R R

1HES
XSDR NW 04 HL
XSDR NW 04 HL 1/4
XSDR NW 06 HL
XSDR NW 08 HL
XSDR NW 10 HL 1/4
XSDR NW 10 HL
XSDR NW 10 HL 1/2
XSDR NW 13 HL
XSDR NW 16 HL
XSDR NW 20 HL
XSDR NW 25 HL
XSDR NW 32 HL
XSDR NW 40 HL
XSDR NW 03 HS
XSDR NW 04 HS
XSDR NW 06 HS
XSDR NW 08 HS
XSDR NW 10 HS
XSDR NW 13 HS
XSDR NW 16 HS
XSDR NW 20 HS
XSDR NW 25 HS
XSDR NW 32 HS

]

N rrCCrCCCrCCrrrr

TEESD
bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 160
PN 160
PN 160
PN 160
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 160
PN 160
PN 160

@d2

6
6
8
10
12
12
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

A LL=HFRARTY L=RBAF] S=EART|; GO

G

M10x 1
M 10 x1
M 10 x1
M12x1.5
M 14 x1.5
M16x1.5
M 18 x 1.5
M18x 1.5
M22x1.5
M 26 x 1.5
M 33 x2
M 42 x 2
M 48 x 2
M12x1.5
M14x1.5
M16x 1.5
M18x1.5
M20x1.5
M22x1.5
M 27 x 2
M33x2
M 42 x 2
M 48 x 2

G

G 1/8"-28
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 1/4"-19
G 3/8"-19
G1/2"-14
G1/2"-14
G 1/2"-14
G 3/4"-14
G1"-11
G1.1/4"-11
G1.1/2"-11
G 1/4"-19
G 1/4"-19
G 3/8"-19
G 3/8"-19
G 1/2"-14
G1/2"-14
G 3/4"-14
G1"-1
G1.1/4" -1
G1.1/2" -1

@D
mm mm

145
145
14
17
19
21
23.5
23
27
31

49
55
17.5
19
21
23
25
27
32
39
49
55

@D
mm

14
18
18
18
18
22
26
26
26
32
39
49
55
18
18
22
22
26
26
32
39
49
55

8.0

8.0
12.0
12.0
12.0
12.0
12.0
14.0
16.0
18.0
20.0
22.0
12.0
12.0
12.0
12.0
14.0
14.0
16.0
18.0
20.0
22.0

L1
mm
23.5
235

24

30

30

36

35
39.5

45

53

76
87
30
30
35
39.5
43.5
45
53
66
76
87

105
10.5
10.5
14
14
16.5
16.5
185
215
24
30.5
35.5
40.5
14
14
16.5
18.5
20
21.5
24
30.5
355
405

mm - mm

8
12
12
12
12
12
14
14
14
16
18
20
22
12
12
12
12
14
14
16
18
20
22

24
30
30
30
30
36
45
45
45
53
66
76
87
30
30
36

45
45
53
66
76
87

13.5
13.5
12.0
14.5
15.5
18.0
18.0
21.5
21.0
27.5
32.0
36.0
40.5
16.5
16.5
18.5
20.0
22.5
22.0
26.5
31.5
37.0
415

mm
105
14
14
14
15
16.5
21.5
21.5
21.5
24
30.5
35.5
405
14
14
16.5
16.5
215
215
24
30.5
355
405

mm
19.0
19.0
19.0
215
225
25.0
25.0
28.5
28.5
35.0
39.5
46.5
51.5
235
23.5
26.0
275
30.5
30.5
37.0
43.5
50.5
57.5

SW
mm
17
17
17
22
22
27
27
30
32
41
50
60
70
22
22
27
30
32
32

50
60
70

L4
mm

12.0
14.5
14.5
15.5
15.5
18.0
20.5
215
21.0
27.5
32.0
36.0
40.5
16.5
16.5
18.5
18.5
22.5
22.0
26.5
31.5
37.0
415

S1

17
17
17
19
19
24
24
27
30
36
46
55
60
19
19
24
27
30
30

46
55
60

L7
mm

19.0
215
21.5
22.5
22.5
25.0
28.5
28.5
28.5
35.0
39.5
46.5
51.5
235
23.5
26.0
26.0
30.5
30.5
37.0
43.5
50.5
57.5

OR

7.65x1.78

7.65x1.78

7.65x1.78

11.10x1.78
11.10x 1.78
14.00x 1.78
18.77 x 1.78
18.77 x 1.78
18.77 x 1.78
23.81x2.62
29.82 x 2.62
37.77 x 2.62
41.28 x 3.53
11.10x 1.78
11.10x1.78
14.00 x 1.78
18.77 x 1.78
18.77 x 1.78
18.77 x 1.78
23.81x2.62
29.82 x 2.62
37.77 x 2.62
41.28 x 3.53

XSDR

SW
mm
17
22
22
22
22
27
32
32
32
41
50
60
70
22
22
27
27
32
32
41
50
60
70

HANSAFFLEX

S1

17
19
19
19
19
24
30

30
36
46
55
60
19
19
24
24
30
30
36
46
55
60



- . ~ i —

BEXEEL(TE) e XSDM
SRR 90°% —rtr
T AHIE IR ; , -
TR BHEDR . g o~
HEHE2: NHISMEL Ly -

TR 24 HEEEE -

TEEA @d2 @D i L1 L2 L4 L7 SW

.LT%? 25 bar mm € mm mm mm mm mm mm mm =i
XSDM NW 04 HL L PN 250 6 M 10 x1 14 8 240 105 120 19.0 17 17
XSDM NW 06 HL L PN 250 8 M12x1.5 17 12 300 140 145 215 22 19
XSDM NW 08 HL L PN 250 10 M14x1.5 19 12 300 140 155 225 22 19
XSDM NW 10 HL L PN 250 12 M16x 1.5 21 12 36.0 165 18.0 25.0 27 24
XSDM NW 10 HL 18 L PN 250 12 M18x 1.5 23 12 380 17.0 135 25.0 30 27
XSDM NW 13 HL L PN 250 15 M18x 1.5 23 12 395 185 205 275 30 27
XSDM NW 16 HL L PN 250 18 M22x1.5 27 14 450 215 21.0 285 32 30
XSDM NW 20 HL L PN 160 22 M26x 1.5 31 16 53.0 240 275 35.0 41 36
XSDM NW 25 HL L PN 160 28 M33x2 39 18 66.0 305 320 395 50 46
XSDM NW 32 HL L PN 160 35 M 42 x 2 49 20 76.0 355 36.0 46.5 60 55
XSDM NW 40 HL L PN 160 42 M 48 x 2 556 22 87.0 405 405 515 70 60
XSDM NW 03 HS S PN 315 6 M12x1.5 17 12 300 140 165 235 22 19
XSDM NW 04 HS S PN 315 8 M14x1.5 19 12 300 140 165 235 22 19
XSDM NW 06 HS S PN 315 10 M16x 1.5 21 12 36.0 165 185 26.0 27 24
XSDM NW 08 HS S PN 315 12 M18x 1.5 23 12 395 185 200 275 30 27
XSDM NW 10 HS S PN 315 14 M20x1.5 25 14 435 200 225 305 32 30
XSDM NW 13 HS S PN 315 16 M22x1.5 27 14 450 215 220 305 32 30
XSDM NW 16 HS S PN 160 20 M 27 x 2 32 16 53.0 240 265 37.0 41 36
XSDM NW 20 HS S PN 160 25 M33x2 39 18 66.0 305 315 435 50 46
XSDM NW 25 HS S PN 160 30 M42 x 2 49 20 76.0 355 37.0 505 60 55
XSDM NW 32 HS S PN 160 38 M 48 x 2 56 22 87.0 405 415 575 70 60

Ry LL=HFRARY L=BARF| SSERT; G=iEORLY

NG

gL BZL + BZS

FHEN: IR

EHEN: 24°#FORHHE f l :

b !

. o TEEA ad1 ad2 L1
RS 25 bar mm mm mm o
BZL NW 04 L PN 315 6.6 6 18.5 40x1.5
BZL NW 06 L PN 315 8.5 8 18.0 6.0x1.5
BZL NW 08 L PN 315 10.6 10 19.5 75x1.5
BZL NW 10 L PN 315 12.6 12 19.0 9.0x1.5
BZL NW 13 L PN 315 15.5 15 19.0 12.0x2.0
BZL NW 16 L PN 315 18.6 18 22.0 15.0x 2.0
BZL NW 20 L PN 160 22.6 22 22.0 20.0x 2.0
BZL NW 25 L PN 160 28.5 28 23.5 26.0x 2.0
BZL NW 32 L PN 160 36.0 35 27.0 32.0x2.5
BZL NW 40 L PN 160 43.0 42 27.5 38.0x2.5
BZS NW 10 S PN 630 14.5 14 21.0 10.0x 2.0
BZS NW 13 S PN 400 16.5 16 22.0 12.0x 2.0
BZS NW 16 S PN 400 20.9 20 26.5 16.3x2.4
BZS NW 20 S PN 400 259 25 27.5 20.3x2.4
BZS NW 25 S PN 400 31.0 30 28.5 25.3x2.4
BZS NW 32 S PN 315 39.0 38 32.5 33.3x24

A LL=HFRART L=RZHF] S=EART|

78  HANSAFFLEX



A7 ALRE

E$E1: BSPHREIMELL

mEA: ER

TS

VHR 90-1/8 ED
VHR 90-1/4 ED
VHR 90-3/8 ED
VHR 90-1/2 ED
VHR 90-3/4 ED
VHR 90-1 ED
VHR 90-1 1/4 ED
VHR 90-1 1/2 ED
VHR 90-2 ED

G=12 4241

A7 FALRE

HeE1: ABISMBS
B ER

TS
VHM 90-08 ED
VHM 90-10 ED
VHM 90-12 ED
VHM 90-14 ED
VHM 90-16 ED
VHM 90-18 ED
VHM 90-20 ED
VHM 90-22 ED
VHM 90-24ED
VHM 90-26 ED
VHM 90-27 ED
VHM 90-33 ED
VHM 90-42 ED
VHM 90-48 ED

G=12 424

TEEA
bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315
PN 315

TEESD
bar
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 400
PN 315
PN 315

G

G 1/8"-28
G 1/4"-19
G 3/8"-19
G1/2"-14
G 3/4" -14
G1"-1
G 1.1/4" -1
G1.1/2-11
G2"-11

G

M8x1

M 10 x 1

M12x1.5
M14x1.5
M16x 1.5
M18x 1.5
M20x 1.5
M22x1.5
M24x1.5
M26x1.5
M 27 x2
M33x2
M 42 x 2
M 48 x 2

mm
14
19
22
27
32
40
50
55
72

mm
12
14
17
19
22
24
26
27

29.9
32
32
40
50
55

VHR 90 ED
| S
mm mm
12 5
17 6
17 8
19 10
21 12
22.5 17
22.5 22
22.5 24
34.5 32
VHM 90 ED
| S
mm mm
12 4
12 5
17 6
17 6
17 8
17 8
19 10
19 10
19 12
21 12
21 12
22.5 17
22.5 22
22.5 24

HANSAFFLEX

79



RS FALRE

HEFET: AHISMELL
mHER: PR

TfEEH

T4 2

= bar G1
VHMO 90-08 PN 630 M8x1
VHMO 90-10 PN 630 M10x 1
VHMO 90-12 PN 630 M12x1.5
VHMO 90-14 PN 630 M14 x 1.5
VHMO 90-16 PN 630 M16 x 1.5
VHMO 90-18 PN 630 M18x 1.5
VHMO 90-20 PN 630 M20x1.5
VHMO 90-22 PN 630 M22x1.5
VHMO 90-27 PN 400 M 27 x 2
VHMO 90-33 PN 400 M33x2
VHMO 90-42 PN 400 M42x 2
VHMO 90-48 PN 400 M 48 x 2
G1=H iRy

Ep [ 1) (B X 4

EE: QISR
EHER: 24°AHEEEH
EE2: NEISMEL
FHBR: 24 REREE
#fE: DIN 3865

@D

12
13
17
19
21
23
26
27
32
38
48
55

mm
9.5
9.5
11.0
11.0
12.5
14.0
14.0
15.0
18.5
18.5
19.0
21.5

FRES: 1bar, EIEHBAEAFBEIRO. 2bar; 0.5bar; 2; 3; SbarkyiREE K,

THes waEH  mm LD
XRD NW 04 HL 1E L PN 250
XRD NW 06 HL H1E L PN 250
XRD NW 08 HL H1E L PN 250
XRD NW 10 HL 18 L PN 250
XRD NW 13 HL 12 L PN 250
XRD NW 16 HL AH1E L PN 160
XRD NW 20 HL 18 L PN 160
XRD NW 25 HL 418 L PN 100
XRD NW 32 HL A1E L PN 100
XRD NW 40 HL 418 L PN 100
XRD NW 03 HS 418 S PN 400
XRD NW 04 HS A1 S PN 400
XRD NW 06 HS 4918 S PN 400
XRD NW 08 HS 4918 S PN 400
XRD NW 10 HS A1 S PN 315
XRD NW 13 HS 4918 S PN 315
XRD NW 16 HS 4918 S PN 250
XRD NW 20 HS A1 S PN 250
XRD NW 25 HS 4918 S PN 250
XRD NW 32 HS 4918 S PN 250

R LL=4FR AT L=BFF S=ERF; G1=ikOBL

80 HANSAFFLEX

@d2
mm
6
8
10
12
15
18
22
28
35
42
6
8
10
12
14
16
20
25
30
38

G1

M12x1.5
M 14 x1.5
M16x1.5
M18x 1.5
M22x1.5
M26x1.5
M30x 2
M 36 x 2
M 45 x 2
M52 x 2
M14x1.5
M16x 1.5
M18x 1.5
M20x1.5
M22x1.5
M24x1.5
M 30 x 2
M 36 x 2
M 42 x 2
M52 x2

L1
mm
13.0
13.5
16.0
16.0
17.5
19.0
19.0
20.0
23.5
25.0
25.5
28.0

mm
58.0
59.0
69.5
72.5
77.5
83.5
93.5
102.5
117.5
119.0
63.5
63.5
72.5
74.5
82.5
86.5
97.5
106.5
122.5
136.5

0 oo oh

[oe]

10
12
14
22
24

L2
mm
29.0
30.0
40.5
43.5
47.5
51.5
61.5
69.5
74.5
74.0
34.5
34.5
40.5
42.5
47.5
50.5
54.5
58.5
69.5
75.5

VHMO 90

OR
6.1x1.6
81x16
9.3x22
11.3x 2.2
13.3x2.2
15.3 x 2.2
17.3x2.2
19.3x 2.2
23.6 x 2.9
29.6 x 2.9
38.6x2.9
446 x2.9

XRD
S1 S2
17 17
19 19
24 22
30 27
32 27
36 36
46 41
55 50
60 60
70 65
19 17
19 17
24 22
27 24
32 27
36 32
41 38
50 46
60 55
70 65



> N

& o) 1) (3 O B K XHVR-ED

FeE1: BSPIRESMEL '

B ER ||:h-[ P ¥

FEfE2: AHISMBEL . L il

FBESD: 1bar, FEHEAHMIBESNRO. 2bar, 0.5bar, 2, 3, SbarkEEsR | Loor ) = '
TS BHEH R I@fﬁ ?n(,f G1 257 o n';:n n';fn st s2
XHVR NW 04 HL ED H1E L PN 250 6 G 1/8"-28 14 8 35.0 28.0 17 17
XHVR NW 06 HL ED 21E L PN 250 8 G 1/4"-19 19 12 37.0 30.0 19 19
XHVR NW 08 HL ED 1B L PN 250 10 G 1/4"-19 19 12 45.5 38.5 22 24
XHVR NW 10 HL ED H1E L PN 250 12 G 3/8"-19 22 12 49.5 42.5 30 27
XHVR NW 13 HL ED A1E L PN 250 15 G1/2"-14 27 14 52.5 45.5 32 27
XHVR NW 16 HL ED 1B L PN 160 18 G1/2"-14 27 14 57.5 50.0 36 36
XHVR NW 20 HL ED H1E L PN 160 22 G 3/4"-14 32 16 62.5 55.0 46 41
XHVR NW 25 HL ED 1B L PN 100 28 G1"-11 40 18 70.5 63.0 55 50
XHVR NW 32 HL ED 18 L PN 100 35 G1.1/4"-11 50 20 79.5 69.0 60 60
XHVR NW 40 HL ED H1E L PN 100 42 G1.1/2"-11 55 22 79.5 68.5 70 65
XHVR NW 03 HS ED 18 S PN 400 6 G 1/4"-19 19 12 38.5 31.5 19 19
XHVR NW 04 HS ED 18 S PN 400 8 G 1/4"-19 19 12 38.5 31.5 19 19
XHVR NW 06 HS ED 91 S PN 400 10 G 3/8"-19 22 12 45.5 38.0 24 22
XHVR NW 08 HS ED 18 S PN 400 12 G 3/8"-19 22 12 48.5 41.0 27 24
XHVR NW 10 HS ED 418 S PN 315 14 G1/2"-14 27 14 52.5 44.5 32 27
XHVR NW 13 HS ED A1E S PN 315 16 G 1/2"-14 27 14 56.5 48.0 36 32
XHVR NW 16 HS ED 4918 S PN 250 20 G 3/4" -14 32 16 62.5 52.0 46 41
XHVR NW 20 HS ED 418 S PN 250 25 G1"-11 40 18 66.5 54.5 50 46
XHVR NW 25 HS ED A1E S PN 250 30 G1.1/4"-11 50 20 77.5 64.0 60 60
XHVR NW 32 HS ED 4918 S PN 250 38 G1.1/2"-11 55 22 85.5 69.5 70 65

R LL=HRRT L=8F7 S=ERF; G1=EORYL

5 a8 (7 O B ERg)
HEE1: ARIEEERY

FHEN: ER

ERE2: AFISMBLEL

FEER: 24 NEEEH

FRIEA: 1bar, FERBATERFFEEFH0. 2bar, 0. 5bar, 2,
TS waEn  Fm L
XHVM NW 04 HL ED A1E L PN 250
XHVM NW 06 HL ED 418 L PN 250
XHVM NW 08 HL ED 29182 L PN 250
XHVM NW 10 HL ED 418 L PN 250
XHVM NW 13 HL ED 418 L PN 250
XHVM NW 16 HL ED 2918 L PN 160
XHVM NW 20 HL ED A1 L PN 160
XHVM NW 25 HL ED 418 L PN 100
XHVM NW 32 HL ED 418 L PN 100
XHVM NW 40 HL ED H18 L PN 100
XHVM NW 03 HS ED A1E S PN 400
XHVM NW 04 HS ED 418 S PN 400
XHVM NW 06 HS ED A8 S PN 400
XHVM NW 08 HS ED 2918 S PN 400
XHVM NW 10 HS ED 418 S PN 315
XHVM NW 13 HS ED 418 S PN 315
XHVM NW 16 HS ED 2418 S PN 250
XHVM NW 20 HS ED 1B S PN 250
XHVM NW 25 HS ED 418 S PN 250
XHVM NW 32 HS ED 2418 S PN 250

R LL=FRRT L=BF7] S=ERF; G1=1EOBY

XHVM-ED
"
ri I. ' ] ' "- F
3, SbarftigE Eik :
@d2 - @D i L1 L2 5
mm mm mm mm mm
6 M 10 x 1 14 8 350 280 17 17
8 M12x1.5 17 12 360 290 19 19
10 M14x1.5 19 12 455 385 24 22
12 M 16 x 1.5 22 12 495 425 30 27
15 M18x1.5 24 12 525 455 32 27
18 M22x1.5 27 14 575 50.0 36 36
22 M 26 x 1.5 32 16 625 550 46 41
28 M 33 x 2 40 18 705 630 55 50
35 M 42 x 2 50 20 795 690 60 60
42 M 48 x 2 55 22 795 685 70 65
6 M12x1.5 17 12 385 315 19 19
8 M14x1.5 19 12 385 315 19 19
10 M 16 x 1.5 22 12 455 380 24 22
12 M18x 1.5 24 12 485 410 27 24
14 M20x 1.5 26 14 525 445 32 27
16 M22x 1.5 27 14 56.5 480 36 32
20 M 27 x 2 32 16 62.5 520 46 41
25 M 33 x2 40 18 66.5 545 50 46
30 M 42 x 2 50 20 775 640 60 60
38 M 48 x 2 55 22 855 695 70 65

HANSAFFLEX 81



B i@ (Bl E/mO)

gHpN: 5l

B E A (EBREHO)

#Zpk: Bl

82

HANSAFFLEX

M1 BSPIRRIMEAL

FHRR: ER

FEiE2. ABSMBL

BHIR: 240 NEEEE

FEES: 1bar, FERHEANERFBEFSAHO. 2bar, 0. 5bar,
TS waEn Ry TIES
XHZR NW 04 HL ED 418 L PN 250
XHZR NW 06 HL ED 418 L PN 250
XHZR NW 08 HL ED 18 L PN 250
XHZR NW 10 HL ED 418 L PN 250
XHZR NW 13 HL ED 418 L PN 250
XHZR NW 16 HL ED 18 L PN 160
XHZR NW 20 HL ED 418 L PN 160
XHZR NW 25 HL ED 418 L PN 100
XHZR NW 32 HL ED 18 L PN 100
XHZR NW 40 HL ED 418 L PN 100
XHZR NW 03 HS ED 418 S PN 400
XHZR NW 04 HS ED 18 S PN 400
XHZR NW 06 HS ED 418 S PN 400
XHZR NW 08 HS ED 418 S PN 400
XHZR NW 10 HS ED 18 S PN 315
XHZR NW 13 HS ED 418 S PN 315
XHZR NW 16 HS ED 418 S PN 250
XHZR NW 20 HS ED 18 S PN 250
XHZR NW 25 HS ED 418 S PN 250
XHZR NW 32 HS ED 418 S PN 250
R5I: LL=HRFF L-855) S=RAII; GI-EOEA

EE AHIEEEIRL

ZHEA: ER

FEE2: NHISMRYL

ZEHER: 24°AHEEZH

FRIEF: 1bar, EEthATERFFEEFIHA0. 2bar, 0. 5bar,
T waEn Ry AN
XHZM NW 04 HL ED 418 L PN 250
XHZM NW 06 HL ED 4182 L PN 250
XHZM NW 08 HL ED 2918 L PN 250
XHZM NW 10 HL ED 418 L PN 250
XHZM NW 13 HL ED 418 L PN 250
XHZM NW 16 HL ED 2918 L PN 160
XHZM NW 20 HL ED 2918 L PN 160
XHZM NW 25 HL ED 4182 L PN 100
XHZM NW 32 HL ED 418 L PN 100
XHZM NW 40 HL ED 218 L PN 100
XHZMNW 03HSED #4182 S PN 400
XHZMNW 04 HSED  #1E S PN 400
XHZMNW 06 HSED  #91E S PN 400
XHZM NW 08 HSED #4182 S PN 400
XHZMNW 10 HSED  #1E S PN 315
XHZMNW 13HSED  #1E S PN 315
XHZM NW 16 HSED #4182 S PN 250
XHZMNW20HSED  #1E S PN 250
XHZMNW 25 HSED  #1E S PN 250
XHZMNW 32 HSED  #1E S PN 250
Ry LL=HR R L=2 R SSERS; G1=1EOELN

2, 3, SbarfiEEFik

@dd2

G1
mm
6 G 1/8"-28
8 G 1/4" -19
10 G 1/4" -19
12 G 3/8"-19
15 G 1/2"-14
18 G 1/2" -14
22 G 3/4" -14
28 G1"-11
35 G 1.1/4" -11
42 G 1.1/2" -1
6 G 1/4" -19
8 G 1/4" -19
10 G 3/8"-19
12 G 3/8"-19
14 G 1/2" -14
16 G 1/2" -14
20 G 3/4"-14
25 G1"-11
30 G 1.1/4" -11
38 G1.1/2" -11
2, 3, SbarfBEF i
@d2 o1
mm
6 M 10 x 1
8 M12x 1.5
10 M14x1.5
12 M 16 x 1.5
15 M 18 x 1.5
18 M22x1.5
22 M 26 x 1.5
28 M 33 x 2
35 M42x2
42 M 48 x 2
6 M12x 1.5
8 M14x1.5
10 M 16 x 1.5
12 M18x 1.5
14 M20x1.5
16 M22x 1.5
20 M 27 x 2
25 M 33 x 2
30 M 42 x 2
38 M48 x 2

rﬂ'*:“WP

mm
14
19
19
22
27
27
32
40
50
55
19
19
22
22
27
27
32
40
50
55

JL_“*’

Tt

.[.

[

iy

=
T

mm

33.5
33.5
45.5
47.5
49.5
55.5
63.5
71.5
80.5
81.5
38.5
38.5
45.5
48.5
51.5
54.5
60.5
66.5
77.5
87.5

33.5
33.5
45.5
47.5
49.5
55.5
63.5
71.5
80.5
81.5
38.5
38.5
45.5
48.5
51.5
54.5
60.5
66.5
77.5
87.5

XHZR-ED
5
L2 51 s
mm
2%5 17 17
285 19 19
385 24 22
405 30 27
425 32 27
480 36 36
560 46 41
640 55 50
700 60 60
705 70 65
315 19 19
315 19 19
380 24 22
410 27 24
435 32 27
460 36 32
500 46 41
545 50 46
640 60 60
715 70 65
XHZM-ED
R
L2 51 a2
mm
25 17 17
2865 19 19
385 24 22
405 30 27
425 32 27
480 36 36
560 46 41
640 55 50
700 60 60
705 70 65
315 19 19
315 19 19
380 24 22
410 27 24
435 32 21
460 36 32
500 46 41
545 50 46
640 60 60
715 70 65



HANSA-FLEX A R R M AESE B 15 LB 8 ah A FURBR R A .

IEEN

O BEiEFE - mAESZE64bar (LEF]) =160bar (SRFI)
Q@ RIRMA - —RREAKESTE250bar

IfERE

NBR#:f: -35°C ~+100°C
FKM#Z$$: -25°C ~+120°C

iRt

TR BT CETHEEFCN . MRFADINTTI6HEMEN C MR, MIKIATEE E R AR EFARNAZ 4,

RECAA

TRERIERERCAE RS, RTZETEFGNEMSN, TRRTETEBRIITNANEEEE. Ak, MizBREENE
XHERERKE B T xR Fp & E 80K

FHER. M TRENEEKE, RNELEY, ERKEXAOAREIMEHSE,
W ATERRE, RIOBMERFADINIS6SINEE R HIEFIZEMERESL.

RIFEEE (FzhHR)

E1ZLEY) 6 8 10 12 15 18 22 28 35
RUFEER (B5/5%) 28 28 21 17 13 10 10 7 7
EZ(SEF) 6 8 10 12 14 16 20 25 30 38
SRR B/ ) 11 11 9 7 5 5 4 4 3 3
BEF BN ERGEERHHR)
- THEEATRIFHER G/aH) EE7%E
P52 25bar 64bar 100bar 160bar 250bar 250bar/Nm
6-8 1500 750 400 200 85 0.08
10-18 800 400 200 100 45 0.24
20-28 300 150 75 38 15 0.8
30-38 200 100 50 25 10 2.0

HANSAFFLEX 83



Te ¥ Sk (IR %)

BO 1. AHSMRE, EER, 24
O 2: QHISMEL, ERER, 24°AHE
LEMEEL. RERIMIK

gl Bl

HESERE: AMF (RHEHRIESNFE

ME:

TERIP: B
o TEEH @d2
1T5R= EX ]| . e
DG NW 03 HS S PN 250 6
DG NW 04 HS S PN 250 8
DG NW 08 HS S PN 250 12
DG NW 13 HS S PN 250 16
DG NW 16 HS S PN 250 20
DG NW 20 HS S PN 250 25
DG NW 25 HS S PN 250 30
DG NW 32 HS S PN 250 38

R LL=HFRERY L=BRF S=SERTY; G1=HOEL

e 1 K (RERHR)

O AHISMEL, REER, 24°R
#O 2. AHISMEL, REER, 24°R
SRR SRBRME

#Hr: 5l

WESEE: AR HHEBRENFE)
MER: W

RERP: 85T

sTeeD TIEEA @d2

TS #5l bar o
DG NW 04 HL L PN 315 6
DG NW 06 HL L PN 315 8
DG NW 08 HL L PN 315 10
DG NW 10 HL L PN 315 12
DG NW 13 HL L PN 315 15
DG NW 16 HL L PN 315 18
DG NW 20 HL L PN 160 22
DG NW 25 HL L PN 160 28
DG NW 32 HL L PN 160 35
DG NW O3 HSH S PN 500 6
DG NW 04 HS H S PN 500 8
DG NW 06 HS H S PN 500 10
DG NWO08HSH S PN 500 12
DG NW10HSH S PN 500 14
DG NW 13 HS H S PN 400 16
DG NW 16 HS H S PN 400 20
DG NW20HS H S PN 400 25
DG NW 25HSH S PN 400 30
DG NW 32 HSH S PN 315 38

RA: LL=HRRT L=RRY S=ERT; G1=#OIEY

84  HANSAFFLEX

G1

M14x15
M16x 1.5
M20x1.5
M24x15
M 30 x 2
M 36 x 2
M42x 2
M52 x 2

G1

M12x1.5
M14x1.5
M16x 1.5
M18x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M45x 2
M 14 x1.5
M16x1.5
M18x1.5
M20x1.5
M22x1.5
M24x1.5
M30x2
M 36 x 2
M42x2
M52 x2

a5l |

il

EIMED
mm
6
8
12
16
20
25
30
38

EIMZD
mm
6
8
10
12
15
18
22
28
35
6
8
10
12
14
16
20
25
30
38

e T F

109
114

L1
mm
57.0
57.0
68.0
68.0
70.0
80.5
84.5
96.5

100.5
61.0
61.0
61.0
72.0
73.0
74.0
92.0
98.0

109.0
114.0

82
82

L2

43.0
43.0
54.0
54.0
56.0
65.5
69.5
81.5
79.5
47.0
47.0
55.0
57.0
57.0
57.0
71.0
72.0
82.0
82.0

sw

mm
22
22
30
30
41
41
60
60

L3
mm
37.0
37.0
46.0
46.0
46.0
56.5
56.5
68.5
68.5
37.0
37.0
37.0
48.0
45.0
46.0
60.0
62.0
69.0
70.0

st s2
17 17
17 19
24 24
27 30
6 36
M 46
46 50
55 60
DGH

SW
mm
22
22
30
30

41
41
60
60
22
22
30
30

30
41
41
60
60

DG

S1

19
19
24
24
24
36
36
55
55
19
19
24
24
24
24
36
36
55
55



e 1 5k (W90° i Bk bl %) DG 90

B0 ARMEL, R, 24°ME R

0 2: ABISMBL, BT, 24°P9%% o o . W—

LT MA0°, RHKEIA — ey

ISR AR (RS HEBRNFE) TR

HE: W L » Tig

FERY: 5 L, W]

[y NS

DG 90 NW 03 HS S PN 250 6 6 31 16.0 59.0 44.5 22 17 17
DG 90 NW 04 HS S PN 250 8 8 32 17.0 59.0 445 22 19 17
DG 90 NW 08 HS S PN 250 12 12 38 21.5 72.0 55.5 30 24 22
DG 90 NW 13 HS S PN 250 16 16 43 24.5 73.0 54.5 30 30 22
DG 90 NW 16 HS S PN 250 20 20 48 26.5 94.5 72.5 41 36 36
DG 90 NW 20 HS S PN 250 25 25 54 30.0 95.5 71.0 41 46 36
DG 90 NW 25 HS S PN 250 30 30 62 35.5 116.0 89.0 60 50 50
DG 90 NW 32 HS S PN 250 38 38 72 41.0 117.0 86.5 60 60 50

BA: LL=HFRRT L=RZHF] S=ERT|

HEEHEL (2x 90° Bkl &) | DGD

O AHISMEL, EER, 24°R -

O 2: ABSMBE, BEIR, 24°M e Iy

SRR . WA0°, EEKHA (r—r Je | I

HIEERE: AR(FESSIEFMFE) e FTARPCT {

HiE: W e J

EERY: W o i
e %5 I1§Ej] @d1  @d2 G1 EIMRD L1 L2 L3 L4 L5 L6 L7 SW s1 s3

ar mm mm mm mm mm mm mm mm mm mm mm

DG D NW 08 HS S PN 250 9.5 12 M20x1.5 12 290 215 340 265 395 530 810 24 22 24
DG D NW 13 HS S PN 250 9.5 16 M24x15 16 33.0 245 340 255 395 530 870 24 22 30
DG D NW 16 HS S PN250 16.0 20 M30x2 20 37.0 265 500 395 565 76.0 109.0 32 36 36
DG D NW 20 HS S PN250 16.0 25 M 36 x 2 25 420 30.0 500 380 565 76.0 116.0 32 36 46
DG D NW 25 HS S PN250 26.0 30 M42 x 2 30 49.0 355 580 445 650 925 133.0 50 50 50
DG D NW 32 HS S PN250 26.0 38 M52x2 38 57.0 410 580 420 650 925 1450 50 50 60

R LL=HRARY L=RZRJ| S=ERT; G1=HROEY

Tes Sk (RERHIR) DGR

0 1: BSPHMEL.EHER.ER

O 2: NBIIMBSLERR.24° Mk R O :

GEAAE . RERIR (T,

SR BB o S s Ty

HEEEE: A(REHERRHEE) pry o7 st

ME: 4

REIRP: 5
e %7 11’51573 @d2 G1 EINMZO G2 i @d3 L1 L2 S1 2 s3

ar mm mm mm mm mm mm mm mm

DGR NW 03 HS S PN 250 6 G 1/4” -19 6 M14x1.5 12 19 49 420 22 17 17
DGR NW 04 HS S PN 250 8 G 1/4" -19 8 M16x 1.5 12 19 49 42.0 22 17 19
DGR NW 08 HS S PN 250 12 G 3/8” -19 12 M20x1.5 12 22 60 525 30 24 24
DGR NW 13 HS S PN 250 16 G1/2"-14 16 M24x1.5 14 27 60 545 30 27 30
DGR NW 16 HS S PN 250 20 G 3/4" -14 20 M30x2 16 32 76 65.5 41 36 36
DGR NW 20 HS S PN 250 25 G1"-11 25 M 36 x 2 18 40 78 66.0 41 41 46
DGR NW 25 HS S PN 250 30 G1.1/4"-11 30 M42 x 2 20 50 89 755 60 46 50
DGR NW 32 HS S PN 250 38 G1.1/2”-11 38 M52x2 22 55 92 76.0 60 55 60

Ry LL=HFRRY| L=RRY S=ERT; GI1=HOFL G2=EN1EY

HANSAFFLEX 85



hesE i Sk (R ERHhR) DGR H

$01 1. BSPIMBSLEH.ER -

O 2: AHISMESLEIRER . 24° Pt « F Y IHTT]

GEANRY . RERH ik REIY

R HiE =

HESEE: AR (RHESZIBSHFE) Lo e e

ME: W

RERIP: B4

e =y LIFEA  od G MO G2 P
bar mm mm mm mm mm mm

DGR NW 04 HL L PN 315 6 G 1/8"-28 6 M12x1.5 14 8 405 7.0 22 19
DGR NW 04 HL 1/4 L PN 315 6 G 1/4" -19 6 M12x1.5 19 12 400 7.0 22 19
DGR NW 06 HL L PN 315 8 G 1/4"-19 8 M14x1.5 19 12 400 7.0 22 19
DGR NW 08 HL L PN 315 10 G 1/4"-19 10 M16x 1.5 19 12 410 7.0 22 19
DGR NW 08 HL 3/8 L PN 315 10 G 3/8"-19 10 M16x15 22 12 500 7.0 30 24
DGR NW 10 HL 1/2 L PN 315 12 G 1/2"-14 12 M18x15 27 14 500 7.0 30 24
DGR NW 13 HL L PN 315 15 G1/2"-14 15 M22x15 27 14 510 7.0 30 24
DGR NW 13 HL 3/4 L - 15 G 3/4” -14 15 M22x 1.5 - - - - - -
DGR NW 16 HL L PN 315 18 G 1/2"-14 18 M26x15 27 14 515 75 30 30
DGR NW 16 HL 3/4 L - 18 G 3/4"-14 18 M26 x 1.5 - - - - - -
DGR NW 20 HL 1/2 L - 22 G1/2”-14 22 M 30 x 2 - - - - - -
DGR NW 20 HL L PN 160 22 G 3/4" -14 22 M 30 x 2 32 16 66.0 7.5 41 36
DGR NW 20 HL 1 L - 22 G1"-11 22 M 30 x 2 - - - - - -
DGR NW 03 HS H S PN 500 6 G 1/4” -19 6 M14x1.5 19 12 420 7.0 22 19
DGR NW 04 HS H S PN 500 8 G 1/4"-19 8 M16x 1.5 19 12 420 7.0 22 19
DGR NW 06 HS H S PN 500 10 G 3/8"-19 10 M18x15 22 12 420 75 22 19
DGR NW 08 HS H S PN 500 12 G 3/8”-19 12 M20x15 22 12 525 75 30 24
DGR NW 08 HS 1/2 H S PN 500 12 G 1/2"-14 12 M20x15 27 12 530 75 22 32
DGR NW 10 HS H S PN 500 14 G1/2"-14 14 M22x15 27 14 520 8.0 30 24
DGR NW 13 HS H S PN 400 16 G1/2”-14 16 M24x15 27 14 515 85 30 24
DGR NW 16 HS H S PN 400 20 G 3/4" -14 20 M 30 x 2 32 16 655 105 41 36
DGR NW 16 HS 1 H S PN 400 20 G1"-11 20 M 30 x 2 40 18 650 105 41 36
DGR NW 20 HS 3/4 H S PN 400 25 G 3/4” -14 25 M 36 x 2 32 16 650 120 41 36
DGR NW 20 HS H S PN 400 25 G1"-11 25 M 36 x 2 40 18 66.0 120 41 36

A LL=HFRARY L=RAF S=EARY; G1=1#MIZL G2=1& 12y

hEfE L (W90° ;R Bk Hli /%) DGR 90

0 1: BSPHMELL.EFER.ER _:- £)
O 2: KEISIMELLEHER.24° R o I—]{-I

CAGRE. IR R S o | g ;
iR A" e

HESERE: AME(FHFHEBRENFE) o T

ME: R ! .

RERP: H#HF
o TiEED EIMED G ad i L2 12 13
R 25l bar mm mm mm mm mm mm mm S S
DGR 90 NW 03 HS S PN 250 6 G 1/4”-19 19 12 31 16.0 39.5 22 17 17
DGR 90 NW 04 HS S PN 250 8 G 1/4”-19 19 12 32 17.0 395 22 19 17
DGR 90 NW 08 HS S PN 250 12 G 3/8”-19 22 12 38 215 51.0 30 24 22
DGR 90 NW 13 HS S PN 250 16 G 1/2"-14 27 14 43 245 49.0 30 30 22
DGR 90 NW 16 HS S PN 250 20 G 3/4"-14 32 16 48 26.5 67.0 41 36 36
DGR 90 NW 20 HS S PN 250 25 G1”-11 40 18 54 30.0 65.0 41 46 36
DGR 90 NW 25 HS S PN 250 30 G1.1/4” -1 50 20 62 355 825 60 50 50
DGR 90 NW 32 HS S PN 250 38 G1.1/2”-11 55 22 72 410 805 60 60 50

R LL=HRRT L=RAF| S=ERT; G=EO1RL

86  HANSAFFLEX



T ¥ e Sk (IR HR)

O ABISMESLEER.ER
O 2: ABISMEGLREER.24° A%

GEAIZERL: SRBRMR
gZpX: Bl

HEGER: AME(THHRBERNFE)

MR R
RERP: 55T

DES
DGM NW 03 HS 14
DGM NW 04 HS
DGM NW 08 HS
DGM NW 13 HS
DGM NW 16 HS
DGM NW 20 HS
DGM NW 25 HS
DGM NW 32 HS

EX]l

[N ONONONONGN)

TEES
bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250

RY: LL=HFRARS L=BRT| S=EARF; GI1=#0O8R45 G2=1N1Z4L

HeFE IR 2 E £ (R HIR)

O 1. QFISMEGLEHR.ER
B0 2: AHISMELLEER.24° A%

LMY RIREK
gZark: Bl

HISERE: AMNTHHRBENFE)

MER:
FER: HEF

15ES

DGM NW 04 HL
DGM NW 04 HL 12
DGM NW 06 HL
DGM NW 06 HL 14
DGM NW 08 HL
DGM NW 08 HL 16
DGM NW 10 HL 18
DGM NW 10 HL 22
DGM NW 13 HL
DGM NW 13 HL 22
DGM NW 16 HL
DGM NW 20 HL
DGM NW 03 HS 12 H
DGM NW 06 HS 18 H
DGM NW 06 HS H
DGM NW 20 HS 27 H

]l

nonmounrrCrrrrrrrrr

TEER
bar
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 315
PN 160
PN 500
PN 500
PN 500
PN 400

ad2 G1 EIMED G2 i @d3 L1 L2
mm mm mm mm mm mm mm mm
6 M14x1.5 6 M14x15 12 19 49 420
8 M14x1.5 8 M16x15 12 19 49 420
12 M18x15 12 M20x15 12 24 60 52.5
16 M22x15 16 M24x15 14 27 60 515
20 M 27 x 2 20 M 30 x 2 16 32 76 655
25 M33x2 25 M 36 x 2 18 40 78  66.0
30 M 42 x 2 30 M42x2 20 50 89 755
38 M 48 x 2 38 M52 x 2 22 55 92 76.0
T i
DO
sy |ty

ad2 G1 EIMED G2 i @d3 L1
mm mm mm mm mm mm mm

6 M 10 x 1 6 M12x 1.5 8 14 405

6 M12x1.5 6 M12x 1.5 12 17 405

8 M12x 1.5 8 M14x1.5 12 17 405

8 M14x1.5 8 M14x1.5 12 19  40.0
10 M14x1.5 10 M16x 1.5 12 19  40.0
10 M 16 x 1.5 10 M 16 x1.5 12 22 500
12 M18x 1.5 12 M18x1.5 14 27 500

12 M22x1.5 12 M18x1.5 14 27 *1
15 M18x1.5 15 M22x1.5 14 24 510
15 M22x1.5 15 M22x1.5 14 27 510
18 M22x1.5 18 M 26 x 1.5 14 27 505
22 M26x1.5 22 M30x2 16 32 645
6 M12x1.5 6 M 14 x1.5 12 17 425
10 M18x 1.5 10 M 18 x 1.5 12 22 420
10 M16x 1.5 10 M18x1.5 12 22 420
25 M 27 x 2 25 M 36 x 2 18 40  66.0

5. LL=HR RS L=RARF| S=ERT; G1=HOIRL G2=1 1R

DGM

S1 S2 S3
2 17 17
22 17 19
30 24 24
30 27 30
41 36 36
41 41 46
60 46 50
60 55 60
DGMH

12.0

S1

22
22
22
22
22
30
30

30
30
30
41
22
22
22
41

HANSAFFLEX

S2

19
19
19
19
19
24
24
24
24
24
30
36
19
19
19
36

87



e Sk (W90° R Bk HhiK)

O ABISMEGLEER.ER
0O 2: ABISMEL.REER.24° A%

LEMEEL. RERIMK
ZmmN: AE0°

HETER: AME(THFHRBERFE)

ME: R
RERP: HEH

15ES

DGM 90 NW 03 HS 14

DGM 90 NW 04 HS
DGM 90 NW 08 HS
DGM 90 NW 13 HS
DGM 90 NW 16 HS
DGM 90 NW 20 HS
DGM 90 NW 25 HS
DGM 90 NW 32 HS

(NN ONONONONG)

TEER
bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250

EINED

mm

6

8

12

16
20
25
30
38

Ry L= A7 L=RBARY| S=ERT; G=HKOEL

PRAR T\ HiE e 132 5K (R TR Hh %)

BO1: DHISMBLE, EER, 24°AHE
O 2: NHISMBE, EER, 24°AHE

CEMARL . RBRHR
Hrp: 2l

HESERE: AME(AFHRBEENFE)

MR R
RER:

1HES el

DGS NW 03 HS
DGS NW 04 HS
DGS NW 08 HS
DGS NW 13 HS
DGS NW 16 HS
DGS NW 20 HS
DGS NW 25 HS
DGS NW 32 HS

R LL=HFRRT L=BFRF S=SERT; G1=HO4EL

NDOLOOnmwnnon

TARESD

bar
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250
PN 250

88  HANSAFFLEX

@dd2
mm
6
8
12
16
20
25
30
38

G1

M14x1.5
M16x 1.5
M20x1.5
M24x1.5
M30x2
M 36 x 2
M 42 x 2
M52 x 2

mm

M14x1.5
M14x1.5
M18x 1.5
M22x1.5
M 27 x 2
M33x2
M42x2
M48 x 2

EIMED L1

mm
6
8

12
16
20
25
30
38

mm
23
23
23
26
39
42
44
47

L2
mm
49
49
60
60
76
78
89
92

12
12
12
14
16
18
20
22

L3
mm
16.0
16.0
15.5
17.5
28.5
30.0
30.5
31.0

31
32
38
43
48
54
62
72

L4
mm
42.0
42.0
52.5
51.5
65.5
66.0
75.5
76.0

L5
mm
5.0
5.0
5.0
5.0
15.0
15.0
15.0
15.0

16.0
17.0
21.5
24.5
26.5
30.0
356.5
41.0

S1

22
22
30

4
41
60
60

39.5
39.5
51.0
49.0
67.0
65.0
82.5
80.5

S2

17
17
24
27
36
41
46
55

S1

22
22
30
30
41
41
60
60

S3

19
22
27

4
46
50
65

S2

17
19
24
30
36
46
50
60

S3

17
17
22
22
36
36
50
50

S4

17
19
24

36
46
50
60



PR HE R L (R R) - DGS H

O ARISMEL, B, 24 i
#O 2. AHISMEL, EER, 24

CEARA, RTRAR sirul L) - L, v T Y.
AR Bl Ll D=t -
HESERE: AR RIZRMFE) adl

ME: B I !

RERP: 55T

N T1EER @d2 EIMED LA L2 L3 L4 L5 L6

ﬂ-ﬁ? %;5” bar mm G1 mm mm mm mm mm mm mm S1 S2 S3
DGS NW 06 HL L PN315 8 M14x1.5 8 400 160 5 10 370 230 19 22 17
DGS NW 08 HL L PN315 10 M 16 x 1.5 10 50.0 160 5 11 460 230 24 30 22
DGS NW 10 HL L PN315 12 M18x 1.5 12 500 160 5 11 460 230 24 30 24
DGS NW 13 HL L PN315 15 M22x1.5 15 510 190 5 12 460 260 24 30 30
DGS NW 16 HL L PN315 18 M 26 x 1.5 18 61.0 280 15 12 565 355 36 41 36
DGS NW 20 HL L PN160 22 M30x2 22 63.0 305 15 14 565 380 36 41 41
DGS NW 25 HL L  PN160 28 M 36 x 2 28 750 31.0 15 14 685 385 55 60 46
DGS NW 32 HL L  PN160 35 M 45 x 2 35 740 315 15 16 685 420 55 60 55
DGS NW 04 HS H S  PN500 8 M16x1.5 8 420 160 5 12 370 230 19 22 22
DGS NW 08 HS H S PN500 12 M20x1.5 12 525 155 5 12 48,0 230 24 30 27
DGS NW 13 HS H S PN400 16 M24x1.5 16 515 175 5 14 460 260 24 30 32
DGS NW 16 HS H S PN400 20 M 30x2 20 655 285 15 16 60.0 39.0 36 41 41
DGS NW 20 HS H S PN400 25 M 36 x 2 25 66.0 300 15 18 60.0 42.0 36 41 46
DGS NW 25 HS H S PN400 30 M42x2 30 755 305 15 22 690 440 55 60 50

A7 LL=4FRART L=RAS S=ERT; G1=OEY

BrAR 0 N g Sk (R ER %)

O AHISMELLEER.ER

O 2: AHISMEGLEER.24° A
SRR RBRMK

gZrrA: 5

HESEE: FMF(FHBRBENRE)
MER: R A
RERP:

S TiEED EIMED M D L2 12 L3 L4 14

RES %51 bar mm mm mm  mm mm mm mm mm St S3  S6
DGS 90 NWO03 HS S PN 250 6 M14x1.5 5 31 16.0 16.0 70.0 395 22 17 19
DGS 90 NW04 HS S PN 250 8 M16x1.5 5 32 17.0 16.0 70.0 395 22 17 22
DGS 90 NW08 HS S PN 250 12 M20x1.5 5 38 215 155 83.0 51.0 30 22 27
DGS 90 NW13 HS S PN 250 16 M24x1.5 5 43 245 175 85.0 49.0 30 22 32
DGS 90 NW16 HS S PN 250 20 M30x2 15 48 265 285 1175 670 M 36 41
DGS 90 NW20 HS S PN 250 25 M 36 x 2 15 54 30,0 300 1195 650 M 36 46
DGS 90 NW25 HS S PN 250 30 M42x2 15 62 365 305 1400 825 60 50 50
DGS 90 NW32 HS S PN 250 38 M52 x2 15 72 410 310 1420 805 60 50 65

Ry LL=HFRART L=BRT| S=EZRT

HANSAFFLEX 89



heakiE Sk (iR ahihR) GVR

0 1: BSPAMEL EALH.ER . W R 52

O 2: ABISMBSLEAER.24° i =

é%’f@?éﬁ! :E‘z_:ﬂﬁﬂif;f'( E i t Iﬁ L "‘_i."'":mf

EpR: BE : o

BIEEE: AK(RESHSIREMEE) '] TS

ME: 4 e g

EERP: 5
e %51 :|:1’bE}£jJ @d2 = BMEO i @d3 L1 L2 L3 SW o o

ar mm mm mm mm mm mm mm mm

GVR NW 04 HL 1/4 L PN 40 6 G 1/4" -19 6 12 19 40 21.0 18.0 19 12 14
GVR NW 06 HL L PN 40 8 G 1/4" -19 8 12 19 40 21.0 18.0 19 14 17
GVR NW 08 HL 3/8 L PN 40 10 G 3/8"-19 10 12 22 40 25.0 18.0 24 17 19
GVR NW 10 HL 1/2 L PN 40 12 G 1/2"-14 12 14 27 42 27.0 21.0 27 19 22
GVR NW 13 HL 3/4 L PN 40 15 G 3/4" -14 15 16 32 47 32.0 24.0 32 24 27
GVR NW 16 HL 1 L PN 40 18 G1"-11 18 18 40 51 350 275 41 27 22
GVR NW 20 HL 1 L PN 40 22 G1"-11 22 18 40 55 395 275 41 32 36
GVR NW 25 HL 11/4 L PN 40 28 G 1.1/4" -11 28 20 40 57 405 31.0 50 41 41
GVR NW 32 HL 11/2 L PN 40 35 G1.1/2" -11 35 22 55 66 445 350 55 46 50
GVR NW 03 HS S PN 100 6 G 1/4" -19 6 12 19 38 23.0 18.0 19 14 17
GVR NW 04 HS S PN 100 8 G 1/4" -19 8 12 19 39 240 18.0 19 17 19
GVR NW 06 HS S PN 100 10 G 3/8"-19 10 12 22 43 26.5 18.0 24 19 22
GVR NW 08 HS 1/2 S PN 100 12 G 1/2" -14 12 14 27 45 285 21.0 27 22 24
GVR NW 13 HS 3/4 S PN 100 16 G 3/4" -14 16 16 32 52 33.5 24.0 32 27 30
GVR NW 16 HS 1 S PN 100 20 G1"-11 20 18 40 60 38.0 275 41 32 36
GVR NW 20 HS S PN 100 25 G1"-11 25 18 40 65 405 275 41 41 46
GVR NW 25 HS 11/4 S PN 100 30 G1.1/4" -11 30 20 50 68 415 31.0 50 46 50
GVR NW 32 HS 11/2 S PN 100 38 G1.1/2" -11 38 22 55 78 47.0 350 55 55 60

R LL=FRAEY L=RZRJ] S=ERT; G1=HEOEY

bk (5 Thdx) GVM

O 1 AFBMESLEA.ER s T

O 2: AHISMESL BT 24° Pt o ] = e O

GiiR). BRI T

R Bl ; =N |

HISEE: AKR(FHHRIZRIFE) W T

HE: W gz 2

RERY: B
TS Z7) I1’bEE73 @d2 G1 BHMEO i @d3 L1 L2 L3 SW o o

ar mm mm mm mm mm mm mm mm

GVM NW 04 HL 14 L PN 40 6 M14x1.5 6 12 19 27 200 18.0 19 12 14
GVM NW 06 HL 14 L PN 40 8 M14x1.5 8 12 19 29 21.0 18.0 19 12 17
GVM NW 08 HL 18 L PN 40 10 M18x 1.5 10 12 24 30 26.0 18.0 24 14 19
GVM NW 10 HL 22 L PN 40 12 M22x 1.5 12 14 27 32 270 21.0 27 17 22
GVM NW 13 HL 27 L PN 40 15 M 27 x 2 15 16 32 36 33.0 24.0 32 19 27
GVM NW 16 HL 33 L PN 40 18 M 33 x 2 18 18 40 40 375 275 41 27 32
GVM NW 20 HL 33 L PN 40 22 M 33 x 2 22 18 40 44 395 27.5 41 27 36
GVM NW 25 HL 42 L PN 40 28 M42 x 2 28 20 50 47 440 310 50 36 41
GVM NW 32 HL 48 L PN 40 35 M 48 x 2 35 22 55 56 54.0 35.0 55 41 50
GVM NW 03 HS 14 S PN 100 6 M14x 1.5 6 12 19 31 21.0 18.0 19 12 17
GVM NW 04 HS S PN 100 8 M 14 x1.5 8 12 19 32 220 18.0 19 14 19
GVM NW 06 HS 18 S PN 100 10 M18x 1.5 10 12 24 34 270 18.0 24 17 22
GVM NW 08 HS S PN 100 12 M22x1.5 12 14 27 38 28.0 21.0 27 17 24
GVM NW 13 HS 27 S PN 100 16 M 27 x 2 16 16 32 43 340 240 32 24 30
GVM NW 16 HS 33 S PN 100 20 M33x2 20 18 40 48 395 275 41 27 36
GVM NW 20 HS S PN 100 25 M 33 x2 25 18 40 54 425 27.5 41 36 46
GVM NW 25 HS S PN 100 30 M42 x 2 30 20 50 62 48.0 31.0 50 41 50
GVM NW 32 HS S PN 100 38 M 48 x 2 38 22 55 72 550 35.0 55 50 60

By LL=HRARY L=BARF| S=ERT; G1=HMIEY

90  HANSAFFLEX



REFEHESL (2x90°iF BhihK) ) DGDH

B 1. ABISMES, BT, 24°R% e TR ]

B0 2: AHSMEL, EHF, 20°M et ] -~ i

LN, AEE (N -

SRR AmE0° e [T :

IS ARRSHEREHEE) # a e

HE: @ ad v

RER: B ) )
g = T1Ex ad2 =420 L1 L2 L3 L4 L6 SW
DG D NW 08 HS H S PN 400 12 M20x1.5 12 28 20.5 28 20.5 32 32
DGDNW13HSH S PN 400 16 M24 x1.5 16 34 25.5 34 25.5 40 40
DGDNW 16 HS H S PN 250 20 M30x2 20 38 27.5 38 27.5 45 45
DG D NW 20 HS H S PN 250 25 M 36 x 2 25 45 33.0 45 33.0 55 55
DG D NW 25 HS H S PN 250 30 M42x2 30 52 38.5 52 38.5 65 65
DG DNW32HSH S PN 250 38 M52x2 38 59 43.0 59 43.0 75 75

R LL=HRRY L=RZRY| S=ERT; G1=HEOEY

HEFEiEL (WO0° ;B sh &) ) GV90H

O ABISMEL, BEER, 24 e

-" lI - $

B0 2. AHISMES, BT, 24079t T "y

GEARE, BRI R, -

R : FE90° o P . ok @

HICERE: AK(THHERENFE) = 15 =

MB: 48 e =

RERY: B s
N THEER @d2 EMZG L1 L2 L3 L4 SW
ﬂ—h = ,thﬁu bar mm < mm mm mm mm mm mm =i
GV 90 NW 04 HL H L PN 250 6 M12x1.5 6 49 31 23 7.0 27 19
GV 90 NW 06 HL H L PN 250 8 M14x1.5 8 54 33 25 7.0 30 22
GV 90 NW 08 HL H L PN 250 10 M 16 x 1.5 10 57 36 27 7.0 32 24
GV 90 NW 10 HL H L PN 250 12 M18x 1.5 12 63 39 29 7.0 36 27
GV 90 NW 13 HLH L PN 250 15 M22x1.5 15 68 42 32 7.0 40 32
GV 90 NW 16 HL H L PN 160 18 M 26 x 1.5 18 75 46 34 7.5 45 36
GV 90 NW 20 HL H L PN 160 22 M 30 x 2 22 89 54 41 7.5 55 41
GV 90 NW 25 HLH L PN 100 28 M 36 x 2 28 103 62 46 7.5 65 50
GV 90 NW 32 HL H L PN 100 35 M 45 x 2 35 115 69 53 10.5 75 55
GV 90 NW 40 HL H L PN 100 42 M52 x 2 42 147 90 61 11.0 90 70
GV 90 NW 03 HS H S PN 400 6 M14x15 6 51 33 25 7.0 27 19
GV 90 NW 04 HS H S PN 400 8 M 16 x 1.5 8 51 33 25 7.0 27 19
GV 90 NW 06 HS H S PN 400 10 M18x 1.5 10 56 35 27 7.5 30 22
GV 90 NW 08 HS H S PN 400 12 M20x1.5 12 58 37 28 7.5 32 24
GV 90 NW 10 HS H S PN 400 14 M22x 1.5 14 66 42 32 8.0 36 27
GV 90 NW 13 HS H S PN 400 16 M24x15 16 70 44 34 8.5 40 32
GV 90 NW 16 HS H S PN 250 20 M 30 x 2 20 79 50 38 10.5 45 36
GV 90 NW 20 HS H S PN 250 25 M 36 x 2 25 93 58 45 12.0 55 41
GV 90 NW 25 HS H S PN 250 30 M 42 x 2 30 109 68 52 13.5 65 50
GV 90 NW 32HSH S PN 250 38 M52 x 2 38 121 75 59 16.0 75 55

A LL=HFR AR L=BFF] S=EART|; G1=1ZNIEL

HANSAFFLEX 91



ek (WO0° R ENHhK)

0O 1: BSP/MBLLEMR.ER

O 2: A%ISMES, EIRR, 24°Rt I
CEIRE, BE A "
TR RE0° L
HICEE: AK(RHHEIZSH+E) s
HE: W d

RERP: HEH

GVR 90 NW 06 HS
GVR 90 NW 08 HS 1/2
GVR 90 NW 13 HS 3/4
GVR 90 NW 16 HS 1
GVR 90 NW 20 HS

PN 100 10 G 3/8"-19 10 22 12 270 180 34 175 17 24 22
PN 100 12 G1/2"-14 12 27 14 280 210 38 215 17 27 24
PN 100 16 G 3/4"-14 16 32 16 340 240 43 245 24 32 30
PN 100 20 G1"-11 20 40 18 395 275 48 265 27 41 36
PN 100 25 G1"-1 25 40 18 425 275 54 300 36 41 46
GVR 90 NW 25 HS PN 100 30 G1.1/4"-11 30 50 20 480 310 62 355 M 50 50
GVR 90 NW 32 HS PN 100 38  G1.1/2"-11 38 56 22 550 350 72 410 50 55 60

R LL=HFRARY L=BARY| S=SERTY; G1=HOEY

o TEEA @d2 EHNMZG d3
w L= 25 bar mm i mm  mm mm
GVR 90 NW 04 HL 1/4 L PN 40 6 G 1/4" -19 6 19 12 20.0 18.0 27 120 12 19 14
GVR 90 NW 06 HL L PN 40 8 G 1/4" -19 8 19 12 21.0 18.0 29 14.0 12 19 17
GVR 90 NW 08 HL 3/8 L PN 40 10 G 3/8"-19 10 22 12 26.0 18.0 30 15.0 14 24 19
GVR 90 NW 10 HL 1/2 L PN 40 12 G1/2"-14 12 27 14 270 21.0 32 17.0 17 27 22
GVR 90 NW 13 HL 3/4 L PN 40 15 G 3/4" -14 15 32 16 33.0 24.0 36 210 19 32 27
GVR 90 NW 16 HL 1 L PN 40 18 G1"-11 18 40 18 375 275 40 235 27 41 32
GVR 90 NW 20 HL 1 L PN 40 22 G1"-11 22 40 18 395 275 44 275 27 41 36
GVR90ONW 25HL 1 1/4 L PN 40 28 G1.1/4" -11 28 50 20 440 31.0 47 30.5 36 50 41
GVR 90 NW 32 HL 1 1/2 L PN 40 35 G1.1/2"-11 35 55 22 540 350 56 345 41 55 50
GVR 90 NW 03 HS S PN 100 6 G 1/4" -19 6 19 12 21.0 18.0 31 16.0 12 19 17
GVR 90 NW 04 HS S PN 100 8 G 1/4" -19 8 19 12 220 18.0 32 17.0 14 19 19

S

S

S

S

S

S

S

HEFEHESL (W90°; B BhHhK) e GVR 90 H

#01: BSPSMRLLEKER.ER i '—[r.
02 AHISNEG, BER, 24°Ki# ) -
GEAARL. BEE v | ALy g - 3
wER: AE0° S mc,
HISEE: AA(RHHRIZBRFE) R S
B W Ol
RERP: B o
T T1EEA @d2 BEINED d3 i H L1 L2 L3 SW
lTh? %@J ’lfar mm G mm G2 mm mm mm mm mm mm mm S1

GVR 90 NW 04 HLH
GVR 90 NW 04 HL 1/4 H
GVR 90 NW 06 HL H
GVR 90 NW 08 HLH
GVR 90 NW 08 HL 3/8 H
GVR90ONW 10 HLH
GVR 90 NW 10 HL 1/2 H
GVRO9ONW 13 HLH
GVR90NW 16 HLH
GVR 90 NW 16 HL 3/4 H
GVR90NW 20 HLH
GVRO9ONW20HL1H
GVROONW25HLH
GVRO0ONW32HL11/4H
GVR90NW 40 HLH
GVR 90 NW 03 HS H
GVR 90 NW 04 HS H
GVR 90 NW 06 HS H
GVR 90 NW 06 HS 1/4 H

PN 250 6 G 1/8"-28 6 M12x1.5 14 8 70 40 21 23 27 17
PN 250 6 G 1/4" -19 6 M12x15 19 12 70 41 22 23 27 19
PN 250 8 G 1/4" -19 8 M14x15 19 12 70 46 25 25 30 22
PN 250 10 G 1/4"-19 10 M16x15 19 12 70 46 25 26 30 22
PN 250 10 G3/8"-19 10 M16x15 22 12 70 48 27 27 32 24
PN 250 12 G3/8"-19 12 M18x15 22 12 7.0 48 27 27 32 24
PN 250 12 G1/2"-14 12 M18x15 27 14 70 55 30 29 36 27
PN 250 15  G1/2"-14 15 M22x15 27 14 70 59 33 32 40 32
PN 160 18 G 1/2"-14 18 M26x15 27 14 75 59 33 32 40 32
PN 160 18  G3/4"-14 18 M26x15 32 16 75 66 35 32 45 32
PN 160 22 G3/4"-14 22 M30x2 32 16 75 66 35 36 45 36
PN 160 22 G1"-11 22 M30x2 40 18 75 78 41 36 55 36
PN 100 28 G1"-11 28 M36x2 40 18 75 78 41 41 55 41
PN 100 3% G1.1/4"-11 35 M45x2 50 20 105 92 51 48 65 50
PN 100 42 G1.1/2"-11 42 M&2x2 55 22 110 102 56 53 75 55
PN 400 6 G 1/4" -19 6 M14x15 19 12 70 41 22 25 27 19
PN 400 8 G 1/4"-19 8 M16x15 19 12 70 41 22 25 27 19
PN 400 10 G3/8"-19 10 M18x15 22 12 75 46 25 27 30 22
PN 400 10 G1/4"-19 10 M18x15 19 12 75 41 22 27 27 22

onmnownrrCcrC-rCCCCCCCr

92  HANSAFFLEX



ek (W90° R B 3lK)

0O 1: BSPHMELL.EFER.ER
O 2: QFISMEL, B, 24°H#E

ERIREBY: BEhEhA

il ARE°

HESER: KA FHEIZEIMEE)

MER: N

FKERP: B
N TEER
UE= #75l [l
GVR 90 NW 08 HS H S PN 400
GVRO9ONWOBHS12H S PN 400
GVR 90 NW 10 HS H S PN 400
GVR90NW 13 HS H S PN 400
GVR90NW 16 HS H S PN 250
GVRO9ONW?20HS 3/4H S PN 250
GVR 90 NW 20 HS H S PN 250
GVR 90 NW 25 HS H S PN 250
GVR 90 NW 32 HS H S PN 250

EIIF

HEREHE Sk (W90° & shihi)

O 1: AFISMRELERR.ER
O 2: AHISMEGLEER.24° A%

ZHR: ER

e e U= by 2

i AE0°

BEEE: AN EHRIESNFE)

MER: W

FERIP: 5
e TEER
E=s #7 bar
GVM 90 NW 04 HL 14 L PN 40
GVM 90 NW 08 HL 18 L PN 40
GVM 90 NW 10 HL 22 L PN 40
GVM 90 NW 13 HL 27 L PN 40
GVM 90 NW 16 HL 33 L PN 40
GVM 90 NW 20 HL 33 L PN 40
GVM 90 NW 25 HL 42 L PN 40
GVM 90 NW 32 HL 48 L PN 40
GVM 90 NW 03 HS 14 S PN 100
GVM 90 NW 06 HS 18 S PN 100
GVM 90 NW 08 HS S PN 100
GVM 90 NW 08 HS 22 S PN 100
GVM 90 NW 13 HS 27 S PN 100
GVM 90 NW 16 HS 33 S PN 100
GVM 90 NW 20 HS S PN 100
GVM 90 NW 25 HS S PN 100
GVM 90 NW 32 HS S PN 100

EIIE

@d2
mm

12
12
14
16
20
25
25
30
38

o EMEe

mm

G 3/8"-19 12
G 1/2"-14 12
G 1/2"-14 14
G1/2"-14 16
G 3/4"-14 20
G 3/4"-14 25
G1"-1 25
G 1.1/4" -1 30
G1.1/2"-11 38

@d2 G1
mm

6 M 14 x1.5
10 M18x1.5
12 M22x1.5
15 M 27 x 2
18 M33x2
22 M 33 x2
28 M 42 x 2
35 M 48 x 2
6 M14x1.5
10 M18x1.5
12 M18x15
12 M22x1.5
16 M 27 x 2
20 M33x2
25 M33x2
30 M42x2
38 M 48 x 2

LL=FR2 7% L=RBARF| S=ERT|; G1=HEO1EL

LL=4FR2 A7 L=82R7 S=ERF|; G1=1NIRY G2=NIEY

mm
6
10
12
15
18
22
28
35
6
10
12
12
16
20
25
30
38

GVR90H
' L .'FI ¥ " i,
& ‘l e ad -
| e -
: [l _'._: :i'_a
1 | S ]
- d3 i H L1 L2 L3 SW
mm mm mm mm mm mm mm
M20x15 22 12 75 48 27 28 32 24
M20x15 27 14 75 55 30 27 36 24
M22x15 27 14 80 55 30 32 36 27
M24x15 27 14 85 59 33 34 40 32
M30x2 32 16 105 66 35 38 45 36
M36x2 32 16 120 66 35 45 55 41
M36x2 40 18 120 78 41 45 55 41
M42x2 50 20 135 92 51 52 65 50
M52x2 55 22 16.0 102 56 59 75 55
) GVM 90
. i '._ . -
e
i | i il . | .-
=il
S RD  d3 i L1 L2 4 L5 SW o o
mm mm mm mm mm mm mm
19 12 200 18.0 27 120 12 19 14
24 12 260 180 30 150 14 24 19
27 14 270 210 32 170 17 27 22
32 16 33.0 240 36 210 19 32 27
40 18 375 275 40 235 27 41 32
40 18 395 275 44 275 27 41 36
50 20 44.0 310 47 305 36 50 41
55 22 540 350 56 345 41 55 50
19 12 210 180 31 160 12 19 17
24 12 270 180 34 175 17 24 22
27 14 280 210 38 215 17 27 24
27 14 280 320 38 215 17 27 24
32 16 340 240 43 245 24 32 30
40 18 395 275 48 265 27 41 36
40 18 425 275 54 300 36 41 46
50 20 480 310 62 355 41 50 50
55 22 550 350 72 410 50 55 60
HANSAFFLEX 93



e Sk (W90° i Bhihik)

O 1. AHISMESLEER.ER
O 2: NHISMEY, BEER, 24°A%

E#&!
RS
FE90°

EEEN:
LA,
LE K
ISR
M W
FTHERIP: B

3T 2
M E=

GVM 90 NW 04 HL H
GVM 90 NW 04 HL 12 H
GVM 90 NW 06 HL H
GVM 90 NW 08 HL H
GVM 90 NW 08 HL 16 H
GVM 90 NW 10 HL H
GVM 90 NW 10 HL 18 H
GVM 90 NW 13 HL H
GVM 90 NW 13 HL 22 H
GVM 90 NW 16 HL H
GVM 90 NW 20 HL H
GVM 90 NW 25 HL H
GVM 90 NW 32 HL H
GVM 90 NW 40 HL H
GVM 90 NW 03 HS H
GVM 90 NW 03 HS 14 H
GVM 90 NW 04 HS H
GVM 90 NW 06 HS 14 H
GVM 90 NW 06 HS H
GVM 90 NW 08 HS H
GVM 90 NW 10 HS 18 H
GVM 90 NW 10 HS H
GVM 90 NW 13 HS H
GVM 90 NW 16 HS H
GVM 90 NW 25 HS H
GVM 90 NW 32 HS H

EIIR

SRR FHE
#rAE: DIN 3869
Rl TSR

TS

WD 8-1

WD 10-1 R 1/8
WD 12-1.5

WD 14-1.5R 1/4
WD 16-1.5

WD R 3/8

WD 18-1.5

WD 20-1.5

WD R 1/2

WD 22-1.5

WD 26-27-R 3/4
WD 33-2R 1
WD 42-2R1 1/4
WD 48-2R 1 1/2
WDR2

94

EX]l

DL uLuunuwuuuwuuouwuuouwuuouwuuwuowwnwrrCCrCrCCrCrrrHrrrr

HANSAFFLEX

R (FHEHRIBFHRE)

TIEEA @d2
bar mm
PN 250 6
PN 250 6
PN 250 8
PN 250 10
PN 250 10
PN 250 12
PN 250 12
PN 250 15
PN 250 15
PN 160 18
PN 160 22
PN 100 28
PN 100 35
PN 100 42
PN 400 6
PN 400 6
PN 400 8
PN 400 10
PN 400 10
PN 400 12
PN 400 14
PN 400 14
PN 400 16
PN 250 20
PN 160 30
PN 160 38

G1

M 10 x1
M12x1.5
M12x1.5
M 14 x1.5
M16x1.5
M16x1.5
M18x 1.5
M18x 1.5
M22x1.5
M22x1.5
M26x 1.5
M 33 x2
M 42 x 2
M 48 x 2
M12x1.5
M 14 x1.5
M14x1.5
M14x1.5
M16x1.5
M18x1.5
M18x 1.5
M20x1.5
M22x1.5
M 27 x 2
M 42 x 2
M48 x 2

T84

M8x1

M10x1
M12x1.5
M 14 x1.5
M16x1.5

M18x1.5
M20x1.5

M22x1.5
M26x1.5
M33x2
M42x2
M48 x 2

EIMZD
mm
6
6
8
10
10
12
12
15
15
18
22
28
35
42
6
6
8
10
10
12
14
14
16
20
30
38

LL=42 A7 L=8F7] S=ERJ; G1=iOIRY 2= NIEL

G2

M12x1.5
M12x1.5
M14x1.5
M16x1.5
M16x1.5
M18x1.5
M18x1.5
M22x1.5
M22x1.5
M26x1.5
M30x2
M 36 x 2
M 45 x 2
M52 x 2
M14x1.5
M14x1.5
M16x 1.5
M18x 1.5
M18x1.5
M20x1.5
M22x1.5
M22x1.5
M24x1.5
M30x2
M42x 2
M52 x2

@Da
mm
9.9
11.9
14.4
16.5
18.9
18.9
20.9
229
23.9
24.3
29.2
35.7
458
50.7
66

4 _"_' {1
d3 i H
mm mm mm
14 8 7.0
14 12 7.0
17 12 7.0
19 12 7.0
22 12 7.0
22 12 7.0
24 12 7.0
24 12 7.0
27 14 7.0
27 14 7.5
32 16 7.5
40 18 7.5
50 20 10.5
55 22 11.0
17 12 7.0
19 12 7.0
19 12 7.0
19 12 7.5
22 12 75
24 12 75
24 14 8.0
26 14 8.0
27 14 8.5
32 16 10.5
50 20 135
55 22 16.0
- aba
o ———
o
adi
mm
6.5
8.4
9.8
11.6
13.8
14.7
15.7
17.8
18.5
19.6
23.9
29.7
38.8
447
56

mm
40
41
41
46
48
48
55
55
59
59
66
78
92
102
41
41
41
46
46
48
55

59
66
92
102

GVM 90 H

L2 L3 Sw S1
mm mm mm
21 23 27 17
22 23 271 17
22 23 27 19
25 26 30 22
27 21 32 24
27 21 32 24
30 29 36 27
30 30 36 27
33 32 40 32
33 32 40 32
35 36 45 36
41 41 55 41
50 48 65 50
56 53 75 55
22 25 27 19
22 25 27 19
22 25 27 19
25 271 30 22
25 271 30 22
27 28 32 24
30 32 36 27
30 32 36 27
33 34 40 32
35 38 45 36
51 52 65 50
56 59 75 55
WD

hMNM_\_\_\_\_\_kA_\_k_‘_\ »
[S, 3¢, BN, RNS, RIS NG, RS NG, B4 ]



AHFEBNE

#rE: DIN EN 10305-4 MRS MEE: K 235 (N/mm2)

#H: $¥ ST 37.4 NBKIEXAX (1.0255) R£H#H: S 1.5

RELIE: B2, B KAFEHBE: OSch/D 225 (N/mm?)

ik A#: DIN 10305-4

BT E S DIN 2413 (draft) #F: TERIMEARSTERE

BT | B . St THORNELEERIBRE

75 I EHRESE P = bar DIN 2413 or DIN EN 13480-4it&
e @d2 @d1 S | BaEt Il T e @d2 @d1 S | BaEt I BT

7 mm mm mm bar bar 7 mm mm mm bar bar

PR 04-0.5 4 3.0 0.50 210 189 PR 18-2.5 18 13.0 2.50 395 335
PR 04-0.75 4 2.5 0.75 405 345 PR 20-2.5 20 15.0 2.50 355 305
PR 05-0.75 5 35 0.75 325 282 PR 22-2.5 22 17.0 2.50 333 288
PR 06-0.75 6 4.5 0.75 286 251 PR 25-2.5 25 20.0 2.50 293 256
PR 04-1 4 2.0 1.00 603 484 PR 28-2.5 28 23.0 2.50 261 231
PR 05-1 5 3.0 1.00 482 400 PR 30-2.5 30 25.0 2.50 244 217
PR 06-1 6 4.0 1.00 416 352 PR 35-2.5 35 30.0 2.50 196 177
PR 08-1 8 6.0 1.00 320 278 PR 38-2.5 38 33.0 2.50 181 163
PR 10-1 10 8.0 1.00 263 232 PR 10-3 10 4.0 3.00 867 650
PR 12-1 12 10.0 1.00 219 196 PR 12-3 12 6.0 3.00 723 562
PR 14-1 14 12.0 1.00 187 169 PR 14-3 14 8.0 3.00 619 495
PR 15-1 15 13.0 1.00 175 159 PR 15-3 15 9.0 3.00 578 467
PR 16-1 16 14.0 1.00 164 149 PR 16-3 16 10.0 3.00 542 442
PR 18-1 18 16.0 1.00 146 133 PR 18-3 18 12.0 3.00 482 400
PR 22-1 22 20.0 1.00 119 109 PR 20-3 20 14.0 3.00 433 364
PR 25-1 25 23.0 1.00 105 97 PR 22-3 22 16.0 3.00 394 335
PR 06-1.5 6 3.0 1.50 663 524 PR 25-3 25 19.0 3.00 347 299
PR 08-1.5 8 5.0 1.50 516 424 PR 28-3 28 22.0 3.00 309 270
PR 10-1.5 10 7.0 1.50 407 345 PR 30-3 30 24.0 3.00 289 253
PR 12-1.5 12 9.0 1.50 344 297 PR 35-3 35 29.0 3.00 241 214
PR 14-1.5 14 11.0 1.50 299 262 PR 38-3 38 32.0 3.00 222 198
PR 15-1.5 15 12.0 1.50 279 246 PR 42-3 42 36.0 3.00 193 174
PR 16-1.5 16 13.0 1.50 262 231 PR 60-3 60 54.0 3.00 130 119
PR 18-1.5 18 15.0 1.50 233 207 PR 14-3.5 14 7.0 3.50 731 568
PR 20-1.5 20 17.0 1.50 209 188 PR 20-3.5 20 13.0 3.50 512 421
PR 22-1.5 22 19.0 1.50 190 172 PR 25-3.5 25 18.0 3.50 409 347
PR 25-1.5 25 22.0 1.50 167 152 PR 12-4 12 4.0 4.00 984 717
PR 28-1.5 28 25.0 1.50 149 136 PR 16-4 16 8.0 4.00 738 572
PR 32-1.5 32 29.0 1.50 131 120 PR 20-4 20 12.0 4.00 590 475
PR 32-2.5 32 27.0 2.5 - - PR 25-4 25 17.0 4.00 472 393
PR 06-2 6 2.0 2.00 924 683 PR 28-4 28 20.0 4.00 421 355
PR 08-2 8 4.0 2.00 693 543 PR 30-4 30 22.0 4.00 393 334
PR 10-2 10 6.0 2.00 554 451 PR 35-4 35 27.0 4.00 331 286
PR 12-2 12 8.0 2.00 469 391 PR 38-4 38 30.0 4.00 305 266
PR 14-2 14 10.0 2.00 407 345 PR 42-4 42 34.0 4.00 268 236
PR 15-2 15 11.0 2.00 380 324 PR 50-4 50 42.0 4.00 225 201
PR 16-2 16 12.0 2.00 346 298 PR 60-4 60 52.0 4.00 182 165
PR 18-2 18 14.0 2.00 320 278 PR 25-4.5 25 16.0 4.50 535 437
PR 20-2 20 16.0 2.00 288 252 PR 28-4.5 28 19.0 4.50 477 396
PR 22-2 22 18.0 2.00 262 231 PR 25-5 25 15.0 5.00 597 480
PR 25-2 25 21.0 2.00 230 205 PR 28-5 28 18.0 5.00 533 436
PR 28-2 28 24.0 2.00 205 184 PR 30-5 30 20.0 5.00 489 411
PR 30-2 30 26.0 2.00 192 173 PR 35-5 35 25.0 5.00 420 355
PR 35-2 35 31.0 2.00 152 138 PR 38-5 38 28.0 5.00 387 330
PR 42-2 42 38.0 2.00 119 109 PR 42-5 42 32.0 5.00 343 296
PR 06-2.25 6 1.5 2.25 1053 755 PR 50-5 50 40.0 5.00 288 252
PR 08-2.5 8 3.0 2.50 888 663 PR 38-6 38 26.0 6.00 469 391
PR 10-2.5 10 5.0 2.50 711 555 PR 50-6 50 38.0 6.00 350 302
PR 12-2.5 12 7.0 2.50 592 477 PR 38-7 38 24.0 7.00 552 449
PR 14-2.5 14 9.0 2.50 514 423 PR 65-8 65 49.0 8.00 356 306
PR 15-2.5 15 10.0 2.50 480 398 PR 60-10 60 40.0  10.00 496 410
PR 16-2.5 16 11.0 2.50 450 377 PR 80-10 80 60.0  10.00 346 312

HANSAFFLEX 95



ARBERE PRVZ

#r4: DIN EN 10305-4 REBH: S 1.5

¥ $0 ST 37.4 NBKIEA (1.0255) kAREF®E: OSch/D 225 (N/mm2)

REALIE: S AZ: DIN 10305-4

A 1

BRI E S DIN 2413 (draft) #iE: TERIINEADZESTENEN. N =

g I BED M THANEELEERERE DIN | =" = a E

fE N EFSRESERE P = bar 2413 or DIN EN 13480-4it& T

MRS MEE: K 235 (N/mm2)
e @d2  @d1 S | B I EhET e @d2  @d1 S | B2 I EhERT

7 mm mm mm bar bar 7 mm mm mm bar bar

PR 05-0.75 VZ 5 25 0.75 325 282 PR 22-2 VZ 22 18.0  2.00 262 231
PR 06-0.75 VZ 6 45 0.75 286 251 PR 25-2 VZ 25 21.0  2.00 230 205
PR 04-1VZ 4 2.0 1.00 602 484 PR 28-2 VZ 28 240 2.00 205 184
PR 05-1 VZ 5 3.0 1.00 482 400 PR 35-2 VZ 35 31.0 2.00 152 138
PR 06-1 VZ 6 4.0 1.00 416 352 PR 38-2VZ 38 340 2.00 - -
PR 08-1VZ 8 6.0 1.00 320 278 PR 42-2VZ 42 38.0 2.00 119 109
PR 10-1 VZ 10 8.0 1.00 263 232 PR 10-2.5VZ 10 5.0 2.50 711 555
PR 12-1VZ 12 10.0  1.00 219 196 PR 12-2.5VZ 12 7.0 2.50 592 477
PR 15-1VZ 15 13.0  1.00 175 159 PR 14-2.5VZ 14 9.0 2.50 514 423
PR 18-1VZ 18 16.0  1.00 146 133 PR 16-2.5VZ 16 1.0 250 450 377
PR 06-1.5 VZ 6 3.0 1.50 663 524 PR 18-2.5VZ 18 13.0 2.50 395 335
PR 08-1.5VZ 8 5.0 1.50 516 424 PR 20-2.5VZ 20 15.0 2.50 355 305
PR 10-1.5VZ 10 7.0 1.50 407 345 PR 22-2.5VZ 22 170 2.50 333 288
PR 12-1.5VZ 12 9.0 1.50 344 297 PR 25-2.5VZ 25 20.0 2.50 293 256
PR 14-1.5VZ 14 1.0 1.50 299 262 PR 28-2.5VZ 28 230 250 261 231
PR 15-1.5VZ 15 120 1.50 279 246 PR 30-2.5VZ 30 250 2.50 244 217
PR 16-1.5VZ 16 13.0 1.50 262 231 PR 38-2.5VZ 38 230 250 181 163
PR 18-1.5VZ 18 15.0  1.50 233 207 PR 20-3 VZ 20 14.0  3.00 433 364
PR 20-1.5VZ 20 170  1.50 209 188 PR 25-3 VZ 25 19.0 3.0 347 299
PR 22-1.5VZ 22 19.0 1.50 190 172 PR 28-3 VZ 28 22.0 3.0 309 270
PR 25-1.5VZ 25 22 15 - - PR 30-3 VZ 30 24.0 3.0 289 253
PR 28-1.5VZ 28 250 1.50 149 136 PR 38-3VZ 38 32.0 3.0 222 198
PR 35-1.5VZ 35 32 15 - - PR 42-3VZ 42 36.0 3.0 193 174
PR 06-2 VZ 6 2.0 2.0 - - PR 20-3.5VZ 20 13 35 - -
PR 08-2 VZ 8 4.0 2.00 693 543 PR 25-4 VZ 25 17 4.0 472 393
PR 10-2 VZ 10 6.0 2.00 554 451 PR 30-4 VZ 30 220 4.0 393 334
PR 12-2VZ 12 8.0 2.00 469 391 PR 35-4 VZ 35 270 4.0 331 286
PR 14-2 VZ 14 100 2.00 407 345 PR 38-4 VZ 38 300 4.0 305 266
PR 15-2 VZ 15 1.0  2.00 380 324 PR 30-5VZ 30 20 5 498 411
PR 16-2 VZ 16 12.0  2.00 346 298 PR 38-5VZ 38 28.0 5.0 387 330
PR 18-2 VZ 18 14.0 2.00 320 278 PR 38-6 VZ 38 26.0 6.0 469 391
PR 20-2 VZ 20 16.0  2.00 288 252

9%  HANSAFFLEX



ARIEERE PRV1
MRETER 1.4301  (304T7EEE) AZ: DIN 10305-5
R AR E S0 DIN 2413 (draft) =W HRFRSE8 DIN 10216-5 Rp 1.0 up

BT 1BEE S to 50° C.

A I ESBESEE P = bar KAEFHRESIE. 4571 (316Ti) 45t |

PRMSHEE: K 218 (N/mm2) ERD . - =

2amH: S 15 &t TERGIMENRHNERER, e . —=

KAFFHBE: OSch/D 175 (N/mm2) ST ZHIEINEAERRERAE DIN -

2413 or DIN EN 13480-4it&.

e @d2 @d1 S | B#Efr 1 shEAE e @d2 @d1 S | B83fr I EhETE
W= mm mm mm bar bar wWirE mm mm mm bar bar
PR 30-5 V1 30.0 20.0 5.00 - - PR 18-2 V1 18.0 14.0 2.00 297 216
PR 04-1 V1 4.0 2.0 1.00 558 376 PR 20-2 V1 20.0 16.0 2.00 257 189
PR 05-1 V1 5.0 3.0 1.00 447 311 PR 22-1 V1 22.0 20.0 1.00 110 85
PR 06-1 V1 6.0 4.0 1.00 372 265 PR 22-1.5V1 22.0 19.0 1.50 176 133
PR 06-1.5 V1 6.0 3.0 1.50 - - PR 22-2 V1 22.0 18.0 2.00 233 173
PR 08-1 V1 8.0 6.0 1.00 279 204 PR 25-5 V1 25.0 15.0 5.00 554 373
PR 08-1.5 V1 8.0 5.0 1.50 460 319 PR 28-1 V1 28.0 26.0 1.00 87 67
PR 10-1 V1 10.0 8.0 1.00 223 166 PR 28-2 V1 28.0 24.0 2.00 191 143
PR10-1.5V1 10.0 7.0 1.50 369 262 PR 28-3 V1 28.0 22.0 3.00 287 210
PR 12-1 V1 12.0 10.0 1.00 186 140 PR 28-4 V1 28.0 20.0 4.00 - -
PR12-15V1 12.0 9.0 1.50 307 223 PR 30-2 V1 30.0 26.0 2.00 178 134
PR 12-2 V1 12.0 8.0 2.00 428 299 PR 30-3 V1 30.0 24.0 3.00 - -
PR 14-2 V1 14.0 10.0 2.00 367 261 PR 30-4 V1 30.0 22.0 4.00 - -
PR 14-3 V1 14.0 8.0 3.00 - - PR 40-5 V1 40.0 30.0 5.00 337 243
PR15-1.5V1 15.0 12.0 1.50 246 182 PR 50-1.5V1 50.0 47.0 1.50 63 50
PR 16-1 V1 16.0 14.0 1.00 - - PR 50-2 V1 50.0 46.0 2.00 93 72
PR 16-2 V1 16.0 12.0 2.00 321 232 PR 57-2 V1 57.0 53.0 2.00 76 59
PR 18-1 V1 18.0 16.0 1.00 135 104 PR 70-2 V1 70.0 66.0 2.00 - -
PR18-1.5V1 18.0 15.0 1.50 216 161

AHIRENE PRV2

Rl R 1. 4541 (32174 /A%: DIN 10305-5
A ST E S DIN 2413 (draft)  #EE5#RFREME DIN 10216-5 Rp 1.0

BT BEA up to 50° C.

BT II: ESSRESERE P = bar KAEFHRES IR 4571 (316Ti) #F i

PSS K 222 (N/mm?) HHERD. N —

REEM: S 1.5 i TEFEWE"JEﬁ%ﬁWTE%ﬂ% e = a 1

KAEHEE: OSch/D 180 (N/mmy - SITBEMMELE PRIz o

DIN 2413 or DIN EN 13480-4it&
o gd2  @d1 S | BEETT 1 EhEE N @d2  @d1 S | 8437 1 shET
HS mm mm mm bar bar RS mm mm mm bar bar

PR 04-1V 2 4.0 2.00 1.00 567 387 PR 14-2V 2 140 10.00 2.00 374 269
PR 06-1V 2 6.0 400 1.00 379 272 PR 152V 2 150 11.00 2.00 349 253
PR 08-1V 2 8.0 6.00 1.00 284 210 PR 16-2V 2 16.0 1200 2.00 327 239
PR 10-1V 2 100 8.00 1.00 227 171 PR 18-2V 2 180 1400 2.00 302 222
PR 12-1V 2 120 10.00 1.00 189 144 PR 202V 2 20.0 16.00 2.00 261 195
PR 14-1V 2 140 1200 1.00 162 125 PR 22-2V 2 220 18.00 2.00 238 178
PR 15-1V 2 150 13.00 1.00 165 127 PR 25-2V 2 250 21.00 2.00 217 164
PR 16-1V 2 16.0 14.00 1.00 155 119 PR 282V 2 28.0 24.00 2.00 194 147
PR 18-1V 2 180 16.00 1.00 138 107 PR 30-2V 2 30.0 26.00 2.00 181 138
PR 20-1V 2 20.0 18.00 1.00 124 96 PR 32-2V 2 32.0 28.00 2.00 157 121
PR 22-1V 2 220 20.00 1.00 113 88 PR 342V 2 340 30.00 2.00 147 114
PR 28-1V 2 28.0 26.00 1.00 88 69 PR 38-2V 2 38.0 34.00 2.00 132 102
PR 08-1.5V 2 8.0 500 1.50 469 328 PR 42-2V 2 42.0 38.00 2.00 112 88
PR10-1.5V2 100 7.00 150 375 270 PR 542V 2 540 50.00 2.00 82 64
PR12-15V2 120 9.00 150 313 229 PR25-25V2 250 20.00 250 277 205
PR15-15V2 150 1200 1.50 250 187 PR18-25V2 180 13.00 250 373 268
PR16-1.5V2 160 13.00 1.50 234 176 PR20-25V2 200 1500 2.50 - -
PR18-15V2 180 1500 1.50 220 166 PR22-25V2 220 17.00 250 - -
PR20-1.5V2 200 17.00 1.50 187 143 PR28-25V2 280 2300 250 247 185
PR22-15V2 220 1900 1.50 180 137 PR30-2.5V 2 30.0 2500 250 - -
PR23-15V2 230 2000 1.50 163 125 PR 20-3V 2 20.0 14.00 3.00 420 298
PR30-1.5V2 300 27.00 1.50 132 102 PR 25-3V 2 250 19.00 3.00 336 244
PR32-1.5V2 320 29.00 1.50 110 86 PR 28-3V 2 28.0 22.00 3.00 292 216
PR35-15V2 350 3200 1.50 101 79 PR 30-3V 2 30.0 24.00 3.00 273 202
PR40-1.5V2 400 37.00 1.50 87 69 PR 38-3V 2 38.0 32.00 3.00 210 159
PR 102V 2 10.0 6.00 2.00 523 360 PR 304V 2 30.0 22.00 4.00 371 267
PR 12-2V 2 120 800 200 436 308 PR30-5V 2 30.0 20.00 5.00 496 347

HANSAFFLEX 97



AFIEERE PRV4
MRl TG 1.4571 (REEIN316TI)  A%: DIN 10305-5
R AR E S0 DIN 2413 (draft)  $EEFHRFREHE DIN 10216-5 Rp 1.0

B 1 BED up to 50 ° C

Hlll: ESRESERE P = bar #iE: TERIINEDZRSTERE .
MHRMSMEE: K 234 (N/mm2) g?m R S AR DIN ) .
LR S 1. A RS ELEE R R e = - e
REEAS 1.5 2413 or DIN EN 13480-43H5 pimlit —_——

KA EE: OSch/D 190 (N/mm2)

e @d2  @d1 S | B850 1 EhETT T @d2  @d1 S | B850 1 ShEfT
- mm mm mm bar bar - mm mm mm bar bar
PR 10-0.5V 4 10.0 9.0 0.5 - - PR 20-2V 4 20.0 16.0 2.0 287 213
PR04-1V 4 4.0 2.0 1.0 600 408 PR 22-2V 4 22.0 18.0 2.0 260 195
PR 06-1V 4 6.0 4.0 1.0 400 287 PR 25-2V 4 25.0 21.0 2.0 229 173
PR 08-1V 4 8.0 6.0 1.0 300 222 PR 28-2V 4 28.0 24.0 2.0 205 156
PR10-1V 4 10.0 8.0 1.0 240 181 PR 30-2V 4 30.0 26.0 2.0 191 146
PR12-1V 4 12.0 10.0 1.0 200 152 PR 35-2V 4 35.0 31.0 2.0 151 117
PR 15-1V 4 15.0 13.0 1.0 174 134 PR 42-2V 4 42.0 38.0 2.0 118 92
PR 18-1V 4 18.0 16.0 1.0 145 112 PR 14-25V 4 14.0 9.0 2.5 505 353
PR 06-1.5V 4 6.0 3.0 1.5 660 442 PR 16-2.5V 4 16.0 11.0 2.5 442 314
PR 08-1.5V 4 8.0 5.0 1.5 495 347 PR 18-25V 4 18.0 13.0 2.5 393 283
PR10-1.5V 4 10.0 7.0 1.5 396 285 PR 20-2.5V 4 20.0 15.0 2.5 354 258
PR12-15V 4 12.0 9.0 1.5 330 242 PR 22-25V 4 22.0 17.0 2.5 321 236
PR 14-15V 4 14.0 11.0 1.5 283 210 PR 25-25V 4 25.0 20.0 2.5 292 216
PR 15-15V 4 15.0 12.0 1.5 264 197 PR 28-25V 4 28.0 23.0 2.5 260 195
PR 16-1.5V 4 16.0 13.0 1.5 261 195 PR 30-2.5V 4 30.0 25.0 2.5 243 183
PR 18-15V 4 18.0 15.0 1.5 232 175 PR 35-25V 4 35.0 30.0 2.5 196 149
PR 22-15V 4 22.0 19.0 1.5 190 145 PR12-3V 4 12.0 6.0 3.0 694 461
PR 25-15V 4 25.0 22.0 1.5 167 128 PR 16-3V 4 16.0 10.0 3.0 540 373
PR28-15V 4 28.0 25.0 1.5 149 115 PR 20-3V 4 20.0 14.0 3.0 432 308
PR 35-1.5V 4 35.0 32.0 1.5 - - PR 22-3V 4 22.0 16.0 3.0 392 283
PR 06-2V 4 6.0 2.0 2.0 - - PR 25-3V 4 25.0 19.0 3.0 345 252
PR08-2V 4 8.0 4.0 2.0 690 458 PR 30-3V 4 30.0 24.0 3.0 288 214
PR10-2V 4 10.0 6.0 2.0 552 380 PR 42-3V 4 42.0 36.0 3.0 193 147
PR12-2V 4 12.0 8.0 2.0 460 325 PR 30-4V 4 30.0 22.0 4.0 392 282
PR 14-2V 4 14.0 10.0 2.0 394 284 PR 38-4V 4 38.0 30.0 4.0 303 224
PR 15-2V 4 15.0 11.0 2.0 368 267 PR 30-5V 4 30.0 20.0 5.0 496 347
PR 16-2V 4 16.0 12.0 2.0 345 252 PR 35-5V 4 35.0 25.0 5.0 - -
PR 18-2V 4 18.0 14.0 2.0 318 234 PR 38-5V 4 38.0 28.0 5.0 385 278

98  HANSAFFLEX



AR 55

HANSA-FLEX {2 {f & & E iR E &ﬁ& U &Ml
BIEERE . KAER, E4EHL. H. LT, ﬁumkﬂ%;ﬁl

HANSA-FLEX iRt 5 mARNEEESL, giFFER, BiEX.
FoORE, MRERNNTENS, LEYReESEER.

R E M

HANSA-FLEX —b IR A P & ARE R, BIEER
. BRIk . E ., Mk 2, BRI A,

ﬁﬁ E lh\’ﬁ

HANSA FLEX £ B8R BLEH L, AIRBEEFERENS
BB, URRHERINTAE, BEFEHRRS.

ﬂr%ﬁ

%U%%FFAQH:AE

BT &SN, HANSA-FLEX th A% PR S MEIAR S
HNREESL,

HANSA-FLEX A% FHRIEMIIAMR %S
HiE%.

, BIENLGR . B3,

PRI AR 55 2% IMinHERE

e fTAk

Euﬁﬁ/ﬁ?

- .

T 4

ey m

R AL




HANSA-FLEX 7

E

XS B E R (E38) AR A

EEmiBRHXIGEFE CFHEES5005

H1%: +86-21-3821 6000

f£E: +86-21-3821 6035

Mtk : www.hansa-flex.com
www.hansa-flex.com.cn

Habi=% s /N
EBARIIXPEER2419%312505-506
FiE: +86-21-5042 1706 , 5042 1708
£H: +86-21-5258 1219

B | /N

It R EARRX ALK S HMFTRKECI201E
Bi%: +86-10-6581 6578

f£E: +86-10-6581 5120

IS AT
IR T O KIE 19365 £ g B 17
H6#%52818-2819F

HiE: +86-20-8349 7108 , 8349 7308
f£E: +86-20-8349 7306

AR 55

EINT LA
BMHEFF X ZEHE A E3SE— =R
FIiE: +86-519-8548 6780

t2HE: +86-519-8548 6806

RLER ST X F)

RRER T R X IR B #1188 S R E4RE2 5126115
FIi%: +86-28-8628 2995

fEHE: +86-28-8628 2995-808

BRAAT
EBHIAXERATE166S M E Fi19E1606=E
HiE: +86-532-6688 5057

f&E: +86-532-6688 5059

RS SN

LTI

Mzx%: 400-1515-105

2020-05 CH2000



